|Ohlins DTC: Preisliste Ersatzteile / Price List Spare Parts

Version 1.10 -- Valid from 1st January 2022 -- All Prices exclude local VAT

ART.NR/ BEZEICHNUNG/ Mindestbestellmenge fir| UVP/SRP EUR Sales Group Bemerkungen/
ART.NO DESCRIPTION den ausgewiesenen exc vat Remarks
Preis/ Minimum QTY to
order for allocated Price
00101-01 Shaft 12/193 1 28,08 € 60100
00101-02 Shaft 12/199 1 94,96 € 60100
00101-03 Shaft 12/208 1 31,29 € 60100
00101-04 Shaft 12/216 1 58,06 € 60100
00101-05 Shaft 12/226 1 105,68 € 60100
00101-06 Shaft 12/230 1 95,04 € 60100
00101-07 Shaft 12/246 1 38,76 € 60100
00101-08 Shaft 12/141 1 26,59 € 60100
00101-09 Shaft 12/113 1 25,70 € 60100
00101-10 Shaft 12/283 1 115,47 € 60100
00102-02 Shaft 12/171 1 50,67 € 60100
00102-03 Shaft 12/178 1 50,67 € 60100
00102-04 Shaft 12/191 1 50,67 € 60100
00102-05 Shaft 12/201 1 50,67 € 60100
00102-07 Shaft 12/185 1 14,19 € 60100
00102-08 Shaft 12/131 1 48,73 € 60100
00102-09 Shaft 12/151 1 50,67 € 60100
00102-11 Shaft 12/161 1 50,67 € 60100
00102-12 Shaft 12/120 1 4493 € 60100
00103-03 Shaft 12/214 1 85,94 € 60100
00103-04 Shaft 12/295 1 96,95 € 60100
00103-05 Shaft 12/221 spc 1 167,43 € 60100
00103-06 Shaft 12/220 spc****xkkrkkakrkkirkdx 1 86,72 € 60100|Expiring
00103-08 Shaft 12/290 1 169,30 € 60100
00104-02 Piston 8/36 0.0-1.5 1 45,26 € 60100
00104-03 Piston 8/36 0.0-2.5 1 38,54 € 60100
00104-11 Piston 8/36 0.0-0.0 1 22,94 € 60100
00104-18 Piston 8/36 0.5-0.0 1 19,57 € 60100
00104-28 Piston 8/36 no bush groove 1 14,36 € 60100
00106-01 Supp.sleeve,sp.41/44.5/13PA-6.6 1 7,08 € 60200
00109-05 Shaft 12/226 1 37,07 € 60100
00109-07 Shaft 12/246 1 30,90 € 60100
00110-01 Bushing 12/14/12 1 1,96 € 60200




00110-03 Bushing 12/14/12 DP4 1 2,83 € 60200
00110-05 Bushing 12/14/08 £ 1 2,22 € 60200
00110-06 Bushing 30/34/15 £ 1 7,37 € 60200
00110-09 Bushing 30/34/10 1 62,03 € 60200
00110-10 Bushing 30/34/8 1 89,83 € 60200
00114-01 Seal head 12/36/22.4 1 17,68 € 60100
00114-02 Seal head 16/36/21 1 31,13 € 60100
00114-03 Seal head 12/30/28 1 54,48 € 60100
00115-01 Stop washer, spring polished 1 27,79 € 60100
00115-02 Stop washer, spring black 1 22,24 € 60100
00116-01 Spring clip for springs 46 1 6,88 € 60200
00116-02 Spring clip black for spring 46 1 14,54 € 60100
00116-03 Spring clip for springs 46 1 2891 € 60100
00116-04 Spring clip silver 1 11,37 € 60100
00116-05 Spring clip for springs 46 1 31,69 € 60100
00116-07 Spring clip for springs 46 1 18,57 € 60100
00116-10 Spring clip, 46 black 1 23,14 € 60100
00117-01 Seal, step seal 12 1 7,90 € 60200
00118-01 Spacer, ball joint 8X22 1 8,34 € 60100
00118-15 Spacer, ball joint 12X32 1 32,80 € 60100
00118-20 Spacer, ball joint 10x20 1 5,76 € 60100
00118-22 Spacer, ball joint 12x28 1 8,34 € 60200
00118-24 Spacer, ball joint 8x50 1 8,34 € 60200
00118-27 Spacer, ball joint 10x52 1 8,34 € 60200
00118-28 Spacer, ball joint 10x29.9 1 20,01 € 60100
00118-31 Spacer, ball joint 10x38 1 8,34 € 60200
00118-32 Spacer, ball joint 10x31 chamfer 1 10,90 € 60200
00118-33 Spacer, ball joint 10x44 1 6,15 € 60200
00118-36 Spacer, ball joint 10x34 1 8,62 € 60200
00118-37 Spacer, ball joint 8x18 1 8,62 € 60200
00119-01 Valve stop 8/30/2.5 - 6 degr **** 1 1,23 € 60100
00119-03 Valve stop 8/30/2.5 - 10 degr. 1 10,57 € 60200
00119-05 Valve stop 8/30/3 - 10 degr. 1 13,29 € 60100
00119-07 Stop washer 8/30/2 flat 1 7,16 € 60200
00120-01 Washer 8/17/1 1 2,14 € 60200
00120-03 Washer 8/12.9/1.5 1 537 € 60200
00120-05 Washer 8/19/2 1 5,95 € 60200
00121-01 Seal head assy 36/12 1 44,47 € 60200
00121-02 Seal head assy 36/12 snowmobile 1 44,47 € 60200
00121-03 Seal head assy 30/12 1 44,47 € 60200
00122-01 Scraper 12/25 1 8,12 € 60200




00123-02 Sleeve 8/14/24 al***¥*xkkkkkokkkokxok 1 15,01 € 60100
00123-03 Sleeve 10/14/22 al 1 32,69 € 60100
00123-04 Sleeve 10/14/28 al 1 32,69 € 60100
00123-06 Sleeve 12/14/24 stainless 1 15,01 € 60100
00123-07 Sleeve 14/15.8/21 stainless 1 21,12 € 60100
00123-08 Sleeve 14/15.8/23 stainless™** %% 1 2891 € 60100
00123-09 Sleeve 13/15.8/24 stainless™* %% 1 6,89 € 60200
00123-10 Sleeve 8/14/16.5 Al 1 3,56 € 60100
00123-11 Sleeve 10/14/16.5 al 1 8,23 € 60100
00123-13 Sleeve 12.7/14/16.5 stainless 1 5,74 € 60200
00123-14 Sleeve 12/16/25 stainless 1 15,01 € 60100
00123-15 Sleeve 12/14/25 stainless 1 36,69 € 60100
00123-16 Sleeve 12/14/19.5 stainless 1 20,46 € 60100
00123-17 Sleeve 12.7/14/19.5 stainless 1 7,01 € 60100
00123-18 Sleeve 12/15.8/32 stainless 1 31,97 € 60100
00123-19 Sleeve 12/16/30 stainless 1 16,68 € 60100
00124-02 Rubber bushing 15/22/20 1 13,62 € 60200
00124-10 Rubber bushing 14/25/17 1 6,13 € 60200
00124-11 Rubber bushing 16/25/17 1 7,03 € 60200
00124-14 Rubber bushing 10/26-20 1 6,13 € 60200
00124-15 Rubber bushing 14/26-20 1 4,81 € 60200
00124-16 Rubber bushing 10/26-30 1 6,34 € 60200
00124-17 Rubber bushing 16/26-22.5 1 6,34 € 60200
00124-18 Rubber bushing 12/26-17 1 19,96 € 60200
00124-22 Rubber bushing 12.1/32.25/46.2 1 86,72 € 60200
00124-23 Rubber bushing 16/26 1 9,85 € 60200
00124-26 Rubber bushing upper 1 30,92 € 60200
00124-29 Rubber bushing 16/40/54 1 15,08 € 60200
00124-30 Rubber bushing 12/26-22 1 11,01 € 60200
00124-32 Rubber bushing 16/26-15 1 25,77 € 60200
00125-01 End eye 12/26/25 Al 1 36,69 € 60100
00125-02 End eye 12/26/22 Al 1 32,69 € 60100
00125-03 End eye 12/29.5/25 1 43,36 € 60100
00125-04 End eye 12/29.5/22 Al 1 65,49 € 60100
00125-05 End eye 12/33/25 1 42,36 € 60100
00125-06 End eye 12/33/22 Al 1 42,36 € 60100
00125-07 End eye 12/46.5/25 1 43,36 € 60100
00125-08 End eye 12/46.5/22 Al 1 42,36 € 60100
00125-10 End eye 12/52,5/22 Al 1 65,49 € 60100
00125-12 End eye 12/68/22 1 55,59 € 60100
00125-13 End eye 12/58/22 1 54,48 € 60100




00125-14 End eye 12/43/20,5/22 Al 1 66,59 € 60100
00126-01 Bracket 12/38/22 1 57,37 € 60100
00126-05 Bracket 12/80/19 1 61,71 € 60100
00126-06 Bracket 12/42/26 1 58,21 € 60100|NLA
00126-07 Bracket 12/55/20,5 1 61,71 € 60100
00126-09 Bracket 12/84/26 1 61,71 € 60100
00126-10 Bracket 12/60/20 1 94,50 € 60100
00128-01 Circlip 40/1.5 1 0,67 € 60200
00129-01 Seal head assy 36/16 McPh 1 37,95 € 60200
00131-01 Circlip SW 40 1 4,09 € 60200
00131-03 Circlip SW 10 1 1,23 € 60200
00131-04 Circlip SW 50, stainless 1 6,07 € 60200
00131-05 Circlip SW 16 1 1,01€ 60100
00131-06 Circlip SW 9 1 3,32€ 60200
00131-08 Circlip SW 51.7 1 14,90 € 60100
00131-09 Circlip SW 25 1 5,50 € 60200
00133-01 Stop rubber 15/36.7/6 HNBR 38097 1 6,12 € 60200
00133-02 Stop rubber 20/37/12.5 Nitr 90 **** 1 7,68 € 60200
00133-03 Stop rubber 11/30/6 HNBR 80 shore 1 7,39 € 60200
00136-01 Ball joint 12/22/10 Askubal GE12-D 1 28,88 € 60200
00139-02 Lock nut M8 1 0,67 € 60200
00139-03 Flange lock nut M8 1 4,04 € 60200
00139-04 Flange nut M12x1.25 £ 1 21,42 € 60100
00141-01 Piston ring 36 angled joint 1 7,84 € 60200
00141-02 Piston ring 36 L-joint 1 17,79 € 60200
00142-01 Valve Schrader 1 1,01 € 60200
00142-02 Valve cap Schrader 1 2,81 € 60200
00144-03 Spacer 12/30/4 *¥¥x¥dxxkixkixskxkirkkx 1 12,12 € 60100
00153-01 Washer BRB SMS70 8.4/16/1.5 1 0,67 € 60200
00153-03 Washer BRB SMS70 5.3/10/1 1 0,67 € 60200
00153-04 Washer BRB SMS70 6.4/12/1.5 1 0,67 € 60200
00153-06 Washer BRB SMS70 10.5/22/2 1 0,67 € 60200
00153-07 Washer BRB SMS70 3.7/7/0.8 1 0,67 € 60200
00153-09 Washer BRB SMS70 12/22/2 1 0,67 € 60200
00153-11 Washer BRB DIN433 10.5/18/1.6 £ 1 0,67 € 60200
00154-02 Spring platform M44x1.5 1 30,02 € 60100
00154-03 Spring platform M44x1.5 coated 1 30,02 € 60100
00154-22 Spring platform M44x1.5 Ti-grey 1 30,02 € 60100
00155-02 Lock nut M44x1.5 1 14,00 € 60100
00156-02 Spring clip for springs 46 1 62,26 € 60100
00157-02 Sleeve M44x1.5/60 yellow 1 65,59 € 60100




00161-03 Reservoir top assy 44 1 36,02 € 60100
00161-04 Reservoir top assy 49 1 36,02 € 60100
00161-08 Reservoir top assy 25 1 70,00 € 60100
00161-10 Reservoir top assy 25 1 67,62 € 60100
00161-11 Reservoir top assy 58 1 62,93 € 60100
00161-12 Reservoir top assy 25 1 51,15 € 60100
00161-16 Reservoir top assy 44 1 54,92 € 60100
00161-17 Reservoir top assy 44 black 1 28,80 € 60100
00161-85 Reservoir top assy 44 1 18,23 € 60100
00162-02 Spring clip for springs 46 1 72,62 € 60100
00163-03 Bump rubber 12.1/40/53 1 20,64 € 60200
00163-04 Bump rubber 14.1/40/53 1 13,30 € 60200
00163-04 Bump rubber 14.1/40/53 1 13,30 € 60200
00163-05 Bump rubber 12.1/40/45 1 11,13 € 60200
00163-10 Bump rubber 12.1/40/30 PUR 450 1 7,74 € 60200
00163-11 Bump rubber 14.1/40/25 PUR 550 1 10,10 € 60200
00163-12 Bump rubber 14.1/40/25 PUR 650 1 9,86 € 60200
00163-15 Bump rubber 12.1/32/25 NITRIL 1 6,89 € 60200
00163-16 Bump rubber 10.5/32/25 NITRIL 1 6,84 € 60200
00163-18 Bump rubber 14/10 PUR 1 6,88 € 60200
00163-19 Bump rubber 14.1/40/39 1 49,81 € 60200
00163-20 Bump rubber 12.1/40/40 1 3493 € 60200
00163-21 Bump rubber 12.1/40/35 1 23,94 € 60200
00164-01 Spring seat 46/57/4 1 25,57 € 60100
00165-02 End cap 36/12 gold 1 12,23 € 60100
00165-04 End cap 36/12 aluminium 1 12,23 € 60100
00165-05 End cap 36/12 clear*******xkixx* 1 11,12 € 60100
00165-06 End cap 36/12 black 1 24,01 € 60100
00166-02 End cap 36/12 gold assy 1 26,05 € 60200
00166-03 End cap 12/36 ice device assy 1 99,66 € 60200
00184-12 Shims 8/12/0.10 25M 1,67 € 60200
00184-13 Shims 8/13/0.10 25M 1,67 € 60200
00184-14 Shims 8/14/0.10 25M 1,67 € 60200
00184-15 Shims 8/15/0.10 25M 1,67 € 60200
00184-16 Shims 8/16/0.10 25M 1,67 € 60200
00184-17 Shims 8/17/0.10 25M 1,67 € 60200
00184-18 Shims 8/18/0.10 25M 1,67 € 60200
00184-19 Shims 8/19/0.10 25M 1,67 € 60200
00184-20 Shims 8/20/0.10 25M 1,67 € 60200
00184-21 Shims 8/21/0.10 25M 1,67 € 60200
00184-22 Shims 8/22/0.10 25M 1,67 € 60200




00184-24 Shims 8/24/0.10 25M 1,67 € 60200
00184-32 Shims 8/32/0.10 25M 1,67 € 60200
00184-37 Shims 8/37/0.10 25M 1,67 € 60200
00184-51 Shims 8/11/0.10 25M 1,67 € 60200
00184-60 Shims 8/10/0.10 25M 1,67 € 60200
00185-01 Shims 8/triangle/0.15 1 hole 25M 1,67 € 60200
00185-02 Shims 8/triangle/0.15 2 holes 25M 1,67 € 60200
00185-03 Shims 8/triangle/0.15 3 holes 25M 1,67 € 60200
00185-10 Shims 8/triangle/0.15 0 holes 25M 1,67 € 60200
00185-11 Shims 8/triangle spc/0.15 25M 1,67 € 60200
00185-12 Shims 8/12/0.15 25M 1,67 € 60200
00185-13 Shims 8/13/0.15 25M 1,67 € 60200
00185-14 Shims 8/14/0.15 25M 1,67 € 60200
00185-15 Shims 8/15/0.15 25M 1,67 € 60200
00185-16 Shims 8/16/0.15 25M 1,67 € 60200
00185-17 Shims 8/17/0.15 25M 1,67 € 60200
00185-18 Shims 8/18/0.15 25M 1,67 € 60200
00185-19 Shims 8/19/0.15 25M 1,67 € 60200
00185-20 Shims 8/20/0.15 25M 1,67 € 60200
00185-21 Shims 8/21/0.15 25M 1,67 € 60200
00185-22 Shims 8/22/0.15 25M 1,67 € 60200
00185-24 Shims 8/24/0.15 25M 1,67 € 60200
00185-26 Shims 8/26/0.15 25M 1,67 € 60200
00185-27 Shims 8/27/0.15 25M 1,67 € 60200
00185-32 Shims 8/32/0.15 25M 1,67 € 60200
00185-37 Shims 8/37/0.15 25M 1,67 € 60200
00185-50 Shims 8/triangle/0.15 ,2.4x6 hole 25M 1,67 € 60200
00185-51 Shims 8/11/0.15 25M 1,67 € 60200
00185-60 Shims 8/10/0.15 25M 1,67 € 60200
00186-01 Shims 8/triangle/0.20 1 hole 25M 1,67 € 60200
00186-02 Shims 8/triangle/0.20 2 hole 25M 1,67 € 60200
00186-03 Shims 8/triangle/0.20 3 hole 25M 1,67 € 60200
00186-04 Shims 8/triangle/0.20 4 hole 25M 1,67 € 60200
00186-05 Shims 8/triangle/0.20 5 hole 25M 1,67 € 60200
00186-06 Shims 8/triangle/0.20 6 hole 25M 1,67 € 60200
00186-10 Shims 8/triangle/0.20 0 hole 25M 1,67 € 60200
00186-11 Shims 8/triangle spc/0.20 25M 1,67 € 60200
00186-12 Shims 8/12/0.20 25M 1,67 € 60200
00186-13 Shims 8/13/0.20 25M 1,67 € 60200
00186-14 Shims 8/14/0.20 25M 1,67 € 60200
00186-15 Shims 8/15/0.20 25M 1,67 € 60200




00186-16 Shims 8/16/0.20 25M 1,67 € 60200
00186-17 Shims 8/17/0.20 25M 1,67 € 60200
00186-18 Shims 8/18/0.20 25M 1,67 € 60200
00186-19 Shims 8/19/0.20 25M 1,67 € 60200
00186-20 Shims 8/20/0.20 25M 1,67 € 60200
00186-21 Shims 8/21/0.20 25M 1,67 € 60200
00186-22 Shims 8/22/0.20 25M 1,67 € 60200
00186-24 Shims 8/24/0.20 25M 1,67 € 60200
00186-26 Shims 8/26/0.20 25M 1,67 € 60200
00186-27 Shims 8/27/0.20 25M 1,67 € 60200
00186-28 Shims 8/28/0.20 25M 1,67 € 60200
00186-32 Shims 8/32/0.20 25M 1,67 € 60200
00186-37 Shims 8/27/0.20 25M 1,67 € 60200
00186-50 Shims 8/triangle/0.20 ,2.4x6 hole 25M 1,67 € 60200
00186-51 Shims 8/11/0.20 25M 1,67 € 60200
00187-01 Shims 8/triangle/0.25 1 hole 25M 1,67 € 60200
00187-02 Shims 8/triangle/0.25 2 holes 25M 1,67 € 60200
00187-03 Shims 8/triangle/0.25 3 holes 25M 1,67 € 60200
00187-04 Shims 8/triangle/0.25 4 holes 25M 1,67 € 60200
00187-05 Shims 8/triangle/0.25 5 holes 25M 1,67 € 60200
00187-06 Shims 8/triangle/0.25 6 holes 25M 1,67 € 60200
00187-10 Shims 8/triangle/0.25 0 hole 25M 1,67 € 60200
00187-11 Shims 8/triangle spc/0.25 25M 1,67 € 60200
00187-12 Shims 8/12/0.25 25M 1,67 € 60200
00187-13 Shims 8/13/0.25 25M 1,67 € 60200
00187-14 Shims 8/14/0.25 25M 1,67 € 60200
00187-15 Shims 8/15/0.25 25M 1,67 € 60200
00187-16 Shims 8/16/0.25 25M 1,67 € 60200
00187-17 Shims 8/17/0.25 25M 1,67 € 60200
00187-18 Shims 8/18/0.25 25M 1,67 € 60200
00187-19 Shims 8/19/0.25 25M 1,67 € 60200
00187-20 Shims 8/20/0.25 25M 1,67 € 60200
00187-21 Shims 8/21/0.25 25M 1,67 € 60200
00187-22 Shims 8/22/0.25 25M 1,67 € 60200
00187-24 Shims 8/24/0.25 25M 1,67 € 60200
00187-26 Shims 8/26/0.25 25M 1,67 € 60200
00187-27 Shims 8/27/0.25 25M 1,67 € 60200
00187-28 Shims 8/28/0.25 25M 1,67 € 60200
00187-32 Shims 8/32/0.25 25M 1,67 € 60200
00187-37 Shims 8/37/0.25 25M 1,67 € 60200
00187-50 Shims 8/triangle/0.25 ,2.4x6 hole 25M 1,67 € 60200




00187-51 Shims 8/11/0.25 25M 1,67 € 60200
00188-01 Shims 8/triangle/0.30 1 hole 25M 1,67 € 60200
00188-02 Shims 8/triangle/0.30 2 holes 25M 1,67 € 60200
00188-03 Shims 8/triangle/0.30 3 holes 25M 1,67 € 60200
00188-04 Shims 8/triangle/0.30 4 holes 25M 1,67 € 60200
00188-10 Shims 8/triangle/0.30 0 hole 25M 1,67 € 60200
00188-11 Shims 8/triangle spc/0.30 25M 1,67 € 60200
00188-12 Shims 8/12/0.30 25M 1,67 € 60200
00188-13 Shims 8/13/0.30 25M 1,67 € 60200
00188-14 Shims 8/14/0.30 25M 1,67 € 60200
00188-15 Shims 8/15/0.30 25M 1,67 € 60200
00188-16 Shims 8/16/0.30 25M 1,67 € 60200
00188-17 Shims 8/17/0.30 25M 1,67 € 60200
00188-18 Shims 8/18/0.30 25M 1,67 € 60200
00188-19 Shims 8/19/0.30 25M 1,67 € 60200
00188-20 Shims 8/20/0.30 25M 1,67 € 60200
00188-21 Shims 8/21/0.30 25M 1,67 € 60200
00188-22 Shims 8/22/0.30 25M 1,67 € 60200
00188-24 Shims 8/24/0.30 25M 1,67 € 60200
00188-27 Shims 8/27/0.30 25M 1,67 € 60200
00188-28 Shims 8/28/0.30 25M 1,67 € 60200
00188-32 Shims 8/32/0.30 25M 1,67 € 60200
00188-37 Shims 8/37/0.30 25M 1,67 € 60200
00188-50 Shims 8/triangle/0.30 ,2.4x6 hole 25M 1,67 € 60200
00188-51 Shims 8/11/0.30 25M 1,67 € 60200
00191-01 Sticker "OHLINS" black/transp31x150 1 1,33 € 60399
00191-02 Sticker "OHLINS" blue/transp 31x72 1 0,56 € 60399
00191-03 Sticker "OHLINS" blue/transp 26x62 1 0,56 € 60399
00191-04 Sticker "Ohlins EC" blue/transp hi temp 1 1,01€ 60399
00191-06 Sticker "OHLINS" blue/transp 18x46 1 1,33 € 60399
00191-08 Sticker "OHLINS" blue/transp 31x150 1 1,67 € 60399
00191-09 Sticker "OHLINS" black/transp 26x62 1 1,67 € 60399
00191-10 Sticker "OHLINS" black/transp31x75 1 1,67 € 60399
00191-13 Sticker "OHLINS" transp/black 18x46 1 1,33 € 60399
00191-15 Stic "OHLINS" Bla/White 31x72 1 0,67 € 60399
00191-20 Sticker "OHLINS" white/transp 18x46 1 0,44 € 60399
00191-21 Sticker "O" White/black/transp65x60 1 2,12 € 60399
00191-22 Sticker "O" White/black/transp60x46 1 2,56 € 60399
00191-23 Sticker "O TTX" White/black/transp 1 2,12 € 60399
00191-24 Sticker "OHLINS TTX" Blue/transp 1 0,67 € 60399
00191-28 Sticker "OHLINS" blue/transp 16x41 1 0,56 € 60399




00191-31 Sticker "OHLINS" 23x52 1 1,67 € 60399
00191-32 Sticker "TECHNOLOGY INSIDE" white 1 1,11 € 60399
00191-33 Sticker "TECHNOLOGY INSIDE" blue 1 1,11 € 60399
00191-34 Sticker "Cartridge" 140x185 1 5,68 € 60399
00191-35 Sticker "Ohlins-Triumph" 1 2,00 € 60399
00191-39 Sticker "O TTX" White/black/transp 1 3,90 € 60399
00191-40 Sticker "TTX Cartridge" 165*225 1 9,78 € 60399
00191-41 Sticker "0 STX" White/black/transp 1 2,45 € 60399
00191-42 Sticker "0 STX" White/black/transp 1 2,12 € 60399
00191-43 Sticker "O Nordic Racing" 165*225 1 12,90 € 60399
00191-44 Sticker FGR 1 0,56 € 60399
00191-45 Sticker "OHLINS TTX TITANIUM" 1 0,89 € 60399
00191-46 Sticker "Mechatronic Systems" 1 3,90 € 60399
00191-47 Sticker "O Nordic Racing" white 165*225 1 12,17 € 60399 |NLA
00191-48 Sticker "OHLINS" black/transp 14x35 1 0,56 € 60399
00191-49 Sticker "TECHNOLOGY INSIDE" round 30 black 1 0,78 € 60399
00191-50 Sticker "OHLINS TTX" Blue/transp 1 1,33 € 60399
00191-51 Sticker "O" White/black/transp65x60 1 2,56 € 60399
00191-52 Sticker "OHLINS DFV" black/transp 124/30 1 2,56 € 60399
00191-54 Sticker "OHLINS" black/transp31x150 1 1,67 € 60399
00191-55 Sticker "O" reservoir 100x50 mm 1 534 € 60399
00191-56 Sticker "Ohlins MX Gas Shocks 1976-2016" Black/transp 1 1,67 € 60399
00191-57 Sticker "O MX Front Fork 1976-2016" Black/transp 165x225 1 9,78 € 60399
00191-58 Sticker "Ohlins MX Gas Shocks 1976-2016" Small Black/transp 1 1,67 € 60399
00191-63 Sticker "O MX Front Fork Est. 1976" black/transp 165x225 1 10,57 € 60399
00191-64 Sticker "Ohlins MX Gas Shocks Est. 1976" black/transp 1 1,23 € 60399
00191-65 Sticker "Ohlins MX Gas Shocks Est. 1976" black/transp small 1 3,34 € 60399
00191-66 Sticker "Ohlins FKR technology inside" white/transparent 19x73 1 1,23 € 60399
00191-68 Sticker "Ohlins TTX" blue/transparent 36x45 1 4,34 € 60399
00191-68 Sticker "Ohlins TTX" blue/transparent 36x45 1 4,34 € 60399
00191-69 Sticker "O" black/transp 1 28,28 € 60399
00191-74 Sticker "Ohlins TTX FLOW DUAL VALVE" black/transparent 72 x 50 1 6,67 € 60399
00191-76 Sticker Ohlins Adventure, large 1 7,68 € 60399 |New
00191-77 Sticker Ohlins Adventure, small 1 7,68 € 60399 |New
00191-78 Sticker Ohlins Adventure, O single reservoir 1 7,68 € 60399 |New
00191-79 Sticker Ohlins Adventure, O 82x60 reservoir 1 7,68 € 60399|New
00192-01 Sticker "OHLINS" Yellow/blue 47x125 1 1,67 € 60399
00194-06 Sticker "OHLINS"yellow/blue 230x600 1 6,23 € 60399
00194-10 Sticker "OHLINS" transp/blue 20x53 1 0,56 € 60399
00194-12 Sticker Ohlins 1 1,56 € 60399
00196-01 Sticker "Warning"black/transp 17x53 1 0,56 € 60399




00196-02 Sticker "WARNING" white/trans 17x53 1 1,67 € 60399
00196-05 Sticker "Warning" YMC-USA/France 1 1,90 € 60399
00196-06 Sticker "Warning" YMC-Europe 1 1,90 € 60399
00196-08 Sticker "Warning" YMC-USA 1 1,56 € 60399
00196-09 Sticker "Warning" YMC-USA/France 1 2,22 € 60399
00196-15 Sticker"Warning" 13.5x45 1 1,23 € 60399
00196-16 Sticker warning end eye adjust 18x46 1 1,67 € 60399
00201-029 Cylinder head 36/26 M10 1 48,25 € 60100
00201-08 Cylinder head 36/26 hose M10 1 78,39 € 60100
00201-11 Cylinder head 36/22 gas valve 1 80,49 € 60100
00201-12 Cylinder head 36/25 gas valve 1 80,49 € 60100
00201-13 Cylinder head 36/22 gas valve 1 80,49 € 60100
00201-15 Cylinder head 36/26 Gas valve 1 80,49 € 60100
00201-17 Cylinder head 36/22 gas valve 1 80,49 € 60100
00201-19 Cylinder head 36/26 M10 Black 1 80,49 € 60100
00201-21 Cylinder head 36/22 hose 1 80,49 € 60100
00201-22 Cylinder head 36/25 hose 1 80,49 € 60100
00201-24 Cylinder head 36/25.4 hose M8 1 64,92 € 60102 NLA
00201-26 Cylinder head 36/ pin M10 type D 1 80,49 € 60100
00201-27 Cylinder head 36/ pin M10 typeH M10 1 80,49 € 60100
00201-28 Cylinderhuvud 36/26 hose 1 83,47 € 60100
00201-29 Cylinder head 36/26 M10 1 80,49 € 60100
00201-43 Cylinder head 36/26 hose M10 1 80,49 € 60100
00201-45 Cylinder head 36/26 hose M10 1 72,72 € 60100
00220-01 End eye 12/26/26 1 33,91€ 60100
00220-02 End eye 12/29.5/26 1 76,71 € 60100
00220-03 End eye 12/33/26 1 46,14 € 60100
00220-04 End eye 12/46.5/26 1 97,84 € 60100
00220-05 End eye 12/52.5/26 1 63,37 € 60100
00228-03 Bearing Yamaha 93332-00008 £ 1 69,85 € 60199|NLA
00230-01 Rubber mount reservoir 1 347 € 60200
00230-03 Rubber mount reservoir flat 1 3,70 € 60200
00230-04 Mount reservoir £ 1 4,11 € 60200
00231-01 Tie-rap L=188 1 0,67 € 60200
00231-02 Tie-rap L=260 1 1,86 € 60200
00231-03 Tie-rap L=1092 1 4,30 € 60199|NLA
00250-01 Washer 11.9/34/2 1 7,73 € 60200
00250-02 Washer 15.9/34/2 1 4,00 € 60200
00250-03 Washer 16.1/43/2 1 7,71 € 60200
00250-04 Washer 13.9/36/2 1 4,04 € 60100
00250-05 Washer 16.1/43/5 1 7,78 € 60200




00250-10 Washer 13.9/31/2.2 1 6,52 € 60200
00250-11 Washer 16.1/40/10 1 10,90 € 60200
00271-01 Shaft M15x1 1 40,02 € 60100
00272-02 End eye 36/25 1 46,69 € 60100
00273-02 End eye 56/25 1 76,71 € 60100
00276-01 Nut M15x1 1 22,24 € 60100
00300-01 Cylinder tube 36/177 1 35,58 € 60100
00300-02 Cylinder tube 36/180 1 35,08 € 60100
00300-03 Cylinder tube 36/190 1 37,08 € 60100
00300-04 Cylinder tube 36/201 1 61,04 € 60100
00300-05 Cylinder tube 36/207 1 61,04 € 60100
00300-06 Cylinder tube 36/211 1 61,04 € 60100
00300-07 Cylinder tube 36/230 1 61,04 € 60100
00300-08 Cylinder tube 36/155 1 39,28 € 60100
00300-09 Cylinder tube 36/246 1 84,83 € 60100
00300-10 Cylinder tube 36/149 1 32,02 € 60100
00300-12 Cylinder tube 36/133 1 29,13 € 60100
00300-13 Cylinder tube 36/129 1 84,05 € 60100
00300-16 Cylinder tube 36/137 1 30,91 € 60100
00300-17 Cylinder tube 36/158 1 29,13 € 60100
00300-18 Cylinder tube 36/195 1 70,26 € 60100
00300-19 Cylinder tube 36/221 1 84,94 € 60100
00300-20 Cylinder tube 36/167 1 41,08 € 60100
00300-22 Cylinder tube 36/163 1 77,16 € 60100
00300-23 Cylinder tube 36/119 1 36,86 € 60100
00300-24 Cylinder tube 36/145 1 38,08 € 60100
00300-25 Cylinder tube 36/226 1 40,58 € 60100
00300-26 Cylinder tube 36/174 1 35,85 € 60100
00300-27 Cylinder tube 36/160 1 33,35€ 60100
00300-28 Cylinder tube 36/103 1 29,69 € 60100
00300-29 Cylinder tube 36/141 1 31,69 € 60100
00300-30 Cylinder tube 36/182 1 36,69 € 60100
00300-31 Cylinder tube 36/171 1 30,68 € 60100
00300-32 Cylinder tube 36/216 1 68,04 € 60100
00300-35 Cylinder tube 36/186*******kkxkxxxx 1 35,98 € 60102 NLA
00300-36 Cylinder tube 36/270 1 34,36 € 60100
00300-37 Cylinder tube 36/199 1 66,31 € 60100
00300-40 Cylinder tube 36/242 1 33,80 € 60100
00300-41 Cylinder tube 36/11Q%*****kkkkrxxx 1 29,13 € 60100
00300-42 Cylinder tube 36/141 black 1 41,25 € 60100
00300-43 Cylinder tube 36/145 black 1 64,60 € 60100




00300-44 Cylinder tube 36/265 1 34,36 € 60100
00300-71 Cylinder tube 36/170 1 58,82 € 60100|New
00302-01 Reservoir 44/110 1 35,53 € 60100
00302-02 Reservoir 44/ 90 1 31,52 € 60100
00302-04 Reservoir 44/133 1 96,95 € 60100
00302-05 Reservoir 44/120 1 37,10 € 60100
00302-06 Reservoir 44/ 80 1 30,74 € 60100
00302-07 Reservoir 44/150 1 70,38 € 60100
00302-08 Reservoir 44/180 1 70,38 € 60100
00302-09 Reservoir 44/220 1 110,06 € 60100
00302-10 Reservoir 44/105 1 85,61 € 60100
00302-12 Reservoir 44/65 1 85,61 € 60100
00302-13 Reservoir 44/75 1 30,26 € 60100
00302-14 Reservoir 44/ 90 black 1 82,27 € 60100
00303-11 Cylinder head pb K36/22 1 122,74 € 60100
00303-12 Cylinder head pb K36/25 1 117,40 € 60100
00303-13 Cylinder head pb K36/26 1 104,06 € 60100
00303-31 Cylinder head pb K36/22 1 136,97 € 60100
00303-32 Cylinder head pb K36/25 1 131,63 € 60100
00303-33 Cylinder head pb K36/26 1 136,97 € 60100
00305-01 Reservoir piston 44 1 8,20 € 60100
00305-03 Reservoir piston 36 1 21,79 € 60100
00305-04 Reservoir piston 36 (3078-01) 1 25,57 € 60100
00305-05 Reservoir piston 36 1 14,46 € 60100
00313-03 Cylinder head pb 45¢ 36/22 1 109,40 € 60100
00313-04 Cylinder head pb 0 36/22 1 109,40 € 60100
00313-05 Cylinder head pb 77¢ 36/24 1 106,56 € 60100|NLA
00313-06 Cylinder head pb 103¢ 36/24 1 112,96 € 60100
00313-07 Cylinder head pb 909 36/22 1 144,08 € 60100
00313-80 Cylinder head, blank pb 36 1 59,97 € 60100
00325-01 End eye 12/26/25 Steel 1 65,59 € 60100
00325-04 End eye 12/29.5/22 Steel 1 55,04 € 60100
00325-06 End eye 12/33/22 Steel 1 93,39 € 60100
00325-11 End eye 12/26/25.4 Stee|******xx**x 1 32,24 € 60100
00329-01 Circlip 48/1.5 1 0,67 € 60200
00329-03 Circlip 48/2 1 381¢€ 60200
00329-04 Circlip 53/1.5 1 0,67 € 60200
00329-06 Circlip 62/2.0 1 5,60 € 60100
00329-07 Circlip 52.2/1.6 1 582¢€ 60200
00329-10 Circlip 44/1.5 1 8,34 € 60200|NLA
00329-11 Circlip 59/1.6 1 8,45 € 60200




00329-12 Circlip 47/2.0 1 4,72 € 60199|NLA
00329-13 Circlip 29x1.5 1 5,69 € 60200
00329-14 Circlip 56x2 1 5,79 € 60200
00329-15 Circlip 43x1.5 1 1,01€ 60200
00329-17 Circlip 27x1.5 1 7,32 € 60200
00329-19 Circlip 27x1.6 1 13,90 € 60200
00329-20 Circlip 49x1.5 Stainless 1 11,12 € 60200
00329-21 Circlip 33.2x1 1 0,67 € 60200
00329-22 Circlip 42x2.5 1 2,01€ 60200
00329-23 Circlip 53x1.6 1 1,01€ 60200
00329-26 Circlip SRH 18 (19.5x1) 1 1,92 € 60200
00329-30 Circlip SRH 46 (50x2.5) 1 5,68 € 60200
00338-01 O-ring 6.07x1.78 NBR70 £ 1 0,67 € 60200
00338-02 O-ring 38x2.5 NBR70 £ 1 0,67 € 60200
00338-03 O-ring 42.2x3 NBR70 £ 1 0,67 € 60200
00338-04 O-ring 33x5 NBR70 £ 1 0,67 € 60200
00338-05 O-ring 15.1x1.6 NBR70 £ 1 0,67 € 60200
00338-06 O-ring 14x4 NBR70 £ 1 0,67 € 60200
00338-07 O-ring 10.82x1.78 NBR70 £ 1 0,67 € 60200
00338-08 O-ring 11.91x2.62 NBR70 £ 1 0,67 € 60200
00338-09 O-ring 29.30x3.6 NBR70 £ 1 1,01 € 60200
00338-10 O-ring 14x1.78 NBR70 £ 1 0,67 € 60200
00338-11 O-ring 20.35x1.78 NBR70 £ 1 1,01 € 60200
00338-13 O-ring 36x5 FKM70 £ 1 7,39 € 60200
00338-14 O-ring 3.1x1.6 NBR70 £ 1 0,67 € 60200
00338-15 O-ring 18.77x1.78 NBR70 £ 1 0,67 € 60200
00338-16 O-ring 55x3 NBR70 £ 1 1,01 € 60200
00338-18 O-ring 7.65x1.78 NBR70 £ 1 0,67 € 60200
00338-20 O-ring 22.2x3 NBR70 £ 1 0,67 € 60200
00338-21 O-ring 10x3.5 NBR70 £ 1 0,67 € 60200
00338-22 O-ring 17.3x2.4 NBR70 £ 1 0,67 € 60200
00338-23 O-ring 48x2.5 NBR70 £ 1 2,14 € 60200
00338-24 O-ring 40.87x3.53 NBR70 £ 1 0,67 € 60200
00338-25 O-ring 19.2x3 NBR70 £ 1 0,67 € 60200
00338-26 O-ring 33x5 FKM70 (green) £ 1 521€ 60200
00338-27 O-ring 21.95x1.78 NBR70 £ 1 0,67 € 60200
00338-28 O-ring 28x4 NBR70 £ 1 0,67 € 60200
00338-29 O-ring 15.3x2.4 NBR70 £ 1 541€ 60205|NLA
00338-30 O-ring 55.56x3.53 EPDM £ 1 541€ 60205|NLA
00338-31 O-ring 2.9x1.78 NBR70 £ 1 0,67 € 60200
00338-32 O-ring 44.12x2.62 NBR70 £ 1 0,67 € 60200




00338-33 O-ring 55x2 NBR70 £ 1 0,67 € 60200
00338-34 O-ring 35.2x3 NBR70 £ 1 0,67 € 60200
00338-35 O-ring 23.3x2.4 NBR70 £ 1 0,67 € 60200
00338-36 O-ring 33.3x2.4 NBR70 £ 1 0,67 € 60200
00338-37 O-ring 50x2.5 NBR70 £ 1 0,67 € 60200
00338-38 O-ring 16.1x1.6 NBR70 £ 1 0,67 € 60200
00338-39 O-ring 6.1x1.6 NBR70 £ 1 0,67 € 60200
00338-40 O-ring 17x2 NBR70 £ 1 0,67 € 60200
00338-41 O-ring 9x4 NBR70 £ 1 2,31€ 60200
00338-42 O-ring 20x4 NBR70 £ 1 0,67 € 60200
00338-43 O-ring 3.1x1.6 FKM70 £ 1 1,01 € 60200
00338-44 O-ring 3.68x1.78 FKM70 £ 1 1,01 € 60200
00338-45 O-ring 21.95x1.78 FKM70 £ 1 2,85€ 60200
00338-46 O-ring 40.2 x 3 FKM70 £ 1 6,46 € 60200
00338-47 O-ring 40.87x3.53 FKM70 £ 1 6,83 € 60200
00338-48 O-ring 49.5x3 FKM70 £ 1 583 € 60200
00338-49 O-ring 55.2x3 FKM70 £ 1 5,41€ 60205|NLA
00338-51 O-ring 50x2.5 FKM70 £ 1 7,44 € 60200
00338-52 O-ring 32.99x2.62 NBR70 1 0,67 € 60200
00338-53 O-ring 7.1x1.6 NBR70 £ 1 0,67 € 60200
00338-54 O-ring 37x2 FKM70 £ 1 6,23 € 60200
00338-56 O-ring 2.6x1.3 NBR70 £ 1 0,67 € 60200
00338-57 O-ring 9.1x1.6 NBR70 £ 1 0,67 € 60200
00338-58 O-ring 6.75x1.78 NBR70 £ 1 0,67 € 60200
00338-59 O-ring 4.5x1.5 NBR70 £ 1 0,67 € 60200
00338-60 O-ring 8.1x1.6 NBR70 £ 1 0,67 € 60200
00338-61 O-ring 42.52x2.62 NBR70 £ 1 0,67 € 60200
00338-62 O-ring 44.12x2.62 FKM70 £ 1 6,12 € 60200
00338-63 O-ring 40.99x1.78 NBR70 £ 1 0,67 € 60200
00338-64 O-ring 35x2 NBR70 £ 1 0,67 € 60200
00338-65 O-ring 44.2x3 NBR70 £ 1 1,01 € 60200
00338-66 O-ring 3x1.5 NBR70 £ 1 0,67 € 60200
00338-67 O-ring 8x1 NBR70 £ 1 0,67 € 60200
00338-68 O-ring 22x1.5 NBR70 £ 1 0,67 € 60200
00338-69 O-ring 11.1x1.6 NBR70 £ 1 0,67 € 60200
00338-70 O-ring 27x4 NBR70 £ 1 5,77 € 60200
00338-71 O-ring 12.37x2.62 NBR70 £ 1 0,67 € 60200
00338-72 O-ring 27.1x1.6 NBR70 £ 1 0,67 € 60200
00338-73 O-ring 56.82x2.62 NBR70 £ 1 0,67 € 60200
00338-74 O-ring 42x5 FKM70 £ 1 10,23 € 60200
00338-75 O-ring 11x2 NBR70 £ 1 0,67 € 60200




00338-76 O-ring 14.3x2.4 NBR70 £ 1 0,67 € 60200
00338-77 O-ring 16x1 NBR70 £ 1 1,23 € 60200
00338-78 O-ring 18.1x1.6 NBR90 £ 1 0,67 € 60200
00338-79 O-ring 5.28x1.78 NBR70 £ 1 0,67 € 60200
00338-80 O-ring 6.5x1.6 NBR70 £ 1 0,67 € 60200
00338-81 O-ring 13x1.5 NBR70 £ 1 0,67 € 60200
00338-82 O-ring 3.5x1.5 NBR70 £ 1 0,67 € 60200
00338-83 O-ring 24x2 NBR70 £ 1 0,67 € 60200
00338-84 O-ring 41.5x3 NBR70 £ 1 0,67 € 60200
00338-85 O-ring 4.1x1.6 FKM70 £ 1 0,67 € 60200
00338-86 O-ring 5.1x1.6 FKM70 £ 1 0,67 € 60200
00338-87 O-ring 9.3x2.4 FKM70 £ 1 1,23 € 60200
00338-88 O-ring 10x2.5 NBR70 £ 1 0,67 € 60200
00338-89 O-ring 15.88x2.62 NBR70 £ 1 0,67 € 60200
00338-90 O-ring 54X4 NBR70 £ 1 1,23 € 60200
00338-91 O-ring 52.5x1.5 NBR70 £ 1 3,03€ 60200
00338-92 O-ring 37x2 NBR70 £ 1 0,67 € 60200
00338-93 O-ring 42x2.5 NBR70 £ 1 2,88 € 60200
00338-94 O-ring 6.35x1.27 NBR70 £ 1 2,03€ 60200
00338-95 O-ring 2.1x1.3 NBR70 £ 1 1,01 € 60200
00338-96 O-ring 30x4 NBR70 1 0,67 € 60200
00338-97 O-ring 47x5 FKM80 £ 1 10,67 € 60200
00338-98 O-ring 8x2 NBR70 £ 1 1,23 € 60200
00338-99 O-ring 56.82x2.62 FKM70 £ 1 5,90 € 60200
00340-01 Teflon band dia 44/5 55-60d shore D 1 4,04 € 60200
00340-03 Teflon band Dia 49/5 55-60D Shore D 1 4,67 € 60200
00350-01 Preload housing LH 1 101,15 € 60100
00350-02 Preload housing RH 1 101,15 € 60100
00382-01 Screw MFT (DIN965) A2 M6x10 £ 1 1,01 € 60200
00382-02 Screw MF6S 6x14 fzb 10.9 £ 1 0,67 € 60200
00382-04 Screw MFT (DIN965) A2 M4x12 £ 1 1,01 € 60200
00382-05 Screw MFT (DIN965) A2 M4x6 £ 1 1,23 € 60200
00382-06 Screw MF6S 3x8fzh 10.9%*#***xkxxskx g 1 1,23 € 60200
00382-07 Screw MFT 5x8 A2-60 1 0,67 € 60200
00382-08 Screw MF6S 5x12 stainless £ 1 1,01 € 60200
00382-10 Screw MF6S 6x25 stainless £ 1 1,23 € 60200
00382-11 Screw MF6S 8X30 fzb 10.9 £ 1 1,05€ 60199 (NLA
00382-12 Screw MF6S 8X20 fzb 10.9 £ 1 1,23 € 60200
00382-13 Screw MF6S 4x8 10.9 £ 1 1,01 € 60200
00382-14 Screw MF6S M12x25 109 fzb £ 1 573 € 60200
00382-15 Screw MF6S 5x18 10.9 fzb £ 1 3,70 € 60200




00382-16 Screw MF6S M6x14 A2-70 £ 1 0,67 € 60200
00382-17 Screw MF6S 6x20 10.9 fzb £ 1 0,67 € 60200
00382-18 Screw MF6S 4x22 8.8 fzb £¥*****kx*x 1 2,81€ 60200
00382-19 Screw MF6S M12x35 10.9fzb £ 1 1,23 € 60200
00382-20 Screw MFX-Z (DIN965) A4 3x6 £ 1 0,73 € 60199 (NLA
00382-21 Skruv MFT 8.8 M5x12 fzb £ 1 0,67 € 60200
00382-22 Screw MRT M5x6 A2 70 £ 1 1,23 € 60200
00382-23 Screw MF6S 5x10 stainless £ 1 0,67 € 60200
00382-24 Screw MF6S 4x12 10.9 FZB £ 1 0,67 € 60200
00382-25 Screw MFT 8.8 4x10 fzb £ 1 0,67 € 60100
00382-26 Screw MFT 6x8 8.8 fzb 1 1,23 € 60200
00382-27 Screw MFT 6x10 8.8 fzb 1 0,67 € 60100
00382-28 Screw MFT 6x12 8.8 fzb 1 0,67 € 60100
00382-29 Screw MFT 6x16 8.8 fzb 1 1,01 € 60100
00382-31 Screw MFT 4x16 A4 1 0,67 € 60200
00382-32 Screw MFT 6x25 1 1,01 € 60100
00382-33 Screw M3x5 1 0,67 € 60100
00382-34 Screw 3x8 1 1,01 € 60200
00382-35 Screw M3x4 1 1,23 € 60200
00382-37 Screw 12x20 1 1,23 € 60200
00382-38 Screw M6x20 1 3,92 € 60200
00382-39 Screw MF6S 5x14 1 0,67 € 60200
00382-40 Screw M5x16 1 0,67 € 60200
00382-45 Screw MF6S 6x40 £ 1 3,90 € 60200
00382-49 Screw M6S 12x60 (M12x1.25) 10.9 FZB 1 5,45 € 60100
00382-49 Screw M6S 12x60 (M12x1.25) 10.9 FZB 1 5,45 € 60100
00403-01 Reservoir 49/80 1 37,87 € 60100
00403-02 Reservoir 49/90 1 35,35€ 60100
00403-03 Reservoir 49/100 1 81,16 € 60100
00403-04 Reservoir 49/105 1 66,48 € 60100
00403-05 Reservoir 49/110 1 66,48 € 60100
00403-06 Reservoir 49/115 1 66,48 € 60100
00403-07 Reservoir 49/120 1 66,48 € 60100
00403-08 Reservoir 49/130 1 66,48 € 60100
00403-09 Reservoir 49/140 1 99,61 € 60100
00403-10 Reservoir 49/150 1 66,82 € 60100
00403-12 Reservoir 49/170 1 48,25 € 60100
00403-13 Reservoir 49/85 1 56,70 € 60100
00403-14 Reservoir 49/75 1 99,61 € 60100
00403-15 Reservoir 49/220 1 90,72 € 60100
00403-16 Reservoir 49/220, black 1 94,28 € 60100




00404-01 Reservoir 58/130 1 238,81 € 60100
00404-04 Reservoir 58/115 1 160,30 € 60100
00404-07 Reservoir 58/100 1 130,21 € 60100
00404-08 Reservoir 58/95 1 130,21 € 60100
00405-01 Reservoir piston 49 1 10,41 € 60100
00406-07 Reservoir 58/75 1 35,58 € 60100
00406-08 Reservoir 58/85 1 35,58 € 60100
00414-01 Washer 16.1/26/5 1 16,68 € 60100
00415-01 Adjustment ring 36 1 8,06 € 60200
00415-02 Adjustment ring 36 black 1 18,68 € 60100
00415-04 Adjustment ring 36 silver 1 12,72 € 60100
00416-01 Cam adjuster 36 1 5,65 € 60200
00416-02 Cam adjuster Black 1 9,92 € 60100
00416-04 Cam adjuster 36 silver 1 12,04 € 60100
00417-01 Support sl., spring 40.15/44/35 1 4,36 € 60200
00417-02 Support sleeve, spring 40.22/44/38 1 5,73 € 60200
00419-01 Washer 10.5/18/3 1 4,51 € 60199|NLA
00422-01 Washer 10.5/22/4 1 1,01 € 60200
00423-01 Spacer 16x18x22.5 1 11,12 € 60100
00424-01 Rubber bushing 18/22/18 1 15,37 € 60200
00426-01 Washer 6.4/12.3/3 TBRB 1 0,67 € 60200
00426-02 Washer 8.4/26/5 TBRSB 1 381€ 60200
00426-03 Washer 8.4/24/2 DIN9021 fzb £ 1 1,01 € 60200
00426-04 Washer 6.4/18/1.6 DIN9021 6.4 A2 £ 1 1,23 € 60200
00426-05 Washer 10.5/28/6 1 4,00 € 60200
00426-06 Washer 8.4/15/1.6 1 0,67 € 60200
00426-08 Washer10.5/20/2 DIN125 FZB £ 1 0,67 € 60200
00427-01 Bolt U6S 3/8"/89 551943 FZB 1 1,57 € 60199|NLA
00428-01 Circlip 36/1.5 1 0,67 € 60200
00429-01 Screw M6S fzb 8.8 10x40 £ 1 1,01 € 60200
00429-02 Screw M6S 8.8 fzb 10x45 £ 1 1,01 € 60200
00429-03 Screw M6S 8.8 fzb 8x20 £ 1 0,67 € 60200
00429-04 Screw M6S 8.8 fzb 4x12 £ 1 0,52 € 60199|NLA
00429-05 Screw M6S 8.8 fzb 5x12 £ 1 0,52 € 60199|NLA
00429-06 Screw M6S 8.8 fzb 8x25 £ 1 0,67 € 60200
00429-07 Screw M6S 8.8 fzb 10x65 £ 1 1,23 € 60200
00429-08 Screw M6S 8.8 fzb 4x16 £ 1 0,52 € 60199|NLA
00429-09 Screw M6S 10.9 fzb 10x70 f 1 2,10 € 60199|NLA
00429-10 Screw M6S 8.8 fzb 10x20 £ 1 0,67 € 60200
00429-11 Screw M6S 8.8 fzb 10x60 £ 1 1,23 € 60200
00429-13 Screw M6S 8.8 fzb 6x30 f 1 0,67 € 60200




00429-14 Screw M6S 8.8 fzb 8x50 £ 1 0,67 € 60200
00429-15 Screw M6S 8.8 fzb 10x55 £ 1 1,05 € 60199|NLA
00429-17 Screw M6S 8.8 fzb 10x50 £ 1 1,01 € 60200
00429-19 Screw M6S 8.8 fzb 6x16 £ 1 0,67 € 60200
00429-20 Screw M6S 8.8 fzb10x90 £ 1 1,57 € 60199|NLA
00429-27 Screw M6S 8.8 fzb 6x20 1 0,67 € 60200
00429-28 Screw M6S 8.8 fzb 8x95 1 2,73 € 60199|NLA
00429-29 Screw M6S 8.8 fzb 10x100 1 4,64 € 60200
00430-01 Nut M10 DIN 985 A2 80 £ 1 1,23 € 60200
00430-02 Nut M6 DIN 985 A2 80 £ 1 0,67 € 60200
00430-03 Nut M4 DIN 985 A2 80 £ 1 1,23 € 60200
00430-04 Nut M5 DIN 985 A2 80 £ 1 0,67 € 60200
00430-05 Nut M8 DIN 985 A2 80 £ 1 0,67 € 60200
00430-06 Nut M12 DIN 985 A2 80 £ 1 2,75 € 60200
00430-07 Nut M8 DIN985 8 fzb £ 1 0,67 € 60200
00431-01 Screw MLC6S 8x40 8.8 FZB £ 1 1,01€ 60200
00431-02 Screw MLC6S 6x16 8.8 FZB £ 1 0,67 € 60200
00431-03 Screw MLC6S 6x35 8.8 FZB £ 1 1,23 € 60200
00431-04 Screw MLC6S 8x45 8.8 FZB £ 1 3,03 € 60200
00431-05 Screw MLC6S 8x50 8.8 FZB £ 1 1,23 € 60200
00431-06 Screw MLC6C 8x25 8.8 FZB £ 1 1,23 € 60200
00431-09 Screw MLC6S 8x35 1 3,15€ 60199|NLA
00431-10 Screw MLC6S 6x14 8.8 1 0,67 € 60100
00431-11 Screw MLC6S 10x35 1 2,04 € 60200
00431-12 Screw MLC6S 10x16 1 3,29€ 60200
00432-01 Screw M6SF 8x35 8.8 £ 1 4,27 € 60200
00432-02 Screw M6SF 8x20 8.8 £ 1 0,67 € 60200
00432-03 Screw M6SF 12x1.25 x55 1 43,08 € 60100
00432-04 Screw K6S M10x1.5x30 10.9 fzb £ 1 533€ 60200
00432-05 Screw M6SF 8x45 8.8 fzb £ 1 5,45 € 60200
00432-06 Screw M6SF 12x1.25 x60 1 48,92 € 60100
00432-07 Screw M6SF 6x16 1 0,67 € 60200
00432-08 Screw M6SF 6x20 1 0,67 € 60200
00432-09 Screw M6SF 10x50 1 5,45 € 60200
00432-10 Screw M10x50 1 24,58 € 60100
00432-11 Screw 6x12 1 1,23 € 60100
00432-12 Screw M6SF 6x35 1 4,37 € 60200
00432-13 Screw M6SF 6x30 1 0,67 € 60200
00432-14 Screw M6SF 6x25 1 0,67 € 60200
00436-01 Circlip AV 12 1 1,86 € 60200
00436-02 Circlip AV 25 1 2,04 € 60200




00437-01 Nut M6 M6M Steel DIN934 fzb £ 1 0,67 € 60200
00437-02 Nut M6M steel M12 fzb £ 1 1,01 € 60200
00437-03 Lock nut steel flench M12 DIN 6927£ 1 4,51 € 60200
00437-05 Lock nut M6 1 0,67 € 60200
00437-06 Nut M6 1 1,01 € 60200
00437-07 Nut M4 1 0,67 € 60200
00437-08 Nut M10x1 DIN 439 B steel fzb £ 1 1,23 € 60200
00437-09 Nut M6M M8 fzb 1 0,67 € 60200
00438-01 O-ring 16x3 NBR70 £ 1 2,06 € 60200
00438-02 O-ring 23.52x1.78 NBR70 £ 1 0,67 € 60200
00438-03 O-ring 21.20x1.78 NBR70 £ 1 1,01 € 60200
00438-04 O-ring 48x2 FKM70 £ 1 3,82€ 60200
00438-05 O-ring 70x2 FKM70 £ 1 5,99 € 60200
00438-06 O-ring 24x4 FKM70 £ 1 0,67 € 60200
00438-08 O-ring 14x3 NBR70 £ 1 0,67 € 60200
00438-09 O-ring 50.34x3.53 NBR 70 £ 1 7,56 € 60200
00438-10 O-ring 52x3 NBR 70 £ 1 2,14 € 60200
00438-11 O-ring 40x1.5NBR 70 £ 1 5,41€ 60205|NLA
00438-12 O-ring 19x2 NBR 70 £ 1 0,67 € 60200
00438-14 O-ring 50x2 NBR 90 £ 1 1,01€ 60200
00438-15 O-ring 42.5x1.78 NBR70 £ 1 0,67 € 60200
00438-16 O-ring 47.35x1.78 NBR70 £ 1 1,01€ 60200
00438-17 O-ring 47x1.6 NBR70 £ 1 0,67 € 60200
00438-18 O-ring 35.1x1.6 NBR 70 £ 1 0,67 € 60200
00438-19 O-ring 36.1x3.53 nbr 70 £ 1 1,01 € 60200
00438-20 O-ring 61.6x2.4 nbr 70 £ 1 1,01 € 60200
00438-21 O-ring 59.6x2.4 nbr 70 £ 1 1,01 € 60200
00438-22 O-ring 12.1x1.6 nbr 70 £ 1 0,67 € 60200
00438-23 O-ring 18.72x2.62 nbr70 £ 1 0,67 € 60200
00438-24 O-ring 31x2 NBR70 £ 1 1,01 € 60200
00438-25 O-ring 52x1.5 NBR70 £ 1 1,01 € 60200
00438-26 O-ring 44.04x3.53 NBR70 £ 1 0,67 € 60200
00438-27 O-ring 40x5 FKM70 £ 1 6,07 € 60200
00438-28 O-ring 12x4 NBR70 £ 1 0,67 € 60200
00438-29 O-ring 25.8x3.53 NBR70 £ 1 0,67 € 60200
00438-30 O-ring 45X1.5 NBR 70 £ 1 1,01 € 60200
00438-31 O-ring 4.5X2 NBR 70 £ 1 0,67 € 60200
00438-32 O-ring 38.4x1.6 NBR 70 £ 1 3,56 € 60200
00438-33 O-ring 5.6x1.6 NBR70 £ 1 0,67 € 60200
00438-34 O-ring 57.8x1.6 NBR70 £ 1 4,36 € 60200
00438-35 O-ring 61.6x2.62 NBR70 £ 1 2,14 € 60200




00438-36 O-ring 64x1.5 NBR70 £ 1 1,96 € 60200
00438-37 O-ring 42.52x2,62 NBR70Q f£******* 1 0,67 € 60200
00438-38 O-ring 18,42x5,34 NBR70 £ 1 3,27 € 60200
00438-40 O-ring 80x2.5 NBR70 £ 1 0,67 € 60200
00438-41 O-ring 10x3 NBR70 £ 1 0,67 € 60200
00438-42 O-ring 17x1.5 NBR70 £ 1 0,67 € 60200
00438-43 O-ring 58x2 NBR70 £ 1 1,23 € 60200
00438-44 O-ring 50x2 NBR70 £ 1 1,01 € 60200
00438-45 O-ring 23.47x2.62 FKM 70 £ 1 7,78 € 60200
00438-46 O-ring 21x6 NBR 70 £ 1 1,02 € 60205|NLA
00438-47 O-ring 14x4 FKM70 £ 1 3,64 € 60200
00438-48 O-ring 57x2.5 NBR70 £ 1 2,03 € 60200
00438-49 O-ring 63x2.3 NBR70 £ 1 6,12 € 60200
00438-50 O-ring 33x2 NBR70 £ 1 1,01€ 60200
00438-51 O-ring 32.1x1.6 NBR 70 £ 1 0,67 € 60200
00438-52 O-ring 6.0x1 NBR 70 £ 1 0,67 € 60200
00438-53 O-ring 37x2.5NBR 70 £ 1 2,67 € 60200
00438-54 O-ring 20.3x2.4 NBR 70 £ 1 0,67 € 60200
00438-56 O-ring 32,5x1.5 NBR 70 £ 1 4,67 € 60200
00438-57 O-ring 23x3.5NBR 70 £ 1 0,67 € 60200
00438-58 O-ring 56,87x1,78 NBR 70 £ 1 0,67 € 60200
00438-59 O-ring 37x3 NBR 70 £ 1 1,23 € 60200
00438-60 O-ring 49x1.5 NBR 70 £ 1 1,01 € 60200
00438-61 O-ring 48x1.5NBR 70 £ 1 0,63 € 60200(NLA
00438-63 O-ring 10.1x1.6 NBR 70 £ 1 0,67 € 60200
00438-64 O-ring 5.6x1.6 FPM (FKM) 70 £ 1 3,03€ 60200
00438-66 O-ring 29.1x1.6 NBR 90 £ 1 0,67 € 60200
00438-67 O-ring 49.8x1.8 NBR 70 £ 1 4,20 € 60200
00438-68 O-ring 44.6x2.4 NBR 70 £ 1 0,67 € 60200
00438-69 O-ring 9.5x1.0 NBR70 £ 1 0,67 € 60200
00438-70 O-ring 53,7x1,78 NBR70 £ 1 0,67 € 60200
00438-72 0-ring 135,76x1,78 NBR70 £ 1 191€ 60200
00438-73 O-ring 31.5x3 FKM 70 £ 1 4,83 € 60200
00438-75 O-ring 29x5 FKM 70 £ 1 7,28 € 60200
00438-76 O-ring 8.5x1.5 FKM 70 £ 1 1,01 € 60200
00438-77 0O-ring 170.7x1.78 NBR70 £ 1 4,67 € 60200
00438-78 O-ring 32x2 NBR70 £ 1 0,67 € 60200
00438-79 O-ring 54x2.5 NBR70 £ 1 1,23 € 60200
00438-80 O-ring 50x1.5 FKM 70 £ 1 4,36 € 60200
00438-82 O-ring 72.69x2.62 NBR 70 1 1,01 € 60200
00438-83 O-ring 72.62x3.53 NBR 70 £ 1 1,23 € 60200




00438-84 O-ring 82x5 NBR 70 1 2,49 € 60200
00438-85 O-ring 34.2x3 NBR 70 £ 1 1,23 € 60200
00438-86 O-ring 42x2 NBR 70 £ 1 0,67 € 60200
00438-87 O-ring 44x1 1 3,56 € 60200
00438-88 O-ring 45.8x1.6 NBR70 £ 1 5,45 € 60200
00438-89 O-ring 29.74x2.95 NBR70 £ 1 0,67 € 60200
00438-90 O-ring 3.5x2 NBR70 £ 1 0,67 € 60200
00438-91 O-ring 18x3 NBR70 £ 1 2,14 € 60200
00438-93 O-ring 38x1.5 NBR70 £ 1 1,23 € 60200
00438-94 O-ring 37.4x1.78 NBR70 £ 1 5,45 € 60200
00438-95 O-ring 67x2 NBR70 £ 1 3,82 € 60200
00438-96 O-ring 37.82x1.78 NBR70 £ 1 0,67 € 60200
00438-97 O-ring 29x2 NBR 70 £ 1 0,67 € 60200
00438-98 O-ring 39x2 NBR 70 £ 1 0,67 € 60200
00438-99 O-ring 40x2 NBR 70 £ 1 0,67 € 60200
00439-01 Screw M10x1.25x40 1 3,53€ 60100
00439-02 Screw M10x1.25x45 1 2,19 € 60200
00439-03 Screw M10x1.25x90H 1 9,01 € 60200
00439-07 Screw M10x1.25x65 1 4,72 € 60199|NLA
00439-09 Screw M10x1.25x70 1 7,42 € 60200
00439-10 Screw M10x1.25x20 1 2,41€ 60199|NLA
00439-11 Screw M10x1.25x60 1 4,32 € 60200
00439-15 Screw M10x1.25x55 1 7,24 € 60200
00439-16 Screw M12x1.25x55 1 9,46 € 60200
00439-17 Screw M10x1.25x25 1 8,23 € 60200
00439-18 Screw M10x1.25x30 low head 1 40,02 € 60100
00439-19 Screw M10x1.25x40 Fas 1 35,09 € 60100
00439-20 Screw M10x1.25x60 1 48,92 € 60100
00440-01 Lock nut M10x1.25 1 3,74 € 60200
00441-01 Stud M10/M10x1.25 /63 1 8,57 € 60200
00441-02 Stud M10/M10x1.25 /53 1 13,39 € 60200
00441-11 Stud M10/M10x1.25 /63 hex 1 9,95 € 60200
00441-12 Stud M10/M10x1.25 /53 hex 1 9,78 € 60200
00442-02 Screw MLC6S 5x30 1 2,75 € 60200
00450-01 Lock nut M10/8.5 1 9,78 € 60200
00512-02 Reservoir 44/220 1 50,03 € 60100
00514-01 Piston 12/46 0.0-1.5 1 97,87 € 60100
00514-04 Piston 12/46 1.0-1.5 1 91,85 € 60100
00514-08 Piston 12/46 0.5-1.5 1 90,90 € 60100
00514-10 Piston 12/46 0.0-1.0 1 104,57 € 60100|NLA
00514-11 Piston 12/46 0.0-0.5 1 90,01 € 60100




00514-12 Piston 12/46 0.5-0.5 1 91,85 € 60100
00514-13 Piston 12/46 0.5-1.0 1 88,85 € 60100
00515-02 Cylinder head 46 1 179,44 € 60100
00516-01 Spring clip for springs 57 1 20,44 € 60200
00519-02 Stop washer 12/35/3 flat 1 6,46 € 60200
00519-04 Stop washer 12/37/4 flat 1 8,67 € 60200
00519-05 Stop washer 12/25/2 flat 1 5,73 € 60200
00519-07 Stop washer 12/20/2 flat 1 4,13 € 60200
00519-08 Stop washer 12/37/4 TOP-OUT 1 6,40 € 60200
00519-09 Stop washer 12/30/3 flat 1 5,69 € 60200
00519-10 Stop washer 12/35/3 flat black 1 9,78 € 60200
00519-11 Stop washer 12/30/4 flat 1 7,68 € 60200
00519-12 Stop washer 12/32/3 flat 1 5,99 € 60200
00519-13 Stop washer 12/34/1.5 flat black 1 8,79 € 60200
00519-14 Stop washer 12/30/3.3 flat black 1 19,79 € 60200
00519-16 Stop washer 12/38/3 1 44,92 € 60100
00520-16 Shims 12/16/0.20 25M 1,67 € 60200
00520-17 Shims 12/17/0.20 25M 1,67 € 60200
00520-18 Shims 12/18/0.20 25M 1,67 € 60200
00520-19 Shims 12/19/0.20 25M 1,67 € 60200
00520-20 Shims 12/20/0.20 25M 1,67 € 60200
00520-21 Shims 12/21/0.20 25M 1,67 € 60200
00520-22 Shims 12/22/0.20 25M 1,67 € 60200
00520-23 Shims 12/23/0.20 25M 1,67 € 60200
00520-24 Shims 12/24/0.20 25M 1,67 € 60200
00520-25 Shims 12/25/0.20 25M 1,67 € 60200
00520-26 Shims 12/26/0.20 25M 1,67 € 60200
00520-27 Shims 12/27/0.20 25M 1,67 € 60200
00520-28 Shims 12/28/0.20 25M 1,67 € 60200
00520-30 Shims 12/30/0.20 25M 1,67 € 60200
00520-31 Shims 12/31/0.20 25M 1,67 € 60200
00520-32 Shims 12/32/0.20 25M 1,67 € 60200
00520-33 Shims 12/33/0.20 25M 1,67 € 60200
00520-34 Shims 12/34/0.20 25M 1,67 € 60200
00520-36 Shims 12/36/0.20 25M 1,67 € 60200
00520-37 Shims 12/37/0.20 25M 1,67 € 60200
00520-38 Shims 12/38/0.20 25M 1,67 € 60200
00520-40 Shims 12/40/0.20 25M 1,67 € 60200
00520-42 Shims 12/42/0.20 25M 1,67 € 60200
00520-44 Shims 12/44/0.20 25M 1,67 € 60200
00525-16 Shims 12/16/0.25 25M 1,67 € 60200




00525-17 Shims 12/17/0.25 25M 1,67 € 60200
00525-18 Shims 12/18/0.25 25M 1,67 € 60200
00525-19 Shims 12/19/0.25 25M 1,67 € 60200
00525-20 Shims 12/20/0.25 25M 1,67 € 60200
00525-21 Shims 12/21/0.25 25M 1,67 € 60200
00525-22 Shims 12/22/0.25 25M 1,67 € 60200
00525-23 Shims 12/23/0.25 25M 1,67 € 60200
00525-24 Shims 12/24/0.25 25M 1,67 € 60200
00525-25 Shims 12/25/0.25 25M 1,67 € 60200
00525-26 Shims 12/26/0.25 25M 1,67 € 60200
00525-27 Shims 12/27/0.25 25M 1,67 € 60200
00525-28 Shims 12/28/0.25 25M 1,67 € 60200
00525-30 Shims 12/30/0.25 25M 1,67 € 60200
00525-31 Shims 12/31/0.25 25M 1,67 € 60200
00525-32 Shims 12/32/0.25 25M 1,67 € 60200
00525-33 Shims 12/33/0.25 25M 1,67 € 60200
00525-34 Shims 12/34/0.25 25M 1,67 € 60200
00525-36 Shims 12/36/0.25 25M 1,67 € 60200
00525-38 Shims 12/38/0.25 25M 1,67 € 60200
00525-40 Shims 12/40/0.25 25M 1,67 € 60200
00525-42 Shims 12/42/0.25 25M 1,67 € 60200
00525-44 Shims 12/44/0.25 25M 1,67 € 60200
00530-16 Shims 12/16/0.30 25M 1,67 € 60200
00530-17 Shims 12/17/0.30 25M 1,67 € 60200
00530-18 Shims 12/18/0.30 25M 1,67 € 60200
00530-19 Shims 12/19/0.30 25M 1,67 € 60200
00530-20 Shims 12/20/0.30 25M 1,67 € 60200
00530-21 Shims 12/21/0.30 25M 1,67 € 60200
00530-22 Shims 12/22/0.30 25M 1,67 € 60200
00530-23 Shims 12/23/0.30 25M 1,67 € 60200
00530-24 Shims 12/24/0.30 25M 1,67 € 60200
00530-25 Shims 12/25/0.30 25M 1,67 € 60200
00530-26 Shims 12/26/0.30 25M 1,67 € 60200
00530-27 Shims 12/27/0.30 25M 1,67 € 60200
00530-28 Shims 12/28/0.30 25M 1,67 € 60200
00530-30 Shims 12/30/0.30 25M 1,67 € 60200
00530-31 Shims 12/31/0.30 25M 1,67 € 60200
00530-32 Shims 12/32/0.30 25M 1,67 € 60200
00530-33 Shims 12/33/0.30 25M 1,67 € 60200
00530-34 Shims 12/34/0.30 25M 1,67 € 60200
00530-36 Shims 12/36/0.30 25M 1,67 € 60200




00530-38 Shims 12/38/0.30 25M 1,67 € 60200
00530-40 Shims 12/40/0.30 25M 1,67 € 60200
00531-01 Spring platform 52/56.5/73 1 19,14 € 60200
00531-04 Spring platform 52/60.4/73 1 33,35€ 60100
00531-06 Spring platform 52/56.5/73 carbonf. 1 7,19 € 60200
00531-12 Spring platform 52/56.5/73 coated 1 39,96 € 60100
00531-14 Spring platform 52/56.5/73 coated black 1 70,26 € 60100
00532-01 Lock nut 52/73 1 11,41 € 60200
00532-03 Lock nut 55/73 1 34,52 € 60200
00532-07 Lock nut 57/68 1 48,37 € 60100
00532-08 Lock nut 57/73 1 23,25 € 60100
00532-09 Lock nut 57/73 1 57,48 € 60100
00532-14 Lock nut 52/73 coated black 1 67,82 € 60100
00532-21 Lock nut 52/73 1 9,58 € 60100
00532-22 Nut 56/72.6 1 30,36 € 60100
00533-01 Lock nut M52x1.5/6 46 cylinder 1 14,45 € 60200
00533-01 Lock nut M52x1.5/6 46 cylinder 1 14,45 € 60200
00533-21 Lock nut M52x1.5/6 46 cylinder 1 22,24 € 60100
00534-01 Seal ball joint 16/26/3.5 1 345¢€ 60200
00534-02 Seal ball joint 19/26.5/2.3 1 1,01 € 60200
00536-04 Ball joint dia 14/26/15 1 35,58 € 60200
00536-12 Ball joint dia 14/26/15 1 44,70 € 60200
00536-13 Ball joint dia 14/26/15 1 21,03 € 60200
00536-14 Ball joint, 15/26/12 1 56,50 € 60200
00538-16 Shims 12/16/0.38 25M 1,67 € 60200
00538-18 Shims 12/18/0.38 25M 1,67 € 60200
00538-19 Shims 12/19/0.38 25M 1,67 € 60200
00538-20 Shims 12/20/0.38 25M 1,67 € 60200
00538-21 Shims 12/21/0.38 25M 1,67 € 60200
00538-22 Shims 12/22/0.38 25M 1,67 € 60200
00538-23 Shims 12/23/0.38 25M 1,67 € 60200
00538-24 Shims 12/24/0.38 25M 1,67 € 60200
00538-25 Shims 12/25/0.38 25M 1,67 € 60200
00538-26 Shims 12/26/0.38 25M 1,67 € 60200
00538-28 Shims 12/28/0.38 25M 1,67 € 60200
00538-29 Shims 12/29/0.38 25M 1,67 € 60200
00538-30 Shims 12/30/0.38 25M 1,67 € 60200
00538-31 Shims 12/31/0.38 25M 1,67 € 60200
00538-32 Shims 12/32/0.38 25M 1,67 € 60200
00538-33 Shims 12/33/0.38 25M 1,67 € 60200
00538-34 Shims 12/34/0.38 25M 1,67 € 60200




00538-36 Shims 12/36/0.38 25M 1,67 € 60200
00538-38 Shims 12/38/0.38 25M 1,67 € 60200
00538-40 Shims 12/40/0.38 25M 1,67 € 60200
00539-01 Lock nut M12x1.25/7 1 6,04 € 60200
00539-03 Lock Nut M12x1.25/7, Flange 24/HEX19 1 27,35 € 60100
00539-11 Lock nut M12x1.25/7 1 5,84 € 60200
00539-80 Lock nut M12x1.25/7, blank, only for OAS First order 1 4,44 € 60200
00541-01 Piston ring 46 1 4,74 € 60200
00541-02 Piston ring 46, soft 1 30,02 € 60200
00541-03 Piston ring 46, soft 1 16,45 € 60200
00541-04 Piston ring 44 soft 1 16,79 € 60200
00541-50 Piston ring 50 1 6,18 € 60200
00543-01 Washer 57/73/1 1 5,65 € 60200
00543-02 Washer 61/76/1 1 15,01 € 60100
00543-03 Spring washer 57/73/1 1 9,95 € 60200
00543-05 Spring adapter 57/61 1 70,32 € 60100
00543-09 Washer 57/73/1 coated 1 14,65 € 60200
00544-01 Spring platform Tr57 1 13,84 € 60100
00544-03 Spring platform M52 for 57-springs 1 35,38 € 60100
00544-04 Spring platform Tr57x2 big 1 33,23 € 60100
00544-05 Spring platform M54 for 57-springs 1 15,01 € 60200
00544-06 Spring platform Tr57x2 1 95,61 € 60100
00544-07 Spring platform Tr57x2 1 51,67 € 60100
00545-01 Spring platform clamp dia 63 1 36,69 € 60100
00545-02 Spring platform clamp dia 57 1 66,71 € 60100
00556-01 Bushing 14/16/15 MB1415DU £ 1 6,34 € 60200
00557-01 Circlip 28/1.0 1 0,67 € 60200
00557-03 Circlip 20.5/1.0 1 2,58 € 60200
00557-04 Circlip 17,5/1.0 1 570 € 60200
00557-05 Circlip 30/1.0 1 2,67 € 60200
00557-06 Circlip 34.2/1.1 1 0,67 € 60200
00557-07 Circlip 25.8/1.1 1 0,67 € 60200
00557-08 Circlip 23/1.0 1 0,67 € 60200
00561-03 Reservoir end 44 1 12,79 € 60100
00561-04 Reservoir end cap 44 1 22,38 € 60100
00561-05 Reservoir end cap 44 black 1 20,02 € 60100
00562-01 Washer 19/M37/2.7 1 27,79 € 60100
00563-01 Bump rubber 16/47/55 PUR 600 1 27,06 € 60200
00563-02 Bump rubber 16/47/36 PUR 650 1 11,46 € 60200
00563-03 Bump rubber 16/48/19 PUR 650 1 10,68 € 60200
00563-04 Bump rubber 16/-/28 PUR 650 1 33,97 € 60200




00563-05 Bump rubber 16/48/10 PUR 650 1 20,95 € 60200
00563-06 Bump rubber 16/23 1 16,37 € 60200
00563-07 Bump rubber 16/49/55 PUR 650, Svart 1 18,14 € 60200
00563-08 Bump rubber 16/49/50 PUR 650 1 8,67 € 60200
00563-09 Bump rubber 16.1/47/40 1 10,31 € 60200
00563-11 Bump rubber 16.1/47/40/650 1 7,92 € 60200
00563-13 Bump rubber 16/47/55 1 12,18 € 60200
00563-14 Bump rubber 18/47/36 PUR 650 1 22,45 € 60200
00563-15 Bump rubber 16/51/55 white 1 9,84 € 60200
00563-16 Bump rubber 16/41.5/19 PUR 650 1 22,45 € 60200
00563-17 Bump rubber 16/49/55PUR650 natur*** 1 13,19 € 60200
00563-23 Bump rubber 16/47/19 PUR 650 1 563 € 60200
00563-24 Bump stop 10/42/40 1 38,15 € 60200
00563-26 Bump rubber 18/47/73 PUR 650 1 51,96 € 60200
00563-28 Bump rubber 16/47/55 PUR 600 1 43,35 € 60200
00563-29 Bump rubber 16/57/55 PUR 550 1 19,49 € 60200
00563-30 Bump rubber 16/57/55 PUR 550 1 23,50 € 60200
00563-31 Bump rubber 16/57/55 PUR 650 1 24,64 € 60200
00563-80 Bump rubber bl 15/50/250 550 1 103,17 € 60100
00564-01 Bump rubber 16/50/23 PUR 600 1 9,26 € 60200
00566-01 Adj.shaft 150.8/4.5 1 592 € 60200
00566-02 Adj.shaft 258.3/4.5 1 6,53 € 60100
00566-03 Adj.shaft 155.8/4.5 1 592 € 60200
00566-04 Adj.shaft 134.3/4.5 1 592 € 60200
00566-05 Adj.shaft 237.5/4.5 1 592 € 60200
00566-06 Adj.shaft 153.5/4.5 1 592 € 60100
00566-07 Adj.shaft 164.8/4.5 1 592 € 60100
00566-08 Adj.shaft 221.3/4.5 1 6,53 € 60100
00566-09 Adj.shaft 145.5/4.5 1 592 € 60200
00566-10 Adj.shaft 180.8/4.5 1 592 € 60100
00566-12 Adj.shaft 175.3/4.5 1 592 € 60200
00566-13 Adj.shaft 192.3/4.5 1 7,01 € 60100
00566-14 Adj.shaft 158.8/4.5 1 592 € 60100
00566-15 Adj.shaft 140.8/4.5 1 592 € 60200
00566-16 Adj.shaft 187.8/4.5 1 6,53 € 60100
00566-17 Adj.shaft 107.6/4.5 1 592 € 60100
00566-18 Adj.shaft 97.5/4.5 1 6,23 € 60200
00566-19 Adj.shaft 98.5/4.5 1 592 € 60100
00566-21 Adj.shaft 152/4.5 1 592 € 60200
00566-22 Adj.shaft 128.4/4.5 1 592 € 60200
00566-23 Adj.shaft 123.5/4.5 1 592 € 60100




00566-24 Adj.shaft 201.5/4.5 1 31,69 € 60100
00566-25 Adj.shaft 196.5/4.5 1 6,53 € 60100
00566-26 Adj.shaft 182.3/4.5 1 5,92 € 60200
00566-27 Adj.shaft 173.3/4.5 1 5,92 € 60200
00566-28 Adj.shaft 188.8/4.5 1 5,92 € 60100
00566-29 Adj.shaft 96.2/4.5 1 5,92 € 60100
00566-30 Adj.shaft 125.5/4.5 1 5,92 € 60100
00566-31 Adj.shaft 176/4.5 1 5,92 € 60200
00566-32 Adj.shaft 174.1/4.5 1 6,53 € 60200
00566-34 Adj.shaft 193.7/4.5 1 5,92 € 60100
00566-35 Adj.shaft 108.6/4.5 1 5,92 € 60100
00566-36 Adj.shaft 110.6/4.5 1 5,92 € 60100
00566-37 Adj.shaft 166.5/4.5 1 5,92 € 60100
00566-38 Adj.shaft 184.6/4.5 1 5,92 € 60200
00566-39 Adj.shaft 174.6/4.5 1 5,92 € 60100
00566-40 Adj.shaft 172.6/4.5 1 5,92 € 60200
00566-41 Adj.shaft 100.6/4.5 1 5,92 € 60100
00566-42 Adj.shaft 90.0/4.5 1 5,92 € 60200
00566-44 Adj.shaft 142.3/4.5 1 5,92 € 60200
00566-45 Adj.shaft 99.6/4.5%*******x 1 5,92 € 60200
00566-46 Adj.shaft 167.0/4.5 1 6,53 € 60100
00566-47 Adj.shaft 136.0/4.5 1 5,92 € 60200
00566-48 Adj.shaft 115.6/4.5 1 592 € 60200
00566-49 Adj.shaft 160.3/4.5 1 6,53 € 60100
00566-50 Adj.shaft 220.5/4.5 1 6,53 € 60200
00566-51 Adj.shaft 250.5/4.5 1 592 € 60200
00566-52 Adj.shaft 126.5/4.3 1 10,73 € 60200
00566-53 Adj.shaft 138.5/4.5 1 5,92 € 60100
00566-54 Adj.shaft 157.5/4.5 1 6,53 € 60200
00566-55 Adj.shaft 208.6/4.5 1 6,53 € 60200
00566-56 Adj.shaft 105.6/4.5 1 592 € 60100
00566-57 Adj.shaft 219.6/4.5 1 6,53 € 60200
00566-58 Adj.shaft 213.6/4.5 1 6,23 € 60100
00566-59 Adj.shaft 113.6/4.5 1 592 € 60100
00566-60 Adj.shaft 133.6/4.5 1 592 € 60100
00566-61 Adj.shaft 131.6/4.5 1 592 € 60200
00566-62 Adj.shaft 91.5/4.5 1 592 € 60200
00566-63 Adj.shaft 92.8/4.5 1 592 € 60200
00566-64 Adj.shaft 119.6/4.5 1 592 € 60100
00566-65 Adj.shaft 146.6/4.5 1 6,53 € 60200
00566-66 Adj.shaft 83.6/4.5 1 592 € 60100




00566-67 Adj.shaft 229.6/4.5 1 592 € 60100
00566-68 Adj.shaft 209.6/4.5 1 592 € 60100
00566-69 Adj.shaft 109.1/4.5 1 592 € 60200
00566-70 Adj.shaft 204.6/4.5 1 592 € 60100
00566-71 Adj.shaft 253.6/4.5 1 592 € 60100
00566-72 Adj.shaft 281.1/4.5 1 592 € 60100
00566-73 Adj.shaft 244.0/4.5 1 6,53 € 60200
00566-74 Adj.shaft 336.0/4.5 1 592 € 60100
00566-75 Adj.shaft 117.6/4.5 1 592 € 60100
00566-77 Adj.shaft 267.0/4.5 1 592 € 60200
00566-78 Adj.shaft 287.0/4.5 1 6,53 € 60100
00566-79 Adj.shaft 139.8/4.5 1 592 € 60100
00566-80 Adj.shaft 163.6/4.5 1 5,92 € 60100
00566-81 Adj.shaft 183.6/4.5 1 5,92 € 60100
00566-82 Adj.shaft 143.6/4.5 1 5,92 € 60100
00566-83 Adj.shaft 103.6/4.5 1 5,92 € 60100
00566-84 Adj.shaft 93.6/4.5 1 5,92 € 60100
00566-85 Adj.shaft 85.0/4.5 1 6,23 € 60200
00566-86 Adj.shaft 289.0/4.5 1 5,92 € 60100
00566-87 Adj.shaft 148.6/4.5 1 5,92 € 60100
00566-88 Adj.shaft 185.6/4.5 1 5,92 € 60100
00566-89 Adj.shaft 202.5/4.5 1 6,53 € 60100
00566-91 Adj.shaft 212.6/4.3 1 6,53 € 60100
00566-92 Adj.shaft 247.6/4.5 1 592 € 60100
00566-94 Adj.shaft 88.6/4.5 1 592 € 60100
00566-95 Adj.shaft 85.6/4.5 1 592 € 60100
00566-96 Adj.shaft 14/4,5 1 5,56 € 60101 |NLA
00566-97 Adj.shaft 163.8/4.5 1 592 € 60100
00566-98 Adj.shaft 173.8/4.5 1 592 € 60100
00566-99 Adj.shaft 209.8/4.5 1 592 € 60200
00570-01 Cylinder head hose 46/26-M10x1 1 87,72 € 60100
00570-03 Cylinder head hose 46/26-M12 1 111,07 € 60100
00570-04 Cylinder head hose 46/26-M12 1 87,72 € 60100
00570-06 Cylinder head gas valve 46/26****** 1 137,86 € 60100
00570-07 Cylinder head hose 46/26-M12 1 133,41 € 60100
00570-11 Cylinder head hose 46/26%*****x**xx* 1 91,16 € 60100
00570-19 Cylinder head 46/25.4-M10x1 1 133,41 € 60100
00570-20 Cylinder head 46/26-M10x1 circlips 1 103,17 € 60100
00570-21 Cylinder head hose 46/26-M14 1 87,72 € 60100
00570-22 Cylinder head 46/25.4 M14x1.5 circl 1 62,19 € 60102 |NLA
00570-23 Cylinder head hose 46/26-M10x1 1 158,32 € 60100




00570-24 Cylinder head hose 46/26-M10x1 1 137,86 € 60100
00570-25 Cylinder head hose 46/26-Swivel 1 96,06 € 60100
00570-27 Cylinder head 46/26-M10x1 1 121,85 € 60100
00575-01 Circlip SB 46, stainless 1 5,29 € 60100
00575-02 Circlip SB 50 1 2,48 € 60200
00575-03 Circlip SB 27 1 3,70 € 60200
00575-04 Circlip SB 35 1 1,23 € 60200
00575-06 Circlip SB 37 1 0,73 € 60199|NLA
00575-10 Circlip SB 33 1 3,50 € 60200
00575-11 Circlip SB 29 1 1,57 € 60199|NLA
00575-12 Circlip SB 24 1 1,01 € 60200
00575-13 Circlip SB 23 1 4,92 € 60200
00575-15 Circlip SB44 1 3,61€ 60200
00576-01 O-ring 40.2x3 NBR70 £ 1 0,67 € 60200
00576-02 O-ring 40x2.5 NBR 70 £ 1 0,67 € 60200
00576-03 O-ring 46x2.5 NBR70 £ 1 0,67 € 60200
00576-04 O-ring 60x2.5 NBR70 £ 1 0,67 € 60200
00576-05 O-ring 60x1.5 NBR70 £ 1 0,67 € 60200
00576-06 O-ring 30x1.5 NBR70 £ 1 1,01 € 60200
00576-07 O-ring 27x2 NBR70 £ 1 0,67 € 60200
00576-11 O-ring 27x3 NBR70 1 1,01 € 60200
00576-12 O-ring 26.64x2.62 NBR70 1 0,67 € 60200
00576-14 O-ring 31x2.5 NBR70 1 0,97 € 60200|Expiring
00576-17 O-ring 4.5x1 NBR70 1 0,67 € 60200
00576-18 O-ring 26x1.5 NBR70 1 0,67 € 60200
00576-20 O-ring 12x1 NBR70 1 0,67 € 60200
00576-21 O-ring 35x1.5 NBR70 1 0,67 € 60200
00576-22 O-ring 23.52x1.78 FPM 75 Black 1 0,67 € 60200
00576-23 O-ring 31.47x1.78 NBR70 1 1,23 € 60200
00576-24 O-ring 19.3x2.4 NBR70 1 0,67 € 60200
00576-25 O-ring 14.1x1.6 NBR70 1 0,67 € 60200
00576-28 O-ring 11.5x2.5 NBR70 £ 1 0,67 € 60200
00577-01 O-ring 5.1x1.6 NBR70 £ 1 0,67 € 60200
00578-01 Washer PS 12/18/1 1 0,67 € 60200
00578-02 Washer PS 12/18/1 FZB 1 1,23 € 60200
00578-03 Washer PS 10/16/1 1 0,67 € 60200
00578-04 Washer PS 6/12/1 1 0,67 € 60200
00579-01 O-ring 49.5x3 £ 1 0,67 € 60200
00582-01 O-ring 12.42x1.78 £ 1 3,56 € 60200
00583-01 O-ring 7.3x2.4 NBR70 £ 1 0,67 € 60200
00586-01 Seal washer dia 10 10.7x16x1.5 1 1,23 € 60200




00586-02 Seal washer dia 4 4.5x7x1 £ 1 1,23 € 60200
00586-03 Seal washer M5 CR BMSC 105 £ 1 2,14 € 60200
00586-04 Seal washer dia 10 10.7x16x1.5 FKM 1 8,24 € 60200
00587-02 Valve housing M10x1 filling gas 1 38,44 € 60100
00592-30 Packing 560x225x176 1 4,00 € 61200
00592-32 Packing 220x160x65 1 1,01 € 61200
00592-35 Packing 1160x255x104 1 6,34 € 61200
00592-35 Packing 1160x255x104 1 6,34 € 61200
00592-36 Packing 300x95x95 1 2,22 € 61200
00592-36 Packing 300x95x95 1 2,22 € 61200
00592-37 Packing 755x130x100 1 2,45 € 61200
00592-37 Packing 755x130x100 1 2,45 € 61200
00592-49 Packing 175x125x40 1 0,89 € 61200
00592-58 Packing 956x250x120 1 5,01€ 61200
00603-01 Valve gas assy with rubber unit 1 34,38 € 60100
00603-03 Valve assy 1 30,86 € 60100
00604-01 Rubber valve 1 0,67 € 60200
00605-03 Valve M4/M10x1/16.2 1 12,73 € 60100
00610-16 Shims 12/16/0.10 25M 1,67 € 60200
00610-17 Shims 12/17/0.10 25M 1,67 € 60200
00610-18 Shims 12/18/0.10 25M 1,67 € 60200
00610-19 Shims 12/19/0.10 25M 1,67 € 60200
00610-20 Shims 12/20/0.10 25M 1,67 € 60200
00610-21 Shims 12/21/0.10 25M 1,67 € 60200
00610-22 Shims 12/22/0.10 25M 1,67 € 60200
00610-23 Shims 12/23/0.10 25M 1,67 € 60200
00610-24 Shims 12/24/0.10 25M 1,67 € 60200
00610-25 Shims 12/25/0.10 25M 1,67 € 60200
00610-26 Shims 12/26/0.10 25M 1,67 € 60200
00610-27 Shims 12/27/0.10 25M 1,67 € 60200
00610-28 Shims 12/28/0.10 25M 1,67 € 60200
00610-29 Shims 12/29/0.10 25M 1,67 € 60200
00610-30 Shims 12/30/0.10 25M 1,67 € 60200
00610-31 Shims 12/31/0.10 25M 1,67 € 60200
00610-32 Shims 12/32/0.10 25M 1,67 € 60200
00610-33 Shims 12/33/0.10 25M 1,67 € 60200
00610-34 Shims 12/34/0.10 25M 1,67 € 60200
00610-35 Shims 12/35/0.10 25M 1,67 € 60200
00610-36 Shims 12/36/0.10 25M 1,67 € 60200
00610-37 Shims 12/37/0.10 25M 1,67 € 60200
00610-38 Shims 12/38/0.10 25M 1,67 € 60200




00610-39 Shims 12/39/0.10 25M 1,67 € 60200
00610-40 Shims 12/40/0.10 25M 1,67 € 60200
00629-01 Spring clip for springs 57 1 19,10 € 60200
00629-03 Spring clip for shaft 22 1 47,34 € 60100
00629-04 Spring clip for springs 2,5" 1 74,83 € 60100
00629-05 Spring clip for springs G1%*****x*x 1 59,93 € 60100
00629-06 Spring clip for springs 61 1 38,76 € 60100
00629-07 Spring clip for springs 61, high 1 113,93 € 60100
00629-08 Spring retainer 50,8 1 32,81 € 60100
00629-10 Spring clip for springs 61, high ver.2 1 82,27 € 60100
00629-12 Spring clip for springs 57 black 1 64,04 € 60100
00629-21 Spring clip for springs 57 Ti grey 1 48,92 € 60100
00631-01 Banjo bolt M10x1/20 1 7,50 € 60200
00631-02 Banjo bolt M10x1/20/M5 1 7,95 € 60200
00631-04 Banjo bolt inside hex .M10 1 2591 € 60200
00634-01 Banjo bolt M12x1.5 AL 1 25,57 € 60200
00636-03 Hose 12/12/285 1 63,26 € 60100
00636-05 Hose 12/12/330 1 63,26 € 60100
00636-07 Hose 12/12/260 1 98,77 € 60100
00636-08 Hose 12/12/270 1 42,64 € 60100|NLA
00636-09 Hose 12/12/350 1 76,71 € 60100
00636-10 Hose 12/12/190 1 43,77 € 60100
00636-11 Hose 12/12/265%*** 1 33,56 € 60100|NLA
00636-12 Hose 12/12/250 1 87,44 € 60100
00636-13 Hose 12/12/295 1 96,06 € 60100
00636-14 Hose 12/12/180 1 82,61€ 60100
00636-15 Hose 12/12/170 1 35,85 € 60100
00636-16 Hose 12/12/200 1 63,26 € 60100
00636-17 Hose 12/12/240 1 43,37 € 60100
00636-20 Hose 12/12/320 1 95,73 € 60100
00636-22 Hose 12/12/260 1 103,73 € 60100
00636-24 Hose 12/12/300 1 97,68 € 60100
00636-25 Hose 12/12/170 1 36,96 € 60100
00636-27 Hose 12/12/580 1 91,38 € 60100
00636-28 Hose 12/12/555 1 91,36 € 60100
00636-29 Hose 12/12/550 1 98,57 € 60100
00636-30 Hose 12/12/220 1 46,37 € 60100
00636-31 Hose 12/12/425 1 73,62 € 60100
00636-32 Hose 12/12/180 1 34,14 € 60100|NLA
00636-34 Hose 12/12/375 1 95,60 € 60100
00636-35 Hose 12/12/660 1 88,02 € 60100




00636-36 Hose 12/12/650 1 87,32 € 60100
00636-38 Hose 12/12/200 1 38,02 € 60100
00636-39 Hose 12/12/235 1 94,97 € 60100
00636-40 Hose 12/12/600 1 104,55 € 60100
00636-43 Hose 12/12/535 1 80,32 € 60100
00636-44 Hose 12/12/360 1 44,70 € 60100|NLA
00636-45 Hose 12/12/620 1 94,28 € 60100
00636-49 Hose 12/12/335/135 PVC 1 42,91 € 60100
00636-50 Hose 12/12/430 1 87,48 € 60100
00636-51 Hose 12/12/120 1 100,57 € 60100
00636-52 Hose 12/12/915 1 63,26 € 60100
00636-53 Hose 12/12/450 1 81,22 € 60100
00636-54 Hose 12/12/330 1 74,34 € 60100
00637-01 Hose 10/10/500-15 1 79,19 € 60100
00637-02 Hose 10/10/230-15 1 86,80 € 60100
00637-03 Hose 10/10/300-15 1 105,62 € 60100
00637-05 Hose 10/10/330-15 1 70,92 € 60100
00637-06 Hose 10/10/400-15 1 70,04 € 60100
00637-07 Hose 10/10/655-0 1 99,70 € 60100
00637-08 Hose 10/10/220-150 1 86,40 € 60100
00637-09 Hose 10/10/350-0 1 103,73 € 60100
00637-10 Hose 10/10/250-0 1 98,38 € 60100
00637-11 Hose 10/10/570-0 1 80,40 € 60100
00637-12 Hose 10/10/450-0 1 110,63 € 60100
00637-13 Hose 10/10/520-90 1 90,22 € 60100
00637-14 Hose 10/10/450-90 1 70,04 € 60100
00637-15 Hose 10/10/155-90 1 50,42 € 60100
00637-17 Hose 10/10/180-90 1 68,86 € 60100
00637-18 Hose 10/10/200-0 1 77,33 € 60100
00637-19 Hose 10/10/200-90 1 95,61 € 60100
00637-20 Hose 10/10/250-90 1 98,38 € 60100
00637-21 Hose 10/10/275-0 1 99,68 € 60100
00637-22 Hose 10/10/275-90 1 94,50 € 60100
00637-23 Hose 10/10/300-90 1 97,34 € 60100
00637-24 Hose 10/10/350-90 1 105,24 € 60100
00637-25 Hose 10/10/400-90 1 102,45 € 60100
00637-26 Hose 10/10/550-90 1 94,36 € 60100
00637-28 Hose 10/10/600-90 1 75,38 € 60100
00637-29 Hose 10/10/470-135 1 85,53 € 60100
00637-30 Hose 10/10/680-90 1 99,88 € 60100
00637-31 Hose 10/10/500-0 1 89,49 € 60100




00637-32 Hose 10/10/425-90 1 108,23 € 60100
00637-33 Hose 10/10/260-20 1 50,30 € 60100
00637-35 Hose 10/10/800-90 1 103,47 € 60100
00637-37 Hose 10/10/275- 45 1 79,38 € 60100
00637-38 Hose 10/10/220 - 45 1 93,28 € 60100
00637-41 Hose 10/10/915-0 1 107,39 € 60100
00637-42 Hose 10/10/180-45 1 55,59 € 60100
00637-43 Hose 10/10/300-135 1 71,72 € 60100
00638-01 O-ring 14.1x1.6 NBR70 £ 1 0,67 € 60200
00638-02 O-ring 50x2 FKM 80 1 3,98 € 60200
00638-04 O-ring 17.1x1.6 1 2,17 € 60205|NLA
00638-05 O-ring 35.1x1.6 1 7,13 € 60200
00638-06 O-ring 33x3 NBR 70 £ 1 3,90 € 60200
00638-07 O-ring 53.57x3.53 NBR70 £ 1 1,01€ 60200
00638-08 O-ring 59.92x3.53 NBR70 £ 1 1,01€ 60200
00638-09 O-ring 20x1.5 NBR70 £ 1 0,67 € 60200
00638-11 O-ring 39x3 1 0,67 € 60200
00638-12 O-ring 14x1 NBR70 £ 1 0,67 € 60200
00638-13 O-ring 4x1 NBR70 £ 1 0,67 € 60200
00638-14 O-ring 84x1.5 NBR70 £ 1 1,01€ 60200
00638-15 O-ring 10.52x1.83 NBR70 £ 1 0,67 € 60200
00638-16 O-ring 30.0x2.1 NBR70 £ 1 5,40 € 60200
00638-17 O-ring 4.0x4 1 0,67 € 60200
00638-18 O-ring 2.6x1.6 1 0,67 € 60200
00638-19 O-ring 22.1x1.6 1 0,67 € 60200
00638-21 O-ring 78x2 1 0,67 € 60200
00638-22 O-ring 1.85x1.5 1 0,67 € 60200
00638-23 O-ring 54x2 NBR70 1 1,01 € 60200
00638-24 O-ring 48x2 NBR70 1 0,67 € 60200
00638-25 O-ring 19.1x1.6 NBR70 1 1,23 € 60200
00638-26 O-ring 18x1.5 NBR70 1 0,67 € 60200
00638-27 O-ring 28x2 NBR70 1 0,67 € 60200
00638-39 O-ring 6.1x1.6 1 0,67 € 60200
00638-40 O-ring 3x2 NBR70 1 0,67 € 60200
00638-40 O-ring 3x2 NBR70 1 0,67 € 60200
00638-44 0-ring 2.1x1.3 FKM70 £ 1 3,89 € 20483
00638-45 O-ring, 17x4, NBR70 £ 1 3,89 € 20410
00638-57 O-ring 9.1x1.6 FKM70 £ 1 1,01 € 60200
00638-58 O-ring 47x5 FKM70 1 10,12 € 60200
00638-59 O-ring 61.6x2.62 FKM70 1 7,42 € 60200
00638-61 O-ring 11.1x1.6 FKM80 1 0,67 € 60200




00638-62 O-ring 54x2 NBR70 1 0,67 € 60200
00638-63 O-ring 84.0x2.5 NBR70 1 3,11 € 60200
00638-64 O-ring 36.27x1.78 1 7,34 € 60200
00638-65 O-ring 34,29x5,33 NBR70 Low temp 1 7,69 € 60200
00638-66 O-ring 21.95x1.78 1 0,67 € 60200
00638-67 O-ring 23x1 NBR70 1 1,23 € 60200
00638-68 O-ring 18x1 NBR70 1 0,67 € 60200
00638-71 O-ring 52x2 NBR70 1 0,67 € 60200
00638-72 O-ring 26.57x3.53 NBR70 1 0,67 € 60200
00638-73 O-ring 32.1x1.6 NBR 90 1 0,67 € 60200
00638-75 O-ring 42.0x4.0 NBR 70 1 1,01 € 60200
00638-76 O-ring 41.0x2.0 NBR 90 1 1,01 € 60200
00638-77 O-ring 54x2.5 FKM70 1 4,50 € 60200
00638-78 O-ring 33x5 NBR70 Low temp 1 5,06 € 60200
00638-79 O-ring 40x5 NBR70 Low temp 1 5,56 € 60200
00638-80 O-ring 37x2 NBR90 1 381€ 60200
00638-81 O-ring 8x3.5 NBR70 1 0,67 € 60200
00638-82 O-ring 16x3.5 NBR70 1 0,97 € 60200
00638-83 O-ring 24x1.5 NBR70 1 0,67 € 60200
00638-84 O-ring 22x1 NBR70 1 0,67 € 60200
00638-85 O-ring 25x3 NBR70 1 0,67 € 60200
00638-86 O-ring 25.0x1.5 NBR70 1 0,67 € 60200
00638-88 O-ring 46x2 NBR70 1 0,67 € 60200
00638-89 O-ring 23.52x1.78 FKM70 1 4,09 € 60200
00638-90 O-ring 44.04x3.53 FKM70 1 4,27 € 60200
00638-92 O-ring 32x3.53 NBR 70 1 2,49 € 60200
00638-93 O-ring 40x3 NBR70 Low temp 1 4,67 € 60200
00638-94 O-ring 6.07x1.78 FKM70 1 3,90 € 60200
00638-95 O-ring 28x2.5 NBR70 1 6,85 € 60200
00638-96 O-ring 32x3 NBR70 1 1,01 € 60200
00638-97 O-ring 39x2 NBR 90 1 4,79 € 60200
00638-98 O-ring 28x4 1 5,77 € 60200
00639-01 Hose 10/10/330-0 1 75,42 € 60100
00639-02 Hose 10/10/275-0 1 62,48 € 60100
00640-01 Hose 10/12/420/135° 1 73,91 € 60100
00640-02 Hose 10/12/300/0° 1 100,50 € 60100
00640-03 Hose 10/12/235/90° 1 99,95 € 60100
00640-04 Hose 10/12/250/45° 1 42,59 € 60100
00640-05 Hose 10/12/360/90° 1 101,84 € 60100
00640-06 Hose 10/12/150/45° 1 39,03 € 60100
00640-07 Hose 10/12/650/0° 1 92,26 € 60100




00640-09 Hose 10/12/360/0° 1 51,07 € 60100
00640-10 Hose 10/12/580/90° 1 90,90 € 60100
00640-11 Hose 10/12/260/70° 1 46,10 € 60100
00640-12 Hose 10/12/900/90° 1 92,94 € 60100
00640-13 Hose 10/12/400/90° 1 72,06 € 60100
00640-14 Hose 10/12/680/90° 1 102,52 € 60100
00640-15 Hose 10/12/550/90° 1 87,53 € 60100
00640-16 Hose 10/12/420/90° 1 54,05 € 60100
00640-17 Hose 10/12/200/0° 1 85,70 € 60100
00640-18 Hose 10/12/440/0° 1 106,14 € 60100
00641-01 Washer 8/10/2 1 7,71 € 60200
00641-02 Washer 8/11/2 1 7,71 € 60200
00641-03 Washer 8/12/2 1 7,71 € 60200
00641-04 Washer 8/9.3/2 1 7,71 € 60200
00641-05 Washer 8/10/1.3 1 6,12 € 60200
00643-02 Hose clamp stainless 45-70 mm 1 9,04 € 60200
00643-03 Hose clamp stainless 60-80 mm 1 8,89 € 60200
00643-06 Hose clamp stainless 77-95 mm £ 1 13,34 € 60200(New
00644-01 Washer 14/25.9/3 1 34,78 € 60100
00646-01 Valve compression adjuster®***#x*xx* 1 16,30 € 60100
00647-01 Needle 26 comp.valve****** 1 16,45 € 60100
00647-02 Needle 37 comp.valve****x**x* 1 11,12 € 60100
00649-01 Jet compr.valve 2. 5***** 1 16,68 € 60100
00649-02 Jet compr.valve 1.5 1 51,01 € 60100
00655-04 End eye 14/75/26 1 88,94 € 60100
00656-01 Bracket 14/69/25.2 1 82,27 € 60100
00656-05 Bracket 14/82.5/26 1 52,81 € 60100
00656-07 Bracket 14/75/30 1 55,04 € 60100
00656-08 Bracket 14/74.5/34 1 60,04 € 60100
00658-01 Spacer, compression adjuster******* 1 6,50 € 60100
00662-01 Seal head 16/46/36 1 68,93 € 60100
00671-04 Valve bleed 3.2 one way valve 1 30,85 € 60100
00672-01 Valve assy dia 1.0 shaft bleed 4.0 1 42,02 € 60399
00672-01 Valve assy dia 1.0 shaft bleed 4.0 1 42,02 € 60399
00672-04 Valve assy dia 1.6 shaft bleed 4.0 1 38,14 € 60399
00673-01 Thread insert M10x1.25/12 1 53,36 € 60100
00673-03 Thread insert M10x1.25/13 1 53,36 € 60100
00673-04 Thread insert M10/13 1 38,36 € 60100
00675-01 Valve assy dia 1.0 shaft bleed 3.2 1 42,02 € 60399
00675-02 Valve assy dia 1.2 shaft bleed 3.2 1 42,02 € 60399
00675-03 Valve assy dia 1.4 shaft bleed 3.2 1 42,02 € 60399




00675-04 Valve assy dia 1.6 shaft bleed 3.2 1 42,02 € 60399
00675-05 Valve assy dia 1.8 shaft bleed 3.2 1 42,02 € 60399
00676-01 Spring clip for spring 57 1 32,19€ 60100
00678-01 Cup dial 1 8,12 € 60200
00678-02 Cup dial.2 1 7,23 € 60200
00678-03 Cup dial4 1 7,23 € 60200
00678-04 Cup dial.6 1 10,88 € 60200
00678-05 Cup dial.8 1 8,17 € 60200
00683-01 Stop screw S6SS 5x6 £ 1 0,67 € 60200
00683-03 Stop screw S6SS 5x12 stainless £ 1 2,65 € 60200
00683-06 Stop screw S6SS 5x10 £ 1 1,86 € 60200
00683-07 Stop screw MSK6SS A4 3x10 £ 1 2,67 € 60200
00683-08 Stop screw M4x3 stainless 1 2,67 € 60200
00684-01 Ball dia 4 1 0,67 € 60200
00686-01 Seal washer dia 12 12.7x18x1.5 1 1,23 € 60200
00804-02 Bracket assy BMW R80/100 1 73,38 € 60100
00805-01 Spacer 10/8.2/13 1 11,68 € 60100
00809-01 Rubber bushing 12/26/40 1 8,50 € 60200
00809-05 Rubber bushing 20/40/45 1 129,96 € 60200
00810-05 Washer 12/21/13,5 1 8,67 € 60200
00810-07 Washer 12/21/7 1 35,58 € 60100
00815-01 Stop rubber 24.5/39/9 1 9,06 € 60200
00817-01 Banjo bolt M12x1.5/23.5/M6 AL 1 27,52 € 60100
00818-01 Reservoir top 44 M12x1.5 1 38,91 € 60100
00818-03 Reservoir end 1 62,26 € 60100
00820-01 Knob compression adjuster*****! 1 2,86 € 60100
00820-02 Knob compression adjuster 1 3,27 € 60200
00820-03 Knob compression adjuster, Alu***** 1 31,35€ 60100
00827-01 X-ring 13.94x2.62 119D31 NBR 88 1 4,20 € 60200
00827-02 X-ring CR XR13.94x2.62-058 Low temp 1 6,84 € 60200
00828-01 Screw DIN966 Torx A2 M3x8 f 1 0,67 € 60200
00828-03 Screw MKFX-Z 3x6 stainless £ 1 0,67 € 60200
00828-04 Screw MF6S M3x8 A2-70 1 0,67 € 60200
00829-01 Seal head assy 14/46 1 134,42 € 60200
00831-02 Banjo bolt M8x1 Alu 1 11,23 € 60100
00833-01 Spring 4.9/12.5 1 1,67 € 60399
00833-02 Spring 5.5/14 Sthim fj 5846 £ 1 2,22 € 60399
00834-01 Seal 1 4,33 € 60200
00835-02 Screw MF6T 5x8 8.8 fzb £ 1 1,01 € 60100
00836-02 Ball joint dia 17/30/14 1 98,33 € 60200
00836-03 Ball joint dia 16/32/21 1 53,41 € 60200




00838-01 Spacer 14/28/12 1 4,04 € 60200
00838-02 Spacer 15/28/5.5 1 23,57 € 60100
00838-03 Spacer 15/28/2 1 57,81 € 60100
00838-04 Spacer 15/28/7 1 57,81 € 60100
00838-10 Spacer 15/30 1 21,35 € 60100
00862-01 Reservoir end 44/M12 1 61,15 € 60100
00862-02 Reservoir end 44/M10 1 57,39 € 60100
00862-03 Reservoir end 44/M14 1 77,82 € 60100
00862-05 Reservoir end 44/M14 1 107,84 € 60100
00862-06 Reservoir end 44 swivel 1 102,72 € 60100
00862-07 Reservoir end 44/M10 black 1 102,76 € 60100
00870-33 Cylinder head 336@ pb 46/26%******* 1 88,10 € 60102 NLA
00870-52 Cylinder head 5@ pb 46/26 1 242,81 € 60100
00870-53 Cylinder head 909 pb 46/26 1 292,84 € 60100
00870-55 Cylinder head 348g pb 46/26 1 158,36 € 60100
00870-58 Cylinder head 199 pb 46/26 1 224,33 € 60100
00870-62 Cylinder head 148° pb 46/26 1 176,10 € 60100
00870-68 Cylinder head 115°/10° pb 46/26 1 256,82 € 60100
00870-70 Cylinder head 90° pb 46/26 1 277,39 € 60100
00870-71 Cylinder head 0° pb 46/26 1 224,33 € 60100
00870-90 Cylinder head 90° pb 46/27 1 158,36 € 60100
00870-92 Cylinder head 90° pb 46/26 BOB-R 1 158,36 € 60100
00870-95 Cylinder head 90° pb 46/27 adj. PDS 1 307,25 € 60100
00870-96 Cylinder head 0° pb 46/27 adj. PDS (2099) 1 222,13 € 60100
00880-51 Cylinder head 3409 pb 46/26 1 110,87 € 60100
00880-53 Cylinder head 909 pb 46/26 1 157,76 € 60100
00880-56 Cylinder head 5@ pb 46/26%******* 1 223,67 € 60100
00880-58 Cylinder head 150° PB 46/26 1 163,03 € 60100
00880-59 Cylinder head 135° PB 46/26 1 172,77 € 60100
00880-60 Cylinder head 30° PB 46/26 1 162,76 € 60100
00880-67 Cylinder head hose 46/26 1 142,81 € 60100
00880-68 Cylinder head 150° PB 46/26 spc 1 163,03 € 60100
00880-69 Cylinder head 110° PB 46/26 1 172,65 € 60100
00880-70 Cylinder head 167° PB 46/26 1 236,81 € 60100
00880-87 Cylinder head blank 1 56,18 € 60100
00884-01 Ball 4.762-G40 £ 1 0,67 € 60200
00884-02 Ball 2.5-G20 £ 1 0,67 € 60200
00884-03 Ball 3-G40-X46CR13 £ 1 0,67 € 60200
00884-04 Ball 2-G20 £ 1 0,67 € 60200
00884-05 Balldia7.5 £ 1 0,67 € 60200
00884-06 Ball 3.5-G20 £ 1 0,67 € 60200




00884-07 Ball 5.5-G40-X46CR13 £ 1 0,67 € 60200
00884-09 Ball 4.5 1 1,01 € 60200
00890-27 Cylinder head 20¢ pb 46/26 1 179,44 € 60100
00890-51 Cylinder head 0¢ pb 46/26 1 328,98 € 60100
00890-54 Cylinder head 342.5¢ pb 46/26 1 161,63 € 60100
00890-56 Cylinder head 90¢ pb 46/26 1 277,39 € 60100
00890-57 Cylinder head 20¢ pb 46/26 1 210,79 € 60100
00890-58 Cylinder head 13 pb 46/26******** 1 162,76 € 60100
00890-60 Cylinder head 105° pb 46/26 1 227,60 € 60100
00890-70 Cylinder head 355° pb 46/26 1 179,44 € 60100
01005-01 Piston diam 46 1 26,68 € 60100
01005-02 Separating piston 46 1 27,51 € 60100
01005-03 Separating piston 46 1 46,69 € 60100
01005-04 Separating piston 44 1 33,35€ 60100
01009-01 Rubber bushing 23/34/40 1 15,95 € 60200
01010-01 Cylinder tube 46/141.5 1 45,14 € 60100
01010-02 Cylinder tube 46/167.5 1 80,05 € 60100
01010-04 Cylinder tube 46/174.5 1 58,26 € 60100
01010-05 Cylinder tube 46/123.5 1 42,02 € 60100
01010-06 Cylinder tube 46/127.5 1 44,81 € 60100
01010-07 Cylinder tube 46/194.5 1 59,32 € 60100
01010-08 Cylinder tube 46/132.5 1 55,64 € 60100
01010-09 Cylinder tube 46/137 1 90,61 € 60100
01010-10 Cylinder tube 46/111.5 1 42,30 € 60100
01010-11 Cylinder tube 46/154.5 1 94,22 € 60100
01010-12 Cylinder tube 46/141.5 spc 1 45,14 € 60100
01010-13 Cylinder tube 46/120.5 1 43,25 € 60100
01010-14 Cylinder tube 46/212.5 1 90,77 € 60100
01010-15 Cylinder tube 46/149.5 1 46,03 € 60100
01010-16 Cylinder tube 46/118 1 42,97 € 60100
01010-17 Cylinder tube 46/115.5 1 42,74 € 60100
01010-20 Cylinder tube 46/150.5 1 77,82 € 60100
01010-21 Cylinder tube 46/274 spc 1 111,07 € 60100
01010-22 Cylinder tube 46/207.5 1 90,28 € 60100
01010-23 Cylinder tube 46/198 1 105,00 € 60100
01010-24 Cylinder tube 46/190 1 58,82 € 60100
01010-25 Cylinder tube 46/200 1 105,62 € 60100
01010-26 Cylinder tube 46/206 1 90,11 € 60100
01010-27 Cylinder tube 46/178.5 1 53,59 € 60100|NLA
01010-28 Cylinder tube 46/224 1 92,00 € 60100
01010-29 Cylinder tube 46/232 1 92,84 € 60100




01010-31 Cylinder tube 46/215.5 1 60,53 € 60100
01010-32 Cylinder tube 46/183 1 81,07 € 60100|NLA
01010-33 Cylinder tube 46/188 1 61,37 € 60100
01010-34 Cylinder tube 46/181.5 1 102,40 € 60100
01010-37 Cylinder tube 46/266 1 74,76 € 60100
01010-39 Cylinder tube 46/291.5 1 75,88 € 60100
01010-40 Cylinder tube 46/163 1 98,67 € 60100
01010-42 Cylinder tube 46/154.5 wihout groov 1 43,03 € 60100
01010-43 Cylinder tube 46/220.5 1 91,61 € 60100
01010-45 Cylinder tube 46/282.5 spc 1 71,71 € 60100
01010-46 Cylinder tube 46/229.5 1 69,27 € 60100
01010-47 Cylinder tube 46/270 1 80,32 € 60100
01010-48 Cylinder tube 46/296%****x¥kkx ks kx* 1 96,72 € 60100
01010-51 Cylinder tube 46/324 1 103,96 € 60100
01010-52 Cylinder tube 46/171.5 1 82,99 € 60100
01010-53 Cylinder tube 46/144.5 1 51,70 € 60100
01010-55 Cylinder tube 46/293 1 92,45 € 60100
01010-56 Cylinder tube 46/130.5 1 72,71 € 60100
01010-57 Cylinder tube 46/122 1 43,41 € 60100
01010-59 Cylinder tube 46/227.5 1 59,71 € 60100
01010-60 Cylinder tube 46/203 1 60,98 € 60100
01010-61 Cylinder tube 46/321 1 111,31 € 60100
01010-62 Cylinder tube 46/172.5 1 47,14 € 60100
01010-63 Cylinder tube 46/247 1 93,39 € 60100
01010-64 Cylinder tube 46/311 1 103,35 € 60100
01010-65 Cylinder tube 46/268 1 74,44 € 60100
01010-69 Cylinder tube 46/325 1 111,66 € 60100
01010-81 Cylinder tube, blank 46/400 1 130,30 € 60100
01010-82 Cylinder tube, blank 46/500 1 144,31 € 60100
01016-01 Seal rebound adjuster 1 7,62 € 60200
01017-01 Stop washer 20/46/10 1 7,95 € 60200
01018-06 Spacer, ball joint 12x46*****x k4% 1 34,58 € 60100
01018-09 Spacer, ball joint 12x28%***** %% 1 5,83 € 60200
01018-11 Spacer, ball joint 10x27%***** %% 1 6,77 € 60200
01018-15 Spacer, ball joint 10x20Q%***** %k 1 5,45 € 60200
01018-17 Spacer, ball joint 14x24%**** ¥ %k 1 9,46 € 60200
01018-20 Spacer, ball joint 12x84%***** %k 1 42,02 € 60100
01018-21 Spacer, ball joint 10x46* ***** %% 1 5,68 € 60200
01018-23 Spacer, ball joint 12x24 3********* 1 34,61 € 60100
01018-25 Spacer, ball joint 10x21,5********* 1 9,46 € 60200
01018-27 Spacer, ball joint 14x22%***** %k 1 9,46 € 60200




01018-31 Spacer, ball joint 14x25*****x % *%x 1 6,38 € 60200
01018-32 Spacer, ball joint 14x37*****x*¥¥%x 1 9,46 € 60200
01018-34 Spacer, ball joint 12x60* *********x 1 34,61 € 60100
01018-35 Spacer, ball joint 10x33*****x*¥**x 1 6,38 € 60200
01018-36 Spacer, ball joint 12.7x24 1 34,58 € 60100
01018-37 Spacer, ball joint 12x2Q%*********x 1 5,45 € 60200
01018-41 Spacer, ball joint 10x31*****x***%x 1 9,46 € 60200
01018-42 Spacer, ball joint 10x19*****x****x 1 15,01 € 60100
01018-44 Spacer, ball joint 12x53.8%******** 1 6,79 € 60200
01018-47 Spacer, ball joint 10x29 1 22,24 € 60100
01018-48 Spacer, ball joint 12x26.6%******** 1 6,71 € 60199|NLA
01018-49 Spacer, ball joint 12x26*****x****x 1 6,71 € 60199|NLA
01018-51 Spacer, ball joint 10x3Q****x#-xkkx 1 7,66 € 60199|NLA
01018-56 Spacer, ball joint 12.7x30 1 34,46 € 60100
01018-59 Spacer, ball joint 12x65 1 21,04 € 60100
01018-60 Spacer, ball joint @14, 12x46 ETG 100 1 48,81 € 60100
01020-01 Stop washer top out 16/38/16.5 **** 1 23,40 € 60100
01020-10 Stop washer top out 18/38/5 1 30,29 € 60100
01020-20 Top out washer 18/43/4 1 24,96 € 60100
01021-03 Shaft jet bleed 4.0 1 7,48 € 60200
01021-04 Shaft jet bleed 3.2 1 6,67 € 60200
01022-02 Seal head 16/46/22.5 1 20,73 € 60100
01023-01 Thrust needle bearing AXK0821 1 6,49 € 60200
01023-02 Thrust needle bearing AXK1024 1 5,96 € 60200
01025-01 Circlip 49/2.5 *¥¥x¥kkxkskdkkodonkokxx* 1 2,69 € 60200
01027-01 X-ring 15.54x2.62 NBR 88 1 1,23 € 60200
01027-02 X-ring 14.70x2.62 Sham,QX4114-A366Y 1 5,76 € 60200
01027-04 X-ring 10.77x2.62 QRARO04111-N7004 1 6,38 € 60200
01027-05 X-ring 12.37x2.62 NBR 70 £ 1 3,20€ 60200
01027-06 X-ring 29.82x2.62 NBR 70 £ 1 6,53 € 60200
01027-07 X-ring 9.8x2.62 NBR70 £ 1 7,90 € 60200
01027-09 X-ring 44.17x1.78 NBR70 £ 1 2,67 € 60200
01027-10 X-ring 53.57x3.53 1 9,78 € 60200
01027-11 X-ring 15.54x2.62 NBR 80 low temp. 1 4,02 € 60200
01027-12 X-ring 7.59x2.62 NBR 70 £ 1 2,49 € 60200
01027-13 X-ring 32.99x2.62 NBR 70 £ 1 4,04 € 60200
01027-14 X-ring 59.92x3.53 1 10,01 € 60200
01027-18 X-ring 78.97x3.53 1 9,78 € 60200
01027-19 X-ring 56.74x3.53 1 6,45 € 60200
01027-20 X-ring 29.74x3.53 1 7,01 € 60200
01027-21 X-ring 69.44x3.53 1 9,78 € 60200




01027-26 X-ring 26.3x3.6x3.53 NBR70 1 5,97 € 60200
01029-02 Seal head assy 46/16 1 34,60 € 60200
01029-03 Seal head assy 46/16 without 815 1 28,38 € 60200
01029-04 Seal head assy 46/16 red grease 1 53,06 € 60200
01030-01 Pin 4x30 CPr h8 1 1,23 € 60200
01030-02 Pin 4x10 CP m6 £ 1 2,06 € 60200
01030-05 Pin 3x8 CP m6 Al 1 0,67 € 60200
01030-06 Pin 2x7 CP m6 Al 1 1,01 € 60200
01030-07 Pin 3x28 CPr h8 1 1,23 € 60200
01030-08 Pin 2.5x12 CPr mé6 1 1,86 € 60200
01030-10 Pin 2x4 CPK m6 1 1,01 € 60200
01030-11 Pin 2.5x6 CPK h8 £ 1 1,01 € 60200
01030-13 Pin 1.5x8 1 2,74 € 60200
01030-14 Pin 3X16 CP m6 Al 1 3,82¢€ 60200
01030-17 Pin 2x6 CP m6 Al £ 1 1,01 € 60200
01030-18 Pin 2x10 1 1,01 € 60200
01030-19 Pin 3x8 1 1,23 € 60200
01031-02 Scraper 16 1 9,23 € 60200
01031-04 Scraper 18 1 14,59 € 60200
01032-01 Back-up ring 16/20.6/1.4 PTFE 1 1,99 € 60200
01032-03 Back-up ring 14/18.6/1.4 PTFE 1 2,74 € 60200
01032-04 Back-up ring 90/98/1.7 1 38,91 € 60200
01032-05 Back-up ring 12.0/16.6/1.4 PTFE £ 1 6,67 € 60200
01032-06 Back-up ring 30/34.6/1.4 PTFE £ 1 8,12 € 60200
01032-07 Back-up ring 1 8,43 € 60200
01032-08 Back-up ring 10.0x14.6x1.4 PTFE 1 6,34 € 60200
01032-09 Back-up ring 1 8,37 € 60200
01032-17 Back-up ring 1 13,58 € 60299 |NLA
01032-20 Back-up ring 52/57.4/1.4 1 7,34 € 60200
01032-21 Back-up ring 60/65.4/1.4 1 8,89 € 60200
01032-22 Back-up ring 1 10,23 € 60200
01032-23 Back-up ring 1 8,37 € 60200
01032-24 Back-up ring 1 570 € 60200
01032-25 Back-up ring PTFE 77,7x82,6x1,4 1 15,90 € 60200
01032-26 Back-up ring PTFE 59,25x64,95x1,4 1 10,79 € 60200
01032-27 Back-up ring 55/61/1.4 1 7,62 € 60200
01032-28 Back-up ring 71.5/77.5/1.4 1 7,23 € 60200
01032-29 Back-up ring 1 14,48 € 60200
01032-30 Back-up ring 34/39/1.3 1 7,71 € 60200
01032-31 Back-up ring 1 8,89 € 60200
01032-33 Back-up ring 1 1,99 € 60200




01032-39 Back-up ring 14/18.4/1.35 1 7,53 € 60200
01035-02 Circlip 14.4/1.6 1 1,23 € 60200
01035-05 Circlip 15.4/1.6 1 2,94 € 60199|NLA
01035-06 Circlip 13.8/2.0 stainless 1 7,23 € 60200
01035-07 Circlip 59/2.0 stainless 1 3,47 € 60200
01035-12 Circlip 15.8/2.0 1 4,60 € 60200
01037-01 Rubber bushing 20/34/39 1 13,06 € 60200
01039-01 Adjustment screw 12/54,5 ***x %k xxk* 1 40,02 € 60100
01041-01 Adj. knob for prel. adjust,***x***x* 1 4,20 € 60100
01042-01 Hose M10x1/8/290 1 88,94 € 60100
01042-02 Hose M10x1/8/360 1 89,83 € 60100
01042-03 Hose M10x1/8/420 1 93,68 € 60100
01042-04 Hose M10x1/8/230 1 68,21 € 60100
01042-05 Hose M10x1/8/400 1 68,44 € 60100
01042-06 Hose M10x1/8/520 1 93,16 € 60100
01042-07 Hose M10x1/8/1200 1 88,94 € 60100
01042-08 Hose M10x1/8/620 1 93,25 € 60100
01042-09 Hose M10x1/8/200 1 88,95 € 60100
01042-11 Hose M10x1/8/850 1 99,18 € 60100
01042-12 Hose M10x1/8/460 1 92,01 € 60100
01042-13 Hose M10x1/8/640 1 69,49 € 60100
01042-14 Hose M10x1/8/750 1 73,15 € 60100
01045-01 Washer 9.7/15/1 ¥*¥*x¥kskxkkkkxkrkk 1 2,10 € 60200
01046-01 Screw MC6S 6x16 A2-70 £ 1 0,67 € 60200
01046-02 Screw MC6S 6x30 A2-70 £ 1 1,01 € 60200
01046-03 Screw MC6S 8x25 A2-70 £ 1 2,06 € 60200
01046-04 Screw MC6S 4x8 A2-70 £ 1 0,67 € 60200
01046-05 Screw MC6S 6x22 A2-70 £ 1 1,01 € 60200
01046-06 Screw MC6S 6x35 A2-70 £ 1 1,01 € 60200
01046-07 Screw MC6S 6x60 A2-70 £ 1 1,01 € 60200
01046-08 Screw MC6S 10x25 A2-70 f 1 0,67 € 60200
01046-09 Screw MC6S 6x40 A2-70 £ 1 1,23 € 60200
01046-10 Screw DIN7985 Torx A2 M4x14 £ 1 1,01 € 60200
01046-11 Screw MC6S 8x35 12.9 fzb £ 1 2,35 € 60200
01046-12 Screw MC6S 6x65 A2-70 £ 1 1,01 € 60200
01046-13 Screw MC6S 8x20 A2-70 £ 1 6,02 € 60200
01046-15 Screw MC6S 6x18 A2-70 £ 1 1,01 € 60200
01046-16 Screw MC6S 6x20 A2-70 £ 1 0,67 € 60200
01046-17 Screw MC6S 6x25 A2-70 £ 1 1,83 € 60200
01046-18 Screw MC6S 5x16 A2-70 £ 1 0,67 € 60200
01046-19 Screw MC6S 5x25 A2-70 £ 1 0,67 € 60200




01046-21 Screw MC6S 8x40 A2-70 £ 1 2,72 € 60200
01046-22 Screw MC6S 8x16 A2-70 £ 1 1,23 € 60200
01046-23 Screw MC6S 4x30 A2-70 £ 1 1,01 € 60200
01046-24 Screw MC6S 10x40 A2-70 £ 1 3,47 € 60200
01046-25 Screw MC6S 8x50 A2-70 £ 1 3,92 € 60200
01046-26 Screw MC6S 5x22 A2-70 £ 1 1,23 € 60200
01046-27 Screw MC6S 8x55 A2-70 £ 1 3,35 € 60200
01046-28 Screw MC6S 12x70 12.9 fzb £ 1 6,85 € 60200
01046-29 Screw MC6S 12x130 12.9 fzb £ 1 7,61€ 60200
01046-30 Screw MC6S 8x30 A2-70 £ 1 2,75 € 60200
01046-31 Screw MC6S 6x25 12.9 fzb £ 1 1,01 € 60200
01046-32 Screw MC6S 8x40 12.9 fzb £ 1 2,36 € 60200
01046-33 Screw MC6S 8x65 A2-70 £ 1 4,20 € 60200
01046-34 Screw MC6S 5x12 A2-70 £ 1 0,67 € 60200
01046-36 Screw MC6S 6x12 A2-70 £ 1 0,67 € 60200
01046-37 Screw MC6S 5x18 A2-70 £ 1 4,44 € 60200
01046-38 Screw MC6S 5x10 A2-70 £ 1 1,01 € 60200
01046-41 Screw MC6S 4x16 12.9 fzb £ 1 0,67 € 60200
01046-42 Screw MC6S 5x18 12.9 fzb £ 1 4,93 € 60199|NLA
01046-43 Screw MC6S 4x14 12.9 fzb £ 1 0,67 € 60200
01046-45 Screw MC6S 12x25 A2-70 £ 1 4,00 € 60200
01046-46 Screw MC6S 12x40 A2-70 £ 1 2,40 € 60200
01046-47 Screw MC6S 6x100 A2-80 £ 1 7,01€ 60200
01046-48 Screw 10x55 1 1,23 € 60200
01046-49 Screw 8x45 1 3,72 € 60200
01046-50 Screw 5x8 1 1,23 € 60200
01046-51 Screw MC6S 3x8 A2 £ 1 0,67 € 60200
01046-53 Screw MC6S 8x60 1 7,01€ 60200
01046-54 Screw MC6S 3x8 8.8 black 1 1,01 € 60200
01046-55 Screw 5x20 1 0,67 € 60200
01046-56 Screw 5x35 1 0,67 € 60200
01046-57 Screw MC6S 12x120 12.9 geomet 1 12,04 € 60100
01046-58 Screw MC6S 4x12 1 1,23 € 60200
01046-60 Screw MC6S 6x10 A2-70 1 1,00 € 60200
01046-61 Screw M6x30 1 1,23 € 60200
01047-01 Hose M8x1/M10x1/500 1 67,50 € 60100
01047-03 Hose M8x1/M10x1/600 1 72,76 € 60100
01047-04 Hose M8x1/M10x1/300 1 82,27 € 60100
01047-05 Hose M8x1/M10x1/720 1 74,39 € 60100
01047-06 Hose M8x1/M10x1/400 1 74,74 € 60100
01047-07 Hose M8x1/M10x1/900 1 86,19 € 60100




01047-09 Hose M8x1/M10x1/550 1 71,69 € 60100
01047-10 Hose M8x1/M10x1/420 1 83,94 € 60100
01047-11 Hose M8x1/M10x1/170 1 80,50 € 60100
01047-13 Hose M8x1/M10x1/810 1 89,77 € 60100
01048-01 Seal washer 8.7x14x1 Sjalvcent. 1 5,14 € 60200
01049-01 Seal INA 24/32/4 1 6,28 € 60200
01050-01 Screw MRT A4 1SO7045 M4x5 £ 1 0,67 € 60200
01050-02 Screw MLCTSA2 M4x12 TX 1 0,67 € 60100
01050-03 Screw MELC6S M5x8 10.9 Fzb ROHS £ 1 6,53 € 60200
01050-04 Screw M4x8 1 1,01€ 60200
01051-01 Bushing 10/12/8 1 7,23 € 60200
01052-01 Bracket 16/71/40.1 1 81,72 € 60100
01052-05 Bracket 16/83/30 1 104,06 € 60100
01052-06 Bracket 16/75/30 1 103,39 € 60100
01052-11 Bracket 16/70/22.9 1 50,34 € 60100|NLA
01052-13 Bracket 16/74.5/34 1 62,26 € 60100
01052-15 Bracket 16/68/34 1 64,48 € 60100
01052-16 Bracket 16/88/32 1 49,93 € 60100
01052-17 Bracket 16/75/30 1 62,26 € 60100
01052-18 Bracket 16/77/25.2 1 53,36 € 60100
01052-19 Bracket 16/87/25.2 1 78,94 € 60100
01052-20 Bracket 16/75/30 1 68,93 € 60100
01052-21 Bracket 16/70/26 1 67,27 € 60100
01052-23 Bracket 16/69/25.2 1 72,26 € 60100
01052-25 Bracket 16/83/30 1 103,39 € 60100
01052-27 Bracket 16/65/25 1 80,05 € 60100
01052-28 Bracket 16/80/40.1******xxxxkkonxxk 1 84,05 € 60100
01052-29 Bracket 16/100/40.1 1 138,75 € 60100
01052-30 Bracket 16/98/30.4 1 100,06 € 60100
01052-31 Bracket 16/70/30 chamfered 1 120,07 € 60100
01052-32 Bracket 16/80/40.1 1 286,84 € 60100
01052-33 Bracket 16/75/30 Chamfered 1 114,73 € 60100
01052-34 Bracket 16/85/22 1 71,15 € 60100
01052-37 Bracket 16/68/36 1 121,85 € 60100
01052-38 Bracket 16/74/30 1 148,09 € 60100
01052-39 Bracket 16/73/36 1 115,62 € 60100
01052-40 Bracket 16/75/26 1 161,87 € 60100
01052-41 Bracket 16/77/25 1 85,61 € 60100
01052-42 Bracket 16/74/20/30 1 160,09 € 60100
01052-43 Bracket 16/70/20/30 1 104,51 € 60100
01054-01 End eye 16/65/34 1 103,17 € 60100




01054-02 End eye 16/65/26 1 67,82 € 60100
01054-03 End eye 16/53/26 1 37,51€ 60100
01054-06 End eye 16/102/30 1 105,84 € 60100
01054-07 End eye 16/75/26 1 70,04 € 60100
01054-08 End eye 16/60/30 1 91,61 € 60100
01054-09 End eye 16/60/20/26 1 74,49 € 60100
01054-12 End eye 16/53/26 groove 1 66,71 € 60100
01054-13 End eye 16/65/27 1 124,52 € 60100
01054-15 End eye 16/53/26 1 44,47 € 60100
01054-16 End eye 16/50/26 1 48,92 € 60100
01054-18 End eye 16/53/25.4 groove 1 91,33 € 60100
01054-20 End eye 16/50/25.4 grooved 1 88,94 € 60100
01054-22 End eye 16/53/26 1 71,15 € 60100
01054-24 End eye 16/110/32 1 97,84 € 60100
01054-26 End eye 16/104/25.4 groove 1 107,84 € 60100
01054-28 End eye 16/75/26 1 100,06 € 60100
01054-29 End eye 16/68/40 Steel 1 184,11 € 60100
01054-31 End eye 16/47.5/25.4 groove 1 83,38 € 60100
01054-33 End eye 16/81/20/26 1 108,51 € 60100
01054-40 End eye 16/75/26 1 99,61 € 60100
01054-41 End eye 16/53/26 1 48,92 € 60100
01054-43 End eye 16/65/26 1 100,58 € 60100|NLA
01054-44 End eye 16/53/20/26**** 1 102,61 € 60100|NLA
01054-47 End eye 16/53/20/26 groove 1 49,54 € 60100
01054-49 End eye 16/53/20/26 Groove 1 47,70 € 60100
01054-53 End eye 16/53/20/26 1 92,50 € 60100
01055-03 Adjustment needle dia 4.0 1 5,37 € 60200
01055-04 Adjustment needle dia 3.2 1 7,32 € 60200
01056-01 Bushing 16/18/15 DU 1 2,51€ 60200
01056-04 Bushing 10/12/12 1 2,17 € 60200
01056-09 Bushing 8/10/8 DP4 1 1,23 € 60200
01056-11 Bushing PM 24/25 DX 1 6,74 € 60200
01056-12 Bushing 14/16/12 DU 1 2,70 € 60200
01056-13 Bushing 16/18/12 DU 1 3,01€ 60200
01056-14 Bushing 16/18/10 SKF GLY.PG F 1 2,54 € 60200
01056-15 Bushing 14/16/10 1 2,44 € 60200
01056-16 Bushing 14/16/8 DP4-S 1 32,24 € 60200
01056-17 Bushing 14/16/8 1 13,16 € 60200
01056-18 Bushing Glacier 16-18-08 DP4-S £ 1 11,76 € 60200
01056-19 Bushing 14/16/10 DP4 1 6,53 € 60200
01056-20 Bushing 14/16/10 DP31 1 9,34 € 60200




01056-21 Bushing 6/8/6 1 5,76 € 60200
01056-22 Bushing 18/20/12 1 20,90 € 60200
01056-23 Bushing 10/12/6 1 2,04 € 60200
01056-25 Bushing 8/10/6, 0806 DP4 £ 1 2,28 € 60100
01058-01 Shaft M15x1/i16/50 1 42,25 € 60100
01058-03 Shaft extension M15x1/M17x1/50 1 32,24 € 60100
01058-04 Shaft M15x1/16/90/M22 ext. thread 1 44,47 € 60100
01058-05 Shaft M15x1/16/80/M22 ext. thread 1 58,92 € 60100
01058-06 Shaft M15x1/16/60 screw adj 1 51,14 € 60100
01058-07 Shaft extension M15x1/M17x1/9/M25x1 black 1 65,04 € 60100
01059-01 Nut M17x1/6.5 1 8,17 € 60200
01059-05 Nut M16x1/9 1 6,45 € 60100
01059-07 Nut M17x1/6.5 Aluminium Ti 1 10,90 € 60200
01059-08 Nut M17x1/6.5 black 1 31,35 € 60100
01060-01 Bracket adjustable/61/30/10/10 1 95,17 € 60100
01060-03 Bracket adjustable/66/34/10/10 1 91,16 € 60100
01060-05 Bracket adjustable/65/32/12/12 1 92,28 € 60100
01060-06 Bracket adjustable/61/30/12/12 1 77,72 € 60100
01060-07 Bracket adjustable/61/30/12/12 1 93,39 € 60100
01060-08 Bracket adjustable/67/40.1/12/12 1 142,31 € 60100
01060-09 Bracket adjustable/85/40.1/10/10 1 141,42 € 60100
01060-10 Bracket adjustable/63/30/10/10 1 97,84 € 60100
01060-12 Bracket adjust./65/32 chamfer/12/12 1 95,61 € 60100
01060-13 Bracket adjust. /64/30/10/M10x1.25 1 114,73 € 60100
01060-14 Bracket adjustable/63/30/12/12 1 75,60 € 60100
01060-18 Bracket adjust/67/40.1/12/12 Steel 1 272,16 € 60100
01061-01 End eye M17/50/26 aluminum 1 48,92 € 60100
01061-06 End eye M17/50/26 with pin hole 1 45,58 € 60100
01061-07 End eye M17/50/34 Aluminium 1 149,42 € 60100
01061-08 End eye M22/50/26 1 88,94 € 60100
01061-09 End eye M22/41/26 1 81,16 € 60100
01061-10 End eye 1 86,51 € 60100
01061-11 End eye M17/52/26 with pin hole 1 42,25 € 60100
01061-13 End eye M17/63/25.4 1 99,95 € 60100
01061-14 End eye M17/50/26 aluminium black 1 63,93 € 60100
01061-15 End eye 1 116,62 € 20483
01061-16 End eye M17/55/26 1 55,48 € 60100
01061-17 End eye 1 147,75 € 20483
01065-01 End cap 46/16 1 6,30 € 60100
01065-02 End cap 46/16 1 14,91 € 60100
01065-05 End cap 50/16 1 34,46 € 60100




01065-06 End cap 46/16 1 25,30 € 60100
01065-31 End cap 46/16, clear 1 15,02 € 60100
01065-32 End cap 46/16 Titanium grey 1 16,39 € 60100
01065-34 End cap 46/16 black 1 30,46 € 60100
01065-40 End cap 50/18 1 34,46 € 60100
01065-41 End cap 50/18, black 1 33,59 € 60100
01066-01 End cap 56/16 TTX 1 44,47 € 60100
01066-02 End cap 54.9/16 TTX 1 80,27 € 60100
01069-02 Spacer 16/37.8/2 Black 1 1,01 € 60200
01069-03 Spacer 16/37.8/3 Red 1 1,01 € 60200
01069-10 Spacer 16/37.8/10 Blue 1 4,27 € 60200
01076-03 Guide ring, spring 52.2/73/15 1 23,48 € 60100
01082-01 Bracket hydraulic preload adjust. 1 32,24 € 60100
01082-02 Bracket hydraulic preload adjust. 1 2891 € 60100
01082-03 Bracket hydraulic preload adjust. 1 47,36 € 60100
01082-04 Bracket Ducati ST4S 1 42,47 € 60100
01082-05 Bracket Yam FJR 1300 1 28,36 € 60100
01082-06 Bracket 1 54,48 € 60100
01082-07 Bracket 1 54,37 € 60100
01082-08 Bracket 1 40,47 € 60100
01082-09 Bracket 1 37,80 € 60100
01082-10 Bracket 1 43,36 € 60100
01082-11 Bracket 1 32,24 € 60100
01082-12 Bracket 1 72,26 € 60100
01082-13 Bracket 1 44,47 € 60100
01082-14 Bracket 1 92,72 € 60100
01083-01 Bracket hydraulic preload adjust. 1 37,55 € 60103 |NLA
01084-01 Bracket hydraulic preload adjust. 1 3391€ 60100
01084-02 Bracket hydraulic preload adjust. 1 41,70 € 60100
01084-03 Bracket hydraulic preload adjust. 1 90,72 € 60100
01085-04 Bracket reservoir 1 23,35 € 60100
01110-01 Cylinder tube 46/232 1 105,04 € 60100
01110-02 Cylinder tube 46/130.5 1 107,84 € 60100
01110-04 Cylinder tube 46/208 1 87,22 € 60100
01110-06 Cylinder tube 46/181.5 1 85,83 € 60100
01110-07 Cylinder tube 46/272 1 89,28 € 60100
01110-08 Cylinder tube 46/314 1 104,95 € 60100
01110-09 Cylinder tube 46/325 1 83,38 € 60100
01110-10 Cylinder tube 46/150 1 89,30 € 60100
01110-11 Cylinder tube 46/160 1 71,43 € 60100
01110-12 Cylinder tube 46/160 without groove 1 58,75 € 60100




01110-13 Cylinder tube 46/154 1 90,36 € 60100
01110-14 Cylinder tube 46/200 1 68,32 € 60100
01110-15 Cylinder tube 46/140%***** ¥k xkk k4% 1 110,63 € 60100
01110-16 Cylinder tube 46/118 1 104,73 € 60100
01110-17 Cylinder tube 46/264 1 60,04 € 60100
01110-18 Cylinder tube 46/367 1 107,62 € 60100
01110-19 Cylinder tube 46/163 1 91,83 € 60100
01110-20 Cylinder tube 46/291 1 83,38 € 60100
01110-21 Cylinder tube 46/437 1 104,69 € 60100
01110-22 Cylinder tube 46/135 1 108,29 € 60100
01110-23 Cylinder tube 46/191 1 94,86 € 60100
01110-24 Cylinder tube 46/299 1 110,59 € 60100
01110-25 Cylinder tube 46/171 1 97,61 € 60100
01110-26 Cylinder tube 46/196 1 96,72 € 60100
01110-27 Cylinder tube 46/142%* ¥k x¥kkxkskkx% 1 110,85 € 60100
01110-28 Cylinder tube 46/138 1 59,59 € 60100
01110-29 Cylinder tube 46/309 1 113,18 € 60100
01110-30 Cylinder tube 46/148 1 66,43 € 60100
01110-38 Cylinder tube 46/230 1 104,87 € 60100
01110-83 Cylinder tube, blank 46/500 1 119,45 € 60100
01110-84 Cylinder tube, blank 46/700%******x 1 100,06 € 60100
01114-10 Piston 12/46 0.0/1.0 1 57,00 € 60100(NLA
01114-14 Piston 12/46 1 31,27 € 60100
01114-26 Piston 12/46 -1.0/1.0 1 85,47 € 60100
01114-32 Piston 12/46 -0.5/2.0 1 82,58 € 60100
01114-33 Piston 12/46/1.0 bleed hole 1 22,55 € 60199|NLA
01115-16 Shims 12/16/0.15 25M 1,67 € 60200
01115-18 Shims 12/18/0.15 25M 1,67 € 60200
01115-19 Shims 12/19/0.15 25M 1,67 € 60200
01115-20 Shims 12/20/0.15 25M 1,67 € 60200
01115-21 Shims 12/21/0.15 25M 1,67 € 60200
01115-22 Shims 12/22/0.15 25M 1,67 € 60200
01115-23 Shims 12/23/0.15 25M 1,67 € 60200
01115-24 Shims 12/24/0.15 25M 1,67 € 60200
01115-25 Shims 12/25/0.15 25M 1,67 € 60200
01115-26 Shims 12/26/0.15 25M 1,67 € 60200
01115-27 Shims 12/27/0.15 25M 1,67 € 60200
01115-28 Shims 12/28/0.15 25M 1,67 € 60200
01115-29 Shims 12/29/0.15 25M 1,67 € 60200
01115-30 Shims 12/30/0.15 25M 1,67 € 60200
01115-31 Shims 12/31/0.15 25M 1,67 € 60200




01115-32 Shims 12/32/0.15 25M 1,67 € 60200
01115-33 Shims 12/33/0.15 25M 1,67 € 60200
01115-34 Shims 12/34/0.15 25M 1,67 € 60200
01115-36 Shims 12/36/0.15 25M 1,67 € 60200
01115-38 Shims 12/38/0.15 25M 1,67 € 60200
01115-40 Shims 12/40/0.15 25M 1,67 € 60200
01115-42 Shims 12/42/0.15 25M 1,67 € 60200
01115-44 Shims 12/44/0.15 25M 1,67 € 60200
01120-01 Ring shim 30/34/0.20 25M 1,67 € 60200
01120-02 Ring shim 34/38/0.20 25M 1,67 € 60200
01120-03 Ring shim 34/36/0.20 25M 1,67 € 60200
01120-04 Ring shim 29/32/0.20 25M 1,67 € 60200
01120-05 Ring shim 30/33/0.20 25M 1,67 € 60200
01120-06 Ring shim 15/18/0.20 25M 1,67 € 60200
01120-07 Ring shim 36/40/0.20 25M 1,67 € 60200
01125-01 Ring shim 30/34/0.25 25M 1,67 € 60200
01125-02 Ring shim 34/38/0.25 25M 1,67 € 60200
01125-03 Ring shim 34/36/0.25 25M 1,67 € 60200
01125-04 Ring shim 29/32/0.25 25M 1,67 € 60200
01125-05 Ring shim 30/33/0.25 25M 1,67 € 60200
01125-06 Ring shim 15/18/0.25 25M 1,67 € 60200
01125-07 Ring shim 36/40/0.25 25M 1,67 € 60200
01125-08 Ring shim 20/22/0.25 25M 1,67 € 60200
01128-01 Adjustment knob 25/33.1 1 5,59 € 60200
01128-02 Adjustment wheel 26/33.1 1 3,59 € 60200
01130-01 Ring shim 30/34/0.30 25M 1,67 € 60200
01130-02 Ring shim 34/38/0.30 25M 1,67 € 60200
01130-03 Ring shim 34/36/0.30 25M 1,67 € 60200
01130-04 Ring shim 29/32/0.30 25M 1,67 € 60200
01130-05 Ring shim 30/33/0.30 25M 1,67 € 60200
01130-06 Ring shim 15/18/0.30 25M 1,67 € 60200
01130-07 Ring shim 36/40/0.30 25M 1,67 € 60200
01131-01 Stop spring 24.5/21.5/400N 1 17,10 € 60100
01131-02 Stop spring 24.5/21.5/700N 1 17,30 € 60100
01131-03 Stop spring 24.5/24.5/820N 1 5,73 € 60100
01131-04 Stop spring 24.5/21.5/1125N 1 21,40 € 60100
01132-01 Top-out spring guide 16/23.5/13.4 1 13,90 € 60100
01132-02 Top-out spring guide 16 - 5500shaft 1 10,63 € 60100
01132-03 Top-out spring holder 17.7/7/8 1 8,79 € 60200
01132-04 Top-out spring guide 17.7/12/14 1 16,90 € 60100
01132-05 Top out spring holder 12/37/4 1 41,14 € 60100




01132-06 Top out spring guide 16/37/2 1 55,59 € 60100
01133-01 Spacer, top out spring 38.5/23/4.5 1 20,01 € 60100
01138-01 Spacer 6.5/15/5 1 6,67 € 60100
01139-01 Bracket ZX 10 1 41,03 € 60100
01141-01 Check valve Shims 11/18.5/0.20 25M 1,67 € 60200
01141-02 Shims 11/18.5/0.20/0.5 (F-4037) 25M 1,67 € 60200
01143-01 Check valve housing 10/20.8/4.5 1 7,78 € 60200
01144-01 Washer, compr. 2.5/9.75/0,5%******x* 1 0,73 € 60199 (NLA
01146-01 Valve compression adjustment 1 9,66 € 60200
01147-01 Needle for compression adjuster**** 1 7,87 € 60200|NLA
01149-01 Wave washer 12/18/3.5 1 5,93 € 60200
01151-01 Seal compression adjuster*****x ¥ xx* 1 5,59 € 60200
01152-01 Circlip SgH 25 £ 1 1,23 € 60200
01152-03 Circlip SgH 46 £ 1 3,58 € 60200
01152-05 Circlip SgH 8 £ 1 0,67 € 60200
01152-06 Circlip SgH 35 £ 1 1,23 € 60200
01152-12 Circlip SgH 42 1 4,81 € 60200
01152-13 Circlip SGH 25 stainless 1 9,90 € 60200
01153-01 Bracket BMW K100 1 50,30 € 60100
01164-01 Bracket hydraulic preload adjust. 1 23,57 € 60100
01164-03 Bracket hydraulic preload adjust. 1 40,02 € 60100
01165-01 Bracket hydraulic preload adjust. 1 37,25 € 60100
01165-02 Bracket hydraulic preload adjust. 1 58,37 € 60100
01165-03 Bracket hydraulic preload adjust. 1 43,70 € 60100
01165-06 Bracket hydraulic preload adjust. 1 43,36 € 60100
01165-07 Bracket hydraulic preload adjust. 1 42,47 € 60100
01165-08 Bracket hydraulic preload adjust. 1 60,04 € 60100
01165-10 Bracket hydraulic preload adjust. 1 73,38 € 60100
01165-11 Bracket gas reservoir 1 53,14 € 60100
01165-12 Bracket hydraulic preload adjust. 1 148,53 € 60100
01165-13 Bracket hydraulic preload adjust. 1 110,06 € 60100
01165-14 Bracket hydraulic preload adjust. 1 72,26 € 60100
01165-16 Bracket PId. adj. 1 43,36 € 60100
01165-17 Bracket 1 43,36 € 60100
01165-20 Bracket 1 45,37 € 60100
01166-01 Spacer 1 22,24 € 60100
01169-06 Spacer 14/35/6 1 22,24 € 60100
01171-03 Screw MCS DIN84 8.8 fzb 3x5 £ 1 0,67 € 60200
01172-01 Sleeve M55/x1.5/3 1 84,77 € 60100
01173-01 Spring seat 55/56.5/73 1 26,43 € 60100
01174-01 Lock nut M55x1.5/5 1 30,21 € 60100




01180-01 Sticker "Memo notes" 1 1,33 € 60399
01185-01 Sticker "OHLINS" wh/trans 20x53 Tec 1 1,89 € 60399
01185-02 Sticker "OHLINS" wh/trans 30x74 Tec 1 1,90 € 60399
01185-04 Sticker "OHLINS" black/trans 20x53 Tec 1 2,00 € 60399
01193-01 Sticker "OHLINSAST" bl/tr29x139%*** 1 1,33 € 60399
01196-40 Event Sticker 1 0,04 € 60650
01197-01 Strap "CSC" 1 0,89 € 60399
01198-01 General information sheet TTX44 1 0,44 € 60399
01210-01 Cylinder tube 46/141.5 Al 1 172,00 € 60102 |NLA
01210-04 Cylinder tube 46/174.5 Al 1 82,64 € 60102 |NLA
01210-05 Cylinder tube 46/123.5 Al 1 109,40 € 60100
01210-06 Cylinder tube 46/127.5 Al 1 168,99 € 60100
01210-08 Cylinder tube 46/132.5 AL 1 109,40 € 60100
01210-09 Cylinder tube 46/137 Al 1 168,99 € 60100
01210-10 Cylinder tube 46/111.5 Al 1 168,99 € 60100
01210-13 Cylinder tube 46/120.5 Al 1 88,94 € 60100
01210-16 Cylinder tube 46/118.5 Al 1 109,40 € 60100
01210-17 Cylinder tube 46/115.5 Al 1 168,99 € 60100
01210-19 Cylinder tube 46/160.5 Al 1 168,99 € 60100
01210-22 Cylinder tube 46/207.5 Al 1 140,08 € 60100
01210-27 Cylinder tube 46/178.5 Al 1 111,07 € 60100
01210-47 Cylinder tube 46/270 Al 1 140,08 € 60100
01210-49 Cylinder tube 46/134 Al 1 168,99 € 60100
01210-50 Cylinder tube 46/156.5 Al 1 168,99 € 60100
01210-53 Cylinder tube 46/144.5 Al 1 109,40 € 60100
01210-56 Cylinder tube 46/130.5 AL 1 109,40 € 60100
01211-02 Cylinder tube 46/130.5 Al 1 116,51 € 60100
01211-23 Cylinder tube 46/215 Al 1 145,42 € 60100
01211-24 Cylinder tube 46/181,5 Al 1 176,99 € 60100
01211-25 Cylinder tube 46/208 Al 1 133,41 € 60100
01211-26 Cylinder tube 46/232 Al 1 236,14 € 60100
01211-28 Cylinder tube 46/262 Al 1 133,41 € 60100
01211-29 Cylinder tube 46/171 Al 1 116,51 € 60100
01211-32 Cylinder tube 46/232 Al 1 145,42 € 60100
01215-01 Ring shim 51.65/56.65/0.15 25M 1,67 € 60200
01218-01 Spacer, ball joint 12x24 al 1 7,34 € 60200
01218-02 Spacer, ball joint 12x30 al 1 8,17 € 60200
01218-03 Spacer, ball joint 12x22 al 1 8,62 € 60200
01218-05 Spacer, ball joint 12x38 al 1 12,45 € 60100
01218-07 Spacer, ball joint 12x40 al 1 12,45 € 60100
01218-08 Spacer, ball joint 14x35 al 1 7,51€ 60200




01218-09 Spacer, ball joint 12x28 al 1 14,05 € 60100
01218-10 Spacer, ball joint 10x25 al 1 6,97 € 60200
01218-11 Spacer, ball joint 10x27 al 1 8,62 € 60100
01218-12 Spacer, ball joint 10x30 al 1 10,16 € 60200
01218-13 Spacer, ball joint 10x22 al 1 7,34 € 60200
01218-14 Spacer, ball joint 12x32 Al 1 18,86 € 60100
01218-15 Spacer, ball joint 10x20 al 1 7,01€ 60200
01218-16 Spacer, ball joint 10x28 al 1 8,62 € 60200
01218-18 Spacer, ball joint 10x40 al 1 8,62 € 60200
01218-19 Spacer, ball joint 10x26 al 1 7,34 € 60200
01218-21 Spacer, ball joint 10x46 al 1 12,45 € 60100
01218-22 Spacer, ball joint 10x24 al 1 7,34 € 60200
01218-24 Spacer, ball joint 10x39 al 1 11,12 € 60200
01218-25 Spacer, ball joint 10x21.5 al 1 7,86 € 60200
01218-27 Spacer, ball joint 14x22 al 1 7,23 € 60200
01218-28 Spacer, ball joint 12x35 al 1 12,45 € 60100
01218-29 Spacer, ball joint 12x55 Al 1 18,86 € 60100
01218-30 Spacer, ball joint 10x44 Al 1 7,34 € 60200
01218-33 Spacer, ball joint 10x23 al 1 9,32 € 60200
01218-34 Spacer, ball joint 12x60 al 1 27,69 € 60100
01218-35 Spacer, bj @14, 10x33 al 1 25,34 € 60100
01218-36 Spacer, ball joint 14x26 al 1 18,86 € 60100
01218-37 Spacer, ball joint 12x20 al 1 12,45 € 60100
01218-38 Spacer, ball joint 12x36 al 1 18,86 € 60100
01218-39 Spacer, ball joint 10x32 al 1 12,22 € 60200
01218-40 Spacer, ball joint 12x25 al 1 18,86 € 60100
01218-41 Spacer, ball joint 10x31 al 1 12,45 € 60100
01218-42 Spacer, ball joint 10x19 al 1 8,62 € 60200
01218-43 Spacer, ball joint 12x30.7 al 1 6,79 € 60100
01218-44 Spacer, ball joint 12x53.8 al 1 26,68 € 60100
01218-45 Spacer, ball joint 12x23 al 1 16,02 € 60100
01218-46 Spacer, ball joint 10x36 al 1 10,59 € 60200
01218-47 Spacer, ball joint 10x29 al 1 18,86 € 60100
01218-49 Spacer, ball joint 12x26 al 1 12,45 € 60100
01218-51 Spacer, ball joint 12x34 al 1 19,47 € 60100
01218-52 Spacer, ball joint 10x35 al 1 25,59 € 60100
01218-53 Spacer, ball joint 11x31 al 1 18,86 € 60100
01218-54 Spacer, ball joint 14x20 Al 1 7,34 € 60200
01218-55 Spacer, ball joint 10x25 al chamfer 1 10,57 € 60200
01218-57 Spacer, ball joint 10x22.5 al 1 12,45 € 60100
01218-58 Spacer, ball joint 10x21 al 1 20,01 € 60100




01218-60 Spacer, ball joint 12x43 1 16,95 € 60100
01218-61 Spacer, ball joint 8x31 al 1 7,56 € 60100
01218-62 Spacer, ball joint 8x54 al 1 18,86 € 60100
01218-63 Spacer, ball joint 12.5x25 al 1 16,40 € 60100
01218-64 Spacer, ball joint 12x34.4 al 1 26,74 € 60100
01218-65 Spacer, ball joint 10x23 al 1 7,01€ 60100
01218-67 Spacer, ball joint 14x32 al 1 18,86 € 60100
01218-68 Spacer, ball joint @14, 8x20 al 1 10,72 € 60100
01218-70 Spacer, bj @14, 12x48 al 1 21,00 € 60100
01218-71 Spacer, bj @14, 12.7x40 al 1 15,56 € 60100
01218-72 Spacer, bj @14, 12x33 al 1 13,24 € 60100
01218-74 Spacer, ball joint @14, 8x25.4 al 1 27,69 € 60100
01219-01 Stroke restrictor rebound 1 35,58 € 60100
01220-01 Spacer, ball joint 12.2x28 1 20,03 € 60100
01220-03 Spacer, bj @314, 12.7x40 1 15,56 € 60100
01220-04 Spacer, bj @14, 12.7x32 1 12,65 € 60100
01238-02 Adapter 67/92/13 1 93,39 € 60100
01238-04 Spring adapter 58/90/13 1 92,39 € 60100
01238-05 Spring adapter 66.5/86/18 1 83,94 € 60100
01239-01 Screw M10x1.25x20 Titan 1 38,36 € 60100
01239-02 Screw M10x1.25x25 Titan 1 44,66 € 60100
01239-03 Screw M10x1.25x30 Titan 1 51,14 € 60100
01239-05 Screw M10x1.25x35 Titan 1 61,15 € 60100
01240-03 Screw M8x45 Titan 1 72,83 € 60100
01240-08 Screw M8x25 Titan 1 40,02 € 60100
01240-09 Screw M8x30 Titan 1 41,14 € 60100
01242-01 Adjustment needle 2.5 adj. slot 1 26,68 € 60100
01242-02 Adjustment needle 2.5 adj.knob 1 44,25 € 60100
01242-03 Adjustment needle 1.5 adj.slot 1 10,57 € 60200
01242-04 Adjustment needle 1.5 adj.knob***** 1 43,92 € 60100
01242-06 Adjustment needle 2.5 adj.knob 1 4,28 € 60200
01242-07 Adjustment needle 1.5 adj.knob 1 5,78 € 60200
01242-08 Adjustment needle 1 adj. slot 1 6,40 € 60100
01242-09 Adjustment needle 1.5 adj.hex 1 9,95 € 60100
01242-10 Adjustment needle 1.5 adj. slot 1 6,07 € 60200
01242-11 Adjustment needle 2.5 adj.hex 1 8,34 € 60200
01242-12 Adjustment needle 2.5 adj.knob doco 1 13,01 € 60100
01242-15 Adjustment needle 1.5 adj.hex 1 11,12 € 60100
01242-16 Adjustment needle 3.5 adj.hex 1 7,78 € 60200
01243-02 End piece comp.adjuster hose******* 1 36,69 € 60100
01243-03 End piece comp.adjuster PB 1.5%**** 1 68,93 € 60100




01243-05 End piece hose comp.adj 2.5 Wheel 1 33,35€ 60100
01243-07 End piece comp.adjuster 2.5 Fat-Bob 1 15,56 € 60100
01243-08 End piece hose comp.adj 2.5 Fat-Bob 1 2891 € 60100
01243-09 End piece comp.adjuster 1.5 Fat-Bob 1 53,06 € 60100
01243-10 End piece hose comp.adj 1.5 Fat-Bob 1 16,13 € 60100
01243-11 End piece hose comp.adj 2.5 Fat-Bob 1 50,03 € 60100
01243-22 End piece comp.adjuster PB 1.5 1 102,28 € 60100
01244-01 Valve compression adjuster****** 1 61,15 € 60100
01244-02 Valve compression adjuster ****x**x 1 8,22 € 60100
01244-04 Valve compression adjuster******* 1 70,04 € 60100
01244-06 Valve compression adjuster*****x**x* 1 73,38 € 60100
01244-07 Valve compression adjuster sintered 1 4,53 € 60200
01244-15 Valve compression adjuster brass 1 33,35€ 60100
01245-01 Check valve Shim 0.20-22/16.5 25M 1,67 € 60200
01246-01 Wave washer 16/22/3.5 1 2,17 € 60200
01247-01 Check valve housing 16/23.4/4.5 1 7,72 € 60200
01248-01 Spring 2.5/7/11 1 1,99 € 60200
01252-10 Bracket 16/88/32.5 1 65,59 € 60100
01252-11 Bracket 16/70/22.9 1 101,39 € 60100
01252-22 Bracket 16/75/22.2 1 60,04 € 60100
01254-17 End eye 16/112/35/26 1 53,36 € 60100
01254-21 End eye 16/124/26 1 112,96 € 60100
01255-19 End eye 16/50/25.4 assy. 1 145,57 € 60100
01265-02 End cap 16/28/46 ice device 1 63,20 € 60100
01266-02 End cap 16/46 ice device assy 5129 1 89,58 € 60100
01268-03 Spacer 16/38/3 stepped 1 13,29 € 60100
01269-02 Spacer 16/38/2 1 14,45 € 60100
01269-03 Spacer 16/38/3 1 15,56 € 60100
01269-04 Spacer 16/38/4 1 16,68 € 60100
01269-05 Spacer 16/38/5 1 78,94 € 60100
01269-16 Spacer 16/38/16 1 16,68 € 60100
01270-02 Cylinder head hose 46/26 1 94,28 € 60100
01270-03 Cylinder head hose 46/26 1 112,96 € 60100
01270-06 Cylinder head hose 46/26 1 165,43 € 60100
01270-08 Cylinder head hose 46/26 1 66,71 € 60100
01270-11 Cylinder head gas valve 46/26 1 145,42 € 60100
01270-12 Cylinder head hose 46/26 1 72,26 € 60100
01270-14 Cylinder head hose 46/26 1 124,52 € 60100
01270-15 Cylinder head hose 46/26 1 132,08 € 60100
01280-01 Cylinder head hose 46/30 1 63,37 € 60100
01281-01 Cylinder head, nipple, pin 46 1 110,29 € 60100




01281-02 Cylinder head hose, pin 46 1 138,75 € 60100
01281-04 Cylinder head hose M12, pin 46 1 72,26 € 60100
01282-01 Cylinder head gas valve 46/26 1 65,68 € 60100
01282-02 Cylinder head 46/26 hose M10 1 60,34 € 60100
01282-03 Cylinder head 46/26 hose M10 1 82,27 € 60100
01282-04 Cylinder head 46/43 hose M10 1 99,53 € 60100
01282-05 Cylinder head 46/26 hose M10 1 136,08 € 60100
01282-06 Cylinder head 46/26 hose M10 1 163,65 € 60100
01282-07 Cylinder head 46/26 hose M10 1 144,08 € 60100
01282-08 Cylinder head 46/26 hose M10 black 1 163,65 € 60100
01283-24 Bracket 16/90/35/20 1 56,63 € 60100|NLA
01283-27 Bracket 16/90/20 1 82,27 € 60100
01283-29 Bracket 16/77/25.2 1 70,04 € 60100
01283-30 Bracket 16/80/32.3 1 101,17 € 60100
01283-34 Bracket 16/78/20 1 73,38 € 60100
01283-36 Bracket 16/84/30 M10x1.25 1 88,94 € 60100
01283-37 Bracket 16/110/22 1 82,27 € 60100
01283-38 Bracket 16/74/32.2 1 98,95 € 60100
01283-39 Bracket 16/84/30 M12x1.25 1 88,94 € 60100
01283-40 Bracket 16/84/20/26 1 76,56 € 60100|NLA
01283-41 Bracket 16/75/22 1 105,84 € 60100
01283-42 Bracket 16/70/22 1 96,06 € 60100
01283-43 Bracket 16/70/30 1 100,50 € 60100
01283-44 Bracket 16/90/35/20 1 78,66 € 60100|NLA
01283-46 Bracket 16/93/42 1 137,86 € 60100
01283-56 Bracket 16/75/22/20 1 82,27 € 60100
01283-57 Bracket 16/64/22/20 1 80,05 € 60100
01283-58 Bracket 16/74/32.2 1 137,86 € 60100
01283-59 Bracket 16/74/32.2 1 138,75 € 60100
01283-60 Bracket 16/63,5/22/32.2 1 104,95 € 60100
01283-61 Bracket 16/108/31/30.2 1 110,06 € 60100
01283-62 Bracket 16/99/31/22.2 1 83,38 € 60100
01283-64 Bracket 16/79/24.5/22.9 1 93,39 € 60100
01283-65 Bracket 16/85/30 1 75,60 € 60100
01283-67 Bracket 16/94/22.9 1 79,03 € 60100
01283-70 Bracket 16/65/32.2 1 123,63 € 60100
01283-71 Bracket 16/116/35 1 97,84 € 60100
01283-72 Bracket 16/113/35 1 102,28 € 60100
01283-73 Bracket 16/109/31 1 96,49 € 60100|NLA
01283-74 Bracket 16/63,5/22 1 96,72 € 60100
01283-76 Bracket 16/126/36 1 87,83 € 60100




01283-77 Bracket 16/78/30 1 152,98 € 60100
01283-78 Bracket 16/100/35 1 98,95 € 60100
01283-90 Bracket 16/63,5/22/32.2 1 137,86 € 60100
01283-91 Bracket 16/108/31/30.2 1 146,75 € 60100
01283-92 Bracket 16/99/31/22.2 1 128,96 € 60100
01283-93 Bracket 16/102/24.5/25.2 Rebound 2014 1 216,79 € 60100
01283-94 Bracket 16/102/24.5/25.2 Rebound 2014 1 157,52 € 60103
01283-95 Bracket 16/79/20/22 1 196,78 € 60100
01283-96 Bracket 16/75/22/20 1 123,63 € 60100
01283-97 End clevis 16/86/26/30.2 1 128,96 € 60100
01283-98 Bracket 16/99/31/20.6 1 153,42 € 60100
01284-01 Stop washer 21x46x10, steel 1 17,62 € 60100
01284-03 Stop washer 21/44/10 clear 1 42,25 € 60100
01284-04 Stop washer 20/44/10 clear 1 27,69 € 60100
01284-22 Stop washer 21/46/10 clear 1 10,57 € 60200
01284-42 Stop washer 21/46/10 ti-grey 1 11,12 € 60100
01285-01 Thread insert M12/13 1 26,13 € 60100
01286-01 Spring clip for springs 57 1 51,14 € 60100
01293-04 Sleeve 50/57/50 1 6,83 € 60200
01293-05 Sleeve 51/57/50 1 6,83 € 60200
01293-06 Sleeve 50.85/57/50 1 7,42 € 60100
01293-08 Sleeve 54.9/60/53 1 6,43 € 60200|NLA
01293-10 Plastic sleeve 55.5/60.8/52.5 1 7,63 € 60100
01293-11 Plastic sleeve 1 6,84 € 60100
01293-28 Sleeve 54.7/57.5/18 1 35,58 € 60100
01293-30 Sleeve 57/70/50 1 12,18 € 60100
01293-50 Sleeve 57/70/50 1 96,95 € 60100
01297-21 End eye 16/102/26 1 122,19 € 60100
01297-22 End eye 16/63/26 1 81,16 € 60100
01297-23 End eye 16/53/26 1 63,37 € 60100
01297-24 End eye 16/117/26 1 111,18 € 60100
01297-28 End eye 16/122/26 1 84,49 € 60100
01297-30 End eye 16/50/28.6 1 97,84 € 60100
01297-44 End eye 16/117/26 1 106,73 € 60100
01297-51 End eye 16/118.5/26 Ti-grey 1 128,08 € 60100
01297-52 End eye 16/87.5/26 Ti-grey 1 97,84 € 60100
01297-53 End eye 16/48/26 Ti-grey 1 97,84 € 60100
01297-55 End eye 16/81.5/26 Ti-grey 1 91,16 € 60100
01297-61 End eye 16/55/26 Ti-grey 1 72,26 € 60100
01297-62 End eye 16/65/26 Ti-grey 1 104,51 € 60100
01297-64 End eye 16/65/26 Ti-grey 1 71,15 € 60100




01297-65 End eye 16/48/26 cut-off 1 104,95 € 60100
01297-66 End-eye 16/68/26 1 72,26 € 60100
01297-91 End eye 16/118.5/26 1 133,41 € 60100
01297-95 End eye 16/81.5/26 1 155,65 € 60100
01298-01 Bleed washer 16/36/8 1 28,43 € 60100
01298-02 Bleed washer 16/30/8 1 9,39 € 60200
01298-03 Bleed washer 16/38/6 1 16,68 € 60100
01299-01 PDS Damping cup 46/36/40 1 64,48 € 60100
01299-02 PDS Damping cup 46/35/45***** ¥k x%* 1 65,59 € 60100
01299-03 PDS Damping cup 46/35/50 1 66,71 € 60100
01299-63 PDS Damping cup 46/34/40 1 85,06 € 60100
01299-72 PDS Damping cup 46/34/35 1 76,16 € 60100
01338-22 Renolit SI 410 M silicone grease 225g £ 1 19,57 € 60200
01403-01 Thrust needle bearing 1 7,46 € 60200
01408-01 Adjustment driver, spring preload 1 23,91 € 60100
01408-03 Adjustment driver, spring preload 1 143,20 € 60100
01408-04 Adjustment driver, spring preload 1 71,15 € 60100
01410-08 Shims 6/8/0.10 25M 1,67 € 60200
01410-09 Shims 6/9/0.10 25M 1,67 € 60200
01410-10 Shims 6/10/0.10 25M 1,67 € 60200
01410-11 Shims 6/11/0.10 25M 1,67 € 60200
01410-12 Shims 6/12/0.10 25M 1,67 € 60200
01410-13 Shims 6/13/0.10 25M 1,67 € 60200
01410-14 Shims 6/14/0.10 25M 1,67 € 60200
01410-15 Shims 6/15/0.10 25M 1,67 € 60200
01410-16 Shims 6/16/0.10 25M 1,67 € 60200
01410-17 Shims 6/17/0.10 25M 1,67 € 60200
01410-18 Shims 6/18/0.10 25M 1,67 € 60200
01410-19 Shims 6/19/0.10 25M 1,67 € 60200
01410-20 Shims 6/20/0.10 25M 1,67 € 60200
01410-21 Shims 6/21/0.10 25M 1,67 € 60200
01410-22 Shims 6/22/0.10 25M 1,67 € 60200
01415-08 Shims 6/8/0.15 25M 1,67 € 60200
01415-09 Shims 6/9/0.15 25M 1,67 € 60200
01415-10 Shims 6/10/0.15 25M 1,67 € 60200
01415-11 Shims 6/11/0.15 25M 1,67 € 60200
01415-12 Shims 6/12/0.15 25M 1,67 € 60200
01415-13 Shims 6/13/0.15 25M 1,67 € 60200
01415-14 Shims 6/14/0.15 25M 1,67 € 60200
01415-15 Shims 6/15/0.15 25M 1,67 € 60200
01415-16 Shims 6/16/0.15 25M 1,67 € 60200




01415-17 Shims 6/17/0.15 25M 1,67 € 60200
01415-18 Shims 6/18/0.15 25M 1,67 € 60200
01415-19 Shims 6/19/0.15 25M 1,67 € 60200
01415-20 Shims 6/20/0.15 25M 1,67 € 60200
01415-21 Shims 6/21/0.15 25M 1,67 € 60200
01415-22 Shims 6/22/0.15 25M 1,67 € 60200
01416-01 Washer, bushing 44/54/1 13,90 € 60100
01420-11 Shims 6/11/0.20 25M 1,67 € 60200
01420-12 Shims 6/12/0.20 25M 1,67 € 60200
01420-13 Shims 6/13/0.20 25M 1,67 € 60200
01420-14 Shims 6/14/0.20 25M 1,67 € 60200
01420-15 Shims 6/15/0.20 25M 1,67 € 60200
01420-16 Shims 6/16/0.20 25M 1,67 € 60200
01420-17 Shims 6/17/0.20 25M 1,67 € 60200
01420-18 Shims 6/18/0.20 25M 1,67 € 60200
01420-19 Shims 6/19/0.20 25M 1,67 € 60200
01420-20 Shims 6/20/0.20 25M 1,67 € 60200
01420-21 Shims 6/21/0.20 25M 1,67 € 60200
01420-22 Shims 6/22/0.20 25M 1,67 € 60200
01422-01 Circlip 22.8/1.0 2,22 € 60100
01425-11 Shims 6/11/0.25 25M 1,67 € 60200
01425-12 Shims 6/12/0.25 25M 1,67 € 60200
01425-13 Shims 6/13/0.25 25M 1,67 € 60200
01425-14 Shims 6/14/0.25 25M 1,67 € 60200
01425-15 Shims 6/15/0.25 25M 1,67 € 60200
01425-16 Shims 6/16/0.25 25M 1,67 € 60200
01425-17 Shims 6/17/0.25 25M 1,67 € 60200
01425-18 Shims 6/18/0.25 25M 1,67 € 60200
01425-19 Shims 6/19/0.25 25M 1,67 € 60200
01425-20 Shims 6/20/0.25 25M 1,67 € 60200
01425-21 Shims 6/21/0.25 25M 1,67 € 60200
01425-22 Shims 6/22/0.25 25M 1,67 € 60200
01430-08 Shims 6/8/0.30 25M 1,67 € 60200
01430-09 Shims 6/9/0.30 25M 1,67 € 60200
01430-10 Shims 6/10/0.30 25M 1,67 € 60200
01430-11 Shims 6/11/0.30 25M 1,67 € 60200
01430-12 Shims 6/12/0.30 25M 1,67 € 60200
01430-13 Shims 6/13/0.30 25M 1,67 € 60200
01430-14 Shims 6/14/0.30 25M 1,67 € 60200
01430-15 Shims 6/15/0.30 25M 1,67 € 60200
01430-16 Shims 6/16/0.30 25M 1,67 € 60200




01430-17 Shims 6/17/0.30 25M 1,67 € 60200
01430-18 Shims 6/18/0.30 25M 1,67 € 60200
01430-19 Shims 6/19/0.30 25M 1,67 € 60200
01430-20 Shims 6/20/0.30 25M 1,67 € 60200
01430-21 Shims 6/21/0.30 25M 1,67 € 60200
01430-22 Shims 6/22/0.30 25M 1,67 € 60200
01437-01 Thrust washer AS1730 1 3,59 € 60200
01438-02 Guide ring front fork 31/41.5 1 17,20 € 60100
01438-04 Guide ring front fork 31/38 1 21,12 € 60100
01438-05 Guide ring front fork 25/40 1 28,91 € 60100
01438-06 Guide ring 31/36,5 1 13,31 € 60100
01438-08 Guide ring front fork 31/43.5 1 19,00 € 60100
01438-09 Guide ring front fork 31/42.5 1 19,00 € 60100
01438-10 Guide ring 31/40.5 1 15,77 € 60100
01440-01 Bump rubber 9,5/22/25 NITRIL 70 1 19,24 € 60200
01440-01 Bump rubber 9,5/22/25 NITRIL 70 1 19,24 € 60200
01444-01 Sleeve 6/8/7.8 1 9,46 € 60200
01444-02 Sleeve 6/8/6.3 1 13,34 € 60100
01447-01 Piston ring PRS 20/18x5-411 1 16,62 € 60200
01447-02 Piston ring 25/23/5 1 14,44 € 60200
01447-03 Piston ring 30/28/5 1 18,11 € 60200
01447-04 Piston ring 32/30/5 1 32,16 € 60200
01448-03 Piston no bleed 1 92,82 € 60100
01448-06 Piston 6/20 Rebound 1 76,71 € 60100
01448-80 Piston 6/20 Rebound blank 1 46,81 € 60100
01448-80 Piston 6/20 Rebound blank 1 46,81 € 60100
01449-01 Washer 6/8/1.5 1 529 € 60200
01449-02 Washer 6/9/1.5 1 529 € 60200
01449-03 Washer 6/10/1.5 1 529 € 60200
01449-04 Washer 6/7/1.5 1 5,29 € 60200
01449-05 Washer 6/11/1.5 1 529 € 60200
01449-06 Washer 6/16/1.5 1 3,79 € 60200
01449-10 Washer 6/12/1.5 1 9,34 € 60200
01449-20 Washer 6.1/12/1.5 1 10,06 € 60200
01451-02 Piston 6/20 Compression 1 53,36 € 60100
01453-02 Wave washer 8.2/17/0.1 1 1,23 € 60200
01457-01 Seal RR frontfork 42mm 1 50,99 € 60200
01460-13 Preload tube 31/148 1 14,45 € 60100
01460-15 Preload tube 31/ 65 1 14,45 € 60100
01460-18 Preload tube 31/ 28 1 14,45 € 60100
01460-19 Preload tube 31/451 1 14,45 € 60100




01460-21 Preload tube 31/ 34 1 14,45 € 60100
01460-28 Preload tube 31/135 1 14,45 € 60100
01460-29 Preload tube 31/214 1 9,01€ 60200
01460-31 Preload tube 31/220 1 14,45 € 60100
01460-35 Preload tube 31/169 1 17,79 € 60100
01460-36 Preload tube 31/200 1 14,45 € 60100
01460-37 Preload tube 31/121 1 14,45 € 60100
01460-38 Preload tube 31/ 91 1 14,45 € 60100
01460-39 Preload tube 31/107 1 14,45 € 60100
01460-40 Preload tube 31/124 1 8,00 € 60200
01460-41 Preload tube 31/ 83 1 14,45 € 60100
01460-42 Preload tube 31/105 1 41,14 € 60100
01460-43 Preload tube 31/115 1 18,90 € 60100
01460-44 Preload tube 31/ 98 1 14,45 € 60100
01460-45 Preload tube 31/ 80 1 14,45 € 60100
01460-46 Preload tube 31/136.5 1 14,45 € 60100
01460-47 Preload tube 31/100 1 14,45 € 60100
01460-49 Preload tube 31/ 76 1 14,45 € 60100
01460-50 Preload tube 31/ 52 1 14,45 € 60100
01460-51 Preload tube 31/ 73 1 14,45 € 60100
01460-52 Preload tube 31/ 90 1 16,68 € 60100
01460-53 Preload tube 31/ 95 1 14,45 € 60100
01460-54 Preload tube 31/110 1 14,45 € 60100
01460-55 Preload tube 31/ 68 1 14,45 € 60100
01460-56 Preload tube 31/ 81 1 14,45 € 60100
01460-57 Preload tube 31/166 1 14,45 € 60100
01460-58 Preload tube 31/ 59 1 14,45 € 60100
01460-59 Preload tube 31/ 74 1 14,45 € 60100
01460-60 Preload tube 31/ 16 1 14,45 € 60100
01460-61 Preload tube 31/ 18 1 14,45 € 60100
01460-62 Preload tube 31/ 20 1 14,45 € 60100
01460-63 Preload tube 31/ 22 1 14,45 € 60100
01460-64 Preload tube 31/ 26 1 14,45 € 60100
01460-66 Preload tube 31/ 46 1 14,45 € 60100
01460-69 Preload tube 31/ 88 1 14,45 € 60100
01460-70 Preload tube 31/ 61 1 14,45 € 60100
01460-71 Preload tube 31/126 1 14,45 € 60100
01460-72 Preload tube 31/108 1 14,45 € 60100
01460-73 Preload tube 31/108 1 14,45 € 60100
01460-74 Preload tube 31/ 38 1 14,45 € 60100
01460-75 Preload tube 31/ 93 1 14,45 € 60100




01460-76 Preload tube 31/ 54 1 14,45 € 60100
01460-77 Preload tube 31/139 1 14,45 € 60100
01460-78 Preload tube 31/117 1 14,45 € 60100
01460-79 Preload tube 31/103 1 14,45 € 60100
01460-80 Preload tube 31/ 48 1 14,45 € 60100
01460-81 Preload tube 31/ 14 1 14,45 € 60100
01460-82 Preload tube 31/ 30 1 14,45 € 60100
01460-83 Preload tube 31/ 44 1 14,45 € 60100
01460-84 Preload tube 31/ 56 1 14,45 € 60100
01460-85 Preload tube 31/ 36 1 14,45 € 60100
01460-86 Preload tube 31/ 70 1 14,45 € 60100
01467-01 Adjustment screw 6/20 1 15,68 € 60100
01467-02 Adjustment screw 6/28 1 12,67 € 60200
01468-02 Adjustment housing for front fork 1 66,71 € 60100
01473-01 Circlip SRH 8 stainless 1 0,67 € 60200
01473-02 Circlip SRH 10 stainless 1 0,67 € 60200
01473-03 Circlip SRH 45 stainless 1 4,67 € 60200
01473-04 Circlip SRH 12 stainless 1 0,67 € 60200
01473-05 Circlip SRH 35 stainless 1 3,74 € 60200
01473-06 Circlip SRH 8 .3 stainless 1 0,67 € 60200
01473-07 Circlip SRH 42 stainless 1 13,90 € 60200
01473-08 Circlip SRH 7 stainless £ 1 1,23 € 60200
01474-01 Spring 1.92/6.3 1 1,33 € 60399
01474-03 Spring 5/3.5 1 14,23 € 60399
01474-04 Spring 2/5 ¢=0,950 1 0,84 € 60399|NLA
01474-06 Spring 1 0,89 € 60399
01480-82 Fork leg inner blank 42/510 Tinol 1 322,50 € 60104 |NLA
01485-01 Circlip 57/1.6 1 13,46 € 60200
01486-09 Cylinder tube 20/170 Al 1 52,56 € 60100
01488-01 Press nut M6/12.5 GDE33718060 DoE 1 4,00 € 60200
01492-01 Stop screw SK6SS 4x10 FZB DIN 916 1 0,67 € 60100
01499-01 Circlip SRA 10 stainless 1 1,01 € 60200
01499-02 Circlip SRA 12 1 1,23 € 60200
01499-03 Circlip SRA 38 1 1,01 € 60200
01499-04 Circlip SRA 6 1 1,01 € 60200
01499-07 Circlip SRA 50 stainless £ 1 347 € 60200
01499-08 Circlip 17.7/2 1 6,28 € 60100
01499-09 Circlip SRA 8.5 1 3,11 € 60200
01499-10 Circlip SRA 40 stainless 1 4,24 € 60200
01499-12 Circlip, 45 mm 1 4,30 € 60200
01501-01 Lock nut M12x1.25 1 573 € 60200




01502-02 Screw P6SS M3x6 stainless £ 1 0,67 € 60200
01502-03 Screw P6SS M6x6 Black £ 1 0,67 € 60200
01502-04 Screw P6SS M3x3 stainless £ 1 0,67 € 60200
01502-05 Screw P6SS M2.5x4 £ 1 1,01 € 60200
01502-06 Lock screw P6SS M5 x 8 A2 rosfri £ 1 1,23 € 60200
01502-07 Lock screw M5 x 5 1 1,23 € 60200
01502-08 Screw M2x4 1 3,47 € 60200
01502-09 Screw M2.5x3 1 3,11 € 60200
01502-10 Screw P6SS M3x5 stainless 1 0,67 € 60200
01502-11 Screw M5x4 1 0,67 € 60200
01508-01 Back-up ring 3.2/5.4/1 PTFE 1 3,37 € 60100
01524-01 Seal RR frontfork 46mm 1 39,12 € 60200|NLA
01525-01 Fork leg inner 46/499 1 446,78 € 60104 |NLA
01525-03 Fork leg inner 46/506 1 631,76 € 60100
01531-01 Fork leg inner 38/351 1 106,87 € 60104 |NLA
01532-01 Seal RR front fork 38 1 31,80 € 60200
01533-01 Bushing 38/42/12 1 88,27 € 60200
01534-01 Bushing 38/41/12 1 88,27 € 60200
01536-01 Washer 39/50/1 1 18,13 € 60100
01550-03 Fork leg outer RR 38/425 1 660,39 € 60100
01552-01 Washer 46.5/58/1 1 7,78 € 60100
01553-01 Circlip 60.8/1.6 1 3,84€ 60200
01556-01 Cylinder tube 20/295 1 64,19 € 60102 NLA
01562-03 Compression housing 20 1 75,09 € 60199|NLA
01565-04 Stroke indicator 43 1 24,01 € 60100
01565-05 Stroke indicator 41 1 23,69 € 60100
01580-01 Bump rubber 11.5/22/25 NIT 70 1 3,52 € 60200
01580-03 Bump rubber 11.5/22/30 1 3,68 € 60200
01580-04 Bump rubber 7.5/16/15 1 4,10 € 60200
01582-15 Spacer 10.1/18/15 1 12,79 € 60100
01582-16 Spacer 10.1/18/8 1 6,74 € 60100
01582-17 Spacer 10.1/22/10 1 9,46 € 60100
01582-18 Spacer 10.1/18/5 1 9,36 € 60100
01582-19 Spacer 10.1/22/2 1 6,65 € 60100
01582-20 Spacer 10.1/22/3 1 5,78 € 60100
01582-21 Spacer 8.1/21/2 1 10,12 € 60100
01582-22 Spacer 8.1/21/3 1 10,34 € 60100
01582-23 Spacer 8.1/21/10 1 12,23 € 60100
01582-24 Spacer 8.1/21/15 1 12,79 € 60100
01582-25 Spacer 12.1/18/8 1 11,68 € 60100
01585-01 Topout spring 3.5 N/mm 1 2,22 € 60399




01585-02 Topout spring 2 N/mm 1 3,11 € 60399
01585-03 Topout spring 6.5 N/mm 1 10,79 € 60399
01585-11 Topout spring 4 N/mm 1 7,12 € 60399
01593-07 Caliper bracket SBK 43 Rad cal LH** 1 392,23 € 60100
01593-08 Caliper bracket SBK 43 Rad cal RH** 1 392,23 € 60100
01597-02 Screw M8x1 aluminium 1 26,68 € 60100
01613-01 X-ring 11.70x2.62 NBR 88 1 9,12 € 60200
01618-02 One way valve cup 1 44,47 € 60100
01626-01 Bushing 46/49/15 1 50,20 € 60200
01633-01 Circlip 52.5/1.5 1 6,30 € 60200
01635-02 Fork bottom RH RR 125 1 291,98 € 60104 |NLA
01648-01 Lock nut M16x1/12/10 1 12,59 € 60199|NLA
01651-01 Seal head front fork 14/41.9/22**** 1 46,92 € 60100
01651-02 Seal head front fork 14/38.5/22 1 48,92 € 60100
01651-04 Seal head front fork 12/37.2/25 1 47,31 € 60100
01651-05 Seal head front fork 14/36,5/22 1 31,40 € 60100
01651-08 Seal head Spring Guide 1 20,68 € 60100
01651-09 Seal head 1 41,58 € 60100
01651-10 Seal head front fork 12/37.2/38 1 45,58 € 60100
01651-11 Seal head front fork 10/39/20 1 55,06 € 60199|NLA
01651-12 Seal head front fork 38.5 1 45,58 € 60100
01651-13 Seal head front fork 36.5 1 45,58 € 60100
01651-14 Seal head front fork 41.5 1 46,69 € 60100
01651-15 Seal head front fork 8/36.5/25 1 40,58 € 60100
01651-16 Seal head front fork 42.5 1 48,92 € 60100
01652-01 Washer 8/11/2.5 1 14,06 € 60100
01652-02 Washer 8/12/2.5 1 9,07 € 60200|NLA
01652-03 Washer 8/13/2.5 1 9,61€ 60200
01652-04 Washer 8/14/2.5 1 27,40 € 60100
01652-05 Washer 8/15/2.5 1 9,61€ 60200
01653-01 Sleeve 12.1 1 14,45 € 60100
01653-03 Spring seat C05-2334J-V0 £ 1 39,16 € 60100
01653-04 Spring seat lower C05-2334K-V1 £ 1 35,11 € 60100
01653-05 Sleeve 10.1 1 27,24 € 60100
01653-07 Sleeve 10 1 6,18 € 60200
01653-08 Spring seat 1 8,45 € 60100
01653-09 Sleeve 8 1 21,68 € 60100
01654-01 Piston holder 2.5/8/12/59 1 3891 € 60100
01654-03 Piston holder 2.5/8/12/64 M12x0.75 1 54,48 € 60100
01654-04 Piston holder Yam R1-R6 1 79,81 € 60399|NLA
01654-07 Piston holder rebound FG 570 1 66,71 € 60100




01654-09 Piston holder rebound FG 670 1 68,17 € 60100|NLA
01654-11 Piston holder FGR 710 1 56,21 € 60199|NLA
01654-12 Piston holder 2.5/M9.5x1 1 61,15 € 60100
01654-13 Piston holder 3.5/31/M12x0.75/57.5 1 65,59 € 60100
01654-14 Piston holder 2.5/M8x0.75/43 1 22,24 € 60100
01654-15 Piston holder 2.5/M8x0.75/54.5 1 48,92 € 60100
01656-01 Cylinder tube 25/224 1 78,94 € 60100
01656-02 Cylinder tube 25/245 1 98,23 € 60100
01656-03 Cylinder tube 25/264 1 107,98 € 60100
01656-04 Cylinder tube 25/288 1 151,02 € 60100
01656-05 Cylinder tube 25/254 1 75,62 € 60102 |NLA
01656-06 Cylinder tube 25/251 1 117,93 € 60100
01656-08 Cylinder tube 25/280 1 120,89 € 60100
01656-09 Cylinder tube 25/264 1 115,97 € 60100
01656-10 Cylinder tube 25/178 1 93,79 € 60100
01656-11 Cylinder tube 25/194 1 70,90 € 60102 |NLA
01656-12 Cylinder tube 25/211 1 109,33 € 60100
01656-13 Cylinder tube 25/211 1 95,62 € 60100
01656-14 Cylinder tube 25/158 1 78,10 € 60100
01657-01 Nut M8 Al 1 1,83 € 60200
01657-02 Nut M6 Alu 1 1,01€ 60200
01658-03 End piece no compr.ad;j. front fork 1 72,26 € 60100
01658-05 End piece 2.5 compr.adj. front fork 1 55,59 € 60100
01658-07 End piece no adj. bleed 1 33,04 € 60199 (NLA
01658-08 End piece 1 64,48 € 60100
01658-09 End piece 3.5 compr.adj. 1 65,59 € 60100
01658-10 End piece 3.5 reb.ad,. 1 65,59 € 60100
01660-01 Piston 8/25/1.5 compression 1 128,96 € 60100
01660-02 Piston 8/25/2.0 compression 1 108,95 € 60100
01665-01 ForkbottomLH.C05-23168-21 OEM £**** 1 197,87 € 60100
01665-02 ForkbottomRH.C05-23178-21 OEM £**** 1 197,87 € 60100
01665-05 Fork bottom Left C05-23168-N1 OEM £ 1 209,18 € 60100
01665-08 Fork bottom Right 1 210,88 € 60100
01667-01 Hose M8x1/M12x1.5/400%****xkkxkkxx 1 128,96 € 60100
01669-01 Sleeve 8/11.9/8.5 1 10,57 € 60200
01669-02 Caliper sleeve 13.9/9.9 1 7,01 € 60100
01669-03 Caliper spacer 24/10.3/15 1 7,01 € 60100
01669-04 Sleeve 8/11.95/8.5 1 7,01 € 60200
01669-05 Caliper spacer 10/12.5/13 1 10,01 € 60100
01669-06 Sleeve 8/11.9/10.5 1 7,01 € 60200
01670-01 Piston 8/25/1.5 compression 1 48,92 € 60100




01670-02 Piston compression 1 92,28 € 60100
01670-03 Piston 8/25/1.5 compression 1 108,95 € 60100
01670-04 Piston 8/25/2 compression 1 45,58 € 60100
01671-01 Spring 14/6.5/3 1 9,01 € 60399
01671-02 Spring 14/6.5/5 1 7,45 € 60399
01671-03 Spring 14/6.5/8 1 8,12 € 60399
01671-04 Spring tapered C05-2333V-V0 £ 1 7,78 € 60200
01671-05 Spring 1 14,01 € 60301
01672-01 Spring collar 1 10,40 € 60200
01672-02 Spring collar C05-2331V-V0 £ 1 24,51 € 60100
01672-03 Spring collar 1 7,11 € 60200
01674-01 Washer 8/12/2 1 498 € 60200
01675-01 Nut ML6M M8 fzb, SS 2176 1 0,67 € 60200
01677-02 Caliper bracket R1, RH*** % xkkxxkkx 1 110,29 € 60100
01677-05 Caliper bracket Suz GSX-R 750, LH 1 149,42 € 60100
01677-06 Caliper bracket Suz GSX-R 750, RH 1 149,42 € 60100
01677-07 Caliper bracket Ducati monstLH***** 1 42,27 € 60103 (NLA
01677-08 Caliper bracket Ducati monstRH***** 1 75,09 € 60103 |NLA
01677-11 Caliper bracket Hon VTR1000SP1, LH 1 138,75 € 60100
01677-12 Caliper bracket Hon VTR1000SP1, RH 1 138,75 € 60100
01677-17 Caliper bracket YA VMAX, LH***** %% 1 138,96 € 60103 |NLA
01677-18 Caliper bracket YA VMAX, RH**** %% 1 138,96 € 60103 |NLA
01677-21 Caliper bracket YAR1, LH 1 105,76 € 60100
01677-22 Caliper bracket YA R1, RH 1 105,76 € 60100
01677-23 Caliper bracket Kaw ZX12, LH 1 114,56 € 60100
01677-24 Caliper bracket Kaw ZX12, RH 1 83,38 € 60103 (NLA
01677-34 Caliper bracket Suz RH 1 372,22 € 60100
01677-39 Caliper bracket Honda VTR LH**** 1 328,48 € 60100|NLA
01677-40 Caliper bracket R1-04 RH 1 495,17 € 60100
01677-52 Caliper Bracket CB1300 RH***** %k 1 176,10 € 60100
01678-01 Fender bracket 1 75,60 € 60100
01678-02 Fender bracket 1 64,71 € 60103 |NLA
01678-04 Fender bracket 1 68,71 € 60100
01678-05 Fender bracket 1 49,40 € 60103 |NLA
01678-07 Fender bracket 1 70,04 € 60100
01678-10 Fender bracket spacer 1 24,44 € 60103 (NLA
01678-13 Fender bracket Honda 1 94,50 € 60100
01678-14 Fender bracket 1 53,36 € 60100
01679-01 Shaft sleeve 28/30/45 1 36,69 € 60100
01679-02 Shaft sleeve 22/30 1 4447 € 60100
01679-03 Shaft sleeve 1 66,71 € 60100




01679-04 Spacer sleeve 1 27,16 € 60199|NLA
01679-05 sleeve 28/32/44 1 42,81 € 60100
01679-06 Sleeve 22/32/47 1 64,48 € 60100
01679-07 sleeve M24x2(lefthand)/30/49 1 54,96 € 60199 (NLA
01679-08 Shaft sleeve 22/32 1 50,03 € 60100
01679-09 Shaft sleeve 27/32 1 47,81 € 60100
01679-10 Shaft sleeve 25/32 1 60,04 € 60100
01679-11 Shaft sleeve M18x1.5 1 51,70 € 60100
01679-12 Sleeve spacer 22/6.5 1 28,91 € 60100
01680-01 Shaft sleeve M18x1.5/30/48.5 1 72,26 € 60100|Expiring
01680-03 Shaft sleeve M24x1.5/32 1 105,62 € 60100
01680-08 Shaft sleeve M14x1.5 1 111,18 € 60100
01680-10 Shaft sleeve M24x1.5/32 1 88,94 € 60100
01680-12 Shaft sleeve M24x1.5/60.8 1 55,59 € 60100
01680-14 Axle sleeve M18x1.5 1 61,15 € 60100
01680-16 Sleeve 32/25 1 82,27 € 60100
01680-18 Sleeve CB1300 LH 1 73,38 € 60100
01680-20 Bolt M14x1.5/34 CB1300 1 4447 € 60100
01680-23 Sleeve LH XJR1300 1 60,04 € 60100
01680-24 Sleeve LH ZRX1200 1 65,59 € 60100
01680-25 Nut M24x1 1 45,58 € 60100
01681-01 Spacer 22/40/5.7***¥Fkxkkdxkkk kA okxk 1 13,12 € 60100
01682-01 Fender bracket 1 72,26 € 60100
01682-02 Fender bracket LH 1 106,73 € 60100
01682-03 Fender bracket RH 1 106,73 € 60100
01682-06 Fender bracket 1 164,54 € 60100
01682-09 Fender bracket 1 105,62 € 60100
01682-10 Fender bracket 1 105,62 € 60100
01682-15 FenderbracketHonCBROOQRRLH* *** ¥k %% 1 93,39 € 60100
01682-16 Fender bracket RH*# k& xkdkkrkrkxkx 1 93,39 € 60100
01682-17 Fender bracket LH 1 104,51 € 60100
01682-18 Fender bracket RH 1 104,51 € 60100
01682-19 Fender bracket ring 1 106,77 € 60103 |NLA
01682-20 Fender bracket Kaw ZX12 1 54,48 € 60100
01682-21 Fender bracket ring %% ¥ *xkkkxkxx 1 155,65 € 60100
01682-22 Fender bracket ring™ %% ¥ ¥ krkxskxx 1 155,65 € 60100
01682-23 Fender bracket ring 1 155,65 € 60100
01682-25 Fender bracket GSXR1000 1 54,54 € 60100|NLA
01682-26 Fender bracket Duc 999 LH 1 146,84 € 60100
01682-27 Fender bracket Duc 999 RH 1 146,84 € 60100
01682-28 Fender bracket ring 1 98,95 € 60100




01682-29 Fender bracket KA ZX10R LH 1 115,62 € 60100
01682-30 Fender bracket KA ZX10R RH 1 115,62 € 60100
01682-31 Fender bracket YA R1 LH 1 88,94 € 60100
01682-32 Fender bracket YA R1 RH 1 88,94 € 60100
01682-33 Fender bracket YA R1 1 97,33 € 60103 |NLA
01682-34 Fender bracket 1 104,95 € 60100
01682-35 Fender bracket CBR1000 1 75,60 € 60100
01682-36 Fender bracket LH CBR1000 1 71,42 € 60103 |NLA
01682-37 Fender bracket RH CBR1000 1 71,42 € 60103 |NLA
01682-39 Fender bracket RH Buell 1 62,40 € 60103 |NLA
01682-40 Fender bracket LH Buell 1 62,40 € 60103 |NLA
01682-45 Fender Bracket CB1300 1 106,73 € 60100
01682-46 Fender Bracket CB1300 RH 1 164,54 € 60100
01682-47 Fender Bracket CB1300 LH 1 164,54 € 60100
01682-48 Fender Bracket CB1300 1 83,38 € 60100
01682-51 Fender bracket FG333 1 34,46 € 60100
01682-52 Fender Bracket Yam R1 1 87,89 € 60199|NLA
01682-53 Fender Bracket Yam R1 RH 1 96,95 € 60100
01682-54 Fender Bracket Yam R1 LH 1 96,95 € 60100
01682-55 Fender bracket ring FGR 900 1 91,06 € 60100
01682-56 Fender bracket ring RH 1 210,79 € 60100
01682-57 Fender bracket ring LH 1 210,79 € 60100
01683-01 Bushing 45/42/15 DU 1 88,27 € 60200
01683-02 Bushing 46/43/15 DU 1 67,49 € 60200
01683-03 Bushing 38/41/12 DU 1 40,02 € 60200
01683-04 Bushing 46/43/15 DU 1 88,61 € 60200
01684-01 Bushing 46/42/15 DU 1 88,27 € 60200
01684-03 Bushing 38/42/12 DU 1 15,70 € 60200
01684-04 Bushing 47/43/15 DU 1 93,03 € 60200
01685-01 Caliper bracket Duc 996 cc65, LH 1 100,06 € 60100
01685-02 Caliper bracket Duc 996 cc65, RH 1 100,06 € 60100
01685-03 Caliper bracket spacer Duc MH900*** 1 55,59 € 60100
01686-01 Fender bracket**** 1 52,44 € 60100|NLA
01686-02 Fender bracket™*### ¥k sk xackxkooxkx 1 63,37 € 60100
01686-05 Fender bracket™*### ¥k sk xooackrkooxkx 1 40,02 € 60100
01686-06 Fender bracket Ducati Monster 1 51,81 € 60103 (NLA
01686-07 Fender bracket Ducati MH 90Q******* 1 74,49 € 60100
01687-01 Shaft sleeve 25/30/44 1 40,02 € 60100
01687-02 Shaft sleeve 27/30/44 1 37,80 € 60100
01687-04 Shaft sleeve 25/32-43.5 1 68,93 € 60100
01687-05 Shaft sleeve 30/32-43.5 1 42,25 € 60100




01688_01 BOSS******************************* 1 61'15€ 60100
01688-02 Brake line distributor bracket 1 45,83 € 60199|NLA
01690-02 Fork crown lower YA VMAX 1 278,77 € 60104 |NLA
01690-03 Fork crown upper YA VMAX 1 461,38 € 60100
01691-01 Nut M25x1.25 1 46,69 € 60100
01691-05 Wheel axle spacer 1 30,29 € 60100
01693-01 Spring 14/7.5/0.25 1 11,46 € 60399
01693-02 Spring 14/7.5/0.5 1 3,34 € 60302
01693-03 Spring 14/7.5/1 1 6,07 € 60200
01694-03 Compression housing 25 SB 43*****x 1 176,77 € 60100
01698-05 Rebound needle 2.5/5deg. 1 12,23 € 60100
01698-10 Rebound needle 2.5/10deg. 1 14,01 € 60100
01698-15 Rebound needle 2.5/15deg. 1 10,45 € 60200
01698-30 Rebound needle 2.4/10deg. 1 10,45 € 60200
01698-41 Needle 3.4/15deg/29.5 1 9,78 € 60200
01698-42 Needle 3.4/20deg/28.5 1 9,78 € 60100
01699-01 Fork leg inner 43/535 1 367,05 € 60100
01703-01 Fork leg inner 43/39.5/528 1 588,44 € 60100
01703-02 Fork leg inner 43/39.5/528 1 636,79 € 60100
01791-05 Loctite 270 50ml 1 62,82 € 60200
01900-03 Fork leg out RR 43/52/58/517**** 1 290,72 € 60100|NLA
01900-05 Fork leg outer RR 43/52/58/500 1 645,05 € 60100
01900-10 Fork leg out 43/52/58/500 1 640,72 € 60100
01900-11 Fork leg outer 43/52/58/510 1 497,10 € 60100
01900-12 Fork leg outer 43/53/58/510 1 523,50 € 60100
01900-13 Fork leg outer 43/52/58/510 1 545,65 € 60100
01900-14 Fork leg outer 43/52/58/510 1 503,63 € 60100
01900-15 Fork leg outer 43/52/58/530 1 546,99 € 60100
01900-16 Outer tube 43/52/58/538 Gold 1 610,36 € 60100
01901-03 Rod extensioner M10x1 1 37,80 € 60100
01901-04 Rod extensioner M12x1.25 1 56,70 € 60100
01901-05 Shaft extension M12x1.25 1 57,81 € 60100
01901-06 Shaft extension M12x1.25/64.5 1 80,05 € 60100
01901-07 Shaft extension M10x1/86.5 1 93,39 € 60100
01901-08 Shaft extension M8x0.75/68.5 1 35,47 € 60100
01901-09 Shaft extension M8x1.25/53 1 22,46 € 60100
01901-10 Shaft extension M8x1.25/83 1 99,51 € 60100
01901-11 Shaft extension M8x1.25/58 1 28,79 € 60100
01902-01 Fork bottom super bike LH 43 1 473,61 € 60100
01902-02 Fork bottom super bike RH 43 1 473,61 € 60100
01902-04 Fork bottom super bike 43%*** %% 1 593,68 € 60100




01902-05 Fork bottom FG 371 LH*¥*¥x*xkxkxixx 1 597,58 € 60100
01902-06 Fork bottom FG 371 RH¥*¥*¥xkxkxkxkx 1 597,58 € 60100
01902-09 Fork bottom FG 470 LH 1 789,35 € 60100
01902-11 Fork bottom FG 570 LH 1 608,97 € 60100
01902-12 Fork bottom FG 570 RH 1 587,71 € 60100
01902-13 Fork bottom FG 670 LH 1 878,29 € 60100
01902-14 Fork bottom FG 670 RH 1 878,29 € 60100
01902-15 Fork bottom FGR 700 LH 1 952,61 € 60100
01902-16 Fork bottom FGR 700 RH 1 952,61 € 60100
01902-17 Fork bottom FGR 710 LH 1 465,78 € 60100
01902-18 Fork bottom FGR 710 RH 1 620,23 € 60100
01902-19 Fork bottom FGR 701 LH NISSIN 1 965,01 € 60100
01902-20 Fork bottom FGR 701 RH NISSIN 1 965,01 € 60100
01902-27 Fork bottom FGR 000 LH 1 793,16 € 60100
01902-28 Fork bottom FGR 000 RH 1 793,16 € 60100
01902-29 Fork bottom FGR 100 LH 1 873,30 € 60100
01902-30 Fork bottom FGR 100 RH 1 873,30 € 60100
01902-31 Fork bottom LH 1 1.072,85 € 60100
01902-32 Fork bottom RH 1 934,70 € 60100
01950-01 Fender bracket LH 1 120,07 € 60100
01950-02 Fender bracket RH 1 120,07 € 60100
01951-01 Fender bracket LH 1 133,41 € 60100
01951-02 Fender bracket RH 1 133,41 € 60100
02004-01 Adj screw preload 17/60 1 30,52 € 60199|NLA
02014-01 Scraper 46/62x12.5/6 NOK 1 28,60 € 60200
02015-01 Circlip 62/1.6 1 5,99 € 60100
02022-01 Bushing 45/47/20 1 21,79 € 60200
02035-03 Fork bottom Hon LH 4% % ¥ *xkkkxkxx 1 286,61 € 60100
02046-01 Check valve seat 6/12/5.8 1 13,12 € 60100
02056-01 Check valve seat 1 21,12 € 60100
02059-01 Bushing holder 1 9,46 € 60100
02061-01 Piston 8/25 rebound 1 91,61 € 60100
02061-03 Piston rebound 1 51,14 € 60100
02061-04 Piston TTX20 1 27,35 € 60100
02061-05 Piston 8/25 1 40,02 € 60100
02061-06 Piston TTX25 1 40,02 € 60100
02061-07 Piston 8/25 1 34,46 € 60100
02063-02 Spring 3.45x15x37 1 8,70 € 60100
02063-13 Spring 2.75x17.2x68 1 7,97 € 60199|NLA
02064-01 Adj.screw 6/20 1 42,25 € 60100
02068-01 Stopscrew M5x6 1 1,23 € 60200




02076-03 Bushing 50/54/20 1 9,54 € 60200
02077-01 Seal MX FF 50mm* ¥ *dksorcksdokotdokokok ok xok 1 50,35 € 60200|NLA
02079-01 Circlip 68/1.6 1 9,46 € 60200
02088-04 Screw M8x35 1 8,62 € 60200
02118-01 Spacer, ball joint 8x22 al 1 12,23 € 60100
02118-02 Spacer, ball joint 8x24 al 1 17,79 € 60200
02118-03 Spacer, ball joint 10x19 al 1 17,79 € 60100
02118-04 Spacer, ball joint 10x22 al 1 17,79 € 60100
02118-05 Spacer, ball joint 10x24 al 1 17,79 € 60100
02118-06 Spacer, ball joint 12x22 al 1 11,01 € 60100
02118-07 Spacer, ball joint 12x24 al 1 17,79 € 60100
02118-09 Spacer, ball joint 10x40 al 1 17,79 € 60100
02118-11 Spacer, ball joint 10x30 al 1 17,79 € 60200
02118-12 Spacer, ball joint 10x28 al 1 17,79 € 60100
02118-13 Spacer, ball joint 10x32 al 1 17,79 € 60100
02118-14 Spacer, ball joint 10x36 al 1 17,79 € 60100
02118-18 Spacer, ball joint 10x25 al 1 17,79 € 60200
02118-20 Spacer, ball joint 10x20 al 1 17,79 € 60100
02118-21 Spacer, ball joint 8x26 al 1 17,79 € 60100
02118-23 Spacer, ball joint 10x21 al 1 17,79 € 60100
02118-26 Spacer, ball joint 10x27 al 1 17,79 € 60200
02118-28 Spacer, ball joint 10x29.9 1 12,23 € 60100
02118-29 Spacer, ball joint 8x20 al 1 17,79 € 60100
02118-32 Spacer, ball joint 10x31 al chamfer 1 17,79 € 60200
02118-36 Spacer, ball joint 10x34 al 1 17,79 € 60200
02118-38 Spacer, ball joint 10x23 al 1 17,79 € 60200
02118-39 Spacer, ball joint 10x26 al 1 17,79 € 60200
02118-40 Spacer, ball joint 10x42 al 1 17,79 € 60200
02118-42 Spacer, ball joint 10x42 al 1 16,78 € 60200(NLA
02118-43 Spacer, bj @12, 8x31 al 1 17,79 € 60100
02118-44 Spacer, bj #12, 8x25.4 al 1 17,79 € 60100
02128-02 Cylinder tube 46/327.5 with grooves 1 142,42 € 60100
02133-01 Spacer ring 52.5/59/25 1 61,15 € 60100
02136-01 Spring clip for springs 58 1 51,04 € 60100
02137-01 Spring seat for springs 58 1 27,16 € 60199|NLA
02140-01 End eye 16/53/26 steel for 536-02 1 31,25 € 60103 |NLA
02145-01 Separation wall 46 1 77,82 € 60100
02146-02 Spacer "tapered" 45/16/8 1 37,55 € 60199|NLA
02205-01 Bracket SD1000 1 132,52 € 60100
02205-11 Bracket straight short Ti 1 114,73 € 60100
02205-21 Bracket straight short BL 1 72,49 € 60100




02207-01 End eye SD 8/27/19 1 78,94 € 60100
02207-03 End eye SD 8/25.5/16 1 27,79 € 60100
02207-04 End eye SD 8/21/16 1 44,47 € 60100
02207-05 End eye SD 8/21/6/16 1 96,72 € 60100
02207-06 End eye SD 8/25/19 1 15,68 € 60100
02207-07 End eye SD 8/25/19 1 15,68 € 60100
02207-08 End eye SD 8/30/19 1 44,47 € 60100
02207-09 End eye SD 8/25/19 1 72,26 € 60100
02209-01 Piston ring 16 1 8,28 € 60200
02209-02 Oversized piston rings 16 1 12,12 € 60200
02210-01 Cover cylinder SD1003/2003 1 5,50 € 60100
02211-01 Bushing holder 1 4,34 € 60100
02212-02 Cover reservoir SD1003/2003 1 6,06 € 60100
02212-03 Cover reservoir for 2261 1 53,98 € 60100
02212-04 Cover reservoir for 2284 1 5,33 € 60100
02212-05 Cover reservoir short 1 5,87 € 60100
02213-01 Reservoir 8.5x27 1 4,36 € 60200
02214-02 Valve housing SD 1000 9.9/36.5 1 4,21 € 60100
02214-03 Valve housing for 2227-04 1 90,05 € 60100
02214-04 Valve housing for 2284 1 5,10 € 60100
02215-01 Spring 5.5/4 1 0,78 € 60399
02215-03 Spring 5.5/4 1 1,33 € 60399
02215-04 Spring 5.85/46.4/0.39 1 6,79 € 60301
02215-05 Spring 7.3/40.1/0.59 1 0,56 € 60301
02216-01 Jet 1.9 SD1003 1 1,23 € 60200
02216-02 Jet 2.5 SD2003 1 1,23 € 60200
02216-03 Jet 1.7 SD-EC 1 1,23 € 60200
02217-01 Needle 1.9/6¢ SD 1 4,42 € 60200
02217-02 Needle 2.5/10¢ SD 1 26,68 € 60100
02217-03 Needle 1.9/3¢ SD 1 4,40 € 60200
02217-11 Needle 1.9/6-bleed 1 4,86 € 60100
02217-12 Needle 2.5/10-bleed 1 3,90 € 60100
02217-22 Needle 2.5/10-0.9bleed 1 4,84 € 60200
02218-01 Needle fork SD1003/2003 1 4,27 € 60200
02219-01 Knob SD 1000 1 6,12 € 60200
02219-02 Knob SD 1000 1 14,15 € 60100
02220-01 Circlip 17.5/1.0 1 0,67 € 60200
02221-01 Circlip 11.2/0.8 1 1,23 € 60200
02221-02 Circlip 12/0.8 1 0,67 € 60200
02222-01 Seal SD 8/16/9 no teflon 1 5,87 € 60200
02223-01 Sleeye **#**kckxx 1 10,34 € 60200




02224-02 Washer 0.74 brass 1 0,94 € 60200|NLA
02227-03 Valve SD assy 1 26,90 € 60399
02227-05 Valve SD assy for 02228-xx 1 44,61 € 60100
02228-02 Cylinder, assy 206 1 152,69 € 60100
02228-03 Cylinder, assy 236 1 144,57 € 60100
02228-04 Cylinder, assy 176 1 159,59 € 60100
02228-05 Cylinder, assy 154 1 108,31 € 60100
02228-07 Cylinder, assy 149 1 115,40 € 60100
02228-12 Cylinder, assy 206 Ti 1 149,26 € 60100
02228-13 Cylinder, assy 236 Ti 1 139,43 € 60100
02228-14 Cylinder, assy 176 Ti 1 148,62 € 60100
02228-15 Cylinder, assy 154 Ti 1 138,27 € 60100
02228-16 Cylinder, assy 226 Ti 1 154,19 € 60100
02228-17 Cylinder, assy 149 Ti 1 157,63 € 60100
02228-25 Cylinder assy 154 (Black) 1 63,29 € 60100
02228-27 Cylinder assy 149 (Black) 1 63,29 € 60100
02228-38 Cylinder assy 154 EC 1 157,76 € 60100
02230-01 Bracket assy SD100 1 139,40 € 60100
02230-03 Bracket assy SD1204 with circlip 1 166,99 € 60100
02231-01 Packing SD1000 1 1,67 € 61200
02232-04 Bracket assy frame 2272-23 1 356,77 € 60100
02234-02 Washer assy 1 5,76 € 60200
02235-01 Clamp, fork leg 38 1 83,60 € 60399
02235-02 Clamp, fork leg 39 1 86,83 € 60399
02235-03 Clamp, fork leg 40 1 86,83 € 60399
02235-07 Clamp, fork leg 44 *#xkaxskrckaokkxk 1 86,83 € 60399
02235-08 Clamp, fork leg 45 1 82,05 € 60399
02235-09 Clamp, fork leg 46 1 83,60 € 60399
02235-15 Clamp, fork leg 53.5 1 85,50 € 60399
02235-16 Clamp, fork leg 54 1 95,06 € 60399
02235-50 Clamp long, fork leg 53 1 78,27 € 60399
02236-02 Ball joint dia 8/16/8 Askubal GE8 1 23,61 € 60200
02236-03 Ball joint 6/16/9 Askubal G6-D 1 26,82 € 60200
02236-05 Rod end 6x31xM6 1 60,04 € 60200
02236-06 Rod end 6x31xM6 LH 1 60,04 € 60200
02236-07 Ball joint dia 8/19/12 1 16,49 € 60200
02237-01 Shaft cover 1 10,28 € 60100
02237-02 Shaft cover Ti 1 14,45 € 60100
02238-01 Sleeve 6/8/11.5 1 77,72 € 60100
02238-03 Sleeve 6.5/10/11 1 38,64 € 60100
02238-04 Sleeve 8/14/16 1 15,01 € 60100




02238-05 Sleeve 8/12/23/9 1 32,02 € 60100
02238-06 Sleeve 8/13.5/12.5 1 31,97 € 60100
02238-08 Sleeve 8/10.5/14/8 1 18,68 € 60100
02238-09 Sleeve 8/18/10 1 7,45 € 60100
02238-10 Sleeve 8/20/7.5 1 12,67 € 60100
02238-11 Sleeve 8/23/18/23.5 1 13,68 € 60100
02238-12 Sleeve 6/12/6 1 15,96 € 60100
02238-13 Sleeve 5/9/6.2 1 7,01 € 60200
02238-14 Sleeve 8/18/19 1 25,57 € 60100
02238-15 Sleeve 8/18/32 1 10,91 € 60100
02238-16 Sleeve 8/14/7 1 8,46 € 60200
02238-17 Sleeve 8/18/15 1 9,39 € 60200
02238-18 Sleeve 8/18/27 1 22,24 € 60200
02239-01 Sleeve 6/14/15 1 6,07 € 60200
02239-02 Sleeve 6/14/18.5 1 8,77 € 60200
02239-03 Sleeve 6/14/14 1 8,34 € 60200
02239-04 Sleeve 6/20/15 1 16,13 € 60100
02239-05 Sleeve 7/19.5/13.5 1 17,45 € 60100
02240-02 Bracket, Steer. damper Ducati 916 1 159,20 € 60100
02240-05 Bracket, Steer. damper 1 108,00 € 60100
02240-12 Bracket 90° vertical Titan 1 146,09 € 60100
02240-13 Bracket 90° horizontal Ti 1 156,76 € 60100
02240-14 Bracket 30° Ti 1 164,54 € 60100
02240-15 Bracket 30° BL 1 108,40 € 60100
02240-17 Bracket 90° vertical Ti 1 210,12 € 60100
02240-24 Bracket 30° BL 1 139,42 € 60100
02245-03 Bracket 1 88,94 € 60100
02245-12 Bracket straight medium Ti 1 88,94 € 60100
02245-13 Bracket straight long Ti 1 88,94 € 60100
02246-01 Bracket, Steer. damper Yamaha R1 1 210,12 € 60100
02247-02 Bracket, Steer. damper R1 1 91,14 € 60100
02248-01 Piston 1 6,27 € 60100
02249-01 Sleeve 1 4,32 € 60100
02250-01 Nut 1 4,34 € 60200
02251-01 Circlip SRA8 DIN7993 DIN 17224 1 0,67 € 60200
02254-01 Spacer 8/13/10 1 6,67 € 60100
02254-02 Spacer 8/13/10 1 26,29 € 60100
02255-01 Shaft 8/242 1 13,53 € 60100
02256-01 Shaft 8/339 1 16,94 € 60100
02256-02 Shaft 8/399 1 17,68 € 60100
02256-03 Shaft 8/282 1 14,46 € 60100




02256-04 Shaft 8/238 1 16,35 € 60100
02256-06 Shaft 8/379 1 17,44 € 60100
02256-07 Shaft 8/222 1 11,63 € 60100
02256-10 Shaft 8/222 1 73,77 € 60100
02256-11 Shaft 8/225 1 15,71 € 60100
02256-12 Shaft 8/222.5 1 15,71 € 60100
02256-13 Shaft 8/376.5 1 22,32 € 60100
02256-14 Shaft 8/235.5 1 16,86 € 60100
02256-15 Shaft 8/336,5 1 21,29 € 60100
02256-16 Shaft 8/279,5 1 17,58 € 60100
02256-17 Shaft 8/301 1 14,62 € 60100
02256-18 Shaft 8/214.5 1 15,96 € 60100
02257-02 Pin 2/15 1 5,14 € 60200
02258-01 Spacer 4 1 6,23 € 60200
02259-01 Spacer PA 18/13.3/1.5 1 4,00 € 60200
02259-02 Spacer PTFE 16/10.2/0.9 1 6,85 € 60100
02259-03 Spacer PA 18/13.3/1.0 1 9,34 € 60100
02263-06 Cylinder assy 149 integr. 1 222,25 € 60100
02263-07 Cylinder assy 149 integr. 1 157,81 € 60100
02263-09 Cylinder assy 151 1 156,84 € 60100
02263-19 Cylinder assy 151 integr. 1 120,84 € 60100
02263-25 Cylinder assy 154 integr. 1 134,48 € 60100
02263-27 Cylind assy 226 integr. fixed bleed 1 165,29 € 60100
02263-29 Cylinder assy 151 integr. Ti 1 151,78 € 60100
02264-09 Cylinder 151 integr. 1 148,12 € 60100
02267-03 Bracket 1 50,03 € 60100
02267-05 Bracket 1 44,47 € 60100
02267-06 Bracket 1 67,82 € 60100
02267-07 Bracket 22.5 1 110,06 € 60100
02267-08 Bracket 22.5 1 105,84 € 60100
02269-03 Spacer 20x20x4.5 1 18,41 € 60100
02270-02 Bracket GSX1300R 1 177,44 € 60100
02270-03 Bracket GSX 750 R 96-99 1 182,11 € 60100
02270-04 Bracket Hon CBR900 1 140,75 € 60100
02270-07 Bracket Yam R6 1 142,08 € 60100
02270-08 Bracket Yam Fazer 10QQ*** ¥ * ¥k x4 % 1 89,83 € 60100
02270-09 Bracket, clamp Kaw ZX6 1 178,77 € 60100
02270-11 Bracket, tripleclamp Kaw ZX9******* 1 137,86 € 60100
02270-12 Nut, tripleclamp Kaw ZX9 1 45,58 € 60100




02270-13 Bracket, triple clamp Yam R1-02 1 128,96 € 60100
02270-14 Bracket, tripleclamp Kaw ZX9 -02 1 81,16 € 60100
02270-15 Bracket, tripleclamp Hon CBR900 -02 1 198,12 € 60100
02270-19 Bracket, tripleclamp HO VFR 1 234,09 € 60103 (NLA
02270-21 Bracket Yam R6 -03 1 168,10 € 60100
02270-22 Bracket, triple clamp Suz GSXR1000 1 55,38 € 60103 (NLA
02270-23 Bracket, triple clamp Kaw ZX6R 1 75,35 € 60100
02270-24 Bracket, triple clamp Hon CBR600ORR 1 128,96 € 60100
02270-25 Bracket, tripleclamp Suz SV650S5**** 1 130,78 € 60103 |NLA
02270-26 Bracket Suz GSXR600/750 1 69,01 € 60103 |NLA
02270-27 Bracket Kaw ZX10R 1 150,45 € 60100
02270-28 Bracket, triple clamp Yam FZ6 1 140,75 € 60103 (NLA
02270-29 Bracket, triple clamp Hon CBR600RR 1 182,77 € 60100
02270-30 Bracket, triple clamp Suz GSXR1300 1 138,75 € 60100
02270-31 Bracket, triple clamp Suz GSXR1000 1 92,28 € 60100
02270-32 Bracket, triple clamp Yam R6 1 110,06 € 60100
02270-33 Bracket, triple clamp Kaw ZX6R 1 110,29 € 60100
02270-34 Bracket, triple clamp Yam R6 1 104,51 € 60100
02270-35 Bracket, triple clamp Yam R6 Ti 1 123,63 € 60100
02270-37 Bracket, triple clamp Kaw ZX636R 1 135,19 € 60100
02270-39 Bracket, triple clamp Yam R6 Ti 1 107,40 € 60100
02272-02 Bracket, frame Suz1300 1 212,12 € 60100
02272-03 Bracket, frame Suz GSX-R 750 96-99 1 151,23 € 60103 |NLA
02272-05 Bracket, frame Hon CBR600 1 213,26 € 60100
02272-07 Bracket, frame Kaw ZXE**** ¥ ¥k kk 1 228,80 € 60100
02272-08 Bracket, frame Yam R1-02 1 150,09 € 60100
02272-09 Bracket, stabilizer Yam R1-02 1 50,34 € 60103 |NLA
02272-11 Bracket, frame SU SV650S 1 125,22 € 60103 |NLA
02272-12 Bracket, frame HO VFR800 1 168,16 € 60100
02272-13 Bracket, frame Suz GSXR1000-03 1 165,29 € 60103 |NLA
02272-14 Bracket, frame Kaw ZX6R 1 143,33 € 60100
02272-15 Bracket, frame Hon CBR600RR 1 152,81 € 60103 |NLA
02272-16 Bracket, frame Kaw ZX10R 1 127,32 € 60103 |NLA
02272-17 Bracket, frame Yam FZ6 1 126,80 € 60103 |NLA
02272-18 Bracket, frame Suz GSXR1000 1 230,14 € 60100
02272-19 Bracket, frame Yam R6 1 203,45 € 60100
02272-20 Bracket, frame Kaw ZX6 1 121,66 € 60199|NLA
02272-21 Bracket, frame Kaw ZX6 1 192,11 € 60100
02272-22 Bracket, frame Duc 848 1 150,31 € 60100
02272-23 Bracket, frame Yam R6 Ti 1 207,46 € 60100
02272-24 Bracket, frame Kaw ZX636R 1 163,65 € 60100




02272-26 Bracket, frame Yam R6 Ti 1 215,68 € 60100
02273-02 Nut M24x1.5 1 37,80 € 60100
02273-03 Nut M33x1 1 24,46 € 60100
02273-04 Nut M28x1 1 51,14 € 60100
02273-05 Nut M28x1 1 62,26 € 60100
02273-06 Nut M28x1 1 49,19 € 60100
02273-07 Nut M22x1 1 26,68 € 60100
02273-08 Nut M28x1 1 20,80 € 60100
02274-02 Screw/spacer M6 1 58,37 € 60100
02274-03 Screw/spacer M6/M8-13 1 41,70 € 60100
02274-04 Screw M26x1 1 97,30 € 60100
02276-01 Piston 1 23,02 € 60100
02276-02 Piston 1 21,29 € 60100
02276-05 Outer piston 1 7,52 € 60100
02276-06 Inner piston 1 4,04 € 60100
02276-07 Outer piston long 1 5,64 € 60100
02276-08 Inner piston long 1 4,30 € 60100
02277-01 Washer 28.5/42/3.5 1 8,89 € 60200
02278-01 Spring clip 1 7,24 € 60199|NLA
02278-03 Spring clip 1 7,24 € 60199|NLA
02279-01 Spring 24.5/110/13.5 1 52,65 € 60199|NLA
02280-01 SD piston reservoir-kit 1 208,12 € 60399
02281-01 Rubber bushing 1 11,17 € 60200
02281-02 Spacer 1 9,90 € 60100
02281-03 Bracket LH 1 176,99 € 60100
02281-04 Bracket RH 1 176,99 € 60100
02284-15 Cylinder 154 (Black) 1 133,41 € 60100
02284-17 Cylinder 149 (Black) 1 133,41 € 60100
02299-01 PDS Damping cup 36/25/35 1 72,26 € 60100
02299-02 PDS Damping cup 36/25/40 1 97,84 € 60100
02299-03 PDS Damping cup 36/25/45 1 101,17 € 60100
02301-01 Needle housing MX USD Brons******** 1 53,28 € 60199|NLA
02301-03 Needle housing MX USD Brons*******x* 1 57,81 € 60100
02301-31 Needle housing C05-2319X-V0 £ 1 83,34 € 60100
02302-05 Guide sleeve 12/170/25 1 7,54 € 60100
02302-07 Guide sleeve 12/155/25 1 7,46 € 60100
02302-08 Guide sleeve 10/221.5/25 1 175,21 € 60100
02302-09 Guide sleeve 12/170/25 1 18,21 € 60100
02302-10 Guide sleeve 12/170/23 1 33,04 € 60199|NLA
02302-11 Guide sleeve 12/225/25 1 9,90 € 60200
02302-13 Spring guide 12/209/25 1 31,13 € 60100




02302-14 Guide sleeve 10/286/25 1 193,08 € 60100
02302-15 Guide sleeve 12/255/25 1 10,01 € 60200
02302-16 Guide sleeve 12/225/25 1 9,46 € 60200
02302-17 Guide sleeve 10/134/25 1 12,06 € 60100
02302-20 Guide sleeve 10/25/164 1 11,73 € 60100
02302-21 Guide sleeve 12/200/25 1 8,79 € 60200
02303-01 Sleeve, hydraulic stop 12x16x23.8 1 22,24 € 60100
02309-80 Forkleg covers UFO partnr:2647 1 122,04 € 60100
02310-21 Fork bottom Ya LH USD4E* * ¥ **x*¥%x 1 373,55 € 60100
02310-22 Fork bottom Ya RH USDA4E* ** ¥ % k%% 1 260,15 € 60100
02310-23 Fork bottom Ya LH USD48 1 490,29 € 60100
02310-26 Fork bottom Ya RH USD48 2005 1 353,54 € 60100
02310-29 Fork bottom Ya YZF250 LH USD 48 1 600,35 € 60100
02311-25 Fork bottom Kaw--03 LH USD46******* 1 540,32 € 60100
02311-26 Fork bottom Kaw-03 RH USD4g** ****** 1 406,91 € 60100
02311-27 Fork bottom Kaw-04 LH USD48 1 490,29 € 60100
02311-29 Fork bottom Kaw-05 LH USD48 1 334,88 € 60104 |NLA
02311-30 Fork bottom Kaw-05 RH USD48 1 267,33 € 60104 |NLA
02311-31 Fork bottom KXF-06 LH USD48 1 470,28 € 60100
02311-32 Fork bottom KXF-06 RH USD48 1 363,55 € 60100
02312-23 Fork bottom Ho LH USDA4E* ** ¥ xkskkkxk 1 339,13 € 60100
02312-24 Fork bottom Ho RH USD4E****** k¥ k% 1 215,52 € 60100
02312-25 Fork bottom Ho LH USD48 1 490,29 € 60100
02312-26 Fork bottom Ho RH USD48 1 386,89 € 60100
02312-29 Fork bottom Ho LH 07 USD48 1 516,97 € 60100
02314-01 Screw M6x12  Yam 90109-060F3 1 1,80 € 60100
02314-02 Bolt M8x25  Yam 90105-08A4 1 1,01 € 60200
02315-83 Fork leg inner 46/600 chrome******* 1 172,12 € 60100
02317-01 Scraper 46/62x12/8 ERIKS 1 7,96 € 60200
02320-01 Piston holder M12x0.75/M8 1 83,38 € 60100
02320-03 Piston holder M12x0.75/8 1 26,80 € 60100
02320-04 Piston holder M12x0.75/8 1 42,25 € 60100
02321-02 Adjustment screw M8x1 1 12,23 € 60100
02322-01 Spring 1X5X10 SF-TF 10N/MM 1 2,45 € 60399
02323-29 Fork bottom Suz-07 LH USD48 1 516,97 € 60100
02323-30 Fork bottom Suz-07 RH USD48 1 403,57 € 60100
02324-01 Fork leg outer 46/570******kkxkkx* 1 266,71 € 60100
02325-01 Sleeve 50/96.7 1 15,31 € 60100|NLA
02325-03 Sleeve 50/72.7 1 10,57 € 60100
02332-05 Sticker 222x180 Front Fork AM*****x 1 5,56 € 60399
02332-11 Sticker Front Fork, pres. MX 48 1 13,90 € 60399




02335-01 Piston 8/25 rebound GKN 1 28,59 € 60100
02335-12 Piston rebound 8/25 machined 1 62,26 € 60100
02336-01 Seal MX FF 46/58/11 NOK 1 26,14 € 60200
02339-03 Cylinder tube 25/384 1 70,07 € 60100
02340-01 Washer 13/26/2%** ¥k kdkkxkskokkkokhokokkx 1 5,45 € 60100
02340-02 Washer 13/26/37**** ¥k kkkkxkkdkhdx 1 33,35 € 60100
02356-03 Rebound needle 2.5/20 1 14,45 € 60100
02366-01 Adjustment rod 527/6 1 12,79 € 60100
02366-05 Adjustment rod 481 /6% * * ¥k xkkkkkkxk 1 12,79 € 60100
02366-06 Adjustment rod 489/6** * ¥k xkkkkokkxk 1 27,79 € 60100
02366-08 Adjustment rod 417,5/6 1 15,56 € 60100
02366-09 Adjustment rod 447.5/6 1 12,79 € 60100
02366-13 Adjustment rod 511/7 1 27,79 € 60100
02366-15 Adjustment rod 459/6 1 12,79 € 60100
02366-16 Adjustment rod 363.5 1 21,68 € 60100
02366-17 Adjustment rod 445/6 1 23,35 € 60100
02366-18 Adjustment rod 477.5/6 1 22,24 € 60100
02366-19 Adjustment rod 507.5/6 1 27,79 € 60100
02366-20 Adjustment rod 462.5/6 1 27,79 € 60100
02366-21 Adjustment rod 492.5/6 1 27,79 € 60100
02366-22 Adjustment rod 522.5/6 1 22,24 € 60100
02366-23 Adjustment rod 552.5/6 1 28,91 € 60100
02366-24 Adjustment rod 6/367.5 1 21,12 € 60100
02366-26 Adjustment rod 6/537.5 1 22,24 € 60100
02367-01 Shaft 12/503 1 64,48 € 60100
02367-07 Shaft 12/393 ****** 1 81,55 € 60100
02367-08 Shaft 12/423 ****x**! 1 81,55 € 60100
02367-09 Shaft 12/338.5 1 29,79 € 60101 |NLA
02368-01 Shaft 10/475 1 60,83 € 60100|NLA
02368-05 Shaft 10/507.5 1 89,75 € 60100|NLA
02368-07 Shaft 10/370 1 96,94 € 60100
02368-08 Shaft 10/385 1 105,07 € 60100
02368-10 Shaft 10/415 1 108,07 € 60100
02368-80 Shaft 16/3000 holed, blank £ 1 110,63 € 60100
02368-82 Shaft 10/502.5 Blank 1 103,29 € 60101
02372-27 Fork bottom GG LH (s) 25mm USD48 1 187,99 € 60100
02372-28 Fork bottom GG RH (s) 25mm USD48 1 141,92 € 60100
02373-01 Bushing 46/50/24 1 43,80 € 60200
02374-25 Fork bottom KTM LH USD48 1 590,35 € 60100
02374-26 Fork bottom KTM RH USD48 1 301,00 € 60104 |NLA
02381-01 Support washer 31.8/20.2/2 1 16,68 € 60100




02383-01 Needle housing MX, ext preload adj 1 46,69 € 60100
02384-01 Extender, MX, ext preload adj 1 38,91 € 60100
02385-01 Spring adj., MX, ext preload adj 1 42,25 € 60100
02386-01 Pldtube 18 mm, ext preload adj***** 1 13,34 € 60100
02387-01 Spring supp, MX, ext preload adj*** 1 24,46 € 60100
02388-01 Shaft 12/515, ext. preload adj. 1 63,82 € 60100
02393-01 Shaft 12/527 1 79,79 € 60100
02395-01 End cap** ¥ x*xkkx 1 80,05 € 60100
02396-29 Fork bottom fgd LH USD48 1 161,03 € 60100
02396-30 Fork bottom fgd RH USD48 1 155,16 € 60100
02397-46 End cap bump rubber 46mm 1 32,01 € 60100
02397-48 End cap bump rubber 48mm 1 32,01 € 60100
02400-01 Bump rubber 19/38/32 1 5,23 € 60100
02400-02 Bump rubber 19/38/28 1 12,90 € 60200
02402-01 Nut M12x0.75 1 10,31 € 60100
02403-01 Washer 18/34/2 1 2,74 € 60200
02406-01 Piston 8/25 compression 1 96,95 € 60100
02406-02 Piston 8/25 compression 1 87,83 € 60100
02408-01 Dust seal compression adj 1 4,28 € 60200
02409-01 Guide Sleeve MX front fork 1 3,90 € 60399
02409-03 Guide Sleeve MX front fork 48 mm 1 4,79 € 60399
02409-04 Guide Sleeve MX front fork 48 mm blue 1 523 € 60399
02410-05 Seal MX 48mm 1 35,44 € 60200
02411-05 Scraper Seal MX 48mm 1 32,78 € 60200
02412-01 Washer MX FF 48.5/57.7/1 1 23,24 € 60100
02412-02 Washer MX FF 49/57.7/2 1 15,01 € 60100
02413-01 Base valve 2.5mm 1 45,51 € 60100
02414-01 Poppet valve 1 16,37 € 60100
02415-01 Poppet valve seat 1 23,90 € 60199|NLA
02418-01 Spring guide 1 9,75 € 60199|NLA
02426-01 Fork leg inner 48595 ¥***x*kkx* x* 1 149,99 € 60100
02429-02 Bushing 47/49/20 1 7,23 € 60200
02430-01 Spring guide 12/165/32 1 8,65 € 60200
02431-01 Sleeve 52/96. 2% ¥ ¥ ¥k xkkakkdoxkkkkkokxk 1 14,68 € 60100
02431-03 Sleeve 52/72.2 1 11,74 € 60100
02432-01 End cap, pre-load adj. MX USD48 1 36,26 € 60100
02433-01 Cylinder tube cap M28x1/95/USD48*** 1 46,60 € 60100
02434-04 Spring guide12/137/32, ext.preload 1 48,97 € 60100
02436-04 Spring support 4mm 1 12,01 € 60100
02437-16 Preload tube 16 mm MX48 1 20,01 € 60100
02437-20 Preload tube 20 mm MX48 1 18,77 € 60199|NLA




02439-01 Shaft Steering Honda 1 65,86 € 60199|NLA
02439-03 Shaft, steering Kaw KX250F 1 164,16 € 60100
02440-01 Base valve housing 2-way valve***** 1 30,02 € 60100
02441-01 Base valve adj 2,5mm 2-way****x**x* 1 77,82 € 60100
02443-01 Triple clamp , lower Honda dia 59.3 1 382,74 € 60100
02443-02 Triple clamp , upper Honda dia 53.9 1 386,10 € 60100
02444-01 Adjustment needle 2,5mm***¥*x*xkixx 1 7,68 € 60100
02444-03 Adjustment needle 1,5mm*¥*¥*x*xkixx 1 17,68 € 60100
02445-02 Triple clamp , upper Su dia 53.9 1 368,65 € 60103 (NLA
02448-01 Triple clamp , lower KX250F D59.3 1 354,66 € 60100
02448-02 Triple clamp , upper KX250F D53.9 1 350,06 € 60100
02451-02 Triple clamp lower Yamaha dia 59.3 1 769,34 € 60100
02451-03 Triple clamp upper Yamaha dia 56.0 1 644,27 € 60100
02454-01 Fork bottom LHS SM 48 1 313,86 € 60100
02454-02 Fork bottom RHS SM 48 1 264,82 € 60104 |NLA
02455-01 Caliper bracket 1 316,79 € 60100
02456-03 Screw M8-6g 35 8.8 stainless steel 1 12,62 € 60100
02459-01 Spring washer 43/33/2 1 8,50 € 60199|NLA
02461-01 Seal MX FF 38 1 13,34 € 60200
02462-01 Scraper MX FF 38 1 13,34 € 60200
02464-01 Bushing 38/42/24 1 96,65 € 60200
02465-01 Circlip 52/1.6 1 7,34 € 60200
02466-01 Bushing 37/39/20 1 90,20 € 60200
02467-01 Sleeve 43/97 1 14,45 € 60100
02469-01 Fork leg inner 38/518 1 148,01 € 60100
02469-03 Fork leg inner 38/437 1 140,08 € 60100
02470-01 Washer 30.3/17.8/2 1 4,51 € 60200
02471-01 Spring support 38 1 16,00 € 60100
02472-01 Spring guide 12/143.2/24.5 1 7,81€ 60100
02474-01 End cap FF 38mm 1 53,49 € 60199|NLA
02475-01 Fork bottom YA LH 38 1 407,35 € 60104 |NLA
02475-02 Fork bottom YA RH 38 1 332,46 € 60104 |NLA
02475-04 Fork bottom KA RH 38 1 559,22 € 60100
02475-09 Fork bottom HO LH 38 1 225,35 € 60100
02475-10 Fork bottom HO RH 38 1 332,46 € 60104 |NLA
02476-01 Bump rubber FF 38 19/35/22.5 1 10,01 € 60200
02486-32 Fork leg inner 48/44.9/595 waist+op+TiN 1 389,12 € 60100
02487-01 Shaft Steering CRF150-07 1 134,94 € 60100
02491-03 Base valve adjuster 1.5mm 2-way**** 1 50,03 € 60100
02520-01 Piston 8/25 machined, bleed hole 1 120,07 € 60100
02520-02 Piston 8/25 machined, bleed hole 1 144,97 € 60100




02520-80 Piston 8/25 machined 1 89,28 € 60100
02521-01 Spring seat fork dia 48*** ¥ ¥k x*xx 1 9,96 € 60199|NLA
02521-02 Spring seat fork dia 48 1 15,17 € 60100
02522-05 Spring 5 N/mm, 110 mm 1 21,81 € 60199|NLA
02522-20 Spring 20 N/mm, 110 mm 1 31,48 € 60100
02526-48 Cylinder tube cap M28x1 MX USD 48 1 37,44 € 60199 (NLA
02527-38 Cylinder tube cap M28x1 MX38 1 2391€ 60199 (NLA
02527-48 Cylinder tube cap M28x1 MX48 1 39,13 € 60100
02528-02 Washer 13/26.7/37 1 14,35 € 60100
02539-01 Cylinder tube 25/418 Al 1 68,41 € 60100
02539-02 Cylinder tube 25/408 Al 1 56,46 € 60100
02540-09 Clamp washer MX 1 21,12 € 60100
02541-01 Spacer 1 6,85 € 60100
02547-01 Bushing 48/52/24 1 55,13 € 60200
02549-01 Bushing 47/49/20 1 22,24 € 60200
02566-01 Spring support 0Omm 1 31,71 € 60100
02801-01 Adjustment housing 1 50,13 € 60199 (NLA
02804-01 Reservoir tube 25/150mm 1 86,09 € 60100(NLA
02804-02 Reservoir tube 25/125mm 1 89,21 € 60100
02804-03 Reservoir tube 25/95mm 1 85,89 € 60100
02805-01 Reservoir end 1 15,46 € 60100
02806-01 Gas piston 1 9,12 € 60100
02807-01 Adjustment rod 512.5/3 1 20,01 € 60100
02809-01 Compression housing C05-2319X-NO £ 1 71,76 € 60100
02812-02 Reservoir tube 25/125mm 1 121,14 € 60100
02814-02 Reservoir tube 25/125mm 1 59,37 € 60100
02814-03 Reservoir tube 25/95mm 1 59,37 € 60100
02815-01 Reservoir end 1 20,35 € 60100
02815-03 Reservoir end 1 29,91 € 60100
03000-01 Piston_PDS_8/25/1.5 1 142,31 € 60100
03001-01 Cylinder head 36/20%*** ¥ &k xxkkxkkx 1 61,15 € 60100
03013-01 Washer 12/26.8 bronze 1 27,13 € 60100
03013-03 Washer 16/34.8 bronze 1 22,80 € 60100
03013-04 Washer 14/32.8 bronze 1 30,58 € 60100
03014-01 Seal head 12/36/23.5 1 47,36 € 60100
03015-01 End cap 36 ice device 1 38,91 € 60100
03015-02 End cap 36 ice device 1 30,07 € 60100
03016-01 Seal ASW 12 18 5/2.6 1 4,98 € 60200
03019-04 Bushing 17.25/26/18.5 1 23,12 € 60200
03019-12 Bushing 17.25/26/17.5 1 7,23 € 60200
03019-17 Bushing 20/15.9/1 1 25,13 € 60200




03019-18 Bushing 30/20.5/6 1 25,13 € 60200
03019-19 Bushing 30/17.6/5 1 7,36 € 60200
03021-10 Bushing 14.1/22/25.2 1 23,35 € 60200
03023-01 Bushing 16.1/22/5.2 1 21,12 € 60200
03023-03 Bushing 17.65/22/6 1 102,28 € 60200
03023-04 Bushing 17.65/22/14 1 17,79 € 60200
03024-01 Bushing 22.4/25/1.7 1 35,03 € 60200
03025-01 Shaft 2.5/10.7/34.4 1 18,01 € 60100
03025-02 Shaft with slot 1 20,35 € 60100
03025-03 Shaft, 4-click 1 27,79 € 60100
03026-02 End piece 1 20,01 € 60100
03027-01 Washer 9.5/20.5/5 1 6,12 € 60200
03028-01 Valve poppet 1 6,61 € 60200
03029-01 Spring 5.5/11.4/45 1 1,33 € 60399
03032-01 Washer 6.4/8.5/0.65 1 4,67 € 60200
03036-05 Cylinder tube 30/170 1 159,20 € 60100
03036-09 Cylinder tube 30/190 1 159,20 € 60100
03036-11 Cylinder tube 30/200 1 145,86 € 60100
03036-13 Cylinder tube 30/210 1 159,20 € 60100
03036-14 Cylinder tube 30/215 1 147,64 € 60100
03036-20 Cylinder tube 30/245 1 141,42 € 60100
03036-58 Cylinder tube 30/135 1 176,99 € 60100
03036-80 Cylinder tube blank 30 TTX 1 99,07 € 60100(NLA
03037-01 Cylinder tube 30/110.5 1 79,50 € 60100
03038-02 Cylinder tube 30/105 1 141,42 € 60100
03038-08 Cylinder tube 30/135 1 141,42 € 60100
03056-01 Knob compression adjuster 1 5,14 € 60200
03057-01 Adjustment knob for rebound adjust 1 7,01€ 60200
03058-01 Shaft extension M14x1/ M13x1/37.5 1 25,57 € 60100
03058-02 Shaft M13x1/47.5 1 50,03 € 60100
03058-03 Shaft M13x1/53.5 1 82,27 € 60100
03058-11 Shaft M13x1/37.5 brong*** ¥ ¥ ¥k xkx % 1 54,48 € 60100
03058-12 Shaft extension M13x1/M14x1/6.5 Black 1 27,84 € 60100
03059-01 Nut M14x1/5 1 8,89 € 60200
03059-02 Nut M14x1/7.5 1 20,01 € 60100
03059-04 Nut M14x1/5, black 1 10,54 € 60100
03059-05 Nut M14x1/5, gold 1 10,90 € 60100
03059-05 Nut M14x1/5, gold 1 10,90 € 60100
03061-01 End eye M14/41.5/22 1 55,48 € 60100
03061-11 End eye dia 25mm 1 55,48 € 60100
03061-12 End eye dia 26mm 1 55,48 € 60100




03061-13 End eye M14 dia 26, black 1 55,48 € 60100
03061-41 End eye M14/39.5/22 Alu 1 36,69 € 60100
03062-01 Shaft 14/175 1 42,09 € 60100
03062-02 Shaft 14/165 1 40,55 € 60100
03062-03 Shaft 14/195 1 42,65 € 60100
03062-04 Shaft 14/200,7 1 97,45 € 60100
03062-05 Shaft 14/244 1 49,81 € 60100
03062-06 Shaft 14/162,7 1 41,60 € 60100
03062-07 Shaft 14/225,7 1 89,39 € 60100
03062-08 Shaft 14/215 1 106,44 € 60100
03062-09 Shaft 14/144 1 37,76 € 60100
03062-10 Shaft 14/132 1 34,63 € 60100
03062-11 Shaft 14/105 1 101,99 € 60100
03062-12 Shaft 14/230 1 45,48 € 60100
03062-13 Shaft 14/235 1 90,21 € 60100
03062-14 Shaft 14/118 1 75,14 € 60100
03062-16 Shaft 14/155 1 93,12 € 60100
03062-17 Shaft 14/210 1 102,11 € 60100
03062-18 Shaft 14/137 1 32,34 € 60100
03062-19 Shaft 14/150 1 37,72 € 60100
03062-20 Shaft 14/170 1 38,60 € 60100
03062-21 Shaft 14/180 1 43,31 € 60100
03062-23 Shaft 14/260 1 59,90 € 60100
03062-23 Shaft 14/260 1 59,90 € 60100
03062-85 Shaft 14/3000 holed, blank £ 1 136,34 € 60100
03063-01 Bump rubber 14.1/34/25 NITRIL 60IRH 1 2,12 € 60200
03063-02 Bump rubber 14.1/34/15 NITRIL 60 1 4,98 € 60200
03063-03 Bump rubber 14.1/32/8 1 19,86 € 60200
03063-04 Bump rubber 15.8/38/20 1 33,80 € 60200
03064-01 Seal head 14/36%******x* 1 19,24 € 60100
03064-02 Seal head 14/36 1 18,90 € 60100
03064-03 Seal head 14/36 1 15,37 € 60100
03065-01 End cap 36/14 gold 1 11,06 € 60100
03065-02 End cap 36/14 clear 1 11,06 € 60100
03067-01 Stop rubber 13/30/6%****** 1 6,07 € 60200
03067-02 Stop rubber 15/32/7 1 7,79 € 60200
03067-03 Stop rubber 18/38/7 1 6,13 € 60200
03067-04 Stop rubber 19/38.4/6.65 1 8,21€ 60200
03068-01 Stop washer 12/30/3 flat 1 9,46 € 60200
03069-01 Sleeve 1 20,10 € 60100
03070-01 Scraper 14 1 11,39 € 60200




03070-02 Scraper 14 1 9,21 € 60200
03070-04 Scraper 30/36/4.1/5.8 1 7,34 € 60200
03070-05 Scraper 14/27.5/7.5 1 6,95 € 60200
03070-06 Scraper 12/25.5/7.5 1 6,04 € 60200
03071-01 Cover hydraulic preload adjuster 1 15,01 € 60100
03072-01 Thrust washer AS 0821 1 2,20 € 60200
03072-02 Thrust washer AS 1024 1 2,31€ 60200
03073-01 Thrust washer LS 0821 1 8,57 € 60200
03073-02 Thrust washer LS 1024 1 9,88 € 60200
03074-01 Adjustment screw 10/44.5 1 19,40 € 60100
03075-01 Piston M10/17 hydr.preload adj twin 1 17,34 € 60100
03076-01 Knob hydraulic preload adjuster APB 1 3,70 € 60100
03077-01 Piston 12/36 1 51,81 € 60100
03077-02 Piston 12/36/1.6 bleed 1 65,62 € 60100
03077-30 Piston TTX30 solid 12/30 1 31,13 € 60100
03078-01 Piston ring 36/6 1 4,71 € 60200
03079-01 Knob compression adjuster APB 1 4,92 € 60100
03080-01 Threaded collar M18x1/11.8 1 9,16 € 60100
03081-01 Shaft sleeve compression adjuster 1 21,02 € 60100
03082-01 Seat, compression adjuster 1 8,79 € 60100
03083-01 Spring 3/6,1 1 1,33 € 60399
03084-01 Bracket adjustable/56/22 1 85,61 € 60100
03084-02 Bracket adjustable/56/22 1 94,50 € 60100
03085-01 Bracket adjustable/56/19 1 63,37 € 60100
03085-02 Bracket adjustable/65/32 1 98,95 € 60100
03091-01 Cylinder head adjustable 46 1 102,28 € 60100
03091-02 Cylinder head adjustable 1 204,12 € 60100
03092-01 Compression adj. housing 1 184,78 € 60100
03092-02 Compression adj. housing -49res 1 164,10 € 60100
03092-03 Compression adj. housing 1 266,16 € 60100
03092-04 Comp adj. housing (5946 + 44 res.) 1 266,16 € 60100
03092-05 Comp adj. housing (5946 + 49 res.) 1 282,83 € 60100
03093-01 Banjo bolt cylinder head 1 82,27 € 60100
03097-03 Needle bearing INA HK3016 1 28,00 € 60200|NLA
03098-03 Shaft 20x40 1 112,96 € 60100
03098-04 Shaft 20x40 1 83,01 € 60100
03098-05 Shaft 20x38 1 90,28 € 60100
03098-06 Shaft 1 32,74 € 60100
03098-07 Shaft 10/17/25 1 6,76 € 60100
03100-01 Hose 10/10/250 Belgarda 1 93,52 € 60100
03100-02 Hose 10/10 Ducati ST4S 1 91,85 € 60100




03100-03 Hose 10/10/250 1 117,40 € 60100
03100-04 Hose 10/10 460 angled 1 97,84 € 60100
03100-05 Hose 10/10/435 angled 2x 1 124,52 € 60100
03100-06 Hose 10/10/251 angled 1 148,09 € 60100
03100-08 Hose 10/10/251 angled 2x 1 164,44 € 60100
03101-01 Top mounting BMW K 1200 RS 1 134,30 € 60100
03101-02 Top mounting BMW R1200C 1 57,68 € 60100|NLA
03102-01 Bracket hydr.prel on reservoir 44 1 137,41 € 60100
03102-02 Bracket hydr.prel on reservoir 49 1 39,88 € 60100
03102-03 Bracket hydr.prel on res 49-45deg 1 41,00 € 60100
03102-04 Bracket hydr.prel on res 49-90deg 1 43,36 € 60100
03102-05 Bracket hydr.prel on reservoir 44 1 55,27 € 60100
03102-06 Bracket hydr.prel on reservoir 49 1 192,11 € 60100
03102-08 Bracket reservoir 44 1 153,87 € 60100
03102-15 Bracket reservoir 44 1 73,54 € 60100
03102-19 Bracket reservoir 44 + 03600 1 44,25 € 60100
03103-01 Cylinder head 46/28.5/26 1 406,91 € 60100
03103-04 Cylinder head Suz GSX1000 2comp 1 398,90 € 60100
03103-05 Cyl. head 46/28.5/26 X 49 res 1 426,25 € 60100
03103-06 Cylinder head 46/28.5/26 X 49 res 1 390,90 € 60100
03103-07 Cylinder head 46/31.5/26 1 560,33 € 60100
03103-08 Cylinder head 46/31.5/26 1 526,32 € 60100|NLA
03103-09 Cylinder head 46/31.5/26 1 356,88 € 60100
03103-10 Cylinder head 46/31.5/26 1 496,96 € 60100
03103-11 Cylinder head 46/31.5/26%****x**xx* 1 490,29 € 60100
03103-12 Cylinder head 46/31.5/26 1 489,18 € 60100
03103-14 Cylinder head 46/34.5/26 1 289,50 € 60100
03103-15 Cylinder head 46/34.5/26 1 350,21 € 60100
03103-16 Cylinder head 46/34.5/26 C1 1 251,08 € 60100|NLA
03103-17 Cylinder head 46/31.5/26 1 292,17 € 60100
03103-19 Cylinder head 46/28.5/26 1 428,78 € 60100
03103-20 Cylinder head 46/31.5/26 1 387,56 € 60100
03103-22 Cylinder head 46/36.5/26 1 316,19 € 60100
03103-23 Cylinder head 46/35/26 1 370,88 € 60100
03103-68 Cylinder head 46/30/26 1 440,24 € 60100|NLA
03103-69 Cylinder head 46/44/26 1 414,58 € 60100
03103-69 Cylinder head 46/44/26 1 414,58 € 60100
03105-01 Spacer 6/16/3 1 11,12 € 60200
03105-02 Spacer 6/18/5 1 9,12 € 60200
03106-01 Bracket TL 1000 S 1 137,86 € 60100
03106-02 Bracket TL 1000 R left 1 170,77 € 60100




03106-03 Bracket TL 1000 R right 1 167,43 € 60100
03106-04 Bracket TL 1000 S 99- 1 102,28 € 60100
03107-01 Sleeve diam. 10x14x10 1 7,01€ 60200
03107-02 Sleeve diam. 10x14x6 1 7,01 € 60100
03108-01 Cylinder head 46/42/26 Aprilia OEM 1 156,44 € 60100
03109-01 Shaft M15x1/i16/44 1 51,14 € 60100
03110-01 End eye M17/43/26 aluminum 1 57,81 € 60100
03110-02 End eye M17/43/26 aluminum 1 94,50 € 60100
03110-03 End eye M17/46/26 aluminum 1 93,39 € 60100
03110-11 End eye M17/43/26 aluminum Ti 1 55,48 € 60100
03110-12 End eye M17/43/26 aluminum Ti 1 55,48 € 60100
03110-13 End eye M17/41/26 aluminum Ti 1 77,82 € 60100
03110-14 End eye M17/59/26 aluminum Ti 1 69,60 € 60100
03110-15 End eye M17/48/26 aluminum Ti 1 89,95 € 60100
03111-01 Bracket Yamaha R6 1 41,70 € 60100
03114-01 Shaft M15x1/16/50 1 94,50 € 60100
03115-02 End eye M17/57/26 aluminum Ti 1 47,81 € 60100
03116-01 Shaft extension M13x1/M17x1/59 Ti 1 66,71 € 60100
03116-02 Shaft extension M13x1/M17x1/59 Clear 1 89,50 € 60100
03116-03 Shaft extension M13x1/M17x1/5 1 124,74 € 60100
03117-01 Stop washer 20/38/5.5 1 25,74 € 60100
03117-02 Stop washer spring clip 1 43,36 € 60100
03117-04 Stop washer bumprubber 1 19,46 € 60100
03117-06 Stop washer 20/38/10.5 1 19,46 € 60100
03118-01 Washer stainless 14.1/24/3 1 5,68 € 60200
03118-02 Washer stainless 10.1/24/8 1 12,23 € 60100
03118-03 Washer stainless 14.1/24/4 1 5,83 € 60200
03118-04 Washer stainless 10.1/24/3.5 1 5,78 € 60100
03118-05 Washer stainless 10.1/24/3 1 5,68 € 60200
03118-07 Washer stainless 10.1/24/4 1 6,89 € 60200
03118-08 Washer stainless 12.7/24/6 1 5,14 € 60200
03118-09 Washer stainless 14.1/24/6 1 13,34 € 60100
03118-10 Washer stainless 10.1/24/2 1 16,68 € 60100
03118-11 Washer stainless 10.1/24/1 1 6,96 € 60200
03118-13 Washer stainless 14.1/24/1 1 6,53 € 60200
03118-15 Washer stainless 12.1/24/5 1 6,23 € 60200
03118-16 Washer stainless 12.1/24/6 1 5,56 € 60100
03118-19 Washer stainless 12,7/24/7.5 1 6,34 € 60200
03118-21 Washer stainless 8.1/24/1 1 6,67 € 60100
03118-22 Washer stainless 12.8/24/4 1 7,32 € 60200
03118-23 Washer stainless 12.8/24/8 1 7,32 € 60200




03119-01 Bolt FG890 M8-M6 1 12,27 € 60199|NLA
03127-01 Sleeve 1 24,46 € 60100
03128-01 Screw K6S 1/2-2" UNF Fzb £ 1 21,83 € 60200
03128-02 Screw 1/2-2 3/8" UNF 1 24,68 € 60100
03128-03 Screw U6S 8.8 1/4" UNC x 16 1 1,23 € 60200
03129-01 Spacer 12.1/24/14 1 19,46 € 60100
03129-02 Spacer 12.1/24/30 1 23,46 € 60100
03144-02 Spacer 12/30/2 1 1,23 € 60200
03144-03 Spacer 12/30/3 1 1,23 € 60200
03145-02 Spacer 12/28/2 1 6,23 € 60200
03145-03 Spacer 12/28/3 1 4,87 € 60100
03145-10 Spacer 12/28/10 1 539€ 60100
03150-01 Hydraulic adjuster compl. S36 left 1 208,02 € 60399
03150-02 Hydraulic adjuster compl. S36 right 1 208,02 € 60399
03152-01 Bracket 14/72/18 1 80,05 € 60100
03153-01 End eye 12/40/22 1 53,49 € 60100|NLA
03153-07 End eye 12/70/22 1 102,78 € 60100|NLA
03153-10 End eye 12/85/35/22 1 108,95 € 60100
03153-16 End eye 12/115/22 1 94,28 € 60100
03153-20 End eye 12/35/22 1 93,39 € 60100
03153-21 End eye 12/41/22 1 101,17 € 60100
03153-22 End eye 12/47/21/22 1 95,61 € 60100
03153-23 End eye 12/53/22 1 96,72 € 60100
03153-24 End eye 12/59/22 1 108,51 € 60100
03153-25 End eye 12/65/22 1 109,40 € 60100
03153-30 End eye 12/83/22 1 114,73 € 60100
03153-32 End eye 12/95/22 1 118,29 € 60100
03154-01 End eye 14/52/22 1 47,81 € 60100
03154-02 End eye 14/62/22 1 73,38 € 60100
03154-03 End eye 14/72/22 1 76,71 € 60100
03154-04 End eye 14/80/22 1 93,39 € 60100
03154-05 End eye 14/127/22 1 108,95 € 60100
03154-06 End eye 14/90/22 1 91,16 € 60100
03154-08 End eye 14/110/22 1 93,39 € 60100
03154-51 End eye assy 14/52/22 1 128,51 € 60100
03154-52 End eye assy 14/62/22 1 140,12 € 60100
03154-53 End eye assy 14/72/22 1 150,61 € 60100
03154-54 End eye assy 14/80/22 1 158,21 € 60100
03154-59 End eye assy 14/115/22 1 156,62 € 60100
03155-01 End eye 16/28/24 1 93,39 € 60100
03155-02 End eye 16/38.5/22 1 100,50 € 60100




03155-14 End eye 14/41/12/22 alu 1 94,50 € 60100
03155-16 End eye 16/42/14/22 1 101,52 € 60100|NLA
03155-17 End eye 16/42/14/22 Steel 1 100,06 € 60301
03155-30 End eye 14/52/22 1 53,36 € 60100
03155-31 End eye 14/41/16/22 1 54,48 € 60100
03155-40 End eye 16/42/38 1 83,38 € 60100
03155-42 End eye 16/54/20/38 1 100,92 € 60100
03156-01 Adjustment screw rebound 1 11,73 € 60100
03156-02 Adjustment screw rebound, allen 1 21,60 € 60100
03156-03 Adjustment screw rebound M6x0.5 1 54,48 € 60100
03156-04 Adjustment screw CSC M6x0.5 allen 1 26,13 € 60100
03156-06 Adjustment screw M6x0.5 1 8,87 € 60200
03156-20 Adjustment screw rebound M6x0.5 1 21,24 € 60100
03156-30 Adjustment screw M6x0.5 1 12,12 € 60100
03156-31 Adjustment screw hex 3 1 17,24 € 60100
03156-32 End piece 1 22,38 € 60100
03156-33 Adjustment screw hex 3 1 22,68 € 60100
03156-34 Adjustement screw Hex 3 1 18,79 € 60100
03157-01 Adj.shaft 1 8,34 € 60100
03157-02 Adj.shaft 1 15,90 € 60100
03157-03 Adj.shaft 1 7,23 € 60200
03158-01 End eye 14/52/25 1 62,26 € 60100
03160-01 Bracket adjustable 6mm 52/30/10 1 54,48 € 60100
03160-02 Bracket adjustable 6mm 56/30/10 1 71,15 € 60100
03160-03 Bracket adjustable 6mm 52/30/12 1 71,15 € 60100
03160-04 Bracket adjustable 6mm 69/25/8 1 110,29 € 60100
03160-11 Bracket adjustable 6mm 52/30/10 Ti 1 66,60 € 60100
03160-12 Bracket adjustable 6mm 56/30/10 Ti 1 80,05 € 60100
03160-13 Bracket adjustable 6mm 52/30/12 Ti 1 110,06 € 60100
03160-15 Bracket adjustable 6mm 56/30/8 Ti 1 75,60 € 60100
03162-01 Bracket 14/49/30 1 100,06 € 60100
03164-03 Seal head assy 14/36 1 39,10 € 60200
03164-04 Seal head assy 14/36 snowmobile 1 43,87 € 60200
03164-05 Seal head assy 14/36 1 4444 € 60200
03164-06 Seal head assy 14/36 1 4444 € 60200
03164-08 Seal head assy 14/36 1 41,69 € 60200
03165-01 Reservoir end 49 1 12,45 € 60100
03165-02 Reservoir end 36 1 16,50 € 60100
03171-02 Spacer 12/20/22 1 24,46 € 60100
03171-03 Spacer 10/20/38 1 7,23 € 60100
03172-01 Piston holder 8/46/M12x1.25 1 47,81 € 60100




03172-02 Piston holder 8/49/M12x1.25 1 24,01 € 60100
03172-03 Piston holder 8/52/M12x1.25 1 99,29 € 60100
03172-04 Piston holder 8/40/M12x1.25 1 77,50 € 60100
03173-01 Top mounting BMW 1 173,44 € 60100
03173-02 Top mounting BMW OEM 1 77,27 € 60100
03174-01 Nut 1 43,36 € 60100
03175-01 Nut 1 16,13 € 60100
03176-01 Adjustment needle 1 17,24 € 60100
03176-02 Adjustment needle 1 14,89 € 60199 (NLA
03177-01 Adjustment knob 1 108,64 € 60100
03178-01 Spacer (#10x30 for 00124-10 1 5,78 € 60100
03180-03 Fork bottom LH Ducati 748R mach OEM 1 186,67 € 60100 |Expiring
03180-04 Forkbott. RH Duc748RmachOEM 1 228,15 € 60100|NLA
03190-01 Cylinder head cruiser 1 145,86 € 60100
03190-02 Cylinder head high cruiser 1 169,88 € 60100
03190-03 Cylinder Head Cruiser 1 141,28 € 60100
03190-04 Cylinder Head Cruiser High 1 144,52 € 60100
03191-02 Sleeve 40 cylinder head 1 134,66 € 60100
03192-01 Adjustment nut 1 102,28 € 60100
03193-01 End eye 36 1 67,82 € 60100
03193-03 End eye 41 1 48,92 € 60100
03194-01 Spring seat 1 50,03 € 60100
03195-07 Spring 210/2.7-3.9 cruiser 1 60,60 € 60301
03195-08 Spring 210/3.0-4.1 cruiser 1 60,60 € 60301
03196-01 End eye Ducati racing 1 133,41 € 60100
03202-01 Bolt UC6S 1/4UNC x 5/8 8.8 fzb £ 1 3,11 € 60200
03202-02 Bolt UC6S 1/4UNC x 1" A2-70 £ 1 5,90 € 60200
03203-01 Cylinder head 46/33/26 X-type 1 476,28 € 60100
03204-01 Sleeve 10/17/18 1 14,45 € 60100
03205-02 Cylinder head Duc 46/40.5 X-type 1 161,69 € 60100
03206-01 Cylinder head pb 36/22 1 282,17 € 60100
03206-02 Cylinder head 36P 0° 1249comp 44 1 306,85 € 60100
03206-03 Cylinder head 36P 1 384,89 € 60100
03210-02 Cylinder head 36/26 ext.thread hose 1 62,74 € 60100
03210-03 Cylinder head 36/26 ext. thread 1 77,55 € 60100
03210-06 Cylinder head 36/26 ext.thread hose 1 87,83 € 60100
03211-01 Cylinder tube 36/145 int. thread 1 35,63 € 60100
03212-01 Sliding sleeve 40.2/70/22 1 54,03 € 60100
03213-01 Pre-load tube end 45.5/82/15 1 83,38 € 60100
03214-01 Spring seat 40/48/27 1 54,48 € 60100
03215-01 Circlip 82/2.5 1 11,21 € 60200




03216-01 Pre-load nut M18x1.5/76/7 1 66,71 € 60100
03217-01 Pre-load tube 76/82/167 clear 1 204,12 € 60100
03217-02 Preload tube 76/82/167 gold 1 204,12 € 60100
03218-01 Adjustment nut M13x1/27 1 68,93 € 60100
03219-01 Nut M18x1.5/27 1 47,81 € 60100
03220-01 End eye HD softtail M13x1 1 170,77 € 60100
03221-01 Sleeve 13/16.2/26.5 1 20,01 € 60100
03222-01 Bush holder 13/37/10.5 1 27,79 € 60100
03224-01 Scraper dia40 £ 1 13,02 € 60205|NLA
03226-01 Bracket FJR 1300 ABS 1 108,15 € 60100
03227-01 Bracket R1 1 105,62 € 60100
03228-05 Cylinder head 348° pb 46/26 1 136,08 € 60100
03229-36 Cylinder head 345° pb 46/26 1 167,21 € 60100
03240-01 Bracket adjustable/40/28/M24 1 46,69 € 60100
03250-01 Cylinder head 36P 85° 1250comp 49 1 106,94 € 60100
03250-02 Cylinder head 36P 95° 1250comp 49 1 106,94 € 60100
03250-03 Cylinder head 36P 77° 1250comp 49 1 106,73 € 60100
03250-04 Cylinder head 36P 103° 1250comp 49 1 106,73 € 60100
03250-06 Cylinder head 36P 117° 1250comp 49 1 119,86 € 60100
03250-20 Cylinder head 36P 90° 1250comp 44 1 141,30 € 60100
03250-27 Cylinder head 36P 85° 1250comp 44 1 110,62 € 60100
03250-28 Cylinder head 36P 95° 1250comp 44 1 110,62 € 60100
03250-29 Cylinder head 36P 0° 1250comp 44 1 163,61 € 60100
03250-31 Cylinder head 36P 85° 1250comp 44 1 129,07 € 60100
03250-32 Cylinder head 36P 95° 1250comp 44 1 129,07 € 60100
03251-01 Spring adjuster $S36 Aluminium 1 32,24 € 60100
03251-02 Spring adjuster 1 52,25 € 60100
03251-03 Spring adjuster PA 1 15,49 € 60100
03251-05 Spring adjuster black 1 55,20 € 60100
03252-01 Spring clip 1 41,08 € 60100
03253-01 Adjustment wheel, clear 1 41,03 € 60399
03253-02 Adjustment wheel, gold 1 41,03 € 60399
03266-01 Ice device assy 14/36 1 87,29 € 60100
03269-02 Spacer 14/30/2 Black 1 1,23 € 60200
03269-03 Spacer 14/30/3 Red 1 1,23 € 60200
03270-03 Cylinder head pb 36/22 90deg 1 222,35 € 60100
03270-06 Cylinder head pb 36/22 68 deg 1 152,09 € 60100
03270-30 Cylinder head pb 36/22 77 deg 1 176,99 € 60100
03270-31 Cylinder head 36P 78° 1249comp 44 1 292,81 € 60100
03270-80 Cylinder head blank 1 105,44 € 60100
03280-01 Cylinder head pb 36/22 Odeg 1 143,20 € 60100




03280-09 Cyl head pb 36/22 135deg 1 166,32 € 60100
03280-29 Cylinder head pb 36/22 120deg 1 100,79 € 60102 |NLA
03280-73 Cylinder head pb 36/22 90deg 1 172,10 € 60100
03280-74 Cyl head pb 36/22 65deg 1 220,13 € 60100
03280-76 Cyl head pb 36/22 115deg 1 220,13 € 60100
03280-81 Cylinder head blank 1 60,74 € 60100
03281-01 Sleeve M44x1.5/70 1 8,02 € 60200
03281-02 Sleeve M44x1.5/70 Aluminum 1 51,92 € 60100
03281-03 Sleeve M44x1.5/50 Aluminum 1 174,56 € 60100
03283-03 Cylinder head pb 36/22 90deg 1 172,44 € 60100
03283-09 Cylinder head pb 36/22 135deg 1 186,78 € 60100
03284-01 Bracket adjustable/56/22 brons***** 1 73,38 € 60100
03284-21 Bracket adjustable/56/22 1 60,04 € 60100
03286-01 Cyl. head TTX30 PB 30/22 Odeg 1 135,07 € 60100
03286-03 Cylinder head TTX30 PB 30/22 90deg 1 173,44 € 60100
03287-03 Cylinder head TTX30 PB 30/22 90° 1 110,20 € 60100
03287-53 Cyl. head TTX30 PB 30/22 90° 1 236,19 € 60102 |NLA
03289-03 Cylinder head TTX30 PB 30/22 90deg 1 387,30 € 60100
03289-50 Cylinder head TTX30 60deg 1 363,55 € 60100
03290-01 Cylinder head 0 deg pb 36/22 1 180,77 € 60100
03290-03 Cylinder head 90 deg pb 36/22 1 307,51 € 60100
03290-15 Cylinder head 338 deg pb 36/22 1 158,09 € 60100
03293-01 Cylinder head 0° pb 36/22 1 295,51 € 60100
03293-03 Cylinder head 90° pb 36/22 1 307,51 € 60100
03295-01 Cylinder head 0° pb 36/22 1 172,10 € 60100
03296-01 Cylinder head pb 36/M24 CV3030 1 148,09 € 60100
03296-02 Cylinder head pb 36/dial2 CV 3030 1 230,80 € 60100
03300-01 Cylinder tube 36/190 Al 1 51,19 € 60100
03300-02 Cylinder tube 36/195 Al 1 92,77 € 60100
03300-03 Cylinder tube 36/226 Al 1 40,19 € 60100
03300-06 Cylinder tube 36/240 Al 1 96,95 € 60100
03300-07 Cylinder tube 36/167 Al 1 46,37 € 60100
03300-08 Cylinder tube 36/155 Al 1 48,53 € 60100
03300-12 Cylinder tube 36/186 Al 1 45,08 € 60100
03300-13 Cylinder tube 36/230 Al 1 95,89 € 60100
03300-16 Cylinder tube 36/200 Al 1 37,19 € 60100
03300-18 Cylinder tube 36/177 Al 1 50,08 € 60100
03300-19 Cylinder tube 36/149 Al 1 38,52 € 60100
03300-21 Cylinder tube 36/220 Al 1 93,28 € 60100
03300-22 Cylinder tube 36/141 1 34,36 € 60100
03300-23 Cylinder tube 36/182 Al 1 47,98 € 60100




03308-01 Base plug M10x1.25* ¥ ¥ *xkkxskxokdkoxskx & 1 51,92 € 60100
03309-01 Shims 20/30/0,1 1 1,67 € 60200
03309-02 Shims 20/30/0.38 1 1,67 € 60200
03309-03 Shims 20/23/0.30 1 1,67 € 60200
03311-01 Adjustment need|e*** ¥ ¥ ¥k xkkkkxkxkk 1 41,32 € 60199|NLA
03312-01 Adjuster* ¥ x*xkioxkx 1 58,15 € 60100
03312-02 Adjuster 1 42,02 € 60100
03312-04 Adjuster Left (COMP) 1 73,38 € 60100
03312-05 Adjuster Right (REB) 1 73,38 € 60100
03312-06 Adjuster 1 53,26 € 60100
03312-07 Adjuster (COMP) 1 69,15 € 60100
03312-08 Adjuster (REB) 1 69,15 € 60100
03312-09 Adjuster (PRELOAD) 1 41,97 € 60100
03312-10 Adjuster (EC) 1 118,29 € 60100
03312-11 Adjuster (PRELOAD) 1 102,28 € 60100
03313-01 Nut M18x1 1 17,57 € 60100
03314-12 Shaft extension M12x0.75 1 16,23 € 60100
03314-20 Shaft extension M12x0.75/92 1 84,49 € 60100
03314-30 Shaft extension M12x0.75/69.3 1 38,91 € 60100
03315-01 Preload socket M34x1 1 30,07 € 60100
03315-02 Preload socket M34x1 1 24,01 € 60100
03315-03 Preload socket M34x1/33 1 66,16 € 60100
03315-04 Preload socket M34x1/55 1 81,16 € 60100
03315-05 Preload socket M34x1/37 1 50,70 € 60100
03315-06 Preload socket M34x1/27 1 53,36 € 60100
03315-07 Preload socket M38x1/21.5 1 53,36 € 60100
03316-01 Spring support 1 31,47 € 60100
03316-02 Spring support 1 14,68 € 60100
03316-03 Spring support 22.4/31/18.5 1 16,68 € 60100
03316-04 Spring support 18.5/26/12 1 2435 € 60100
03316-04 Spring support 18.5/26/12 1 2435 € 60100
03317-01 Spring SF-TAF Nr 5032 £ 1 4,20 € 60200
03318-02 Adjustment housing Suz M46x1.5 1 88,94 € 60100
03318-03 Adjustment housing M46x1.5 1 88,94 € 60100
03318-04 Adjustment housing M44x1.5 1 88,94 € 60100
03318-05 Adjustment housing M48x1.5 1 74,49 € 60100
03318-07 Adjustment housing M47x1.5 1 91,73 € 60100
03318-08 Adjustment housing MA44x1*****¥*xkk 1 90,05 € 60100
03318-10 Adjustment housing M48x1.5 1 78,49 € 60100
03318-11 Adjustment housing M48x1.5 1 71,54 € 60100
03318-12 Adjustment housing M48x1.5 1 120,07 € 60100




03318-13 Adjustment housing M48x1.5 1 102,73 € 60100
03319-01 Base plug Suz M10x1.25 1 61,15 € 60100
03319-12 Base plug M12x1.25 1 66,71 € 60100
03320-10 Base plug M10x1 1 72,26 € 60100
03320-12 Base plug Kaw M12x1.25 1 72,26 € 60100
03321-01 Adjustment housing M4ex1¥***x %% 1 162,10 € 60100
03322-02 Sleeve 35/42/10 1 18,90 € 60100
03324-01 Base plug M12x1.25 1 61,15 € 60100
03324-02 Base plug M10x1 1 35,03 € 60199|NLA
03324-03 Base plug M10x1.25 1 46,69 € 60100
03324-04 Base plug M12x1 1 42,25 € 60100
03327-01 Ride height washer 14/2 1 8,18 € 60100
03328-02 Protector #36x340 black w. logo 1 26,68 € 60399
03328-03 Protector 230x340 pair. black with logo 1 64,38 € 60399
03328-04 Protector #46x300 black w. logo 1 41,36 € 60399
03328-06 Protector 300x420 black with logo 1 42,69 € 60399
03328-08 Protector 320x460 black with logo 1 45,70 € 60399
03328-09 Protector 400x460 black with logo 1 47,03 € 60399
03328-12 Shaft protection assy 1 14,57 € 60399
03329-01 Adapter R6 1 35,03 € 60100
03330-01 Screw torx 5x16 1 1,01€ 60200
03334-01 Spring spacer 1 33,04 € 60199|NLA
03334-02 Spring spacer 1 37,92 € 60100
03334-03 Spring spacer 1 2433 € 60199|NLA
03335-01 Adaptor 1 37,80 € 60100
03336-01 Rebound adjuster 1 16,36 € 60199 (NLA
03336-02 Rebound adjuster 1 18,04 € 60199 (NLA
03337-01 Reservoir bracket (BMW) 1 92,50 € 60100
03338-88 O-ring 10x2.5 FKM 70 1 3,74 € 60200
03338-89 O-ring 15.88x2.62 FKM 70 1 4,20 € 60200
03344-15 Piston 12/44 sintered blasted 1 35,54 € 60100
03344-16 Piston 12/44 1 37,66 € 60100
03344-81 Piston 12/44 sintered 1 11,03 € 60100
03366-10 Piston 12/46 MX sintered 1 20,53 € 60100
03366-15 Piston 12/46 MX sintered blasted 1 35,72 € 60100
03366-16 Piston 12/46 shot blasted 1 62,30 € 60100
03366-40 Piston 12/46 sintered 1 15,81 € 60100
03366-41 Piston12/46sint,skirted,band incl. 1 46,41 € 60100
03377-81 Piston 12/36 sintered, skirted blank 1 12,27 € 60100
03380-72 Cylinder head 355deg pb 46/26 1 95,12 € 60102 |NLA
03390-32 Cylinder head 144 deg pb 36/22 1 177,77 € 60102 |NLA




03450-03 Cylinder head 90° pb TTX44 1 359,54 € 60100
03450-43 Cylinder head TTX44 1 348,87 € 60100
03450-44 Cylinder head TTX44 1 413,31 € 60100
03460-51 Cylinder head pb TTX machined 1 504,30 € 60100
03472-03 Cylinderhead TTX44 90 degree 1 146,59 € 60100
03472-16 Cylinderhead TTX44 130 degrees 1 164,62 € 60100
03472-37 Cylinderhead TTX44 41 degrees 1 149,77 € 60100
03472-41 Cylinder head TTX44 130° 1 150,76 € 60100
03472-43 Cylinder head TTX 2012 41°, 57 1 14331 € 60100
03472-50 Cylinderhead TTX44 flat @25 1 156,48 € 60100
03472-51 Cylinder head TTX44 flat @25 1 147,46 € 60100
03472-60 Cylinderhead TTX44 168 degrees, 63 1 153,93 € 60100
03480-27 Cylinder head 350deg pb TTX 1 262,20 € 60102 (NLA
03482-04 Cylinder head 343deg pb TTX 1 236,81 € 60100
03482-08 Cylinder head 347deg pb TTX 1 282,17 € 60100
03482-27 Cylinder head 350deg pb TTX 1 196,33 € 60100(NLA
03482-31 Cylinder head 333deg pb TTX 1 298,18 € 60100
03482-40 Cylinder head 163° pb TTX 2012 1 220,80 € 60100
03482-41 Cylinder head 170° pb TTX 2012 1 595,68 € 60100
03490-39 Cylinder head 285 deg pb TTX 1 235,47 € 60100
03490-80 Cylinder head 3409 pb 46/26 1 96,47 € 60100
03492-01 Cylinder head pb TTX44 1 366,42 € 60100
03492-40 Cylinder head TTX44 1 374,89 € 60100
03492-50 Cylinder head TTX44 1 538,98 € 60100
03566-02 Adj.shaft 74.6/4.5 1 592 € 60100
03566-04 Adj.shaft 282/4.5 1 592 € 60200
03566-06 Adj.shaft 130.6/4.5 1 6,53 € 60100
03566-07 Adj.shaft 167.6/4.5 1 17,24 € 60100
03566-08 Adj.shaft 217.6/4.5 1 592 € 60100
03566-09 Adj.shaft 242.6/4.5 1 592 € 60100
03566-10 Adj.shaft 198.3/4.5 1 592 € 60100
03566-11 Adj.shaft 262/4.5 1 6,53 € 60100
03566-13 Adj.shaft 249,8/4.5 1 17,24 € 60100
03566-14 Adj.shaft 293.3/4.5 1 592 € 60200
03566-15 Adj.shaft 232/4.5 1 592 € 60100
03566-16 Adj.shaft 299/4.5 1 592 € 60100
03566-17 Adj.shaft 169.8/4.5 1 592 € 60100
03566-18 Adj.shaft 290.6/4.5 1 592 € 60100
03566-19 Adj.shaft 224.5/4.5 1 6,53 € 60200
03566-21 Adj.shaft 144.8/4.5 1 592 € 60100
03566-22 Adj.shaft 87.5/4.5 1 592 € 60100




03566-23 Adj.shaft 273.6/4.5 1 592 € 60100
03566-24 Adj.shaft 75,9/4.5 1 592 € 60100
03566-25 Adj.shaft 441/4.5 1 5,92 € 60100
03566-26 Adj.shaft 95.1/4.5 1 5,92 € 60100
03566-27 Adj.shaft 106.1/4.5 1 5,92 € 60200
03566-28 Adj.shaft 278.8/4.5 1 5,92 € 60200
03566-29 Adj.shaft 49.1/4.5 1 5,92 € 60200
03566-30 Adj.shaft 87.6/4.5 1 5,92 € 60200
03566-31 Adj.shaft 77.4/4.5 1 5,92 € 60100
03566-32 Adj.shaft 82.4/4.5 1 6,53 € 60100
03566-33 Adj.shaft 66.5/4.5 1 5,92 € 60100
03566-34 Adj.shaft 152.6/4.5 1 5,92 € 60100
03566-35 Adj.shaft 122.6/4.5 1 5,92 € 60100
03566-36 Adj.shaft 67.6/4.5 1 5,92 € 60200
03566-37 Adj.shaft 62.1/4.5 1 5,92 € 60100
03566-38 Adj.shaft 106.5/4.5 1 5,92 € 60100
03566-39 Adj.shaft 77.6/4.5 1 6,23 € 60200
03566-40 Adj.shaft 72.6/4.5 1 5,92 € 60100
03566-41 Adj.shaft 101/4.5 1 5,92 € 60100
03566-42 Adj.shaft 111/4.5 1 5,92 € 60200
03566-43 Adj.shaft 121/4.5 1 5,92 € 60100
03566-44 Adj.shaft 87.1/4.5 1 5,92 € 60100
03566-45 Adj.shaft 171.6/4.5 1 592 € 60200
03566-46 Adj.shaft 60.6/4.5 1 5,92 € 60100
03566-47 Adj.shaft 65.6/4.5 1 5,92 € 60200
03566-48 Adj.shaft 118.6/4.5 1 592 € 60100
03566-50 Adj.shaft 483.5/4.5 1 6,12 € 60100
03566-51 Adj.shaft 141.6/4.5 1 5,92 € 60200
03566-52 Adj.shaft 54.7/4.5 1 5,92 € 60200
03566-54 Adj.shaft 150.2/4.5 1 5,92 € 60200
03566-55 Adj.shaft 210.4/4.5 1 592 € 60100
03566-56 Adj.shaft 190.4/4.5 1 592 € 60200
03566-57 Adj.shaft 162.8/4.5 1 592 € 60100
03566-58 Adj.shaft 148.2/4.5 1 592 € 60100
03566-59 Adj.shaft 170.6/4.5 1 592 € 60100
03566-60 Adj.shaft 127.6/4.5 1 5,77 € 60101 (NLA
03566-61 Adj.shaft 102.6/4.5 1 592 € 60100
03566-62 Adj.shaft 124.5/4.5 1 592 € 60100
03566-63 Adj.shaft 154.8/4.5 1 592 € 60100
03566-64 Adj.shaft 81/4.5 1 61,04 € 60100
03566-65 Adj.shaft 230.8/4.5 1 592 € 60100




03566-66 Adj.shaft 260.8/4.5 1 592 € 60100
03566-67 Adj.shaft 310.8/4.5 1 592 € 60200
03566-68 Adj.shaft 187.3/4.5 1 592 € 60200
03566-69 Adj.shaft 114.8/4.5 1 6,23 € 60200
03566-70 Adj.shaft 132/4.5 1 592 € 60200
03566-71 Adj.shaft 172/4.5 1 592 € 60200
03566-72 Adj.shaft 187/4.5 1 31,69 € 60100
03566-73 Adj.shaft 269.8/4.5 1 6,07 € 60200
03566-74 Adj.shaft 232.8/4.5 1 6,23 € 60200
03566-76 Adj.shaft 94.3/4.5 1 592 € 60200
03566-79 Adj.shaft 380.8/4.3 1 592 € 60100
03577-01 O-ring 5.1x1.6 FKM 1 2,75 € 60200
03600-01 Adj.cylinder hydr.prel.adj 2:1 10mm 1 73,38 € 60100
03600-02 Adj.cylinder hydr.prel.adj 3:1 8mm 1 53,36 € 60100
03600-03 Adj.cyl. hydr.prel.adj 2:1 10mm 1 47,81 € 60100
03600-04 Adj.cylinder hydr.prel.adj 32x31mm 1 91,16 € 60100
03600-05 Adj.cylinder hydr.prel.adj 2:1 10mm 1 75,60 € 60100
03600-06 Adj.cylinder hydr.prel.adj 2:1 10mm 1 98,95 € 60100
03601-01 Guide screw M3x5.5 1 13,90 € 60100
03601-02 Guide screw M3x6.5 1 6,81 € 60200
03602-01 Adj. screw M12-left/52.25 1 24,46 € 60100
03602-02 Adj. screw M12-left/56.5 1 26,68 € 60100
03602-03 Adj. screw M12-left/64.3 1 25,57 € 60100
03603-01 Cover 29/10.3/9, Gold 1 14,95 € 60100
03603-03 Cover 39/10.3/9, Clear 1 20,13 € 60100
03603-04 Cover 29/10.3/9, Black 1 16,12 € 60100
03604-01 Piston 21/M12-left/31 1 16,13 € 60100
03604-02 Piston 17.5/M12-left/34 1 12,57 € 60200
03604-04 Piston 21/M12-left/36 1 13,24 € 60100
03604-05 Piston 32/M12-left/43.8 1 54,82 € 60100
03605-01 Knob for hydr.prel.adj. with hose 1 7,38 € 60200
03605-02 Knob for hydr.prel.ad;. 1 6,02 € 60100
03605-03 Knob for hydr.prel.adj. with hose 1 33,00 € 60200
03606-01 Inner sleeve hydr.prel.adj 1 35,25 € 60100
03607-01 Preload housing M10-hose 1 101,45 € 60100
03607-02 Pre-load housing M8-hose 1 170,48 € 60100
03607-03 Preload housing M10-hose, titan 1 94,89 € 60100
03607-05 Preload housing M10-hose 1 55,59 € 60100
03608-01 Guide nut 52/73/6 1 13,63 € 60100
03609-01 Lock nut 61/52/6 1 18,70 € 60200
03610-01 Support ring 62.2x3.25x1.5 1 4,51 € 60200




03611-01 Support ring di 54.4x3.25x1.5 1 5,92 € 60200
03612-01 Pre-load housing integrated left 1 187,44 € 60100
03612-02 Pre-load housing integrated right 1 187,44 € 60100
03613-01 Pin CP 4x35 m6 Al £ 1 2,01€ 60200
03614-01 Seal washer 3.1x6.4x1.2 Niroma 1 4,83 € 60200
03617-01 Adjustment wheel preload.clear 1 80,61 € 60399
03617-03 Adjustment wheel preload.blue 1 80,60 € 60399
03618-01 Adj.cyl.hydr.prel.adj 3:1, titan,RH 1 96,06 € 60100
03618-02 Adj.cyl.hydr.prel.adj 3:1, titan,LH 1 114,73 € 60100
03645-01 Hydr.prel.adj 2:1 left integrated S46 1 297,06 € 60399
03646-01 Hydr.prel.adj 2:1 right integrated S46 1 297,06 € 60399
03654-02 End eye 16/50 Screw adj. 1 91,16 € 60100
03701-01 Sticker "OHLINS EC" blue/trans36x62 1 2,12 € 60399
03701-02 Sticker "OHLINS EC"black/trans36x62 1 1,23 € 60399
03706-01 Wave Washer 19/27/0.10 1 7,44 € 60200
03707-01 Shims 19/27/0.20 1 1,67 € 60200
03708-01 Check Valye*****x 1 75,72 € 60100
03708-02 Check Valve 1 29,57 € 60100
03709-01 Check Valve Housing***#*** 1 28,58 € 60100
03709-02 Check Valve Housing 1 10,45 € 60100
03710-10 Reservoir End CES 44/M10 1 108,34 € 60199|NLA
03713-01 Retaining clip 1 105,51 € 60200
03714-01 Wire bracket 1 23,70 € 60199|NLA
03720-01 Bracket BMW EC 1 78,94 € 60100
03721-01 Bracket, reservoir 1 49,61 € 60199|NLA
03722-01 Comp. valve adaptor CES - 4120 1 83,38 € 60100
03723-01 Plug 31x38x13 1 2,31€ 60200
04005-01 Valve high speed SD4200 1 138,76 € 60100
04006-01 Pin 1.9/2.1/7.2 1 2,12 € 60100
04009-01 Pin 1 6,23 € 60100
04010-01 Nut M12x0.75/3.5 1 22,24 € 60100
04015-01 Needle SD 4200 1 7,23 € 60200
04016-02 Valve cap SD 4200 1 21,12 € 60100
04017-01 Spring 1.9/6.8 1 0,67 € 60200
04018-01 Pin 1.9/2.1/13 1 1,94 € 60100
04020-01 Valve housing SD 42QQ%*** ¥k xkkokek 1 5,69 € 60100
04020-02 Valve housing SD 4200 R 1 33,80 € 60100
04021-02 Valve seat 3.94/4.1/12%**¥*kxkkkxkx 1 13,53 € 60199|NLA
04022-01 Valve housing Sd 4200 1 20,51 € 60100
04023-01 Cover high speed valve SD4200 1 10,18 € 60200
04024-01 Cover high speed valve SD4200 1 2,24 € 60100




04030-01 Pointer SD 4200 1 3,64 € 60100
04032-02 Linkarm bent short SD4101/4201 1 68,82 € 60310
04033-02 Link arm adjustment rod M6 LH/RH 1 25,80 € 60199|NLA
04037-01 Valve seat 2/M3.5/3.1 1 4,51€ 60100
04039-02 Sweep control part assembled 1 8,64 € 60100
04050-01 Seal kit SD4101/4201 1 49,06 € 60200
04058-01 Shaft M13x1/37.5 1 83,27 € 60100
04062-01 Shaft 14/175 TTT 1 48,27 € 60100
04062-04 Shaft 14/200.7 TTT 1 45,52 € 60101|NLA
04062-05 Shaft 14/244 TTT 1 53,67 € 60100
04062-07 Shaft 14/225.7 TTT 1 50,60 € 60100
04062-08 Shaft 14/215 TTT 1 49,33 € 60100
04062-11 Shaft 14/105 TTT 1 42,15 € 60100
04062-13 Shaft 14/235 TTT 1 51,81 € 60100
04063-01 Shaft 14/180 1 39,74 € 60100
04063-02 Shaft 14/170 1 42,04 € 60100
04063-03 Shaft 14/200 1 13,41 € 60100
04063-06 Shaft 14/168 1 45,11 € 60100
04063-07 Shaft 14/231 1 47,13 € 60100
04063-16 Shaft 14/160 1 42,50 € 60100
04063-17 Shaft 14/190 1 46,59 € 60100
04063-20 Shaft 14/225 1 51,98 € 60100
04071-01 Cover SD1.3 Ohlins Type 2 1 133,86 € 60100
04073-01 Needle 52.5deg SD1.3 1 4,61€ 60100
04073-02 Needle 29deg SD1.3 Rogd****#**xkxxk 1 17,25 € 60100
04075-01 Valve housing SD1.3 1 5,76 € 60100
04076-01 Pin 2/2.2/13 SD1.3 1 2,14 € 60200
04077-01 Spring L7.5 Dy2,5 SD1.3 1 0,67 € 60200
04082-01 Linkarm bent KTM 1 93,34 € 60199|NLA
04101-01 End piece 2-w comp.adjuster PB 1.5 1 94,50 € 60100
04101-02 End piece 2-w comp.adjuster PB 2.5 1 44,47 € 60100
04102-01 Spring, k=75 N/mm, L=17mm 1 570 € 60200
04102-02 Spring, k=100N/mm, L=17mm******3x*** 1 7,46 € 60100
04102-03 Spring, k=60 N/mm, L=17mm******x%x 1 6,74 € 60200
04102-04 Spring, k=30 N/mm, L=17mm******xx* 1 7,59 € 60100
04102-05 Spring, k=40 N/mm, L=17mm***¥**3xx*! 1 7,36 € 60200
04102-06 Spring, k=20 N/mm, L=17mm******x%x 1 7,20 € 60200
04102-08 Spring, k=50 N/mm, L=17mm*******:xt 1 7,37 € 60100
04102-22 Spring, k=20 N/mm, L=16mm 1 10,20 € 60100
04102-24 Spring, k=40 N/mm, L=16mm 1 10,23 € 60200
04102-25 Spring, k=50 N/mm, L=16mm 1 7,37 € 60200




04102-26 Spring, k=60 N/mm, L=16mm 1 10,27 € 60200
04102-27 Spring, k=70 N/mm, L=16mm 1 18,68 € 60100
04102-29 Spring, k=90 N/mm, L=16mm 1 15,48 € 60100
04102-31 Spring, k=10 N/mm, L=16.5 mm 1 22,24 € 60100
04102-32 Spring, k=20 N/mm, L=16.5 mm******* 1 22,24 € 60100
04102-34 Spring, k=40 N/mm, L=16.5 mm 1 9,04 € 60200
04102-38 Spring, k=80 N/mm, L=16.5 mm******* 1 22,24 € 60100
04103-01 Poppet valve, dia 12 1 21,12 € 60100
04103-02 Poppet valve, dia 14 1 18,28 € 60100
04103-03 Poppet valve, dia 14*¥¥¥*xkkxk ko xx 1 46,69 € 60100
04103-04 Poppet valve, dia 14*¥¥¥*xkkxkxkkxx 1 30,02 € 60100
04103-06 Poppet valve, dia 14 1 26,68 € 60100
04103-07 Poppet valve, dia 12 1 42,25 € 60100
04104-01 Valve seat, dia 10 1 35,58 € 60100
04104-02 Valve seat, dia 12 1 47,81 € 60100
04105-01 Wave washer 12/23/0,15 1 1,23 € 60200
04105-02 Wave washer 12/23/0,10 1 1,23 € 60200
04107-01 Spring, c=10 N/mm, L=15.5 mm 1 31,25 € 60100
04107-02 Spring, c=20 N/mm, L=15.5 mm 1 14,68 € 60100
04107-03 Spring, c=30 N/mm, L=15.5 mm 1 31,29 € 60100
04107-04 Spring, c=40 N/mm, L=15.5 mm 1 14,68 € 60200
04107-05 Spring, c=50 N/mm, L=15.5 mm 1 14,68 € 60100
04107-06 Spring, c=60 N/mm, L=15.5 mm 1 14,68 € 60200
04107-07 Spring, c=70 N/mm, L=15.5 mm 1 14,68 € 60200
04107-08 Spring, c=80 N/mm, L=15.5 mm 1 14,52 € 60100
04210-01 Cylinder tube 46/141.5 Al 1 68,93 € 60100
04210-02 Cylinder tube 46/167.5 Al 1 68,93 € 60100
04210-03 Cylinder tube 46/146.5 Al 1 68,93 € 60100
04210-04 Cylinder tube 46/174.5 Al 1 68,93 € 60100
04210-05 Cylinder tube 46/123.5 Al 1 68,93 € 60100
04210-06 Cylinder tube 46/127.5 Al 1 68,93 € 60100
04210-07 Cylinder tube 46/194.5 Al 1 68,93 € 60100
04210-08 Cylinder tube 46/132.5 Al 1 68,93 € 60100
04210-09 Cylinder tube 46/137 Al 1 68,93 € 60100
04210-10 Cylinder tube 46/111.5 Al 1 68,93 € 60100
04210-11 Cylinder tube 46/154.5 Al 1 68,93 € 60100
04210-13 Cylinder tube 46/120.5 Al 1 68,93 € 60100
04210-14 Cylinder tube 46/212.5 Al 1 68,93 € 60100
04210-15 Cylinder tube 46/149.5 Al 1 68,93 € 60100
04210-16 Cylinder tube 46/118 Al 1 68,93 € 60100
04210-17 Cylinder tube 46/115.5 Al 1 68,93 € 60100




04210-19 Cylinder tube 46/160.5 Al 1 68,93 € 60100
04210-20 Cylinder tube 46/150.5 Al 1 68,93 € 60100
04210-22 Cylinder tube 46/207,5 Al 1 68,93 € 60100
04210-23 Cylinder tube 46/198 Al 1 68,93 € 60100
04210-24 Cylinder tube 46/190 Al 1 68,93 € 60100
04210-25 Cylinder tube 46/200 Al 1 68,93 € 60100
04210-26 Cylinder tube 46/206 Al 1 68,93 € 60100
04210-27 Cylinder tube 46/178.5 Al 1 68,93 € 60100
04210-28 Cylinder tube 46/224 Al 1 68,93 € 60100
04210-30 Cylinder tube 46/186 Al 1 68,93 € 60100
04210-31 Cylinder tube 46/215.5 Al 1 68,93 € 60100
04210-32 Cylinder tube 46/183 Al 1 68,93 € 60100
04210-33 Cylinder tube 46/188 Al 1 68,93 € 60100
04210-34 Cylinder tube 46/181.5 Al 1 68,93 € 60100
04210-37 Cylinder tube 46/266 Al 1 68,93 € 60100
04210-38 Cylinder tube 46/258.5 Al spc 1 68,93 € 60100
04210-40 Cylinder tube 46/163 Al 1 68,93 € 60100
04210-41 Cylinder tube 46/126.5 Al 1 68,93 € 60100
04210-43 Cylinder tube 46/220.5 Al 1 68,93 € 60100
04210-46 Cylinder tube 46/229.5 Al 1 68,93 € 60100
04210-49 Cylinder tube 46/134 Al 1 68,93 € 60100
04210-50 Cylinder tube 46/156.5 Al 1 68,93 € 60100
04210-52 Cylinder tube 46/171.5 Al 1 68,93 € 60100
04210-53 Cylinder tube 46/144.5 Al 1 68,93 € 60100
04210-56 Cylinder tube 46/130.5 Al 1 68,93 € 60100
04210-57 Cylinder tube 46/122 Al 1 68,93 € 60100
04210-59 Cylinder tube 46/227,5 Al 1 68,93 € 60100
04210-60 Cylinder tube 46/203 Al 1 68,93 € 60100
04210-62 Cylinder tube 46/172.5 Al 1 68,93 € 60100
04210-67 Cylinder tube 46/185 Al 1 68,93 € 60100
04210-68 Cylinder tube 46/235 Al 1 68,93 € 60100
04210-69 Cylinder tube 46/211 Al 1 68,93 € 60100
04210-71 Cylinder tube 46/180 Al 1 68,93 € 60100
04210-72 Cylinder tube 46/325 Al 1 68,93 € 60100
04210-73 Cylinder tube 46/210 Al 1 68,93 € 60100
04210-74 Cylinder tube 46/100 Al 1 68,93 € 60100
04210-75 Cylinder tube 46/152.5 Al 1 68,93 € 60100
04210-76 Cylinder tube 46/287 Al 1 68,93 € 60100
04210-77 Cylinder tube 46/243.5 Al 1 68,93 € 60100
04210-78 Cylinder tube 46/257.5 Al 1 68,93 € 60100
04210-79 Cylinder tube 46/113 Al 1 68,93 € 60100




04210-81 Cylinder tube 46/167.5 Al 1 68,93 € 60100
04210-82 Cylinder tube 46/113 Al 1 68,93 € 60100
04210-82 Cylinder tube 46/113 Al 1 68,93 € 60100
04210-83 Cylinder tube 46/290.3 Al 1 89,95 € 60100|New
04210-84 Cylinder tube 46/327.8 Al 1 96,62 € 60100
04211-01 Cylinder tube 46/232 Al 1 85,55 € 60100
04211-02 Cylinder tube 46/130.5 Al 1 110,18 € 60100
04211-03 Cylinder tube 46/126 Al 1 93,77 € 60100
04211-04 Cylinder tube 46/208 Al 1 107,29 € 60100
04211-05 Cylinder tube 46/115 Al 1 100,06 € 60100
04211-06 Cylinder tube 46/181.5 Al 1 84,66 € 60100
04211-10 Cylinder tube 46/150 Al 1 77,82 € 60100
04211-11 Cylinder tube 46/160 Al 1 77,33 € 60100
04211-13 Cylinder tube 46/154 Al 1 78,44 € 60100
04211-14 Cylinder tube 46/200 Al 1 100,46 € 60100
04211-15 Cylinder tube 46/140 Al 1 68,09 € 60100
04211-16 Cylinder tube 46/118 Al 1 61,98 € 60100
04211-17 Cylinder tube 46/264 Al 1 113,26 € 60100
04211-19 Cylinder tube 46/163 Al 1 79,88 € 60100
04211-22 Cylinder tube 46/135 Al 1 74,16 € 60100
04211-23 Cylinder tube 46/191 Al 1 99,03 € 60100
04211-29 Cylinder tube 46/171 Al 1 81,16 € 60100
04211-30 Cylinder tube 46/148 Al 1 77,16 € 60100
04211-31 Cylinder tube 46/206 Al 1 99,79 € 60100
04211-32 Cylinder tube 46/177 Al 1 100,84 € 60100
04211-33 Cylinder tube 46/115 Al 1 60,70 € 60100
04211-34 Cylinder tube 46/196 Al 1 86,99 € 60100
04211-35 Cylinder tube 46/107 Al 1 88,50 € 60100
04211-36 Cylinder tube 46/138 Al 1 67,82 € 60100
04211-37 Cylinder tube 46/145 Al 1 91,43 € 60100
04211-38 Cylinder tube 46/230 Al 1 80,66 € 60100
04211-39 Cylinder tube 46/227 Al 1 80,22 € 60100
04211-40 Cylinder tube 46/171 Al 1 73,87 € 60100
04211-41 Cylinder tube 46/136.5 Al 1 67,60 € 60100
04211-42 Cylinder tube 46/136.5 Al 1 98,54 € 60100
04211-43 Cylinder tube 46/166 Al 1 77,38 € 60100
04211-44 Cylinder tube 46/112 Al 1 69,87 € 60100
04221-23 Cylinder tube 46/191 Al black 1 103,17 € 60100
04250-30 Cylinder tube 50/200 1 60,04 € 60100
04250-32 Cylinder tube 50/210 1 61,64 € 60100
04250-35 Cylinder tube 50/225 1 64,04 € 60100




04299-01 PDS Damping cup 44/36/40 1 100,06 € 60100
04299-11 PDS Damping cup 44/36/40 1 87,83 € 60100
04299-12 PDS Damping cup 44/36/50 M25x1 1 102,28 € 60100
04299-13 PDS Damping cup 44/34/36 TTX 1 77,82 € 60100
04300-01 Cylinder tube 36/137 Al 1 72,71 € 60100
04300-02 Cylinder tube 36/175 Al 1 72,71 € 60100
04300-05 Cylinder tube 36/145 Al 1 72,71 € 60100
04300-06 Cylinder tube 36/230 Al 1 72,71 € 60100
04300-07 Cylinder tube 36/167 Al 1 72,71 € 60100
04300-09 Cylinder tube 36/149 Al 1 72,71 € 60100
04300-10 Cylinder tube 36/200 Al 1 72,71 € 60100
04300-11 Cylinder tube 36/124 Al 1 72,71 € 60100
04300-12 Cylinder tube 36/119 Al 1 72,71 € 60100
04300-13 Cylinder tube 36/137 Al 1 72,71 € 60100
04300-14 Cylinder tube 36/134 Al 1 72,71 € 60100
04300-15 Cylinder tube 36/171 Al 1 72,71 € 60100
04300-16 Cylinder tube 36/181 Al 1 72,71 € 60100
04300-17 Cylinder tube 36/155 Al 1 72,71 € 60100
04300-18 Cylinder tube 36/242 Al 1 72,71 € 60100
04300-19 Cylinder tube 36/160 Al 1 72,71 € 60100
04300-20 Cylinder tube 36/185 Al 1 72,71 € 60100
04300-21 Cylinder tube 36/190 Al 1 72,71 € 60100
04300-22 Cylinder tube 36/195 Al 1 72,71 € 60100
04300-23 Cylinder tube 36/205 Al 1 72,71 € 60100
04300-24 Cylinder tube 36/210 Al 1 72,71 € 60100
04300-25 Cylinder tube 36/215 Al 1 72,71 € 60100
04300-26 Cylinder tube 36/220 Al 1 72,71 € 60100
04300-27 Cylinder tube 36/225 Al 1 72,71 € 60100
04300-28 Cylinder tube 36/235 Al 1 72,71 € 60100
04300-29 Cylinder tube 36/ 90 Al 1 72,71 € 60100
04300-30 Cylinder tube 36/134 Al **¥*¥*x%*x 1 72,71 € 60100
04300-32 Cylinder tube 36/174 Al 1 72,71 € 60100
04300-33 Cylinder tube 36/102.5 Al 1 72,71 € 60100
04300-34 Cylinder tube 36/105.5 Al 1 72,71 € 60100
04300-36 Cylinder tube 36/152 Al 1 72,71 € 60100
04300-37 Cylinder tube 36/95 Al 1 72,71 € 60100
04300-38 Cylinder tube 36/175 Al 1 72,71 € 60100
04300-39 Cylinder tube 36/123 Al 1 72,71 € 60100
04300-40 Cylinder tube 36/160 Al gold 1 72,71 € 60100
04300-41 Cylinder tube 36/152 Al Gold 1 72,71 € 60100
04300-42 Cylinder tube 36/132 Al Gold 1 72,71 € 60100




04300-45 Cylinder tube 36/141 Al 1 72,71 € 60100
04300-46 Cylinder tube 36/115 Al 1 72,71 € 60100
04300-47 Cylinder tube 36/129 Al 1 72,71 € 60100
04550-01 Weld-on tower 1 33,58 € 60310
04561-01 Bracket, WR 1 119,46 € 60103 |NLA
04561-02 Bracket, YZ, RM 1 89,30 € 60100
04562-01 Tower, WR 1 75,30 € 60199|NLA
04562-02 Tower ¥*¥***x 1 122,74 € 60100
04564-01 Washer, KTM 1 61,15 € 60100
04610-07 Cylinder tube 46/194.5 Al 1 98,56 € 60100
04610-22 Cylinder tube 46/207.5 Al 1 65,49 € 60100
04610-23 Cylinder tube 46/198 Al 1 63,77 € 60102 |NLA
04610-28 Cylinder tube 46/224 Al 1 59,32 € 60100
04610-31 Cylinder tube 46/215.5 Al 1 58,37 € 60100
04610-43 Cylinder tube 46/220.5 Al 1 58,92 € 60100
04610-59 Cylinder tube 46/227.5 Al 1 105,29 € 60100
04610-60 Cylinder tube 46/203 Al 1 56,98 € 60100
04610-67 Cylinder tube 46/185 Al 1 53,31 € 60100
04610-68 Cylinder tube 46/235 Al 1 61,37 € 60100
04620-01 Cylinder tube 51/182 Al 1 62,65 € 60100
04620-02 Cylinder tube 51/202/ Al 1 66,48 € 60100
04620-03 Cylinder tube 51/304/ Al 1 130,88 € 60100
04620-04 Cylinder tube 51/229/Al 1 160,03 € 60100
04620-05 Cylinder tube 51/169 Al 1 86,77 € 60100
04620-06 Cylinder tube 51/356 Al 1 108,12 € 60100
04620-07 Cylinder tube 51/220 Al 1 100,86 € 60100
04620-08 Cylinder tube 51/346 Al 1 143,60 € 60100
04620-09 Cylinder tube 51/209 Al 1 94,62 € 60100
04620-10 Cylinder tube 51/195 Al 1 80,22 € 60100
04620-11 Cylinder tube 51/241 Al 1 88,50 € 60100
04620-12 Cylinder tube 51/248 Al 1 89,61 € 60100
04620-13 Cylinder tube 51/253 Al 1 90,50 € 60100
04630-01 Inner Tube TTX, 44/185.5 1 76,21 € 60100
04630-02 Inner Tube TTX, 44/205,5 1 77,99 € 60100
04630-03 Inner Tube TTX, 44/307,5 1 105,73 € 60100
04630-04 Inner tube TTX44/232.5 1 91,43 € 60100
04630-06 Inner Tube 51/359.5 Al 1 100,84 € 60100
04630-07 Inner Tube TTX, 44/223.5 1 93,28 € 60100
04630-09 Inner Tube 51/212.5 Al 1 93,17 € 60100
04630-10 Inner Tube 51/198.5 Al 1 90,11 € 60100
04630-11 Inner tube TTX44/244.5 1 96,11 € 60100




04630-12 Inner Tube TTX44/251.5 Al 1 96,84 € 60100
04630-13 Inner Tube TTX44/256.5 1 97,61 € 60100
04640-01 Cylinder tube 44/170 TTX 1 159,20 € 60100
04640-02 Cylinder tube 44/190 TTX 1 132,52 € 60100
04640-03 Cylinder tube 44/208 TTX 1 132,52 € 60100
04640-04 Cylinder tube 44/160 TTX 1 159,20 € 60100
04640-05 Cylinder tube 44/150 TTX 1 176,99 € 60100
04640-06 Cylinder tube 44/130 TTX 1 127,19 € 60100
04640-07 Cylinder tube 44/155 TTX 1 127,19 € 60100
04640-08 Cylinder tube 44/180 TTX 1 132,52 € 60100
04640-09 Cylinder tube 44/145 TTX 1 102,28 € 60100
04640-10 Cylinder tube 44/200 TTX 1 159,20 € 60100
04640-11 Cylinder tube 44/165 TTX 1 132,52 € 60100
04640-12 Cylinder tube 44/185 TTX 1 159,20 € 60100
04640-13 Cylinder tube 44/334 TTX 1 142,08 € 60100
04640-14 Cylinder tube 44/292 TTX 1 142,08 € 60100
04640-81 Cyl. tube bla44TTX10 channels 1 174,36 € 60100
04716-01 Top-out spring 5/58 1 13,12 € 60100
04717-01 Seal 14/24/5 4XV-22485-00 1 9,04 € 60200
04717-02 Seal 14/24/5 1 8,97 € 60200
04717-03 Seal 16/26/5 1 6,68 € 60200
04717-05 Seal 18/30/5 1 16,06 € 60200
04718-04 Topout spring 4 N/mm 1 13,73 € 60100
04719-04 Topout spring 4 N/mm 1 11,22 € 60199|NLA
04720-02 Seal front fork 43 5VX-23145-00 1 14,18 € 60200
04720-03 Seal front fork 48 1 11,08 € 60200
04721-01 Scraper front fork 43 4TX-23144-00 1 9,49 € 60200
04721-02 Scraper front fork 48 1 10,81 € 60200
04721-03 Scraper front fork 43 1 11,26 € 60200
04721-04 Scraper front fork 48 (with spring) 1 11,78 € 60200
04722-01 O-ring 21.5x1.593210-22N50 NBR £ 1 3,45 € 60200
04722-02 O-ring 15.5x1.593210-16N51 NBR £ 1 2,98 € 60200
04722-03 O-ring 28.4x2.2 93210-29N50 NBR £ 1 2,40 € 60200
04722-04 O-ring 4.8x1.9 93210-05098 NBR £ 1 1,85 € 60200
04722-05 O-ring 41.7x3.593210-42263 NBR £ 1 5,94 € 60200
04722-06 O-ring 11.8x3.593210-12N54 NBR £ 1 4,47 € 60200
04722-08 O-ring 40.87x3.53 93210-41N50 NBRE 1 3,97 € 60200
04722-09 O-ring 13.5x1.593210-14N51 NBR £ 1 397 € 60200
04722-10 O-ring 24x2.093210-24N51 NBR £ 1 5,62 € 60200
04722-11 O-ring 9.8x1.9 93210-10107 NBR £ 1 3,74 € 60200
04722-12 O-ring 6.8x1.9 93210-07003 NBR £ 1 3,97 € 60200




04722-13 0O-ring 93210-06001 £ 1 4,34 € 60200
04722-14 O-ring 93210-09165 £ 1 4,34 € 60200
04722-15 0-ring 93210-34504 £ 1 4,24 € 60200
04722-16 0-ring 93210-18N01 £ 1 4,24 € 60200
04722-17 0-ring 93210-48214 £ 1 4,24 € 60200
04722-18 O-ring 29.74x3.53 1 6,95 € 60200
04722-19 O-ring 1 4,10 € 60200
04722-20 O-ring 1 7,32 € 60200
04722-21 O-ring 1 3,70 € 60200
04722-22 O-ring 1 3,68 € 60200
04722-23 O-ring 1 5,88 € 60200
04722-24 O-ring 1 6,45 € 60200
04722-25 O-ring 11.8x2.4 90° 1 3,97 € 60200
04722-26 O-ring 28.4x2.2 1 7,14 € 60200
04722-27 O-ring 11.8x2.4 1 3,58 € 60200
04722-28 O-ring 25,5x2,0 1 4,40 € 60200
04722-30 O-ring 27.7x1.9 1 3,68 € 60200
04722-31 O-ring 28.4x2.5 NBR70 1 3,40 € 60200
04722-34 O-ring 43.7x3.5 NBR £ 1 4,06 € 60200
04722-36 0O-ring 17.8x1.9 NBR £ 1 3,54 € 60200
04722-41 0O-ring 28.2x2.4 £ 1 4,34 € 60200|New
04722-44 0-ring 27.2x3.5 £ 1 4,34 € 60200|New
04722-46 O-ring 26.5x2.5 £ 1 4,34 € 60200(New
04722-52 O-ring 4.8x1.9 1 2,12 € 60200
04723-01 Nut, hex 90170-17N50 1 18,86 € 60200
04724-01 Bushing, 43/47 4TX-23125-B0 £ 1 8,24 € 60200
04724-02 Bushing, sliding  4TX-23135-B0 1 15,96 € 60200
04724-03 Bushing, 48/52 1 10,63 € 60200
04725-01 Bushing 43/46 5FL-23135-10 £ 1 10,37 € 60200
04725-02 Bushing 48/51 1 10,65 € 60200
04726-01 Key 90282-04N50 1 4,43 € 60200
04727-01 Spring 90501-04N50 1 4,76 € 60200
04727-02 Spring 5FL-2318N-00 £ 1 5,42 € 60200
04727-03 Spring 3VD-2319M-00 £ 1 5,80 € 60200
04727-04 Spring C05-2318N-41 £ 1 10,27 € 60200
04727-06 Spring C05-2318N-80 £ 1 3,99 € 60199 [NLA
04727-07 Spring 1 3,58 € 60200
04727-08 Spring 1 4,26 € 60200
04727-09 Spring 1 3,91€ 60200
04727-10 Spring 1 4,04 € 60200
04727-11 Spring 3.4/12.5/4.0 £ 1 6,56 € 60200




04728-01 Piston holder C05-2318E-70 £ 1 40,07 € 60100
04728-02 Piston holder C05-2318E-V1 £ 1 58,70 € 60100
04728-03 Piston holder C05-2318E-NO £ 1 42,00 € 60100|NLA
04728-03 Piston holder C05-2318E-NO £ 1 42,00 € 60100|NLA
04728-04 Piston holder C05-2318E-N1 £ 1 44,52 € 60100
04728-05 Piston holder 1 75,05 € 60100
04728-06 Piston holder 1 32,32 € 60100
04729-01 Shims 10/22/0.30 5FL-2332N-00 £ 1 1,67 € 60200
04729-02 Shim 14.5/23.9/0.20 4XV-22448-00 1 1,67 € 60200
04729-03 Shims 12/38/0.25 1 1,67 € 60200
04729-04 Shim 16.5/25.9/0.2 1 1,67 € 60200
04729-05 Shim 8/9.3/0.50 1 9,33 € 60200
04729-06 Shim 8/10/0.50 1 1,67 € 60200
04729-07 Shim 12/26/0.20 1 1,67 € 60200
04730-03 Seal kit 43mm front fork 1 55,48 € 60100
04730-04 Seal kit 48mm front fork (OEM) 1 52,33 € 60100
04731-01 Repair kit 1 146,23 € 60200
04731-08 Service kit 48mm front fork (OEM) 1 78,55 € 60100
04731-09 Service kit 43mm front fork (OEM) 1 78,55 € 60100
04731-10 Outer tube assy FL912 1 171,72 € 60100
04731-11 Outer tube kit FL918/FL928 with bushings 1 162,48 € 60100
04731-12 Inner tube assy (RH) FL912 1 447,64 € 60100
04731-13 Inner tube assy (LH) FL912 1 450,31 € 60100
04731-52 Re-work kit FL 907 1 1.126,30 € 60100
04732-02 Top nut S M48 C05-23111-70 £ 1 158,18 € 60100
04732-03 Top nut D M47 C05-23111-C9 £ 1 189,15 € 60100
04732-04 Top nut S M47 C05-23111-GO £ 1 163,87 € 60100
04732-07 Top nut SM4853 (C15-23111-90 £ 1 163,73 € 60100
04732-09 Top nut FG 860 assy 1 313,12 € 60100
04732-10 Top nut FG 925 1 284,17 € 60100
04732-11 Top nut assembly 1 215,87 € 60100
04732-17 Top nut assembly 1 479,08 € 60100
04732-18 Top nut FL 912 1 274,83 € 60100
04732-19 Top nut assembly FGR 301 1 319,28 € 60100
04732-27 Top nut assy ECFL 940 £ 1 297,85 € 60100
04733-01 Spacer 8/14/3 1 5,63 € 60200
04733-02 Spacer 8/12/5 C05-23113-70 £ 1 17,79 € 60100
04733-04 Spacer 8/15/5.5 1 23,98 € 60100
04733-05 Spacer 8/15/5.5 1 21,37 € 60100
04733-06 Clamp collar 8/17/5.5 1 18,77 € 60100
04734-01 Spring collar 5FL-2331U-00 £ 1 14,37 € 60100




04734-02 Spring collar 5FL-2331V-00 £ 1 15,52 € 60199|NLA
04734-03 Collar C05-2332U-20 £ 1 24,44 € 60100
04734-04 Spring collar 1 10,27 € 60200
04734-05 Spring collar 1 7,37 € 60200
04735-01 Bolt, fork 5FL-2311H-00 1 40,32 € 60100
04737-03 Nut M12x1 1 4,36 € 60200
04737-05 Nut M12x1.25 1 593 € 60200
04738-01 Washer 5FL-23165-00 1 5,69 € 60200
04739-01 Screw 5FL-23119-00 1 19,51 € 60199|NLA
04739-03 Screw C82-22417-00 £ 1 45,42 € 60100
04740-01 Bolt, adjusting 5FL-2311G-00 1 74,55 € 60100
04741-01 Circlip  CHO0-23183-00 1 1,23 € 60200
04741-02 Circlip 1 4,34 € 60200
04742-01 ForkbottomR7 L 5FL-23168-00 £****** 1 506,26 € 60100
04742-05 Fork bottom assy 1 341,06 € 60100
04742-07 Fork bottom LH (C05-23168-L0 £ 1 163,43 € 60100
04742-08 Fork bottom RH C05-23178-L0 £ 1 127,32 € 60104 |NLA
04742-09 Fork bottom LH  C05-23168-M0 £ 1 128,58 € 60104 |NLA
04742-10 Fork bottom RH C05-23178-M0 £ 1 128,58 € 60104 |NLA
04742-11 Fork bottom LH  C05-23168-R1 £ 1 188,03 € 60100
04742-12 Fork bottom RH  C05-23178-RO £ 1 188,03 € 60100
04742-13 Fork bottom RH C15-23178-50 OEM £ 1 172,60 € 60100
04742-14 Fork bottom LH C15-23168-50 OEM £ 1 136,97 € 60104 |NLA
04742-17 Fork Bottom RH C15-23178-70 £ 1 195,38 € 60100
04742-18 Fork Bottom LH C15-23168-70 £ 1 195,64 € 60100
04742-19 Fork Bottom RH FG 334 1 657,05 € 60100
04742-20 Fork bottom LH (€82-23168-00 £ 1 327,31€ 60100
04742-21 Fork bottom RH C82-23178-00 £ 1 327,31€ 60100
04742-23 Fork bottom RH 4B1-23178-00 £ 1 151,65 € 60104 |NLA
04742-24 Fork bottom LH 4B1-23168-00 £ 1 151,65 € 60104 |NLA
04742-25 Fork bottom RH C15-23178-80 £ 1 162,26 € 60100
04742-26 Fork bottom LH C15-23168-80 £ 1 169,80 € 60100
04742-32 Fork bottom RH 1 250,15 € 60100
04742-33 Fork bottom LH 1 205,45 € 60100
04742-36 Fork bottom RH 1 200,26 € 60100
04742-37 Fork bottom LH 1 193,31 € 60100
04742-40 Fork bottom LH 1 177,76 € 60100
04742-41 Fork bottom LH 1 233,46 € 60100
04742-42 Fork bottom RH 1 233,16 € 60100
04742-43 Fork bottom LH 1 223,68 € 60100
04742-44 Fork bottom RH 1 223,68 € 60100




04742-45 Fork bottom FG925 LH 1 236,14 € 60100
04742-46 Fork bottom FG925 RH 1 236,14 € 60100
04742-47 Fork bottom LH 1 169,43 € 60100
04742-48 Fork Bottom Black FG 424 1 135,55 € 60100
04742-49 Fork bottom RH 1 193,31 € 60100
04742-50 Fork bottom LH 1 193,62 € 60100
04742-51 Fork bottom LH 1 217,83 € 60100
04742-52 Fork bottom RH 1 217,42 € 60100
04742-53 Fork bottom RHA 1 229,10 € 60100
04742-54 Fork bottom RH 1 175,44 € 60100
04742-55 Fork bottom LH 1 197,45 € 60100
04742-56 Fork bottom LH 1 174,34 € 60100
04742-57 Fork bottom RH 1 173,44 € 60100
04742-58 Fork bottom LH 1 155,42 € 60100
04742-59 Fork bottom RH 1 155,11 € 60100
04742-60 Fork bottom RH 1 145,76 € 60100
04742-61 Fork bottom LH 1 146,09 € 60100
04742-62 Fork bottom RH 1 169,88 € 60100
04742-63 Fork bottom LH 1 169,88 € 60100
04742-64 Fork bottom LH NIX @43 1 165,41 € 60100
04742-65 Fork bottom RH NIX @43 1 165,40 € 60100
04742-68 Fork bottom LH £ 1 201,92 € 60100
04742-69 Fork bottom RH £ 1 201,92 € 60100
04742-74 Fork bottom RH 1 275,61 € 60100
04742-75 Fork bottom LH 1 275,61 € 60100
04742-76 Fork bottom NPX RH £ 1 271,16 € 60100
04742-77 Fork bottom NPX LH £ 1 271,16 € 60100
04742-78 Fork bottom RH NPX (343 1 284,50 € 60100
04742-79 Fork bottom LH NPX @43 1 284,50 € 60100
04747-02 Cap C05-2319U-70 £ 1 13,58 € 60100
04747-03 Cap C82-2319U-00 1 11,93 € 60100
04747-04 Cap 1 10,82 € 60100
04748-02 Bolt G C82-2311G-00 1 45,00 € 60100|NLA
04748-03 Bolt B C82-2311G-20 1 55,65 € 60100
04748-04 Adjuster 1 71,31 € 60100
04748-05 Adjuster 'COMP' 1 48,24 € 60100
04748-06 Adjuster 'REB' 1 48,24 € 60100
04748-08 Adjuster 1 88,02 € 60100
04748-09 Adjuster w. EC motor unit 1 222,13 € 60100
04748-10 Adjuster Clear 1 44,71 € 60100
04748-12 Adjuster 'REB' 1 36,87 € 60100




04748-13 Adjuster 'COMP' 1 36,87 € 60100
04748-14 Adjuster EC motor unit 1 220,13 € 60100
04748-20 Adjuster w. EC motor unit bl. left 1 220,28 € 60100
04748-21 Adjuster w. EC motor unit gr. right 1 220,28 € 60100
04748-23 Adjuster w. EC motor unit 1 212,69 € 60100
04748-26 Adjuster w. EC motor unit 1 311,55 € 60100
04748-33 Adjuster 'COMP' 1 48,81 € 60100
04748-34 Adjuster 'REB' £ 1 48,81 € 60100
04748-35 Adjuster 'REB' £ 1 37,69 € 60100
04748-36 Adjuster 'COMP' £ 1 37,69 € 60100
04748-41 Adjuster w. EC motor unit 1 209,65 € 60100|New
04749-02 Plate, center C05-2332R-70 £ 1 7,01 € 60200
04749-03 Washer 24.8/31/0.3 1 17,56 € 60100
04749-04 Washer 24.3/31.9/0.2 1 4,31€ 60100
04750-02 Bolt fork C05-2311H-GO £ 1 44,16 € 60100
04750-03 Housing M48/51 1 49,53 € 60100
04750-04 Housing RWU 1 146,30 € 60100
04750-05 Housing M48/53 1 36,83 € 60100
04750-06 Housing M47/53 1 74,84 € 60100
04750-07 Housing M53/57 1 60,83 € 60100
04750-08 Housing M47/49.8 1 46,88 € 60100
04750-09 Housing M47/65.4 1 74,60 € 60100
04750-10 Housing M47/51.8 1 38,85 € 60100
04750-11 Housing M47/49.8 Black 1 47,30 € 60100
04750-12 Housing M53x1.5/20 1 53,87 € 60100
04750-13 Housing M47/49.8 1 48,68 € 60100
04750-14 Housing M47/65.4 1 69,84 € 60100
04750-15 Housing M47/52.8 1 72,85 € 60100
04750-16 Housing M47/40 1 103,29 € 60100
04750-17 Housing M47/50.8 £ 1 79,39 € 60100
04750-19 Housing SL3 M47/52.8 1 59,71 € 60100
04750-20 Housing M47/40 Titanium grey 1 96,62 € 60100
04750-22 Housing M53x1.5/40 EC 1 92,17 € 60100(New
04751-02 Washer C05-23165-F0 £ 1 10,58 € 60200
04751-03 Washer 1 15,06 € 60100
04751-04 Washer 1 5,95 € 60200
04751-05 Washer 3/7.2/2 1 3,90 € 60200
04751-06 Washer 21/30/1 1 21,20 € 60100
04751-07 Washer 18/30/2.6 1 6,83 € 60200
04752-01 Washer 92907-20600 1 6,42 € 60200
04752-02 Washer 92907-14200 1 4,97 € 60200




04752-03 Washer 1 6,12 € 60200
04752-04 Washer 20/35.7/2.6 1 8,34 € 60200
04752-05 Washer 12.4/17/2.4 1 10,88 € 60200
04753-01 Nut 90170-20255 1 8,16 € 60200
04753-03 Nut M18x1 1 6,96 € 60200
04753-04 Flange nut Al SL3 M20x1 1 9,23 € 60200
04754-01 Screw C05-23119-80 1 34,45 € 60100
04754-02 Screw C05-23119-L0 £ 1 25,97 € 60100
04756-01 Adjuster 5FL-2318R-00 £ 1 28,46 € 60100
04756-03 Adjuster 1 13,53 € 60100
04756-04 Adjuster 1 28,80 € 60100
04756-05 Adjuster 1 14,35 € 60100
04757-01 Screw M10x1.25x25 90105-10N50 £ 1 11,96 € 60200
04757-02 Screw M6x30 91314-06030 £ 1 3,70 € 60199|NLA
04757-03 Screw M5x14 91314-05014 £ 1 4,29 € 60200
04757-04 Screw M8x35 91314-08035 £ 1 6,04 € 60200
04757-05 Screw M6x16 91314-06016 £ 1 4,31€ 60200
04757-06 Screw M8x16 91314-08016 £ 1 523 € 60200
04757-08 Screw M8x25 91314-08025 £ 1 6,60 € 60200
04757-09 Screw M8x45 1 4,02 € 60200
04757-10 Screw M5x12 1 3,29 € 60200
04757-13 Screw M5x10 1 3,32 € 60200
04757-14 Screw M5x20 1 3,47 € 60200
04757-15 Screw M8x25 1 4,14 € 60200
04757-16 Screw M8x30 1 3,97 € 60200
04757-17 Screw M8x40 1 4,47 € 60200
04757-18 Screw hex flange M6x40 £ 1 4,26 € 60200
04758-01 Washer 4TX-23115-00 £ 1 4,78 € 60200
04758-02 Washer C82-23116-00 £ 1 19,40 € 60199|NLA
04758-03 Washer 1 4,43 € 60100
04759-01 Circlip 4TX-23156-00 £ 1 4,29 € 60200
04759-03 Circlip 93440-29N50 £ 1 4,36 € 60200
04759-04 Circlip 1 4,27 € 60200
04759-05 Circlip 31x1 1 3,98 € 60200
04760-01 Outer tube 51/56/496 1 188,78 € 60100(NLA
04760-02 Outer tube 50/54/495 C05-23126-40 £ 1 200,12 € 60100
04760-03 Outer tube 53/56/496 C05-23126-50 £ 1 200,12 € 60100
04760-04 Outer tube 50/54/521 C05-23126-A0 £ 1 206,50 € 60104 |NLA
04760-05 Outer tube 50/54/496 C05-23126-D0 £ 1 200,12 € 60100
04760-06 Outer tube 50/54/486 C05-23126-H0 £ 1 200,12 € 60100
04760-07 Outer tube 50/56/496 C05-23126-E0 £ 1 200,12 € 60100




04760-09 Outer tube 50/54/466 C05-23126-J0 £ 1 200,12 € 60100
04760-10 Outer tube 54/54/538 C05-23126-L0 £ 1 200,12 € 60100
04760-12 Outer tube 50/54/491 C05-23126-V0 £ 1 200,12 € 60100
04760-13 Outer tube 53/56/478 C15-23126-00 £ 1 200,12 € 60100
04760-14 Outer tube 50/54/516 C15-23126-10 £ 1 259,14 € 60100
04760-16 Outer tube 50/54/561 C15-23126-20 £ 1 246,61 € 60100
04760-17 Outer tube 52/56/496 C05-23126-S0 £ 1 161,54 € 60100
04760-18 Outer tube 53/54/520 C15-23126-50 £ 1 200,12 € 60100
04760-19 Out tube 47,2/54/474 C05-23126-U0 £ 1 186,33 € 60100
04760-20 Outer tube 297 G C82-23126-00 £ 1 306,64 € 60100
04760-21 Outer tube 297 B C82-23126-20 £ 1 306,64 € 60100
04760-22 Outer tube 54/56/474 C15-23126-90 £ 1 396,90 € 60100
04760-23 Outer tube 50/54/491 4B1-23126-00 £ 1 200,12 € 60100
04760-24 Outer tube 50/54/478 C15-23126-80 £ 1 200,12 € 60100
04760-25 Outer tube 50/54/466 C15-23126-A0 £ 1 200,12 € 60100
04760-26 Outer tube 50/56/525 C15-23126-B0 £ 1 206,50 € 60104 NLA
04760-27 Outer tube 50/54/505 C15-23126-E0 £ 1 160,62 € 60100
04760-28 Outer tube 53/56/496 C15-23126-C0 £ 1 200,12 € 60100
04760-29 Outer tube 50/56/493 1 206,50 € 60104 |NLA
04760-30 Outer tube 50/54/478 1 200,12 € 60100
04760-32 Outer tube RWU 283mm 1 196,21 € 60100
04760-33 Outer tube 57/58/589 1 200,12 € 60100
04760-34 Outer tube 50/54/519 1 200,12 € 60100
04760-36 Outer tube 52/54/510 1 200,12 € 60100
04760-37 Outer tube 53/58/521 1 200,12 € 60100
04760-38 Outer tube 50/54/526 1 200,12 € 60100
04760-39 Outer tube 50/54/561 1 166,75 € 60100
04760-40 Outer tube 57/58/494 1 200,12 € 60100
04760-41 Outer tube 50/55/463 1 200,12 € 60100
04760-42 Outer tube 52/54/510 Black 1 200,12 € 60100
04760-44 Outer tube 57/58/569 1 200,12 € 60100
04760-45 Outer tube 50/54/526 1 200,12 € 60100
04760-46 Outer tube 53/54/521 1 200,12 € 60100
04760-47 Outer tube 57/58/511 1 200,12 € 60100
04760-48 Outer tube 57/58/538 1 200,12 € 60100
04760-49 Outer tube 51/56/507 £ 1 161,51 € 60100
04760-52 Outer tube 57/58/563 1 200,12 € 60100
04760-53 Outer tube 51/56/499 1 200,12 € 60100
04760-54 Outer tube 53/58/515 1 200,12 € 60100
04760-57 Outer tube 50/54/526 1 200,12 € 60100
04760-58 Outer tube 50/55/496 1 168,88 € 60100




04760-60 Outer tube 52/54/501 1 139,98 € 60100
04760-62 Outer tube 57/58/598 1 173,33 € 60100(New
04761-01 Inner tube 43/514 5FL-23124-00 £ 1 255,48 € 60100
04761-02 Inner tube 43/509 C05-23124-G0 £ 1 363,70 € 60100
04761-03 Inner tube 43/489 C05-23124-J0 £ 1 220,24 € 60104 NLA
04761-04 Inner tube 43/550 C05-23124-L0 £ 1 248,55 € 60100
04761-05 Inner tube 43/529 C05-23124-N0 £ 1 277,50 € 60100
04761-06 Inner tube 43/509 C05-23124-V0 £ 1 295,51 € 60100
04761-07 Inner tube 43/514 C05-23124-M0 £ 1 299,11 € 60100
04761-08 Inner tube 43/496 C15-23124-00 £ 1 281,51 € 60100
04761-09 Inner tube 43/534 C15-23124-10 £ 1 296,17 € 60100
04761-10 Inner tube 43/666 C05-23124-T0 £ 1 422,36 € 60100
04761-11 Inner tube 43/579 (Gold) C15-23124-20 £ 1 328,86 € 60100
04761-12 Inner tube 43/514 C05-23124-S0 £ 1 269,40 € 60100
04761-13 Inner tube 43/540 C15-23124-50 £ 1 218,80 € 60100
04761-14 Inner tube 43/497 C05-23124-U0 £ 1 237,47 € 60100
04761-15 Inner tube 43/607G C82-23124-00 £ 1 567,84 € 60100
04761-16 Inner tube 43/587G C82-23124-10 £ 1 567,84 € 60100
04761-17 Inner tube 43/607B C82-23124-20 £ 1 649,60 € 60100
04761-18 Inner tube 43/587B C82-23124-30 £ 1 649,60 € 60100
04761-20 Inner tube 43/519 4B1-23124-00 £ 1 357,69 € 60100
04761-21 Inner tube 43/501 C15-23124-80 £ 1 176,02 € 60100
04761-22 Inner tube 43/ C15-23124-A0 £ 1 244,29 € 60100
04761-23 Inner tube 43/543 C15-23124-B0 £ 1 183,28 € 60100
04761-24 Inner tube 43/522 C15-23124-E0 £ 1 168,55 € 60100
04761-25 Inner tube 43/ 1 201,55 € 60100
04761-26 Inner tube 43/503 C15-23124-D0 £ 1 161,43 € 60100
04761-27 Inner tube 43/503 1 188,56 € 60100
04761-28 Inner tube 43/491 1 200,42 € 60100
04761-29 Inner tube 48/611 1 153,88 € 60100
04761-30 Inner tube assy 43/602 1 444,14 € 60100
04761-31 Inner tube 43/491 M43x1,25 1 258,25 € 60100
04761-32 Inner tube 43/543 1 233,16 € 60100
04761-36 Inner tube 43/537 1 210,19 € 60100
04761-37 Inner tube 43/519.5 1 156,76 € 60100
04761-38 Inner tube 43/550 1 168,10 € 60100
04761-39 Inner tube 43/579 (Black) 1 166,92 € 60100
04761-40 Inner tube 48/545.5 1 190,83 € 60100
04761-41 Inner tube 48/639 TiN 1 240,05 € 60100
04761-42 Inner tube 43/511 TiN 1 163,59 € 60100
04761-43 Inner tube 48/590.5 1 212,57 € 60100




04761-44 Inner tube 48/618.5 1 194,84 € 60100
04761-45 Inner tube 43/524.5 1 208,12 € 60100
04761-46 Inner tube 43/545 TiN 1 191,45 € 60100
04761-47 Inner tube 48/562 1 243,44 € 60100
04761-48 Inner tube 48/615.5 TiN 1 247,28 € 60100
04761-49 Inner tube 43/531 TiN £ 1 221,01 € 60100
04761-51 Inner tube RWU 43/640 TiN £ 1 337,87 € 60100
04761-52 Inner tube 43/539 1 235,14 € 60100
04761-56 Inner tube 48/590.5 £ 1 241,15 € 60100
04761-57 Inner tube 43/552 1 270,05 € 60100
04761-60 Inner tube 43/667.5 1 201,12 € 60100|New
04762-01 Spring seat, upper 5FL-23142-00 £ 1 33,47 € 60100
04762-02 Spring seat, lower 5FL-2331K-00 £ 1 21,79 € 60100
04762-03 Spring seat, upper C05-23119-70 £ 1 35,41 € 60100
04762-04 Spring seat upper C05-23142-V0 £ 1 24,60 € 60100
04762-05 Spring seat lower C05-2331K-VO £ 1 102,10 € 60100
04762-06 Spring seat C05-2331K-L0 £ 1 5,69 € 60200
04762-07 Spring support 1 19,42 € 60100
04762-08 Spring support 1 6,49 € 60200
04762-09 Spring support 1 23,39 € 60100
04762-10 Spring support 1 27,21 € 60100
04762-11 Preload socket 1 31,34 € 60100
04763-01 Preload tube 128mm 5FL-2331L-00 £ 1 37,36 € 60100
04763-02 Preload tube 140mm C05-2331L-70 £ 1 3191€ 60100
04763-03 Preload tube 130mm C05-2331L-GO £ 1 34,24 € 60100
04763-04 Preload tube 153  C05-2331L-A0 £ 1 31,13 € 60100
04763-05 Preload tube 140.5mm C05-2331L-NO £ 1 14,09 € 60100
04763-06 Preload tube 86.5 C05-2331L-VO £ 1 40,47 € 60100
04763-07 Preload tube 180.5mmC05-2331L-L0 £ 1 23,49 € 60199|NLA
04763-08 Preload tube 111.5mm C15-2331L-10 £ 1 23,49 € 60199|NLA
04763-09 Preload tube 73.5 (C15-2331L-00 £ 1 46,84 € 60100
04763-10 Preload tube 287mm (C05-2331L-TO £ 1 23,49 € 60199 (NLA
04763-12 Preload tube 118mm (C05-2331L-U0 £ 1 20,87 € 60199 (NLA
04763-13 Preload tube 201mm (C82-23118-00 £ 1 4,30 € 60199 (NLA
04763-15 Preload tube 64,5mm C15-2331L-90 £ 1 110,54 € 60100
04763-16 Preload tube 42mm 4B1-2331L-00 £ 1 33,56 € 60100
04763-17 Preload tube 66,5mm C15-2331L-80 £ 1 39,01 € 60100
04763-19 Preload tube 70mm 1 26,32 € 60100
04763-20 Preload tube 120,5mm 1 29,00 € 60100
04763-21 Preload tube 99,5mm 1 27,17 € 60100
04763-22 Preload tube 91,5mm 1 27,85 € 60100




04763-23 Preload tube 103mm 1 40,01 € 60100
04763-25 Preload tube 71.5mm 1 32,91€ 60100
04763-26 Preload tube 106.1mm 1 11,08 € 60100
04763-27 Preload tube 174.8mm 1 22,83 € 60100
04763-28 Preload tube 129.8mm 1 64,92 € 60100
04763-29 Preload tube 133.8mm 1 13,68 € 60100
04763-30 Preload tube 143mm 1 26,31 € 60100
04763-31 Preload tube 153mm 1 43,81 € 60100
04763-34 Preload tube 114.1mm 1 19,80 € 60100
04763-35 Preload tube 138.8mm 1 11,65 € 60100
04763-36 Preload tube 95mm 1 29,65 € 60100
04763-37 Preload tube 148.8mm 1 13,14 € 60100
04763-38 Preload tube 109.3mm 1 23,37 € 60100
04763-39 Preload tube 153.5 mm 1 12,26 € 60100
04763-40 Preload tube 38.8/119 1 11,96 € 60100
04764-01 Piston cap 10/25 5FL-2318L-00 £ 1 21,48 € 60100
04765-02 Piston reb. C05-23171-VO £ 1 72,26 € 60100
04765-03 Piston reb. C05-23171-L0 £ 1 34,76 € 60100
04766-01 Piston compr. 10/25 5FL-2333F-00 £ 1 31,53 € 60100
04766-02 Piston compr. C05-2333F-VO £ 1 57,59 € 60100
04767-01 Rod 425.5 C05-2332G-GO £ 1 101,17 € 60100
04767-02 Rod 435.5 C05-2332G-70 £ 1 101,17 € 60100
04767-03 Rod 472.5mm C05-2332G-A0 £ 1 83,69 € 60101 |NLA
04767-04 Rod 447.5 5FL-2332G-00 £ 1 83,69 € 60101 |NLA
04767-05 Rod 405.5mm C05-2332G-J0 £ 1 83,69 € 60101 |NLA
04767-06 Rod 435.5 C05-2332G-NO £ 1 39,53 € 60100
04767-08 Rod 475.5mm C05-2332G-L0 £ 1 37,05 € 60100
04767-09 Rod 441 C05-2332G-V0 £ 1 80,16 € 60100
04767-10 Rod 428 C15-2332G-00 £ 1 83,69 € 60101 |NLA
04767-11 Rod 466mm C15-2332G-10 £ 1 83,69 € 60101 |NLA
04767-12 Rod 582.5 C05-2332G-T0 £ 1 83,69 € 60101 |NLA
04767-13 Rod 435.5mm C05-2332G-S0 £ 1 96,40 € 60100
04767-14 Rod 441mm C15-2332G-40 £ 1 43,88 € 60100
04767-15 Rod 462mm C15-2332G-50 £ 1 45,37 € 60100
04767-16 Rod 413.5mm C05-2332G-U0 £ 1 97,58 € 60100
04767-17 Rod 503,5mm C82-2332G-00 £ 1 108,30 € 60100
04767-18 Rod 473,5mm C82-2332G-10 £ 1 108,30 € 60100
04767-19 Rod 419mm C15-2332G-90 £ 1 114,99 € 60100
04767-20 Rod 441mm 4B1-2332G-00 £ 1 100,72 € 60100
04767-21 Rod 421mm C15-2332G-80 £ 1 73,63 € 60100
04767-22 Rod 426mm C15-2332G-A0 £ 1 83,69 € 60101 |NLA




04767-23 Rod 475mm C15-2332G-BO £ 1 106,33 € 60100
04767-24 Rod 454mm C15-2332G-E0 £ 1 93,39 € 60100
04767-25 Rod C15-2332G-DO £ 1 59,63 € 60100
04767-26 Shaft 1 93,63 € 60100
04767-27 Shaft  457,5mm 1 84,48 € 60100
04767-28 Shaft  422.5mm 1 39,89 € 60100
04767-29 Shaft 558mm 1 82,19 € 60100
04767-30 Shaft 477.5mm 1 87,05 € 60101 |NLA
04767-31 Shaft 474.1mm 1 71,23 € 60100
04767-33 Shaft 478.1mm 1 87,05 € 60101 |NLA
04767-34 Shaft 476.6mm 1 73,36 € 60100
04767-35 Shaft 497.5mm 1 40,11 € 60100
04767-36 Shaft 380.9mm 1 65,59 € 60100
04767-37 Shaft 476.6mm Al 1 60,19 € 60100
04767-38 Shaft 558mm 1 103,85 € 60100
04767-39 Shaft 488.3mm Al 1 86,24 € 60100
04767-40 Shaft 521.6mm Al 1 92,28 € 60100
04767-41 Shaft 560.4mm Al 1 86,95 € 60100
04767-42 Shaft 491.1mm Al 1 94,12 € 60100
04767-43 Shaft 492.3mm 1 49,45 € 60100
04767-44 Shaft 493.1mm 1 108,85 € 60100
04767-45 Shaft 560.4mm 1 108,85 € 60100
04767-46 Shaft 462.1mm 1 90,08 € 60100
04767-47 Shaft 12/478.3 1 104,56 € 60100
04767-49 Shaft 10/362 1 94,29 € 60100(New
04768-01 Reb. Needle 20deg. C05-23109-20 £ 1 11,78 € 60100
04768-02 Comp Needle 20deg. 5FL-2319L-00 £ 1 20,54 € 60100
04768-03 Reb. Needle 20deg. C05-23109-L0 £ 1 13,04 € 60100
04768-04 Comp Needle 20deg. C05-2319L-NO £ 1 29,04 € 60100
04768-05 Needle 20deg. 1 5,43 € 60200
04768-06 Needle 30deg. 1 4,61€ 60200
04768-07 Needle 30deg. 1 5,10 € 60200
04768-08 Needle 30deg. 1 5,76 € 60200
04768-11 Needle 55 deg NPX. £ 1 32,14 € 60100
04769-01 Bushing, shaft ~ 5FL-2312K-10 £ 1 9,88 € 60200
04770-01 Cap 5FL-2333J-00 £ 1 30,96 € 60100
04770-02 Cap C82-2333J-00 £ 1 55,27 € 60100
04770-03 Seal head 1 23,97 € 60100
04770-04 Seal head 1 38,91 € 60100
04771-01 Plunger 444 5FL-2318Y-00 £ 1 25,90 € 60101 (NLA
04771-02 Plunger 426.5 C05-2318Y-70 £ 1 21,95€ 60100




04771-03 Plunger 469/5  C05-2318Y-A0 £ 1 22,57 € 60100
04771-04 Plunger 416.5/5 C05-2318Y-GO £ 1 23,19 € 60100
04771-05 Plunger 396.5/5 C05-2318Y-J0 £ 1 22,96 € 60100
04771-06 Plunger 419 C15-2318Y-00 £ 1 25,90 € 60101 |NLA
04771-07 Plunger 426/6 C05-2318Y-NO £ 1 25,69 € 60100
04771-08 Plunger 432 C05-2318Y-VO0 £ 1 25,90 € 60101 |NLA
04771-09 Plunger 457/5 C15-2318Y-10 £ 1 25,90 € 60101 |NLA
04771-10 Plunger 573.5/5  C05-2318Y-TO £ 1 25,90 € 60101 |NLA
04771-11 Plunger C82-2318Y-00 £ 1 14,76 € 60100
04771-12 Plunger C82-2318Y-10 £ 1 14,76 € 60100
04771-13 Adj.rod 410/5mm 1 16,58 € 60100
04771-14 Adj.rod 466/5mm 1 16,58 € 60100
04771-15 Adj.rod 445/5mm 1 15,69 € 60100
04771-16 Adj.rod 437/5mm 1 34,85 € 60100
04771-17 Adj.rod 415mm 1 10,14 € 60100
04771-18 Adj.rod 1 10,14 € 60100
04771-19 Adj.rod 448mm 1 23,56 € 60100
04771-20 Adj.rod 413.5x6mm 1 21,30 € 60100
04771-21 Adj.rod 417x6mm 1 20,13 € 60100
04771-22 Adj.rod 453x6mm 1 18,68 € 60100
04771-23 Adj.rod 412x6mm 1 19,31 € 60100
04771-24 Adj.rod 556.1x5mm 1 31,93 € 60100
04771-25 Adj.rod 487.5x5mm 1 21,42 € 60100
04771-26 Adj.rod 466.2x3.5mm 1 5,30 € 60100
04771-27 Adj.rod 470.2x3.5mm 1 5,33€ 60100
04771-28 Adj.rod 475x5mm 1 26,95 € 60101 |NLA
04771-29 Adj.rod 489.5x3.5mm 1 7,39 € 60100
04771-30 Adj.rod 425x5mm 1 40,10 € 60100
04771-32 Adj.rod 480.3x3.5mm 1 4,28 € 60100
04771-34 Adj.rod 552.5x3.5mm 1 6,18 € 60100
04771-35 Adj.rod 490x5mm 1 34,06 € 60100
04771-36 Adj.rod 484.3x3.5mm 1 4,98 € 60100
04771-37 Adj.rod 459.5x3mm 1 33,28 € 60100
04772-01 Cyl.tube 25/259mm C05-2332F-70 £ 1 95,27 € 60100
04772-03 Cyl.tube 25/277.5mm C05-2332F-NO £ 1 67,06 € 60100
04772-04 Cyl.tube 25/275mm (C98-2332F-00 £ 1 66,09 € 60100
04772-05 Cyl.tube 25/345mm C15-2332F-20 £ 1 83,90 € 60102|NLA
04772-06 Cyl.tube 25/320mm C15-2332F-50 £ 1 113,05 € 60100
04772-07 Cyl.tube 25/258.5mm (€82-2332F-00 £ 1 81,49 € 60102|NLA
04772-08 Cyl.tube 25/258.5mm (€82-2332F-10 £ 1 105,31 € 60100
04772-10 Cyl.tube Reb. 25/275mm 1 84,32 € 60100




04772-11 Cyl.tube Comp. 25/275mm 1 86,55 € 60100
04772-12 Cyl.tube 25/258.5mm 1 100,99 € 60100
04772-13 Cyl.tube 30/246.7 mm 1 91,97 € 60100
04772-14 Cyl.tube 30/246.7 mm 1 91,97 € 60100
04772-15 Cyl.tube, Compression 30/246.7mm 1 83,90 € 60100
04772-16 Cyl.tube, Rebound 30/246.7mm 1 83,90 € 60100
04772-17 Cyl.tube, Compression 30/229.3mm 1 96,05 € 60100
04772-18 Cyl.tube, Rebound 30/229.3mm 1 97,15 € 60100
04772-19 Cyl.tube, Compression 30/250.5mm 1 57,45 € 60100
04772-20 Cyl.tube, Rebound 30/250.5mm 1 57,45 € 60100
04772-21 Cyl.tube, Compression 30/220.7mm 1 50,07 € 60100
04772-22 Cyl.tube, Rebound 30/220.7mm 1 65,38 € 60100
04772-23 Cyl.tube, Compression 30/275.9mm 1 78,92 € 60100
04772-24 Cyl.tube, Rebound 30/275.9mm 1 79,37 € 60100
04772-25 Cyl.tube, Compression 30/287.9mm 1 99,65 € 60100
04772-26 Cyl.tube, Rebound 30/287.9mm 1 100,30 € 60100
04772-30 Cyl. tube 30/321.3 £ 1 65,97 € 60100|New
04773-01 Piston Holder comp. C05-23367-70 £ 1 33,23 € 60100
04773-02 Piston Holder comp. C05-23367-NO £ 1 69,54 € 60100
04773-04 Piston Holder G C82-23367-00 £ 1 96,91 € 60100
04773-05 Piston Holder B C82-23367-20 £ 1 96,91 € 60100
04773-06 Piston Holder 1 28,33 € 60100
04773-07 Piston Holder 1 27,95 € 60100
04773-08 Piston Holder 1 29,48 € 60100
04773-09 Piston Holder 1 22,33 € 60100
04774-01 Bump rubber 5FL-2332K-00 £ 1 9,35€ 60100
04775-01 Bump stop C05-2333X-70 £ 1 26,69 € 60100
04775-02 Bump stop support C05-2333X-L0 £ 1 12,88 € 60100
04775-03 Washer C05-2333X-V0 £ 1 38,15 € 60100
04775-04 Washer C05-22253-V0 £ 1 28,02 € 60100
04775-05 Bump stop support 1 10,03 € 60200
04776-01 Ring, snap 5FL-23153-00 £ 1 4,09 € 60200
04776-02 Circlip 1 3,86 € 60200
04776-03 Circlip 1 3,70 € 60200
04777-02 Nut, flange M8 1 3,30 € 60200
04777-03 Nut, self-locking 1 3,56 € 60200
04778-01 Fender bracket 5FL-2317F-00 £ 1 84,11 € 60103 |NLA
04778-02 Fender bracket 1 143,54 € 60100
04778-03 Fender bracket 1 143,54 € 60100
04778-04 Fender bracket, LH 1 137,70 € 60100
04778-05 Fender bracket, RH 1 137,70 € 60100




04778-07 Fender bracket FL 922 1 91,06 € 60100
04778-08 Fender bracket 1 185,56 € 60100
04778-10 Fender bracket 1 106,06 € 60100
04778-11 Fender bracket 1 106,06 € 60100
04778-13 Fender bracket, LH black £ 1 94,39 € 60100
04779-01 Brake bracket left C05-2334G-E0 £ 1 327,07 € 60100
04779-02 Brake bracket right C05-2334H-EQ0 £ 1 327,07 € 60100
04782-01 Front fender Ya R1 4XV215111000 £ 1 336,24 € 60199|NLA
04782-02 Rubber bush 90480-12072 £ 1 24,86 € 60199|NLA
04782-04 Sleeve 90387-065J6 £ 1 3,88 € 60199|NLA
04784-01 Wheel Axle Yamaha Vmax 1 232,72 € 60199|NLA
04785-01 Spacer 10.3/12/30 1 16,68 € 60100
04785-02 Plate speedometer 1 24,12 € 60199 (NLA
04785-07 Spacer 6.5/12/11.8 1 55,04 € 60100
04785-08 Sleeve 10.5/14/8 1 14,68 € 60100
04785-09 Spacer 12/18/10 1 22,97 € 60100
04785-10 Spacer 10/16/10 1 7,34 € 60199
04790-02 Front Fork Legs. 53/56/717 1 1.870,29 € 10820(NLA
04792-01 Topout spring 4N/mm C05-23151-V0 £ 1 22,66 € 60100
04792-02 Topout spring 16N/mm 1 6,96 € 60200
04792-03 Topout spring 3.5N/mm 1 7,51€ 60200
04795-03 5YU-23106-50 Out. Tube comp 1 320,58 € 60100
04795-10 MTS Fork bottom - Innertube assy RH 1 305,47 € 60100
04796-01 Washer 1 8,08 € 60199|NLA
04796-03 Washer 15/10.4/2.4 1 6,34 € 60200
04798-01 Piston ring 28/30/4.9 1 20,54 € 60100
04798-02 Pistonring £ 1 14,35 € 60100
04805-01 Cylinder Tube Extension FGR700 1 40,90 € 60199 (NLA
04806-01 Seal ring 1 41,43 € 60199|NLA
04807-01 Volume spacer 28/39.5/180 1 34,71 € 60199|NLA
04807-02 Volume spacer 1 75,60 € 60100
04807-03 Volume spacer 28/36.5/171.5 1 57,58 € 60199|NLA
04807-04 Volume spacer 28/36.5/135.5 1 87,83 € 60100
04808-01 Cylinder head 46/55/26 Ducati OEM 1 119,56 € 60100
04809-01 Cylinder Tube Extension FGR800 1 63,37 € 60100
04809-02 Cylinder Tube Extension 1 62,82 € 60199|NLA
04809-03 Cylinder tube extension 25.2/36.4/43 1 60,04 € 60100
04809-04 Cylinder tube extension 25.2/39/72.5 1 58,92 € 60100
04810-01 Stop screw M5 1 7,23 € 60200
04811-01 Adapter 1 36,39 € 60199|NLA
04864-03 Cylinder head 90 pb 46/26 1 159,18 € 60100




04871-03 Cylinder head 90¢ pb 46/26******* 1 224,33 € 60100
04871-05 Cylinder head 348¢ pb 46/26 1 328,98 € 60100
04871-16 Cylinder head 130 pb 46/26 1 162,76 € 60100
04871-26 Cylinder head 148 pb 46/26 1 123,86 € 60102 |NLA
04872-03 Cylinder head 90 pb 46/26 1 292,84 € 60100
04872-05 Cylinder head 348 pb 46/26 1 145,15 € 60100
04872-26 Cylinder head 148 pb 46/26 1 162,76 € 60100
04873-01 Cylinder head 0° pb 46/26 1 224,33 € 60100
04873-03 Cylinder head 90° pb 46/26 1 292,84 € 60100
04873-19 Cylinder head 19° pb 46/26 1 158,36 € 60100
04877-03 Cylinder head 90° pb 46/26 1 189,44 € 60100
04877-05 Cylinder head 348° pb 46/26 1 189,44 € 60100
04877-19 Cylinder head 19° pb 46/26 1 189,44 € 60100
04881-03 Cylinder head 90deg pb 46/26 1 223,67 € 60100
04881-08 Cylinder head 347deg pb 46/26 1 137,44 € 60100
04881-14 Cylinder head 35deg pb 46/26 1 162,76 € 60100
04882-02 Cylinder head 355deg pb 46/26 1 162,76 € 60100
04882-03 Cylinder head 90deg pb 46/26 1 285,50 € 60100
04882-06 Cylinder head 10deg pb 46/26 1 172,77 € 60100
04882-08 Cylinder head 347deg pb 46/26 1 162,76 € 60100
04882-11 Cylinder head 30deg pb 46/26 1 172,77 € 60100
04882-12 Cylinder head 5deg pb 46/26 1 158,09 € 60200
04882-13 Cylinder head 23° pb 46/26 1 172,77 € 60100
04882-16 Cylinder head 130deg pb 46/26 1 167,21 € 60100
04882-20 Cylinder head 347deg pb 46/26 1 172,77 € 60100
04882-27 Cylinder head 350 deg pb 46/26 1 154,76 € 60100
04882-28 Cylinder head 70 deg pb 46/26 1 163,03 € 60100
04883-02 Cylinder head 355¢ pb 46/26 1 244,81 € 60100
04883-12 Cylinder head 5° pb 46/26 1 163,65 € 60100
04884-08 Cylinder head 347deg pb 46/26 1 177,44 € 60100
04886-08 Cylinder head 347deg pb 46/26 1 163,03 € 60100
04887-02 Cylinder head 355¢ pb 46/26 1 163,03 € 60100
04890-67 Cylinder head 20° pb 46/26 str sen 1 434,26 € 60100
04891-03 Cylinder head 90¢ pb 46/26 1 161,63 € 60100
04891-08 Cylinder head 347° pb 46/26 1 158,32 € 60100
04891-11 Cylinder head 30° pb 46/26 1 290,84 € 60100
04891-35 Cylinder head 320° pb 46/26 1 112,85 € 60102 |NLA
04892-03 Cylinder head 90deg pb 46/26 1 184,78 € 60100
04892-08 Cylinder head 347deg pb 46/26 1 161,63 € 60100
04892-16 Cylinder head 130deg pb 46/26 1 159,43 € 60100
04892-33 Cylinder head 137deg pb 46/26 1 95,65 € 60102 |NLA




04892-34 Cylinder head 300deg pb 46/26 1 159,43 € 60100
04893-01 Cylinder head 0° pb 46/26 1 290,84 € 60100
04893-02 Cylinder head 355° pb 46/26 1 227,47 € 60100
04893-03 Cyl head 90° pb 46/26 1 161,63 € 60100
04893-53 Cyl head 90° pb 46/26 machined 1 227,60 € 60100
04894-01 Support for PDS damping cup 1 19,46 € 60100
04896-01 Cylinder head 137deg pb 46/26 1 260,82 € 60100
04897-53 Cylinder head 90° pb 46/26 1 162,83 € 60100
04898-01 Cylinder head 350° pb 46/26 1 780,49 € 60100
04910-10 Cylinder tube 46/145 Al 1 64,82 € 60100
04910-19 Cylinder tube 46/190 Al 1 80,99 € 60100
04910-21 Cylinder tube 46/200 Al 1 83,28 € 60100
04910-27 Cylinder tube 46/230 Al 1 109,62 € 60100
04920-01 Cylinder tube 46/289 Al 1 101,29 € 60100
04920-02 Cylinder tube 46/345 Al 1 98,24 € 60100
04920-03 Cylinder tube 46/286 Al 1 91,83 € 60100
04920-04 Cylinder tube 46/331 Al 1 105,13 € 60100
05000-09 Shaft 16/180* ¥ *¥** ¥k k kb ok ko xk % 1 54,75 € 60101|NLA
05000-12 Shaft 16/210%**¥*kkskrkskokackoddokdokoxdok 1 81,91 € 60101|NLA
05002-01 Shaft 22/255 1 127,74 € 60101|NLA
05002-02 Shaft 22/167.5 1 136,55 € 60101|NLA
05002-03 Shaft 22/195%* ¥ ¥ Kk ksrkskdkackod kot ook ko 1 163,43 € 60100
05002-07 Shaft 22/270 1 127,74 € 60101 |NLA
05002-09 Shaft 22/175 1 163,43 € 60100
05002-10 Shaft 22/273 1 134,56 € 60101 |NLA
05002-80 Shaft, blank 22/350%* ¥ %%k ks kxkkx 1 173,44 € 60100
05003-01 Shaft 22/250%*** Kk dskrckskodkxckod kot dokox ko 1 136,08 € 60100
05005-01 Reservoir piston 54 flat 1 54,75 € 60199 (NLA
05007-01 Piston dia 58 1 39,58 € 60100
05007-02 Piston dia 58 1 20,36 € 60100
05007-04 Reservoir piston 58 hump 1 33,67 € 60199|NLA
05009-06 Circlip SgA 6 1 0,67 € 60200
05009-08 Circlip SgA 8 1 0,67 € 60200
05009-10 Circlip SgA 10 1 0,67 € 20483
05009-12 Circlip SgA 12 1 0,67 € 60200
05009-16 Circlip SgA 16 1 0,67 € 60200
05009-17 Circlip SgA 17 1 0,67 € 60200
05009-20 Circlip SGA 20 (19x1.2) 1 1,01 € 60200
05009-28 Circlip SgA 28 1 1,23 € 60200
05009-72 Circlip SgA 72 1 6,72 € 60200
05011-89 Chrome tube 50x2.5 mm 1 194,56 € 61200




05016-01 Spring clip 1 59,59 € 60100
05017-01 Stop washer 20/46/12 1 17,51 € 60100
05017-02 Stop washer 10/20/50 1 42,25 € 60100
05017-03 Stop washer 20/46/12, 2 holes 1 75,60 € 60100
05017-04 Stop washer M13x1/46/12, 2 holes 1 27,24 € 60100
05017-05 Stop washer M15x1/46/12, 2 holes 1 122,29 € 60100
05017-21 Stop washer 20/46/12 1 21,12 € 60100
05017-22 Stop washer 14/46/16 1 33,35€ 60100
05018-01 Adjustment ring 52/61.8/82.6 1 160,09 € 60100
05018-02 Adjustment ring 55/61.8/82.6 1 99,22 € 60100
05018-04 Spring platform 55/61.8/80.8 carbon 1 17,57 € 60100
05018-05 Spring platform 52/61.8/82.6 carbon 1 21,19 € 60100
05018-06 Spring platform TR/66.5/90 carbon 1 18,97 € 60100
05018-08 Spring platform 49/63.5/82.6 1 89,33 € 60100
05018-09 Spring platform TR/66.5/85 1 122,74 € 60100
05018-10 Spring platform 56/64.5/82.6 1 45,19 € 60100
05018-11 Spring platform 52/64.5/82.6 1 46,69 € 60100
05018-12 Spring platform 49/63.5/82.6 1 97,28 € 60100
05022-01 Seal head 16/46/21.5 1 30,02 € 60100
05023-01 Seal head 16/46/27.2 1 31,25 € 60199|NLA
05025-01 Seal head 16/46/34.3 1 91,16 € 60100
05030-02 Poppet seat compvalve shims 1 33,13 € 60200
05035-02 Adjustment needle 2.0 comp.adj. 1 33,35€ 60100
05036-02 Adjustment screw 2.0 comp.ad;. 1 83,38 € 60100
05037-02 End piece short thread 1 31,25 € 60199 (NLA
05039-02 Poppet comp.valve shims 1 31,25 € 60199 (NLA
05041-01 Adjustment screw 6/20.7 1 39,80 € 60100
05047-01 Spring 17/14/60 1 2,83 € 60199|NLA
05050-01 Spring 1.6/7.63/0.40 £ 1 1,80 € 60200
05050-02 Spring 2/3.9/3.9 £ 1 3,11 € 60200
05052-01 Back-up ring 22/28.3/1.6 PTFE 1 6,00 € 60200
05053-01 X-ring 21.82x3.53 80 Shore 1 498 € 60200
05055-01 Scraper 22/28x5/9 1 14,45 € 60200
05057-01 Circlip IV 21 1 191 € 60200
05057-02 Circlip IV 20.64x1.07 1 4,09 € 60200
05057-03 Circlip IV 16 1 2,36 € 60200
05057-04 Circlip IV 22 1 10,90 € 60200
05057-06 Circlip IV 45 1 7,59 € 60200
05059-01 Nut M16x1/8 1 14,51 € 60200
05059-02 Nut M12x1/10 1 4,28 € 60200
05059-03 Nut M16x1.5/8 1 3,46 € 60199|NLA




05059-04 Nut M16x1/6 1 15,31 € 60199|NLA
05059-05 Nut M16x1/8 -24 1 3,59 € 60200
05065-01 Cylinder cap 1 37,80 € 60100
05065-03 Cylinder cap 1 40,02 € 60100
05067-01 Cylinder cap 22/36 1 27,37 € 60199|NLA
05070-01 Bump rubber 21/50/42 1 19,43 € 60200
05070-02 Bump rubber 21/48/35 1 48,08 € 60200
05073-01 Banjo bolt M14x1.5 M6 1 13,12 € 60200
05073-02 Banjo bolt M14x1.5 1 18,35 € 60200
05080-03 Reservoir end 58 with filler hole 1 403,57 € 60100
05085-01 Poppet cone compvalve 22-rod shims 1 15,63 € 60199 (NLA
05086-01 Seal washer dia 14 14.7x22x1.5 1 1,23 € 60200
05086-02 Seal washer dia 14/18.7x1.5 1 2,59 € 60200
05090-01 Teflon band dia 58/5 1 6,69 € 60200
05096-06 Hose 14/14/650 1 149,87 € 60100
05096-08 Hose 14/14/550 1 177,80 € 60100
05103-04 End eye 16/68 balljoint 5536 1 48,56 € 60103 (NLA
05103-14 End eye 16/68 balljoint 5536-03 1 58,42 € 60103 |NLA
05106-01 Screw M8x40 special 1 7,01 € 60200
05107-08 Hose 400 mm svivel-M10 1 106,28 € 60100
05107-11 Hose 110 mm svivel-M10 1 104,51 € 60100
05107-12 Hose 310 mm svivel-M10 1 91,03 € 60100
05107-13 Hose 375 mm svivel-M10 1 98,84 € 60100
05108-01 Hose 200 mm svivel-svivel 1 77,80 € 60100
05108-08 Hose 400 mm svivel-svivel 1 102,28 € 60100
05108-10 Hose 500 mm svivel-svivel 1 94,50 € 60100
05110-01 Piston holder 22 1 245,48 € 60100
05112-01 Piston 12/46 HF/oring 1 141,71 € 60100
05114-24 Piston 46 Krebsoge 1 55,59 € 60100
05115-01 Stop rubber 23/36/8 1 6,85 € 60200
05116-01 Stop rubber 26/40/10 1 33,80 € 60200
05116-02 Stop rubber 34/45.5/10 1 28,91 € 60200
05117-01 Spacer, ball joint 12.7/25.4 1 6,67 € 60200
05122-01 Seal head 16/46/24.5 1 42,14 € 60100
05122-02 Seal head 16/46/24.5 1 27,47 € 60100
05122-05 Seal head TTX 16/44 1 54,97 € 60100
05122-06 Seal head TTX46 1 29,08 € 60100
05122-07 Seal head TTX46 1 31,85 € 60100
05122-08 Seal head 16/46/23.5 1 60,87 € 60100
05122-10 Seal head 16/44/21.3 1 58,15 € 60100
05122-11 Seal head 16/46/17,1 1 32,96 € 60100




05122-13 Seal head 18/50/26,5 1 36,41 € 60100
05122-14 Seal head 16/46/25.3 1 32,80 € 60100
05122-17 Seal head 50.6/16 1 54,20 € 60100
05126-02 Plug M12x1.5 1 3,88 € 60199|NLA
05126-03 Plug M12x1.5 1 6,07 € 60200
05129-03 Seal head assy 46/16 without 5115 1 41,70 € 60200
05129-04 Seal head assy 46/16 1 38,54 € 60200
05129-07 Seal head assy 50/16 1 43,75 € 60200
05129-08 Seal head assy 44/16 TTX 1 53,70 € 60200
05129-09 Seal head assy 46/16 1 52,78 € 60200
05129-11 Seal head assy 46/16 1 39,64 € 60200
05129-12 Seal head assy 46/16 low temp. 1 41,64 € 60200
05129-13 Seal head assy 46/16 short low temp 1 60,23 € 60200
05129-15 Seal head assy 44/16 1 71,33 € 60200
05129-18 Seal head assy 50/18 lip seal 1 84,32 € 60200
05129-19 Seal head assy 46/16 1 54,02 € 60200
05129-20 Seal head assy 46/16 low temp 1 59,37 € 60200
05129-22 Seal head assy 50.6/16 1 58,70 € 60200
05137-01 Scraper 50/56/5/7 1 18,64 € 60200
05137-02 Scraper 40/48/6 £ 1 10,01 € 60200
05155-03 Adjustment needle diam.4 1 12,79 € 60200
05155-04 Adjustment needle dia 3.2 1 23,35 € 60200
05156-01 Holder rubber stop 1 72,26 € 60100
05157-01 End eye 51/17.45 1 140,08 € 60100
05167-01 Washer 3/7/1 1 3,74 € 60200
05178-01 Spring seat 47.3/98/60 1 133,41 € 60100
05179-01 Spring clip for spring 57 1 106,73 € 60100
05179-02 Spring clip for spring 57 1 221,78 € 60100
05181-01 Swivel M10x1/30/18.5 1 166,32 € 60100
05181-02 Swivel M10x1/30/18.5 1 122,74 € 60100
05182-01 Washer 28.1/36/2.3 steel 1 11,68 € 60100
05184-01 Adjustment ring 69/73/98 1 56,78 € 60100
05184-02 Adjustment ring 63/66.5/90 1 75,05 € 60100
05184-03 Adjustment ring 63/70/90 1 72,43 € 60100
05185-01 Lock nut 69/98 1 46,28 € 60100
05185-02 Lock nut 63/90 1 61,15 € 60100
05186-01 End piece M58x1 M16x1 1 106,73 € 60100
05187-04 Outer tube Al 298/TREIX2 * ¥ * ¥ ¥k ¥k 1 533,65 € 60100
05188-01 Cylinder head Lancer Evo IV grp N 1 217,73 € 60100(NLA
05188-04 Cyl. headM14x1.5/M47x1/111.5 PDS 1 167,80 € 60100|NLA
05189-02 Sleeve 51.9/53.9/102 al 1 160,09 € 60100




05190-02 Washer 14.1/30/15 1 22,24 € 60100
05191-01 Spacer 12/26/9 1 14,45 € 60100
05191-02 Spacer 12.1/24/20 1 15,52 € 60199|NLA
05191-04 Spacer 15/26/13.6 1 43,92 € 60100
05191-05 Spacer 15/26/9 1 26,24 € 60100
05191-09 Spacer 12/23/25 1 24,46 € 60100
05191-10 Spacer 12.1/18/5 1 9,85 € 60100
05191-11 Spacer 12.1/18/10 1 9,55 € 60100
05193-01 Spring support 73/98/21 1 593 € 60200
05193-02 Spring support 64/90/21 1 6,18 € 60200
05193-03 Spring support 60/80/19*** ¥k kx4 1 53,26 € 60100
05193-04 Spring guide 58/90/21 1 7,24 € 60200
05193-05 Spring support 60/80/19 1 71,15 € 60100
05193-06 Spring support 66.5/69.5/94/21 1 52,59 € 60100
05193-07 Spring support 60/80/15 1 51,81 € 60100
05193-08 Spring guide 70/90/38 1 19,26 € 60100
05193-09 Spring guide 67/70/90/21 1 69,05 € 60100
05193-11 Spring support 58/90/21 1 mm slit 1 70,04 € 60100
05193-13 Spring support 65/84/11 1 44,47 € 60100
05193-31 Spring support 60/84/22, alu 1 97,84 € 60100
05194-00 Camber bushing offset 0 1 88,94 € 60200
05194-05 Camber bushing offset 0.5 1 94,28 € 60200
05194-10 Camber bushing offset 1 1 94,28 € 60200
05194-15 Camber bushing offset 1.5 1 94,28 € 60200
05194-20 Camber bushing offset 2 1 94,28 € 60200
05194-25 Camber bushing offset 2.5 1 94,28 € 60200
05196-01 Mounting stud 90/M17x1/M12x1,25 1 89,83 € 60100
05198-01 Reservoir end M45x1 swivel 1 194,78 € 60100
05216-02 Support ring 54.2/62.8/1.2 1 25,24 € 60200
05216-04 Support ring 50.2/56.7/1.2 1 71,71 € 60200
05218-03 Shaft 22/230* ¥ ¥**kkkk kb swokkkokx ok x 1 327,01 € 60101 |NLA
05220-01 Cylinder tube 46/55/190 1 99,73 € 60100
05220-03 Cylinder tube 46/55/229.5 1 103,98 € 60100
05220-04 Cylinder tube 46/55/270 1 116,03 € 60100
05220-05 Cylinder tube 46/55/206 1 146,04 € 60100
05220-06 Cylinder tube 46/55/239 1 92,54 € 60100
05220-07 Cylinder tube 46/55/259 1 111,36 € 60100
05220-08 Cylinder tube 46/55/294 1 169,79 € 60100
05220-09 Cylinder tube 46/55/175 1 138,00 € 60100
05221-01 Cylinder tube 46/52/239 1 100,42 € 60100
05221-02 Cylinder tube 46/52/259 1 103,53 € 60100




05221-06 Cylinder tube 46/52/189 1 85,06 € 60100
05225-01 Reservoir 58/46/94 1 111,59 € 60102 |NLA
05225-02 Reservoir 58/46/82 1 408,91 € 60100
05227-03 Center screw M10x1/9/0.5 1 21,68 € 60100
05228-01 Center nut M10x1/12 1 23,25 € 60100
05229-01 Spacer ring 46/49.8/2 1 24,46 € 60100
05230-01 Upright bracket Lancer Evo 5 gr N 1 173,99 € 60199 (NLA
05242-02 Mounting washer 49,6/16/8,5 1 78,94 € 60100
05242-06 Mounting washer 46.9/16/8.5 1 108,95 € 60100
05242-07 Support washer 46,9/16/10,2 1 101,17 € 60100
05257-02 Screw M5x12 1 0,67 € 60200
05258-02 Spring pin FRP 4x6 steel £ 1 0,63 € 60200|NLA
05258-04 Spring pin FRP 4x20 1 1,01 € 60200
05258-05 Spring pin FRP 4x32 1 3,27 € 60200
05258-06 Spring pin 2x12 Stainless steel 1 0,97 € 60200
05260-01 Washer 14.1/22.5/6 1 13,34 € 60100
05261-01 End piece M16x1/M12x1.25 1 113,84 € 60100
05262-01 Anti-roll bar bracket M52x1.5 1 168,99 € 60100
05262-02 Anti-roll bar bracket M52x1.5 1 143,42 € 60100
05269-02 Spacer 22/42 [2¥ ¥ xFFAxAA KA A KK A KA Ak 1 16,68 € 60100
05273-14 Jet 1.4/M7x1/10.5 1 13,76 € 60199|NLA
05273-15 Jet 1.5/M7x1/10.5 1 53,36 € 60100
05273-16 Jet 1.6/M7x1/10.5 1 53,36 € 60100
05273-18 Jet 1.8/M7x1/10.5 1 53,36 € 60100
05273-20 Jet 2/M7x1/10.5 1 53,36 € 60100
05273-24 Jet 2.4/M7x1/10.5 1 53,36 € 60100
05273-28 Jet 2.8/M7x1/10.5 1 53,36 € 60100
05280-01 Seal head 16/46/21.5 1 31,69 € 60100
05280-02 Seal head 16/46/21.5 1 77,82 € 60100
05280-03 Seal head 16/46/21.5 1 50,42 € 60100
05280-05 Seal head 16/44/21.3 1 46,37 € 60100
05281-01 Spring support 53/74/19 1 5,73 € 60100
05281-02 Spring support 52/72/70 1 88,94 € 60100
05281-03 Spring support 52/72/90 1 150,09 € 60100
05281-04 Spring support 57/72/70 1 104,95 € 60100
05281-06 Spring support 49/74/19 1 96,72 € 60100
05281-07 Spring guide 49/74/19 1 88,94 € 60100
05281-12 Spring support 48/74/17 1 58,37 € 60100
05281-30 Spring support 57/83/21 1 73,55 € 60100
05281-31 Spring support 60/83/21 1 65,49 € 60100
05281-32 Spring support 60/83/21 1 82,51€ 60100




05286-01 Shaft 16/248.5 1 134,75 € 60100
05286-02 Shaft 16/298.5 1 175,66 € 60100
05286-03 Shaft 16/315.5 1 150,97 € 60100
05290-01 Spacer 47.4/52/2.8 1 50,76 € 60199|NLA
05292-01 Sleeve 14.1/25/25 1 83,38 € 60100
05292-04 Sleeve 14.1/20/20 1 43,36 € 60100
05299-02 Protection washer 32/45/1 1 7,13 € 60199 (NLA
05305-01 Reservoir cap 58 1 27,61 € 60100
05305-01 Reservoir cap 58 1 27,61 € 60100
05349-01 Bracket 1 24,46 € 60100
05352-01 Cylinder tube assy 36/40/339 1 171,79 € 60100(NLA
05352-02 Cylinder tube assy 36/40/317******* 1 408,24 € 60100
05357-03 Hose 850/90 1 90,23 € 60100
05357-05 Hose 320/90 1 137,34 € 60100
05358-01 Lock pin 1 9,96 € 60200
05359-01 Lock nut M14X1.5/9.5 1 6,19 € 60200
05359-02 Lock nut M18 X 1.5 Fujilok 1 22,97 € 60100
05361-01 Washer SRB 14x24x2, Bix 1 0,67 € 60200
05370-01 Seal SOQI CHO-23144-00 1 7,73 € 60200
05371-01 Bushing 40/44/20 (DDK) 1 12,29 € 60200
05373-01 Spacer 12/40 1 3,36 € 60199|NLA
05374-01 Filter M5 #8145-00-050-1 1 22,13 € 60200
05375-01 Bump rubber 12/39/40 1 14,46 € 60200
05375-03 Bump rubber 15/38/50 1 74,44 € 60200
05375-05 Bump rubber 12/39/30 1 52,87 € 60200
05375-06 Bump rubber 15/38/26 1 35,04 € 60200
05375-07 Bump rubber 12/39/20 1 25,69 € 60200
05375-15 Bump rubber 12/40/10 PUR 550 1 13,75 € 60200
05375-16 Bump rubber 12/40/10 PUR 650 1 15,43 € 60200
05378-01 Reservoir bracket 51.2%* % ¥k kkdxkk 1 152,98 € 60100
05378-10 Reservoir bracket 51.2 carbon 1 10,92 € 60100
05378-20 Reservoir bracket 54.4 Carbon 1 9,16 € 60100
05379-02 Compression housing 1 56,42 € 60199|NLA
05383-01 Bushing, rear 1 15,86 € 60203 |NLA
05384-01 End eye 1 62,26 € 60100
05389-01 Screw,Volvo #969278 ST 4.8x13 1 0,52 € 60199|NLA
05390-01 Lock nut M10X1.25/8.3 1 2,85 € 60200
05402-01 Check valve dia 6.3 no hole 1 41,70 € 60100
05402-02 Check valve dia 6.3/1.0 1 12,79 € 60100
05402-03 Check valve dia 6.3/1.2 1 41,70 € 60200
05402-04 Check valve dia 6.3/1.4 1 7,78 € 60200




05402-05 Check valve dia 6.3/1.6 1 9,46 € 60200
05402-06 Check valve dia 6.3/1.8 1 7,78 € 60200
05402-07 Check valve dia 6.3/2.0 1 12,79 € 60200
05402-08 Check valve dia 6.3/2.2 1 10,01 € 60200
05402-09 Check valve dia 6.3/2.4 1 12,79 € 60100
05402-10 Check valve dia 6.3/0.5 1 13,90 € 60100
05402-11 Check valve dia 6.3/0.8 1 41,70 € 60100
05402-12 Check valve dia 6.3/0.25 1 28,68 € 60100
05404-01 Screw K6S M6x12 A2-70 £ 1 0,67 € 60200
05404-02 Screw K6S M8x20 A2-70 £ 1 1,01 € 60200
05404-03 Screw K6S M6x20 A2-70 £ 1 1,92 € 60200
05404-05 Screw K6S M8x35 10.9 FZB £ 1 7,32 € 60200
05404-06 Screw K6S M6x25 A2-70 £ 1 3,37€ 60200
05404-07 Screw K6S M6x30 A2-70 £ 1 342€ 60200
05404-08 Screw M6x40 1 2,67 € 60200
05404-09 Screw K6S M8x30 A2-70 £ 1 3,56 € 60200
05404-10 Screw M6x35 1 1,01€ 60200
05404-11 Screw M6x8 1 1,23 € 60200
05404-12 Screw M8x12 1 2,14 € 60200
05404-13 Screw K6S M6x16 1 1,83 € 60200
05404-14 Screw K6S M8x25 1 3,38€ 60200
05404-17 Screw K6S M10x50 A2-70 £ 1 6,45 € 60200
05406-03 Cylinder cap 16 1 28,68 € 60100
05407-02 Lock nut Tr57x2/NV63 /5.5 ***x*kxxkx 1 34,61 € 60199|NLA
05407-03 Lock nut MJ58x1.5/NV63/5.5 1 87,83 € 60100
05410-01 Stop screw DIN551 M6x10 nylon 1 1,23 € 60200
05410-02 Stop screw DIN551 M6x8 nylon 1 1,01 € 60200
05411-01 Spring retainer dia. 57 (2.25") 1 141,42 € 60100
05411-02 Spring retainer dia. 50.8 (2") 1 92,23 € 60100
05411-04 Spring retainer dia. 57 (2.25") 1 90,76 € 60100
05411-06 Spring retainer dia. 50.8 (2") 1 91,34 € 60100
05411-07 Spring retainer dia. 50.8 (2") 1 160,09 € 60100
05411-08 Spring retainer dia. 59 1 93,22 € 60100
05412-02 Spring retainer 50.8 (2 ") bell ca 1 146,75 € 60100
05412-03 Spring retainer 60 bell ca 1 100,06 € 60100
05413-01 Lock nut 1 37,80 € 60100
05414-01 Stop washer 1 12,47 € 60100
05415-11 Piston 44 Krebsoge 1 44,47 € 60100
05418-01 Piston ring 44 1 5,99 € 60200
05418-05 Piston ring 5.5/44 Machined 1 52,64 € 60200




05419-01 Adjustment needle 1 121,85 € 60100
05420-01 Needle seat 1 10,23 € 60200
05421-01 Needle housing 1 10,90 € 60200
05422-01 Adjustment knob clear 1 7,87 € 60199 (NLA
05422-02 Adjustment knob gold 1 22,24 € 60100
05424-01 Spring 2.18/4.7/1.72 1 3,92 € 60200
05425-01 Spacer, ball joint 7.98x18.98 1 37,80 € 60100
05425-03 Spacer, ball joint 7.98x20 1 10,49 € 60100(NLA
05425-12 Spacer, ball joint 7.98x29,34 1 46,46 € 60199|NLA
05425-30 Spacer, ball joint 8x15.1 Stainless 1 8,29 € 60199 (NLA
05425-31 Spacer, ball joint 8x16 Stainless 1 15,01 € 60100
05426-01 Plug Koenig MB800-060 1 6,63 € 60200
05426-02 Plug Koenig MB600-070 1 7,24 € 60199|NLA
05426-03 Plug Koenig MB600-080 £ 1 17,75 € 60200
05427-01 Shaft 16/136 1 42,16 € 60101|NLA
05427-02 Shaft 16/142 1 46,15 € 60101|NLA
05427-03 Shaft 16/158 1 46,15 € 60101|NLA
05427-04 Shaft 16/151 1 65,59 € 60100
05427-06 Shaft 16/166.5 1 65,59 € 60100
05427-07 Shaft 16/195.5 1 71,15 € 60100
05427-08 Shaft 16/232.5 1 82,27 € 60100
05427-09 Shaft 16/179.5 1 50,03 € 60101|NLA
05428-05 Cylinder body 147 ¥ #xkxkxskackkrokrk 1 170,77 € 60100
05431-03 Cylinder tube, inner 44/47/113.2 1 47,14 € 60100
05431-80 Cylinder tube,inner blank 44/47/280 1 88,94 € 60100
05434-01 End eye 59, 5¥*#xkxkrohhabohhokxokxskakx 1 255,48 € 60100
05434-03 End eye 74%¥*Fkkxskrskohsohakorckaokxok ko 1 306,85 € 60100
05434-06 End eye 39% ¥k kkrkrkohoharhbokokxkxkax 1 61,77 € 60103 |NLA
05434-07 End eye 47%¥*Fkkrkrskonsohokockiokxkxkxx 1 61,77 € 60103 |NLA
05438-01 Spring platform 36 1 88,10 € 60199|NLA
05441-01 Spring retainer dia. 36 (1.5") 1 101,29 € 60100
05441-21 Spring retainer dia. 36 (1.5") 1 66,98 € 60100
05449-01 Support washer 37/20/7 1 4,26 € 60200
05449-03 Support washer 39/12/7 1 27,79 € 60100
05449-05 Support washer 39/12/17 1 22,02 € 60199|NLA
05449-06 Support washer 39/14/17 1 31,13 € 60100
05449-07 Support washer 39/14/14 1 43,36 € 60100
05460-03 Shaft 16/158 1 105,40 € 60101 |NLA
05460-08 Shaft 16/232.5 1 175,13 € 60100
05460-09 Shaft 16/179.5 1 108,76 € 60101 |NLA
05460-10 Shaft 16/256 1 133,30 € 60101 |NLA




05460-11 Shaft 16/276 1 133,30 € 60101 |NLA
05460-12 Shaft 16/298 1 278,71 € 60100
05461-01 Valve lining 1 11,43 € 60199|NLA
05462-01 Sleeve 1 11,75 € 60199|NLA
05463-01 Pin 1 4,72 € 60199|NLA
05464-01 Preloader 7.4/24.5 1 31,70 € 60100
05465-03 Tube 58.5 1 6,92 € 60102 |NLA
05465-04 Tube 51.5 1 6,92 € 60102 |NLA
05465-08 Tube 133 1 6,92 € 60102 |NLA
05465-10 Tube 152 1 9,33 € 60102 |NLA
05465-11 Tube 172 1 9,33 € 60102 |NLA
05465-12 Tube 194 1 6,61 € 60199|NLA
05466-03 Preload pin 97.7 1 24,54 € 60199 (NLA
05466-04 Preload pin 90.7 1 24,54 € 60199 (NLA
05466-06 Preload pin 106.2 1 24,54 € 60199 (NLA
05466-08 Preload pin 172.2 1 58,37 € 60100
05466-09 Preload pin 119.2 1 24,54 € 60199 (NLA
05466-10 Preload pin 191.2 1 23,70 € 60199|NLA
05466-11 Preload pin 211.2 1 23,70 € 60199|NLA
05466-12 Preload pin 233.2 1 23,60 € 60199|NLA
05467-01 Mounting bolt 1 17,20 € 60199 (NLA
05468-01 Adjustment wheel 1 30,20 € 60199 (NLA
05469-02 End eye 43 1 178,10 € 60100
05469-09 End eye 113.5 1 333,53 € 60100
05470-01 Valve seat 35.1 1 48,56 € 60199|NLA
05470-02 Valve seat 39.6 1 50,45 € 60199|NLA
05471-01 Shuttle valve 1 14,79 € 60199 (NLA
05473-01 Spring 4/22.6/2.7 1 2,62 € 60199|NLA
05473-02 Spring 4/22.6/6.5 1 2,83 € 60199|NLA
05473-03 Spring 4/22.6/9 1 4,82 € 60199|NLA
05481-01 Piston 59.6/68.5 1 115,62 € 60100
05488-02 Ball bearing 61808-2RS1 £ 1 61,15 € 60100
05488-03 Ball bearing stainless steel 1 151,20 € 60100
05500-01 Shaft 16/252 1 68,22 € 60100
05500-02 Shaft 16/272 1 62,89 € 60100
05500-03 Shaft 16/264 1 65,40 € 60100
05500-04 Shaft 16/313 1 86,85 € 60100
05500-05 Shaft 16/143 1 54,36 € 60100
05500-06 Shaft 16/153 1 56,08 € 60100
05500-07 Shaft 16/163 1 58,93 € 60100
05500-08 Shaft 16/173 1 60,64 € 60100




05500-09 Shaft 16/183 1 50,45 € 60100
05500-10 Shaft 16/193 1 76,44 € 60100
05500-11 Shaft 16/203 1 64,97 € 60100
05500-12 Shaft 16/213 1 59,06 € 60100
05500-13 Shaft 16/223 1 52,84 € 60100
05500-14 Shaft 16/233 1 54,03 € 60100
05500-15 Shaft 16/243 1 70,38 € 60100
05500-16 Shaft 16/158 1 57,99 € 60100
05500-17 Shaft 16/307 1 81,21 € 60100
05500-18 Shaft 16/188 1 58,47 € 60100
05500-19 Shaft 16/168 1 54,39 € 60100
05500-20 Shaft 16/269 1 75,63 € 60100
05500-21 Shaft 16/289 1 77,09 € 60100
05500-22 Shaft 16/134 1 41,15 € 60100
05500-23 Shaft 16/350 1 82,29 € 60100
05500-25 Shaft 16/198 1 61,72 € 60100
05500-26 Shaft 16/148 1 56,02 € 60100
05500-27 Shaft 16/333 1 87,71 € 60100
05500-28 Shaft 16/132 1 70,81 € 60100
05500-29 Shaft 16/208 1 50,78 € 60100
05500-31 Shaft 16/178 1 46,91 € 60100
05500-37 Shaft 16/400 1 106,86 € 60100
05501-01 Bushing 54/58/20 upper 1 73,95 € 60200
05502-01 Scraper 1 19,93 € 60200
05502-02 Scraper 54/62.8/6 1 87,83 € 60200
05502-04 Scraper 50/58/4/7 1 10,91 € 60200
05502-05 Scraper 1 61,15 € 60200
05502-06 Scraper 50/60.6/7.3/9.5 £ 1 38,14 € 60200
05502-22 Scraper 50 1 50,10 € 60200
05502-23 Seal 50 1 50,10 € 60200
05505-10 Shaft jet bleed 3.5/M7/18 1 9,74 € 60200
05506-19 Shaft 16/168 1 135,69 € 60100
05508-01 Shaft 16/293 1 122,57 € 60100
05508-02 Shaft 16/278 1 120,51 € 60100
05508-03 Shaft 16/253 1 151,82 € 60100
05508-04 Shaft 16/303 1 123,98 € 60100
05508-05 Shaft 16/203 1 144,66 € 60100
05508-06 Shaft 16/320 1 156,79 € 60100
05508-07 Shaft 16/368 1 142,28 € 60100
05508-08 Shaft 16/268 1 131,07 € 60100
05508-09 Shaft 16/238 1 165,83 € 60100




05508-10 Shaft 16/260 1 154,36 € 60100
05509-03 Shaft 16/289 1 70,85 € 60100
05509-14 Shaft 16/233 1 52,51 € 60100
05509-17 Shaft 16/307 1 85,16 € 60100
05509-21 Shaft 16/289 1 59,67 € 60100
05511-01 Cylinder Tube 36/40/334 1 371,11 € 60100
05511-02 Cylinder Tube 36/40/317 1 394,62 € 60100
05511-03 Cylinder Tube 36/40/389 1 394,62 € 60100
05511-04 Cylinder Tube 36/40/288 1 371,11 € 60100
05511-05 Cylinder Tube 36/40/300 1 371,11 € 60100
05511-06 Cylinder Tube 36/40/370 1 344,16 € 60100
05511-07 Cylinder tube 36/40/329 1 335,17 € 60100
05511-80 Cylinder Tube , blank 36/40/391 1 244,81 € 60100
05512-01 Clamp 50mm 1 7,12 € 60399
05513-01 Shaft 16/293 1 182,77 € 60100
05514-01 Shaft 18/311 1 55,55 € 60100
05514-02 Shaft 18/341 1 59,00 € 60100
05514-03 Shaft 18/391 1 66,25 € 60100
05514-04 Shaft 18/461 1 66,26 € 60100
05514-50 Shaft blank 18/500 1 83,56 € 60100
05517-03 Spacer, bj $12.72, 12x24.65 1 13,63 € 60100
05517-04 Spacer, bj ¢12.72, 10x12.4 1 33,35 € 60100
05518-05 Spacer, ball joint 8x19 1 5,60 € 60200
05521-03 Shaft jet bleed 4/M7/34, 7% **x**xx*x 1 6,00 € 60200
05536-03 Ball joint dia 12.7/25.4/12.7 1 72,33 € 60200
05536-05 Ball joint dia 12.7/22.23/11.1 1 26,68 € 60200
05536-08 Ball joint dia 9.525/23.012/20.650 1 307,45 € 60201 |NLA
05536-17 Ball joint dia 20/42/25 1 116,92 € 60200
05536-19 Ball joint dia 12.7x25.4x15.87 1 44,14 € 60200
05536-22 Ball joint dia 18/42/23 1 108,72 € 60200
05536-23 Ball joint, dia 12.7/28.575/23.8 1 241,14 € 20483
05536-24 Ball joint, dia 12.7/25.4/15.9 1 153,65 € 20483
05536-30 Ball joint dia 16/32/21 1 37,80 € 60200
05536-50 Ball joint 18/33/20 1 200,12 € 60100
05536-51 Ball joint 16/30/19 1 200,12 € 60100
05536-52 Ball joint 14/28/17 1 200,12 € 60100
05536-83 Ball joint dia 12.7/25.4/12.7 1 50,79 € 60201 |NLA
05550-02 Adjustment needle diam.4 1 37,80 € 60100
05564-02 Valve bleed 4.0 one way valve dia5 1 14,38 € 60100
05566-01 Valveassy no hole shaft bleed 4.0** 1 96,50 € 60100
05566-03 Valve dia 1.2 shaft bleed 4.0%**** 1 31,67 € 60199|NLA




05566-05 Valve dia 1.6 shaft bleed 4.0****** 1 82,91€ 60100
05585-03 Shaft 16/230 1 93,57 € 60100
05586-02 Spacer 12/24/6.5 1 10,91 € 60199|NLA
05586-03 Spacer 10/20/3 1 33,35€ 60100
05586-04 Spacer 10/20/9.5 1 35,58 € 60100
05586-07 Spacer 10/20/7 1 17,24 € 60100
05589-01 Reservoir bracket 51.4%** ¥ ***xk%xk* 1 43,57 € 60100
05589-02 Reservoir bracket cap 51.4 1 13,95 € 60199 (NLA
05593-01 Press screw M8x30 £(HFH-M8%*30 Z1) 1 5,60 € 60200
05594-02 Cyl head McPh 5.2/M47x1/96.5 PDS 1 266,16 € 60100
05594-80 Cylinder head, blank 1 291,50 € 60100
05601-01 Spring seat 47.3/85/37 1 98,40 € 60100
05601-02 Spring seat 47.3/85/30 1 77,82 € 60100
05601-70 Spring seat 69.5/94/22 1 130,26 € 60100
05605-01 Cylinder head 113/66/25.4 groove 1 165,43 € 60100
05606-01 Gas valve 1 21,18 € 60100
05607-03 Cylinder tube 46/55/259 1 135,41 € 60100
05607-04 Cylinder tube 46/55/288 1 135,41 € 60100
05607-06 Cylinder tube 46/55/346 1 135,41 € 60100
05608-01 Shaft 14/177 1 116,94 € 60100
05608-02 Shaft 14/202 1 90,95 € 60100
05608-03 Shaft 14/227 1 95,51 € 60100
05608-04 Shaft 14/252 1 95,77 € 60100
05608-05 Shaft 14/277 1 87,32 € 60100
05608-06 Shaft 14/302 1 51,92 € 60100
05609-00 Shaft jet 0/M7x0.75/6 1 8,00 € 60200
05609-14 Shaft jet 1.4/M7x0.75/6 1 17,79 € 60100
05610-01 Nut M14x1/22/5 1 12,50 € 60100
05612-01 End eye 14/43/25.4 1 76,71 € 60100
05612-02 End eye 14/71/25.4 1 96,95 € 60100
05615-01 Seal head 14/M48x1.5/20 1 54,48 € 60100
05616-01 Cap, 23.8x13 1 6,23 € 60200
05619-01 Seal head assembly 14/M48x1.5/20 1 86,46 € 60100
05621-02 Shaft jet bleed 2.5/M7/37.7 1 16,79 € 60100
05621-03 Shaft jet bleed 4/M7/37.7 1 7,48 € 60200
05621-04 Shaft jet bleed 3.2/M7/37.7 1 16,79 € 60200
05621-06 Shaft jet bleed 5/M7/36.9 1 10,84 € 60200
05621-07 Shaft jet bleed 4/M7/35.7 1 5,83 € 60200
05621-30 Shaft jet bleed 0/M7/48 1 39,47 € 60200
05624-10 Cylinder head TTX44 flat 1 138,08 € 60100
05624-20 Cylinder head TTX44 flat 1 295,51 € 60100




05624-30 Cylinder head 90deg pb TTX 1 170,52 € 60100
05625-03 Reservoir bracket 1 141,42 € 60100
05625-04 Reservoir bracket sealed 1 174,32 € 60100
05627-01 Sleeve 53.5/55.5/25 1 13,90 € 60100
05629-01 Seal head assy 46/16 McPh 1 48,36 € 60200
05629-02 Seal head assy 46/16 McPh 1 65,19 € 60200
05643-02 PDS Damping cylinder 31/64 1 106,18 € 60100
05643-03 PDS Damping cylinder 31/69 1 110,06 € 60100
05643-04 PDS Damping cylinder 31/74 1 92,28 € 60100
05643-05 PDS Damping cylinder 31/94 1 106,18 € 60100
05644-01 PDS Damping cylinder 31/46 1 94,50 € 60100
05644-02 PDS Damping cylinder 31/63 1 102,28 € 60100
05645-03 PDS Damping cylinder 31/55.9 (2099) 1 129,85 € 60100
05645-04 PDS Damping cylinder 31/63.9 (2099) 1 129,85 € 60100
05645-13 PDS Damping cylinder 31/55.9 EVO 1 91,61 € 60100
05645-14 PDS Damping cylinder 31/63.9 EVO 1 96,95 € 60100
05647-01 Reservoir 40/210 1 226,13 € 60100
05647-02 Reservoir 40/290 1 226,13 € 60100
05653-02 Hose str swi/135g swi L=480mm 1 943,59 € 60100
05655-02 Adjustment needle diam. 2.5 1 16,01 € 60200
05655-03 Adjustment needle diam.4 1 7,01€ 60200
05655-04 Adjustment needle dia 3.2 1 5,68 € 60200
05655-05 Adjustment needle diam.4 30deg 1 9,23 € 60200
05655-06 Adjustment needle diam.5 1 6,69 € 60200
05655-07 Adjustment needle diam.5 45deg 1 6,79 € 60200
05656-01 Distance nut, 20mm 1 54,48 € 60100
05656-02 Distance nut, 26 mm 1 55,14 € 60100
05656-03 Distance nut, 30 mm 1 55,37 € 60100
05656-04 Distance nut, 41 mm 1 56,70 € 60100
05656-05 Distance nut, 44 mm 1 87,83 € 60100
05656-06 Distance nut, 17.5 mm 1 83,38 € 60100
05657-01 Piston 31 PDS 1 86,72 € 60100
05657-02 Piston 31 PDS integrated 1 77,82 € 60100
05658-01 Stop ring M24x1 1 50,59 € 60100
05659-01 Piston ring 31/26/7.5 1 30,19 € 60100
05660-01 Lid, for piston 5657-01 1 12,50 € 60100
05662-01 End piece M 65x1.5 M16x1 1 199,90 € 60199|NLA
05663-01 Bump rubber 45/60/5 PUR 85 Shore 1 88,94 € 60200
05664-01 Cyl. headMcPh 7.5/M47x1/83.3 1 171,79 € 60100|NLA
05664-02 Cyl. headMcPh 7.5/M47x1/85.7 1 194,11 € 60100
05665-00 Valve assy no hole shaft bleed 3.2 1 22,35 € 60399




05665-05 Valve assy dia 0.5 shaft bleed 3.2 1 22,35 € 60399
05665-08 Valve assy dia 0.8 shaft bleed 3.2 1 22,35 € 60399
05665-10 Valve assy dia 1.0 shaft bleed 3.2 1 22,35 € 60399
05665-12 Valve assy dia 1.2 shaft bleed 3.2 1 22,35 € 60399
05665-14 Valve assy dia 1.4 shaft bleed 3.2 1 22,35 € 60399
05665-16 Valve assy dia 1.6 shaft bleed 3.2 1 22,35 € 60399
05665-18 Valve assy dia 1.8 shaft bleed 3.2 1 22,35 € 60399
05665-20 Valve assy dia 2.0 shaft bleed 3.2 1 22,35 € 60399
05665-22 Valve assy dia 2.2 shaft bleed 3.2 1 22,35 € 60399
05665-24 Valve assy dia 2.4 shaft bleed 3.2 1 22,35 € 60399
05666-00 Valve assy no hole shaft bleed 4.0 1 29,57 € 60399
05666-08 Valve assy dia 0.8 shaft bleed 4.0 1 29,57 € 60399
05666-10 Valve assy dia 1.0 shaft bleed 4.0 1 29,57 € 60399
05666-12 Valve assy dia 1.2 shaft bleed 4.0 1 29,57 € 60399
05666-14 Valve assy dia 1.4 shaft bleed 4.0 1 29,57 € 60399
05666-16 Valve assy dia 1.6 shaft bleed 4.0 1 29,57 € 60399
05666-18 Valve assy dia 1.8 shaft bleed 4.0 1 29,57 € 60399
05666-20 Valve assy dia 2.0 shaft bleed 4.0 1 29,57 € 60399
05666-22 Valve assy dia 2.2 shaft bleed 4.0 1 29,57 € 60399
05666-24 Valve assy dia 2.4 shaft bleed 4.0 1 29,57 € 60399
05669-03 Spacer 16/30/3 1 13,68 € 60100
05669-20 Spacer 16/30/20 1 29,24 € 60100
05679-01 End eye Assy 36mm spring, 95 1 185,66 € 60399
05680-02 Outer tube 44/59/336 1 602,03 € 60100
05680-03 Outer tube 44/62/300 1 324,46 € 60100
05681-01 Cylinder head 37/14/112.5 1 230,14 € 60100
05681-03 Cylinder head 37/14/120.5 1 194,78 € 60100
05681-04 Cylinder head 37/14/108.6 1 206,29 € 60100
05681-80 Cylinder head blank 1 196,78 € 60100
05682-01 Spring seat 29/75/56.5 1 81,50 € 60100
05683-01 End cap 36/16 gold 1 24,01 € 60100
05684-01 End piece M16x1/M14x1.5/77 1 120,07 € 60100
05685-01 Guide sleeve 24/56.5/40 1 4,67 € 60200
05686-01 Washer 14/34/5 1 15,63 € 60199|NLA
05687-01 End piece M47x1 M16x1 1 78,94 € 60100
05688-01 Spacer 1 27,79 € 60100
05688-02 Spacer 1 71,71 € 60100
05688-03 Spacer, TTX46 1 15,19 € 60100
05688-04 Spacer, 33/14.1/7 1 9,90 € 60100
05690-01 Outer tube 44/55/300 1 463,61 € 60100
05690-02 Outer tube 44/55/350 1 490,29 € 60100




05693-01 Screw MC6SF M4x10 12.9 fzb £ 1 4,20 € 60199|NLA
05695-01 Outer tube 60/67/333 1 641,71 € 60100
05695-05 Outer tube 60/67/378 1 641,71 € 60100
05698-01 Cylinder head 90 ph**** ¥ ¥kxk ki x* 1 162,76 € 60100
05703-01 Guide ring 108/5 1 39,12 € 60199|NLA
05712-01 Bushing 53/56/20 1 98,72 € 60200
05715-36 Bleed shim 12/36/0.15 3 slots 1 14,58 € 60200
05718-01 Cylinder head pin 54x18 M14x1,5 1 375,55 € 60100
05719-01 End piece M16x1/54 dia 18/M14x1,5 1 159,20 € 60100
05722-03 Top mount 1 256,00 € 60100
05740-01 End Piece 1 181,44 € 60100
05794-00 Camber bushing no. 0, offset 3.0 1 66,71 € 60200
05794-01 Camber bushing no. 1 offset 2.44 1 66,71 € 60200
05794-02 Camber bushing no. 2 offset 1.88 1 66,71 € 60200
05794-03 Camber bushing no. 3 offset 1.32 1 66,71 € 60200
05794-04 Camber bushing no. 4 offset 0.76 1 60,60 € 60200
05794-05 Camber bushing no. 5 offset 0.20 1 66,71 € 60200
05813-01 Cylinder pin ¥ skt skokrkskdhonkodorkdokoxdok 1 16,62 € 60100
05813-02 Cylinder pin (cp m6 A1025010)****** 1 14,84 € 60100
05817-01 Preloader** ¥ krkrckxokaokdoksdokodokoskxskxok 1 63,87 € 60199|NLA
05818-01 Spring SF-TFX 2/5/20 (75 N/mm) £¥** 1 10,07 € 60200
05840-01 Cylinder body 155 *# & kxkxsknkkrokrok 1 274,78 € 60102 |NLA
05840-05 Cylinder body 147 ¥ #xkxkxskackkrokrk 1 257,06 € 60102 |NLA
05840-08 Cylinder body 21 Q% *#*#xkxkxskackkrokrok 1 296,18 € 60102 |NLA
05842-01 Separating plate 1 102,28 € 60100
05846-01 Hose attach. ring*** ¥ #xkrckxckxkxr®x 1 184,91 € 60100
05847-01 Lock nut 1 89,90 € 60100
05849-01 Valve seat shim TT44 Mk2 1 7,68 € 60200
05854-01 Piston 46 1 350,21 € 60100
05856-01 Spring support 1 3,57 € 60199|NLA
05858-01 Cylinder head 1 312,18 € 60100
05861-01 Clamp washer*¥# ¥ kskkook sk xokkokkokdokok x 1 35,24 € 60199|NLA
05862-01 Preloading ring %%k ¥k xkkokokohokxokx ok 1 26,46 € 60100
05863-01 Hose attachm ring M12 1 97,33 € 60105|NLA
05864-01 Nut Steel M20x1.5 1 13,08 € 60100
05865-01 Reservoir end 44/M12 1 159,43 € 60100
05865-02 Reservoir end 44/M14 1 145,86 € 60100
05865-04 Reservoir end 44/Swivel 1 257,48 € 60100
05865-06 Reservoir end 44/M10x1 1 159,43 € 60100
05865-07 Reservoir end 44/Swivel 3/8 hose. 1 194,11 € 60100
05865-08 Reservoir end Swivel 3/8 hose BOB. 1 178,77 € 60100




05865-09 Reservoir end Swivel 3/8 hose BOB2 1 220,80 € 60100
05865-16 Reservoir end M10x1 BOB-R 1 192,78 € 60100
05870-01 Cylinder cap TT44 1 50,45 € 60199|NLA
05873-01 Reservoir attach.long****** ¥k x k% 1 318,19 € 60100
05876-08 Reservoir 36/80 1 39,75 € 60100
05876-10 Reservoir 36/100 1 33,83 € 60100
05876-18 Reservoir 36/180 1 52,08 € 60100
05876-22 Reservoir 36/220 1 108,54 € 60100
05900-01 Cylinder head ST44/20.6/35.5 1 60,04 € 60100
05900-11 Cylinder head ST44/25.4/37.5 1 74,67 € 60102 |NLA
05901-01 Spacer ring 1 16,85 € 60100
05902-01 Cylinder tube 44/88 1 113,90 € 60102 |NLA
05902-07 Cylinder tube 44/158 1 136,97 € 60100
05903-01 End cap 1 42,59 € 60100
05906-01 Hose attach. ring 1 97,12 € 60199 (NLA
05907-01 Spring retainer 50,8 1 52,25 € 60100
05907-02 Spring retainer 57 1 54,48 € 60100
05907-03 Spring retainer 61.8 1 100,06 € 60100
05907-04 Spring retainer 57 1 91,06 € 60100
05907-05 Spring retainer 60 1 75,05 € 60100
05910-01 Nut M15x1/18 1 101,84 € 60100
05911-02 Cylinder head, McPh 7.5/M47x1/85.7 1 186,78 € 60100
05911-04 Cylinder head McPh 7.5/M47x1/86.6 1 186,78 € 60100
05911-06 Cylinder head McPh M8x1/M47x1/86.6 1 158,04 € 60100
05913-01 Swivel 10.2/13.5/25.4 1 192,11 € 60100
05914-01 Bracket 50/55.5/12 1 59,81 € 60100
05914-02 Bracket 50/55.5/12 1 59,81 € 60100
05915-01 Support ring 12.1/50/24 1 35,58 € 60100
05915-02 Spring seat retainer 1 101,39 € 60100
05916-01 Sleeve 12.1/14/39 1 28,91 € 60100
05916-03 Sleeve 12.1/16/39 1 28,36 € 60100
05918-01 Spring seat 47.3/98/14 1 105,62 € 60100
05918-02 Spring seat 47.3/95/22.3 1 159,43 € 60100
05920-01 Cylinder head pb 46/flat 1 355,76 € 60100
05921-01 Washer 12.1/37/4 1 34,46 € 60100
05923-09 Spring 70/270/45 1 102,05 € 60301 |NLA
05925-01 Rubber cap 1 7,90 € 60200
05928-01 Springclip dia 57. 38/72/51.85***** 1 88,20 € 60199|NLA
05930-01 Thrust washer SKF AS 3047 £ 1 3,88 € 60199|NLA
05930-02 Thrust washer AS 6590 £ 1 14,68 € 60199|NLA
05934-01 PDS Piston 31 assembly 1 112,88 € 60100




05935-01 Hose 3/8 90/straight 2x swivel L300 1 143,59 € 60100
05935-03 Hose 3/8 90/straight 2x swivel L400 1 161,56 € 60100
05935-06 Hose 3/8 90/straight 2x swivel L550 1 176,11 € 60105|NLA
05936-01 Hose 90/300 1 227,80 € 60100|NLA
05936-03 Hose 90/600 1 300,06 € 60105|NLA
05936-04 Hose 90/1000 1 375,39 € 60100|NLA
05937-01 End eye 16/43.1/25.4 1 88,94 € 60100
05938-02 Ring shim 34/38/0.38 1 1,67 € 60200
05938-03 Ring shim 34/36/0.38 1 1,67 € 60200
05938-07 Ring shim 36/40/0.38 1 1,67 € 60200
05939-01 End eye assy STJ adj (US stock) £ 1 146,96 € 60100
05940-02 Piston 46 integr. piston ring 1 67,49 € 60399
05941-01 Piston ring 46 SOQ 1 20,58 € 60200
05942-01 End piece, 2-w comp.adj. click 1 44,47 € 60100
05943-01 Needle housing clear ****#kxkxkx! 1 90,05 € 60100
05943-02 Needle housing blue 1 90,05 € 60100
05944-01 Adjustment needle 1,5mm 1 7,29 € 60199 (NLA
05944-02 Adjustment needle 1,5mm 1 10,62 € 60200
05945-01 Spring SS2387 0,4x2x5,37 £ 1 0,67 € 60200
05945-02 Spring 0.35xDy2.4x7.6, c=2.3 N/mm 1 0,67 € 60200
05946-01 Comp. adj. 2-way assy 2.5 1 154,31 € 60399
05946-03 Comp. adj. 2-way assy 1.5 1 154,31 € 60399
05947-01 Piston 46 1 273,49 € 60100
05952-01 Spacer 15.0x18.0x4.5mm 1 25,02 € 60100
05952-02 Spacer 15.0x18.0x2.0mm 1 37,80 € 60100
05952-03 Spacer 15x22.2x14.2 1 4430 € 60100
05952-05 Spacer 15/22.2/2 1 4447 € 60100
05952-06 Spacer 15/22.2/15 1 51,14 € 60100
05952-07 Spacer 15/22.2/7 1 46,69 € 60100
05952-08 Spacer 15/22/17 1 67,82 € 60100
05952-09 Spacer 15/22/2 1 62,26 € 60100
05952-10 Spacer 14.1/20/3.1 1 41,70 € 60100
05952-12 Spacer 15/22.2/7 1 40,58 € 60100
05952-13 Spacer 15/22.2/2 1 40,02 € 60100
05952-14 Spacer 15/22/11 1 42,81 € 60100
05953-01 Needle housing 2,5mm, clear 1 90,05 € 60100
05953-02 Needle housing 2.5mm, gold 1 58,92 € 60100
05953-03 Needle housing 2,5mm, 1-way, clear 1 106,73 € 60100
05954-01 Adjustment needle 2,5mm 1 38,91 € 60100
05954-02 Adjustment needle 2.5mm linear***** 1 41,14 € 60100
05954-03 Adjustment needle 2.5mm linear hex 1 41,14 € 60100




05954-04 Adjustment needle 1.5mm hex 1 46,14 € 60100
05955-01 Piston ring 40 (INA F-174916) 1 7,59 € 60200
05957_01 End Cap**************************** 1 33'35€ 60199 NLA
05960-01 Cylinder tube complete, 130%***x*** 1 323,52 € 60100
05960-02 Cylinder tube complete, 125%***x*** 1 323,52 € 60100
05960-03 Cylinder tube complete, 120%***x*** 1 323,52 € 60100
05960-06 Cylinder tube complete, 94***x****x 1 323,52 € 60100
05960-07 Cylinder tube complete, 115%******* 1 607,02 € 60100
05961-01 Separating plate** ¥ ¥ ¥ xkkskxkkdoxk x 1 91,79 € 60100
05964-01 Spring platform dia. 50.8 (2") 1 120,07 € 60100
05964-02 Spring platform dia. 57 (2.25") 1 88,94 € 60100
05964-03 Spring platform dia. 57 (2.25") short 1 181,44 € 60100
05964-07 Spring platform 1 113,29 € 60100
05964-10 Spring seat Tr49x1.5/55/48 1 92,84 € 60100
05964-11 Spring seat Tr48x1.5/55/48 1 93,95 € 60100
05964-50 Lock nut TR49x1.5 1 117,40 € 60100
05965-01 Springretainer 50.8(2"),bell cap 1 133,41 € 60100
05966-01 Top eye, swivel TTAQ* ¥ ¥ kxckxkxkxr® 1 90,05 € 60100
05967-01 Clamp ring ,swive| TTAQ***¥ ¥ kxckxk 1 66,71 € 60100
05968-01 Cylinder head, swivelTT40,long***** 1 543,65 € 60100
05972-01 Spring platform dia. 36 (1.5") 1 52,70 € 60100
05981-00 Check valve assy, reb close 0 1 71,82 € 60399
05981-08 Check valve assy , reb close 0.8 1 71,82 € 60399
05981-16 Check valve assy , reb close 1.6 1 71,82 € 60399
05983-01 Spring platform#**#*krkrkrkxckxokdorx 1 44,47 € 60100
05986-02 Sleeve 56/58/15 1 13,90 € 60100
05992-01 Spacer, ball joint 12x22.6 1 12,06 € 60199 (NLA
05994-01 Sleeve 3.5/8.1/9.4 1 9,46 € 60100
05994-02 Sleeve 2.3/8.2/9.9 1 11,12 € 60100
05994-20 Sleeve 1.1/21/23.5 1 13,90 € 60100
05996-02 Spacer 16/35/2 White 1 5,86 € 60100
05996-03 Spacer 16/35/3 Yellow 1 5,90 € 60100
05998-02 Piston band TT44 8 praglat 1 13,90 € 60100
06000-01 Extension M14x1/20/38.4***x*x¥kx*x* 1 45,58 € 60100
06003-11 Piston Cup-Cup 40mm Aluminium 1 153,23 € 60199|NLA
06004-11 Piston Cup-Linear 40mm Aluminium 1 187,00 € 60199|NLA
06009-01 Cylinder head McPh 7.5/M37x1/87.5 1 176,20 € 60102 |NLA
06013-01 Hose M10x1cone/8/360 1 59,99 € 60100
06015-01 Adapter ring 74/110/36.1 1 168,10 € 60100
06015-02 Adapter ring 74/110/36.1 1 172,55 € 60100
06026-01 Reservoir end 36/swivel 1 295,65 € 60199|NLA




06032-01 Top plate HSV MS 1 60,10 € 60199|NLA
06033-01 End piece M10x1/M10x1.25%*****xxk*x 1 119,46 € 60199|NLA
06034-01 Top mount HSV 92048903 1 1,23 € 60100
06037-01 Rubber bush 110-110-070 1 1,23 € 60100
06037-01 Rubber bush 110-110-070 1 1,23 € 60100
06039-01 Hose 315 mm svivel-svivel 1 148,68 € 60100
06041-01 Back-up ring 73.8/80/1.4 1 22,24 € 60200
06042-01 Scraper 90/106/8 1 122,74 € 60200
06046-01 Spare part kit 46mm 1 162,13 € 60200
06047-00 Rebound check valve assy, no hole 1 121,24 € 60100
06051-01 End eye 14/28/25.4 non adj. 1 50,05 € 60100
06052-01 Shaft 14/222 1 31,52 € 60100
06052-02 Shaft 14/247 1 30,91 € 60100
06052-03 Shaft 14/272 1 33,28 € 60100
06053-01 Cylinder tube 46/275 1 97,84 € 60100
06053-02 Cylinder tube 46/301 1 106,73 € 60100
06053-03 Cylinder tube 46/327 1 89,30 € 60100
06053-04 Cylinder tube 46/352 1 107,67 € 60100
06054-01 Stop washer 26/51.5/8 1 16,68 € 60199|NLA
06054-02 Stop washer 14.2/46.8/12 1 26,11 € 60199|NLA
06055-01 Spring clip for springs 2,5" 1 41,63 € 60100
06056-01 Filter retainer 1 81,72 € 60100
06056-02 Filter retainer 1 74,71 € 60100
06056-03 Filter retainer 1 77,05 € 60100
06056-04 Filter retainer 1 82,77 € 60100
06056-05 Filter retainer 1 76,27 € 60100
06057-01 Foam filter, 44x33 1 6,86 € 60200
06057-02 Foam filter, 47x28 1 6,74 € 60200
06057-03 Foam filter, 35x29 1 7,10 € 60200
06057-04 Foam filter, dia21x10 1 6,19 € 60200
06057-07 Foam filter 34x33 1 6,37 € 60200
06058-01 Filter protector for 6056-01 1 49,03 € 60100
06058-02 Filter protector for 6056-02 1 46,14 € 60100
06059-01 Bracket Ferrari 360 modena 1 184,11 € 60100
06060-01 Tension washer Schnorr 5.3x9 A2 £ 1 1,01 € 60200
06060-02 Tension washer Schnorr 6.4x10 A2 £ 1 2,01 € 60200
06061-01 Cylinder tube, 44/50/325 1 380,49 € 60100
06061-02 Cylinder tube, 44/50/404 1 363,22 € 60100
06061-04 Cylinder tube 44/50/310 1 366,66 € 60100
06061-05 Cylinder tube 44/50/318 1 438,70 € 60100
06061-06 Cylinder tube, 44/50/281 1 282,21 € 60100




06061-08 Cylinder tube, 44/50/343 1 440,99 € 60100
06061-09 Cylinder tube 44/50/233 1 288,88 € 60100
06061-80 Steel tube 50,3x44 mm 1 104,48 € 60100|NLA
06061-83 Cylinder tube, 44/50/420 blank 1 182,36 € 60100
06062-01 Screw torx KTS6x16 10.9 Fzb £ 1 2,04 € 60200
06062-02 Screw torx KTS6x25 10.9 Fzb £ 1 2,49 € 60200
06062-03 Screw torx KTS6x35 1 3,20 € 60200
06062-04 Screw torx KTS6x30 1 3,11 € 60200
06065-06 Hose 3/8 90/straight 2x swivel L550 1 193,45 € 60100
06065-09 Hose 3/8 90/str 2x swivel L700 1 243,37 € 60100(New
06098-01 Bleed washer 16/37.8/8 PA 4.6 1 3,84 € 60200
06098-02 Bleed washer 14/30/10 PA 4.6 1 3,77 € 60200
06100-01 Cylinder head™®**** ¥kt kodoxdodkhkokokxk 1 381,56 € 60100
06101-01 Separating plate*#*#x#xkkdrckxskxkx 1 95,17 € 60100
06102-01 Separating piston 18/55.6 1 53,36 € 60100
06104-01 Reservoir end cap***#*#xkxkkkkrokrckx 1 77,82 € 60100
06105-01 Pressure indicator 1 15,34 € 60100
06105-02 Pressure indicator, long stroke 1 9,56 € 60100
06106-02 Top eye 58.3¥* ¥ dkkkkakcksdkdkodoxkokhxk 1 48,56 € 60103 |NLA
06106-04 Top eye 82.3¥* ¥ dkkskacksdkdkodoxkdkkxk 1 48,56 € 60103 |NLA
06109-01 Outer tube M44x1/Tr49x1.5/76.7 1 93,00 € 60100
06109-02 Outer tube M44x1/Tr49x1.5/84.7 1 110,12 € 60100
06109-03 Outer tube M44x1/Tr49x1.5/96.7 1 91,44 € 60100
06109-04 Outer tube M44x1/Tr49x1.5/108.7 1 99,43 € 60100
06109-06 Outer tube M44x1/Tr49x1.5/138.7 1 141,42 € 60100
06109-08 Outer tube M44x1/Tr49x1.5/168.7 1 154,84 € 60100
06109-30 Outer tube M44x1/Tr49x1.5/243.7 1 254,82 € 60100
06109-31 Outer tube M44x1/Tr49x1.5/243.7 1 254,82 € 60100
06110-02 Inner tube 40/42.6/68.2%* *¥¥**x*xxx* 1 21,81 € 60102 |NLA
06110-03 Inner tube 40/42.6/80.2%* *¥***x**xx* 1 10,18 € 60100
06110-04 Inner tube 40/42.6/92.2%* *¥¥**x*xxx* 1 10,79 € 60100
06110-06 Inner tube 40/42.6/122 2% **x¥*¥*x** 1 13,62 € 60100
06110-08 Inner tube 40/42.6/152 2% ***¥*¥*x** 1 14,57 € 60100
06112-01 Piston rod, internal 12/89.8 1 105,68 € 60100
06112-02 Piston rod, internal 12/97.8 1 107,48 € 60100
06112-03 Piston rod, internal 12/109.8 1 143,79 € 60100
06112-04 Piston rod, internal 12/121.8 1 89,76 € 60100
06112-80 Piston shaf, internal 12/250, blank 1 123,93 € 60100
06113-01 Piston 40 1 50,03 € 60100
06113-02 Piston 36 1 33,30 € 60100
06114-01 Cylinder cap M44x1/12 1 68,38 € 60100




06116-03 End eye 49.4%¥¥xFdkskckokdoxkokokdkoxokkok ok 1 80,05 € 60100
06117-01 Lock nut M12x1 1 32,80 € 60100
06117-02 Lock nut M12x1 1 74,49 € 60100
06117-03 Lock nut M12x1 1 56,15 € 60100
06117-04 Lock nut OWV M12x1.25 1 15,80 € 60100
06117-05 Lock nut M12x1 1 61,15 € 60100
06118-01 Pistonring 40 £ 1 50,03 € 60100
06118-02 Piston ring 36 1 54,48 € 60200
06119-01 Spacer, ball joint 8x18.98 1 31,47 € 60100
06119-02 Spacer, ball joint 8x20 1 21,02 € 60100
06119-11 Spacer, ball joint 10x23 1 31,47 € 60100
06119-12 Spacer, ball joint 10x30 1 31,47 € 60100
06119-13 Spacer, ball joint 10x28 1 14,24 € 60100
06119-14 Spacer, ball joint 10x39.8 1 31,47 € 60100
06119-15 Spacer, ball joint 10x20 1 31,47 € 60100
06119-17 Spacer, ball joint 10x32 1 31,47 € 60100
06119-18 Spacer, ball joint 10x36 1 31,47 € 60100
06119-19 Spacer, ball joint 10x51.5 1 31,47 € 60100
06119-20 Spacer, ball joint 12x25 1 31,47 € 60100
06119-21 Spacer, ball joint 12x30 1 31,47 € 60100
06119-22 Spacer, ball joint 12x56 1 48,92 € 60100
06119-23 Spacer, ball joint 12x46 1 12,16 € 60100
06119-32 Spacer, ball joint 12x60 Stainless 1 26,68 € 60100
06119-42 Spacer, bj #12.72,9.55x22.9 1 48,92 € 60100
06119-42 Spacer, bj #12.72,9.55x22.9 1 48,92 € 60100
06119-43 Spacer 1 29,57 € 20483
06121-01 Reservoir end cap 1 88,94 € 60100
06121-02 Reservoir end cap, long stroke 1 93,39 € 60100
06121-03 Reservoir end cap, long stroke M22 1 93,39 € 60100
06126-01 Top eye 53.3 dia. 22.2 bearing 1 92,82 € 60100
06126-02 Top eye 58.3 dia. 22.2 bearing 1 107,62 € 60100
06126-03 Top eye 70.3 dia. 22.2 bearing 1 128,96 € 60100
06126-04 Top eye 82.3 dia. 22.2 bearing 1 97,84 € 60100
06126-06 Top eye 112.3 dia. 22.2 bearing 1 137,86 € 60100
06126-08 Top eye 142.3 dia. 22.2 bearing 1 88,94 € 60100
06127-01 Piston rod, external 12/80.4 1 103,95 € 60100
06127-02 Piston rod, external 12/88.4 1 27,79 € 60100
06127-03 Piston rod, external 12/100.4 1 105,02 € 60100
06127-04 Piston rod, external 12/112.4 1 143,79 € 60100
06127-06 Piston rod, external 12/142.4 1 99,94 € 60100
06127-12 Piston rod, external 12/103.4 1 143,79 € 60100




06127-14 Piston rod, external 12/133.4 1 91,64 € 60100
06127-80 Piston shaf, external 12/250, blank 1 162,41 € 60100
06129-02 Clamp washer 30 1 61,15 € 60100
06129-03 Clamp washer 25 1 58,92 € 60100
06130-01 Spacer 12.1/39/1 1 12,84 € 60100
06130-02 Spacer 12.1/39/2 1 17,07 € 60100
06130-05 Spacer 12.1/39/5 1 18,29 € 60100
06130-10 Spacer 12.1/39/10 1 21,29 € 60100
06131-02 Packer 12.1/47/2 1 27,18 € 60100
06131-03 Packer 12.1/47/3 1 52,64 € 60100
06132-01 Spacer 12/21/1 1 11,56 € 60100
06132-02 Spacer 12/21/2 1 15,79 € 60100
06132-05 Spacer 12/21/5 1 16,79 € 60100
06132-10 Spacer 12/21/10 1 10,34 € 60100
06133-10 End eye 171.4 dia. 22.2 bearing 1 145,86 € 60100
06133-30 End eye 12/148.4/20.6 1 156,54 € 60100
06135-01 Piston rod 89.8 1 92,64 € 60100
06135-02 Piston rod 97.8 1 94,06 € 60100
06135-03 Piston rod 109.8 1 96,64 € 60100
06135-04 Shaft 121.8 1 100,78 € 60100
06136-01 End eye 31.4 dia. 22.2 bearing 1 136,97 € 60100
06136-02 End eye 40.4 dia. 22.2 bearing 1 140,53 € 60100
06136-03 End eye 49.4 dia. 22.2 bearing 1 135,19 € 60100
06136-04 End eye 58.4 dia. 22.2 bearing 1 158,32 € 60100
06136-05 End eye 67.4 dia. 22.2 bearing 1 163,65 € 60100
06136-06 End eye 76.4 dia. 22.2 bearing 1 164,10 € 60100
06136-07 End eye 85.4 dia. 22.2 bearing 1 171,66 € 60100
06136-10 End eye 12/96.4/22.2 1 140,08 € 60100
06136-20 End eye 12/92.4/22.2 1 198,12 € 60100
06136-30 End eye 12/117.4/20.6 1 107,92 € 60103 (NLA
06141-01 Reservoir end M45x1 swivel 1 51,18 € 60199|NLA
06143-01 Banjo adapter M14x1.5/16.2/32 1 24,86 € 60199 (NLA
06143-02 Banjo adapter M14x1.5/16.2/27.5 1 36,47 € 60100
06144-01 Seal head 14/46/40 1 76,61 € 60200
06145-01 Shaft 14/268 1 165,18 € 60101 (NLA
06145-04 Shaft 14/403 1 212,12 € 60100
06145-05 Shaft 14/306 1 197,45 € 60100
06146-01 Spacer 55.4/64/2 1 39,47 € 60100
06147-01 Nut M14x1/8 1 12,45 € 60100
06148-01 Bushing 58/62/20 upper 1 129,55 € 60200
06148-02 Bushing 56.6/59.6/20 lower 1 114,32 € 60200




06148-04 Bushing 50/54/20 Daido DDKO05 1 62,03 € 60200
06149-01 Seal holder 60/80/64 1 120,07 € 60100
06150-01 End piece M67x1.5/M14x1 1 60,93 € 60199|NLA
06151-01 Cylinder tube, inner 46/49/256.2 1 69,32 € 60100
06151-02 Cylinder tube, inner 46/49/310.2 1 97,56 € 60100
06151-03 Cylinder tube, inner 46/49/363.2 1 86,72 € 60100
06151-04 Cylinder tube, inner 46/49/391.2 1 92,81 € 60100
06151-11 Cylinder tube, inner 46/49/283.2 1 61,64 € 60100
06151-12 Cylinder tube, inner 46/49/381.2 1 76,27 € 60100
06152-02 Cylinder tube 53/58/346 1 341,79 € 60100
06152-03 Cylinder tube 53/58/399 1 322,44 € 60100
06152-04 Cylinder tube 53/58/427 1 322,44 € 60100
06152-13 Cylinder tube 53/58/329 1 271,74 € 60102|NLA
06152-14 Cylinder tube 53/58/427 1 322,44 € 60100
06152-15 Cylinder tube 53/58/298 1 322,44 € 60100
06152-16 Cylinder tube 53/58/405 1 322,44 € 60100
06153-01 Cylinder head TTX46R 1 379,56 € 60100
06153-02 Cylinder head TTX46R MklI 1 456,94 € 60100
06154-13 Hose 3/8" straight swivel/banjo/170 1 286,31 € 60100
06155-03 Separating plate 46 1 72,16 € 60199 (NLA
06156-11 Damping cylinder 31/46/44 1 66,71 € 60100
06156-12 Damping cylinder 31/46/49 1 68,93 € 60100
06157-01 Filter cyl 65/27, orange part only 1 9,05 € 60200
06161-05 Valve poppet 10/11/5 1 16,79 € 60100
06162-05 Valve poppet damped 10/11/5 1 18,68 € 60100
06164-01 Housing 14/41/19 1 94,28 € 60100
06165-01 Piston 17.1/37.9/15 1 106,28 € 60100
06166-02 Spring, c=20 N/mm, L=15.5 mm 1 7,06 € 60100
06166-04 Spring, c=40 N/mm, L=15.5 mm 1 20,01 € 60100
06166-08 Spring, c=80 N/mm, L=15.5 mm 1 9,96 € 60199|NLA
06167-01 Needle housing 2,5mm, damped, black 1 103,20 € 60199|NLA
06170-02 Hose 3/4" 0&75 deg swivel/140 1 243,41 € 60100
06171-01 Reservoir end M45x1 big swivel 1 121,13 € 60199 (NLA
06180-23 Spacer, ball joint 12x46 Alu 1 11,12 € 60100
06182-47 High Speed Valve 4,7 mm, 10 deg 1 250,04 € 60100
06183-47 High Speed Valve 4,7mm 1 196,02 € 20483
06183-57 High Speed Valve 5,7mm 1 220,39 € 60100
06183-67 High Speed Valve 6,7mm 1 198,16 € 20483
06183-77 High Speed Valve 7,7mm 1 168,18 € 60100
06185-70 High Speed Valve [D] 7.0mm 1 213,92 € 60100
06186-01 Support Shim 1 17,13 € 20483




06187-20 Check Valve 1 2,06 € 60200
06187-30 Check valve 1 4,34 € 20483
06188-01 Adjustment Knob Gold 1 23,07 € 60100
06188-02 Adjustment Knob Silver 1 23,07 € 60100
06189-01 Low Speed Needle 1 56,70 € 60100
06190-01 Cylinder Head TTR 1 518,30 € 60100
06190-02 Cylinder Head TTR 1 561,62 € 60100
06191-01 Adjuster House 1 34,74 € 60100
06192-01 Insert Gold 1 48,75 € 60100
06192-02 Insert Silver 1 48,75 € 60100
06193-01 Adjuster Screw 1 18,79 € 60100
06194-01 Preloader 1 54,48 € 60100
06195-00 Shuttle Guide No Hole 1 159,43 € 60100
06195-10 Shuttle Guide 1.0mm hole 1 199,45 € 60100
06195-15 Shuttle Guide 1.5mm hole 1 193,96 € 60100
06195-20 Shuttle Guide 2.0mm hole 1 149,91 € 60100
06196-10 Valve Spring 10N/mm 1 107,98 € 60100
06196-20 Valve Spring 20N/mm 1 63,15 € 20483
06196-30 Valve Spring 30N/mm 1 143,42 € 20483
06196-40 Valve Spring 40N/mm 1 63,59 € 20483
06196-50 Valve Spring 50N/mm 1 93,83 € 20483
06197-70 Valve Seat [D] 7.0mm 1 209,59 € 60100
06198-47 Valve Seat 4,7mm 1 214,86 € 20483
06198-57 Valve Seat 5,7mm 1 231,26 € 60100
06198-67 Valve Seat 6,7mm 1 213,95 € 20483
06198-77 Valve Seat 7,7mm 1 199,23 € 60100
06199-25 Wave washer 1 2,12 € 20483
06200-11 Valve housing BO, alu gold 1 433,59 € 60100
06200-22 Valve housing BOB-R, alu, gold 1 215,46 € 60100
06200-82 Valve housing, blank 1 89,40 € 60100
06201-01 Cylinder tube, inner 46/49/142 1 59,32 € 60100
06201-02 Cylinder tube, inner 46/49/121 1 62,15 € 60100
06201-03 Cylinder tube, inner 46/49/205 1 71,43 € 60100
06201-04 Cylinder tube, inner 46/49/230 1 91,44 € 60100
06201-05 Cylinder tube, inner 46/49/132,2 1 51,70 € 60100
06201-06 Cylinder tube, inner 46/49/156 1 78,16 € 60100
06201-07 Cylinder tube, inner 46/49/139,6 1 52,87 € 60100
06201-08 Cylinder tube, inner 46/49/152,2 1 77,77 € 60100
06202-04 Shaft 30/24/423.5 1 365,05 € 60100
06202-11 Shaft 30/24/315 1 296,80 € 60100
06202-12 Shaft 30/24/276 1 307,27 € 60100




06202-14 Shaft 30/16/423.5 1 365,05 € 60100
06202-15 Shaft 30/16/315 1 307,27 € 60100
06202-16 Shaft 30/16/353 1 307,27 € 60100
06202-17 Shaft 30/16/353 1 307,27 € 60100
06203-01 Lock ring for seal head 06207-01*** 1 4531 € 60200
06204-01 Reservoir bracket, grey 1 56,65 € 60100
06204-02 Reservoir bracket, gold 1 89,16 € 60100
06206-01 Circlip 26x1.5 1 574 € 60200
06207-01 Seal head, upper, grey*****ix*x¥ix* 1 58,87 € 60100
06207-02 Seal head, upper Mkll, grey 1 104,11 € 60100
06207-11 Seal head, upper Mkll, grey 1 63,66 € 60199 (NLA
06207-12 Seal head, upper Mk|[****** 1 77,82 € 60199|NLA
06207-20 Seal head, upper, blue 1 97,89 € 60100
06207-22 Seal head, upper 1 94,54 € 60100
06207-30 Seal head, upper, blue 1 110,06 € 60100
06207-31 Seal head, upper, blue 1 110,06 € 60100
06207-35 Seal head, upper, clamp ring 1 69,89 € 60100
06207-36 Seal head, upper, bushing carrier 1 72,16 € 60100
06208-01 Piston TTX46-30 1 80,05 € 60100
06208-02 Piston TTX46-30 MklI 1 87,83 € 60100
06208-12 Piston TTX46-30 Mkll HF 1 174,77 € 60100
06209-01 Set screw piston TTX46T (06208-01) 1 25,13 € 60100
06209-02 Set screw piston TTX46T (06208-02) 1 21,29 € 60100
06210-01 Shaft end M14x1.5/26/70.8 1 46,08 € 60100
06210-11 Shaft end M14x1.5/26/70.8 1 70,16 € 60100
06210-13 Shaft end M14x1.5/26/85.8 1 63,66 € 60199|NLA
06210-21 Shaft end M14x1.5/22/104.8 1 77,05 € 60100
06210-22 Shaft end M14x1.5/22/119.5 1 91,79 € 60100
06210-30 Shaft end M16x1.5/25/45 1 50,03 € 60100
06211-01 Spring seat 14/78.5/14.8, grey 1 76,71 € 60100
06211-11 Spring seat holder, 45x14 1 114,73 € 60100
06211-12 Spring seat, 60/45.4 1 87,83 € 60100
06211-13 Spring seat, 60/45.4, steel 1 134,52 € 60100
06212-01 Spring seat Tr57x2/60/78.5, grey*** 1 89,43 € 60100
06212-02 Spring seat MJ58x1.5/60/78.5, grey 1 102,68 € 60100
06212-03 Spring seat MJ58x1.5/60/78.5, grey 1 100,46 € 60100
06212-10 Spring seat Tr57x2/60/78.5, grey*** 1 106,45 € 60100
06212-11 Spring seat MJ58x1.5/60/82.6 1 95,83 € 60100
06213-01 Needle roller bearing 60/85/3 £ 1 66,71 € 60100
06213-02 Support washer 60/85/1 £ 1 13,56 € 60100
06213-03 Needle roller bearing 55/78/3 1 54,26 € 60200




06213-04 Support washer 55/78/1 1 18,64 € 60100
06213-07 Needle roller bearing £ 1 84,16 € 20483
06213-08 Support washer £ 1 20,35 € 20483
06214-01 End piece outer tube M45x1.5, grey 1 34,19 € 60100
06214-02 End piece outer tube M45x1.5, grey 1 91,22 € 60100
06214-03 End piece outer tube M45x1.5, grey 1 75,32 € 60100
06215-01 End piece, grey 1 22,29 € 60100
06215-02 End piece, grey 1 50,25 € 60100
06216-01 Lock washer 1 22,01 € 60100
06216-20 Lock washer 1 38,91 € 60100
06217-01 Bump rubber 15/40/25 PUR 550 1 18,33 € 60100
06217-11 Bump rubber 15/40/25 PUR 550 1 50,06 € 60100
06218-01 Set pin 1 20,57 € 60100
06219-02 End eye 40.4 dia. 22.2 bearing 1 103,39 € 60100
06219-03 End eye 49.4 dia. 22.2 bearing 1 95,51 € 60100
06219-04 End eye 58.4 dia. 22.2 bearing 1 102,27 € 60100
06219-05 End eye 67.4 dia. 22.2 bearing 1 108,95 € 60100
06219-14 End eye 56.4 dia. 22.2 bearing 1 124,52 € 60100
06219-17 End eye 92.4 dia. 22.2 bearing 1 142,31 € 60100
06219-18 End eye 76.4 dia. 22.2 bearing 1 142,31 € 60100
06222-01 Sway bar bracket, grey**#*##xkrkrxk 1 90,72 € 60100
06222-02 Sway bar bracket MJ58x1.5, grey 1 170,10 € 60100
06222-03 Sway bar bracket M52x1.5, clear 1 170,77 € 60100
06222-04 Sway bar bracket, M10 1 112,96 € 60100
06223-01 Spacer 14/20/17 1 42,25 € 60100
06223-02 Spacer 14/20/13 1 33,35 € 60100
06224-06 Spacer 30/38/6 1 11,34 € 60100
06224-14 Spacer 30/38/14 1 14,57 € 60100
06225-01 Seal washer 1 24,46 € 60200
06226-06 Top eye 112.3 dia. 22.2 bearing 1 152,09 € 60100
06226-08 Top eye 142.3 dia. 22.2 bearing 1 163,65 € 60100
06226-10 Top eye 160.3 dia. 22.2 bearing 1 193,45 € 60100
06226-26 Top eye 112.3 dia. 22.2 bearing M22 1 104,06 € 60100
06226-28 Top eye 142.3 dia. 22.2 bearing M22 1 166,32 € 60100
06226-31 Top eye 132.3 dia. 22.2 bearing M22 1 160,98 € 60100
06227-01 Cover 1 90,64 € 60100
06228-01 Extension shaft 85 1 25,69 € 60100
06228-02 Extension shaft 45 1 34,74 € 60100
06228-11 Extension shaft 1 61,15 € 60100
06229-01 Seal head lower 46.2/21 1 41,63 € 60200
06229-02 Seal head lower 42.2/21 1 30,83 € 60199|NLA




06229-03 Seal head lower 42.2/16 1 37,58 € 60100
06229-20 Seal head lower 46.2/21, blue 1 44,97 € 60100
06230-80 Outtube TTX46MT,blank Altium 1 382,02 € 60100
06231-02 Packer 14.1/47/2 1 21,57 € 60100
06231-03 Packer 14.1/47/3 1 22,01 € 60100
06232-06 Shaft, internal 14/151.8 1 33,96 € 60100
06232-08 Shaft, internal 14/181.8 1 35,47 € 60100
06233-01 Spacer 14.1/39/1 1 13,73 € 60100
06233-02 Spacer 14.1/39/2 1 12,57 € 60100
06233-05 Spacer 14.1/39/5 1 20,51 € 60100
06233-10 Spacer 14.1/39/10 1 23,96 € 60100
06234-01 Piston 40, HF 1 100,50 € 60100
06234-02 Piston 40 1 76,71 € 60100
06234-10 Piston 40, Blow-off 1 106,73 € 60100
06234-11 Piston 40, HF 1 115,62 € 60100
06234-20 Piston 36, Blow-off 1 107,84 € 60100
06234-21 Piston 36, HF+Blow-off 1 120,07 € 60100
06234-22 Piston 36, HF 1 98,72 € 60100
06235-01 Linear displacement sensor £ 1 1.137,11 € 60100
06235-02 Linear displacement sensor 1 1.338,12 € 60100
06236-01 Nut 1 54,48 € 60100
06241-01 Bleed shim 6/22/0.1 4 slots 1 1,67 € 60200
06242-02 Spacer 14/21/2 1 11,90 € 60100
06242-05 Spacer 14/21/5 1 21,12 € 60100
06242-10 Spacer 14/21/10 1 21,68 € 60100
06245-02 Length adjuster, VAG TCR 2020- 1 88,94 € 60100
06246-01 BO-kit TTX46MTMKII If 1 597,24 € 60399
06246-02 BO-kit TTX46MTMKII rf 1 597,24 € 60399
06246-11 BO-kit TTX46MTMKII If 1 305,41 € 60399
06246-12 BO-kit TTX46MTMKII rf 1 305,41 € 60399
06247-15 Preload adjuster 1.5 mm bleed. low-profile 1 31,13 € 60100
06247-50 Preload adjuster 0.5 mm bleed 1 78,94 € 60100
06248-01 Block-off plate TTX46MT BO 1 96,06 € 60100
06250-06 Piston rod, external 14/142.4 1 35,06 € 60100
06250-08 Piston rod, external 14/172.4 1 34,76 € 60100
06251-01 Cylinder cap M44x1/14 1 68,38 € 60100
06252-01 Lower ring 1 14,68 € 60100
06252-02 Lower pre load ring 1 11,39 € 60100
06253-01 Upper ring 1 7,62 € 60200
06255-01 End piece 1 37,80 € 60100
06256-01 Needle house, gold 1 56,70 € 60100




06256-02 Needle house, silver 1 72,26 € 60100
06256-03 Needle house 1.5, gold 1 120,07 € 60100
06257-01 Pin 1 4,04 € 60200
06258-01 Spring 1 20,57 € 60100
06259-01 Valve holder 1 45,58 € 60100
06260-01 Cylinder head 1 389,12 € 60100
06260-02 Cylinder head 1 389,12 € 60100
06260-11 Cylinder head TTX40 BO 14 mm shaft 1 605,91 € 60100
06260-22 Cylinder head TTX40, Mkll, BO 1 600,35 € 60100
06261-01 Separating plate 1 155,65 € 60100
06261-02 Separating plate 1 176,99 € 60100
06261-03 Separating plate 1 102,28 € 60100
06264-01 Lock nut 1 49,61 € 60199|NLA
06265-01 Clamp washer 6/8/2.5 1 9,78 € 60200
06265-02 Clamp washer 6/9/2.5 1 9,78 € 60200
06265-03 Clamp washer 6/10/2.5 1 9,78 € 60200
06265-05 Clamp washer 6/11/2.5 1 15,46 € 60200
06267-02 valve, cup preloaded 1 114,73 € 60100
06268-06 Shaft, internal 14/151.8 1 109,60 € 60100
06268-08 Shaft, internal 14/181.8 1 110,98 € 60100
06273-01 End eye 36mm 22.2 1 93,39 € 60100
06273-02 End eye 56mm 22.2 1 75,60 € 60100
06273-03 End eye 66mm 22.2 1 103,39 € 60100
06273-04 End eye 76mm 22.2 1 120,96 € 60100
06273-05 End eye 86mm 22.2 1 128,08 € 60100
06273-20 End eye 46mm 22.2 1 70,04 € 60100
06273-21 End eye 14/91/22.2 1 90,72 € 60100
06273-23 End eye 14/48/22.2 1 81,72 € 60100
06274-01 End eye TR32/65 22.2 1 86,72 € 60100
06274-03 End eye TR32/95 22.2 1 124,52 € 60100
06275-01 Spring platform 36 1 51,31€ 60100
06276-05 Top eye 22.2/35 1 119,18 € 60100
06277-01 Clamp ring, swivel TTX36 1 56,15 € 60100
06277-03 Clamp ring, swivel TTX36 1 64,48 € 60100
06278-11 Cylinder head TTX36 cc72 1 201,05 € 60100
06280-01 End eye 122mm 22.2 1 88,10 € 60103 |NLA
06281-01 Top eye 123.3 dia 22.2 bearing 1 135,41 € 60100
06282-08 Cylinder head 347deg pb 50/26 1 399,57 € 60100
06282-27 Cylinder head 350deg pb 50/26 1 399,57 € 60100
06283-01 End piece 1 105,84 € 60100
06283-02 End piece 16/96/12 1 103,17 € 60100




06283-10 End piece 16/89.5/12 1 110,29 € 60100
06284-01 Cylinder head 1 182,11 € 60100
06285-01 Swivel 1 157,43 € 60100
06286-01 Valve block, left 1 283,50 € 60100
06286-02 Valve block, right 1 326,86 € 60100
06286-11 Valve block MKIII, left 1 266,82 € 60100
06286-12 Valve block MKIII, right 1 266,82 € 60100
06287-01 Valve brass 1 124,52 € 60100
06288-01 Poppet 1.1 1 50,03 € 60100
06289-01 Spring platform 50,8 1 63,37 € 60100
06289-02 Spring platform 57 1 68,93 € 60100
06289-03 Spring platform 61.8 1 96,62 € 60100
06289-04 Spring platform 56.5, lock screw x3 1 101,17 € 60100
06289-05 Spring platform 60 1 58,28 € 60100
06289-06 Spring platform 60, high sleeve 1 77,82 € 60100
06289-12 Spring platform 60 1 123,29 € 20483
06290-01 Inner tube 40/42.6/60.2 al 1 34,74 € 60100
06290-02 Inner tube 40/42.6/68.2 al 1 72,49 € 60100
06290-03 Inner tube 40/42.6/80.2 al 1 35,35 € 60100
06290-04 Inner tube 40/42.6/92.2 al 1 43,97 € 60100
06290-06 Inner tube 40/42.6/122.2 al 1 52,20 € 60100
06290-08 Inner tube 40/42.6/152.2 al 1 62,04 € 60100
06290-30 Inner tube 40/42.6/227.2al 1 86,05 € 60100
06291-01 Inner tube 36/42.6/60.2 al 1 145,86 € 60100
06291-02 Inner tube 36/42.6/68.2 al 1 145,86 € 60100
06291-03 Inner tube 36/42.6/80.2 al 1 145,86 € 60100
06291-04 Inner tube 36/42.6/92.2 al 1 109,40 € 60100
06291-06 Inner tube 36/42.6/122.2 al 1 133,41 € 60100
06291-08 Inner tube 36/42.6/152.2 al 1 168,99 € 60100
06303-01 Shaft extension M13x1/ext M24x1/78 1 145,42 € 60100
06303-02 Shaft extension M13x1/ext m24x1/52.5 1 31,97 € 60100
06303-03 Shaft extension M13x1/extM24x1/115.5 1 115,62 € 60100
06303-04 Shaft extension M13x1/ext M24x1/150 1 132,52 € 60100
06304-02 End eye 1 176,99 € 60100
06304-03 End eye 1 98,72 € 60100
06304-21 End eye 1 91,66 € 60100
06304-22 End clevis 1 133,41 € 60100
06305-01 Clamp ring 1 110,06 € 60100
06306-01 End eye assy 1 368,03 € 60100
06353-01 Cylinder tube 46/275 1 461,60 € 60100
06353-02 Cylinder tube 46/301 1 108,51 € 60100




06353-03 Cylinder tube 46/327 1 108,51 € 60100
06353-04 Cylinder tube 46/353 1 127,19 € 60100
06361-01 Cylinder tube 44/50/343.5ext.thread 1 271,95 € 60100
06362-01 Cyl tube 44/50/317 floating bushing (2099) 1 336,52 € 60100
06362-02 Cyl tube 44/50/339 floating bushing (2099) 1 339,20 € 60100
06362-03 Cylt. 44/50/321.7float.b 1 316,75 € 60100
06363-01 Cylinder tube grooved 44/50/325 1 437,69 € 60100
06363-03 Cylinder tube grooved 44/50/310 1 378,74 € 60100
06363-04 Cylinder tube grooved 44/50/343 1 378,74 € 60100
06363-05 Cylinder tube grooved 44/50/318 1 392,57 € 60100
06364-01 OEM1 Cyl.t. 44/50/419 grooved(2099) 1 411,26 € 60100
06364-02 Cylinder tube 44/50/419 1 232,76 € 60100
06365-01 Cylinder tube M47 44/50/300 1 270,16 € 60100
06365-02 Cylinder tube M47 44/50/325 1 270,16 € 60100
06365-03 Cylinder tube M47 44/50/350 1 270,16 € 60100
06365-04 Cylinder tube M47 44/50/375 1 270,16 € 60100
06365-05 Cylinder tube M47 44/50/420 1 270,16 € 60100
06375-01 Bump rubber 14/39/10 1 50,03 € 60100
06375-02 Bump rubber 14/39/20 1 33,35 € 60100
06375-03 Bump rubber 14/39/30 1 27,79 € 60100
06375-12 Bump rubber 1 11,12 € 20483
06376-03 Bump rubber 16/39/30 1 22,87 € 60200
06377-01 Piston shaft, external 14/235.4 1 156,78 € 60100
06377-02 Piston shaft, external 14/244.4 1 156,78 € 60100
06500-01 Shaft 16/252 1 52,89 € 60100
06500-03 Shaft 16/264 1 36,37 € 60100
06500-14 Shaft 16/233 1 36,41 € 60100
06500-15 Shaft 16/243 1 36,66 € 60100
06566-01 Adj.shaft 217/4.5 1 27,24 € 60100
06566-02 Adj.shaft 296/4.5 1 27,79 € 60100
06566-03 Adj.shaft 194/4.5 1 27,24 € 60100
06566-04 Adj.shaft 202/4.5 1 27,24 € 60100
06566-05 Adj.shaft 208/4.5 1 21,50 € 60101 |NLA
06566-06 Adj.shaft 171/4.5 1 21,50 € 60101 |NLA
06566-07 Adj.shaft 228/4.5 1 27,24 € 60100
06566-08 Adj. shaft 262.8/4.5 1 27,79 € 60100
06566-09 Adj shaft 136.8/4.5 1 30,58 € 60100
06566-10 Adj shaft 329.8/4.5 1 36,69 € 60100
06566-12 Adj.shaft 290,8/4.5 1 30,58 € 60100
06566-13 Adj. shaft 190.8/4.5 1 33,35€ 60100
06566-14 Adj. shaft 196.8/4.5 1 27,24 € 60100




06566-15 Adj. shaft 202.8/4.5 1 27,24 € 60100
06566-16 Adj.shaft 165,8/4.5 1 35,03 € 60100
06566-17 Adj.shaft 214,8/4.5 1 30,02 € 60100
06626-01 Top eye 53.3/22.2 1 121,85 € 60100
06626-02 Top eye 58.3/22.2 1 153,42 € 60100
06626-03 Top eye 61.3/22.2 1 90,01 € 60100
06626-04 Top eye 73.3/22.2 1 108,95 € 60100
06626-16 Top eye 103.3/22.2 M22 1 151,20 € 60100
06626-18 Top eye 133.3/22.2 M22 1 163,65 € 60100
06703-01 Washer 12/27/2 1 20,01 € 60100
06703-02 Ball joint spacer 1 31,69 € 60100
06703-03 Ball joint spacer 1 108,95 € 60100
06704-17 Shims 14/17/0.30 1 8,45 € 60200
06704-20 Shims 14/17/0.20 1 8,45 € 60200
06705-01 Wave washer 8.89/12.5/0.89 £ 1 4,26 € 60200
06708-01 Spacer, ball joint 12x40, stainless 1 17,24 € 60100
06708-02 Spacer, ball joint 12x67, stainless 1 40,30 € 60100
06708-03 Spacer, ball joint 12x33.5, stainless 1 22,24 € 60100
06709-01 Stop washer 1 95,61 € 60100
06710-36 Bleed shim 12/36/0.10 4 slots 1 1,67 € 60200
06710-36 Bleed shim 12/36/0.10 4 slots 1 1,67 € 60200
06715-36 Bleed shim 12/36/0.15 4 slots 1 1,67 € 60200
06715-36 Bleed shim 12/36/0.15 4 slots 1 1,67 € 60200
06720-36 Bleed shim 12/36/0.20 4 slots 1 1,67 € 60200
06720-36 Bleed shim 12/36/0.20 4 slots 1 1,67 € 60200
06725-36 Bleed shim 12/36/0.25 4 slots 1 1,67 € 60200
06725-36 Bleed shim 12/36/0.25 4 slots 1 1,67 € 60200
06751-01 Spacer 12x14.2x4.5 1 18,90 € 60100
06751-02 Spacer 12x14.7x2.5 1 6,79 € 60100
06753-01 Stop washer 1 55,48 € 60100
06753-02 Stop washer 1 52,15 € 60100
06755-01 PDS piston holder L=36,5 1 43,70 € 60100
06755-02 PDS piston holder L=53 1 23,57 € 60100
06755-03 PDS piston holder L=43 1 43,70 € 60100
06755-04 PDS piston holder L=63 1 30,36 € 60100
06756-01 Piston PDS diam. 34 1 87,69 € 60100
06757-01 Spacer 15/26/24 1 33,35€ 60100
06757-02 Spacer 15/17/10 1 25,57 € 60100
06759-01 Adjuster guide 1 14,45 € 60100
06760-01 Adjustment screw 1 12,90 € 60100
06761-01 Adjustment sleeve 1 51,14 € 60100




06762-01 Seal holder plastic 1 124,52 € 60100
06762-11 Seal holder stainless steel 1 106,62 € 60100
06763-01 Bump rubber 16/23/26/30° 1 32,71 € 60200
06764-01 PDS Damping cylinder 34/33 1 124,52 € 60100
06764-02 PDS Damping cylinder 34/47 1 101,17 € 60100
06764-03 PDS Damping cylinder 61/33 1 72,26 € 60100
06765-02 Spring seat 64.5/66.5/88/20 1 145,06 € 60100
06765-03 Spring seat 69.5/94/22 1 98,00 € 60100
06765-05 Spring platform 52/56.5/73 1 104,90 € 60100
06766-01 End eye M12/30/26 steel 1 102,28 € 60100
06766-02 End eye M12/40/26 Steel 1 105,84 € 60100
06766-03 End eye M12/50/26 Steel 1 186,78 € 60100
06766-04 End eye M12/55/26 Steel 1 111,18 € 60100
06766-06 End eye M12/32/26 steel 1 168,99 € 60100
06767-01 Bracket 50/55.5/12 1 107,29 € 60100
06768-10 End piece SUR N16 1 122,74 € 60100
06769-01 Spring guide 66.5/90 1 64,95 € 60100
06770-20 Wave washer 15.2/30/0,20 1 16,40 € 60200
06770-25 Wave washer 15.2/30/0,25 1 13,34 € 60200
06771-38 Check valve shim 0.38 1 1,67 € 60200
06775-01 Adjustment nut spacer 57/50.5 1 23,35 € 60100
06775-02 Adjustment nut spacer 60/57 1 80,05 € 60100
06775-03 Spring spacer 57/51 1 48,92 € 60100
06776-01 Adjustment needle dia 3.5 (2099) 1 9,90 € 60100
06776-02 Adjustment needle dia 3.5 1 13,34 € 60100
06778-01 PDS Damping cylinder 31/34.5 (2099) 1 92,28 € 60100
06778-02 PDS Damping cylinder 31/42 1 177,74 € 60100
06778-03 PDS Damping cylinder 31/28.5 1 92,22 € 60100
06779-03 PDS piston 40.5 mm (2099) 1 105,62 € 60100
06779-04 PDS piston 32 mm (2099) 1 72,83 € 60100
06779-05 PDS piston 45.5 mm (2099) 1 106,18 € 60100
06779-06 PDS piston 42.5 mm 1 106,18 € 60100
06779-07 PDS Piston 61.3 mm (2099) 1 76,49 € 60100
06782-01 Circlip SRA 63/3.2 1 8,23 € 60200
06783-01 Spring clip for springs 67 1 93,12 € 60100
06783-02 Spring clip for springs 70 1 86,00 € 60100
06784-01 Upright bracket assembly 1 395,79 € 60399
06785-01 End eye steel M16x1 L45mm 1 161,43 € 60100
06785-02 End eye steel M16x1 L50mm 1 183,44 € 60100
06785-03 End eye steel M16x1 L55mm 1 156,09 € 60100
06785-04 End eye steel M16x1 L60mm 1 148,51 € 60103 |NLA




06785-05 End eye steel M16x1 L65mm 1 158,76 € 60100
06786-01 Cylinder head TTX44 1 626,48 € 60100
06787-01 Bleed washer 1 36,14 € 60100
06792-01 PDS adjustment rod (2099) 1 65,59 € 60100
06793-01 ARC Spacer 1 13,68 € 60100
06796-01 PDS cup holder (2099) 1 98,95 € 60100
06798-65 Strut Casing L300 1 570,34 € 60100
06798-67 Strut Casing L387 1 722,65 € 60100
06802-01 Spring support dia 66.5 1 83,38 € 60100
06802-02 Spring support dia 69.5 1 83,38 € 60100
06803-01 Bushing 63x1.8/15 1 40,02 € 60200
06805-01 PDS-cup 1 98,95 € 60100
06809-01 Bushing spacer @54 (2099) 1 93,39 € 60100
06810-01 Seal 16/46 integrated bump stop 1 24,15 € 60200
06814-01 Stud M6x34 1 40,02 € 60100
06814-02 Stud M6x43.5 1 42,25 € 60100
06815-01 Top hat 10/12/24 1 19,02 € 60100
06815-02 Spacer, ball joint 14.2/20/31 (2099) 1 21,12 € 60100
06816-01 Lock nut M6x1/6 1 20,68 € 60100
06817-01 Spacer shim 58/54.5/1 1 17,20 € 60199|NLA
06817-02 Spacer ring 51/49/2 (2099) 1 15,01 € 60100
06818-01 Spacer, ball joint 10x70 1 2391€ 60100
06820-01 Circlip 54.3/2.3 1 8,12 € 60200
06823-01 Top mount plate 1 285,97 € 60100
06824-01 Bottom nut M52x1.5 1 94,50 € 60100
06825-01 Reservoir bracket 1 254,01 € 60100
06826-20 PDS restriction shim 2.0 1 1,67 € 60200
06826-20 PDS restriction shim 2.0 1 1,67 € 60200
06827-01 Press screw M8x25 1 3,25 € 60199|NLA
06830-01 Top eye 1 168,74 € 60100
06830-02 Top eye 1 136,97 € 60100
06830-03 Top eye 1 177,78 € 60100
06831-01 Spacer, ball joint, 10x30 1 24,14 € 60100
06872-16 Cylinder head 130 pb 46/26 1 213,46 € 60100
06882-08 Cylinder head 347deg pb 46/26 1 139,42 € 60100
06882-12 Cylinder head 5deg pb 46/26 1 158,09 € 60100
06882-20 Cylinder head 347deg pb 46/26 1 168,10 € 60100
06882-27 Cylinder head 350deg pb 46/26 1 139,42 € 60100
06883-04 Cylinder head 342,5 ¢ pb 46/26 1 207,46 € 60100
06902-04 Cylinder tube 44/108 no thread 1 173,44 € 60100
06946-85 BOB-R2 comp assy w/o valve seat 1 191,56 € 60399




06946-86 BOB-R2 reb assy w/o valve seat 1 191,56 € 60399
07216-02 40th Anniversary booklet, Swedish 1 6,92 € 60650|NLA
07302-02 Cylinder tube 36/240 1 106,48 € 60100
07900-01 Cylinder head L73 1 101,69 € 60100
07902-02 Elastic spacer 60/98/28.9 1 22,13 € 60100
07902-03 Elastic spacer 60/98/28.9 1 22,13 € 60100
07903-01 Bump rubber/Bump stop 14/55/58 1 32,39€ 60200
07903-02 Bump rubber 16/47/55 PUR 600 1 31,67 € 60200
07904-01 Dust bellow 1 23,24 € 60100
07914-01 Circlip SRA 59 (55.3x2) SST 1 7,34 € 60200
07917-02 Seal head Assembly14/46 1 46,69 € 60100
07933-03 Cylinder tube 46/307 1 106,94 € 60100
07942-01 Spring platform 52x1.5/60.1/93 1 126,71 € 60100
08101-02 Spacer 31/35/ 25 mm 1 42,25 € 60100
08101-03 Spacer 31/35/ 11 mm**¥*xkxksdoxskxkokxk 1 37,80 € 60100
08101-04 Spacer 31/35/ 33 mm 1 42,25 € 60100
08101-05 Spacer 31/35/125 mm 1 18,90 € 60100
08101-07 Spacer 31/35/ 70 mm 1 42,25 € 60100
08101-09 Spacer 31/35/160 mm 1 16,68 € 60100
08101-10 Spacer 31/35/175 mm 1 41,53 € 60100|NLA
08101-12 Spacer 31/35/ 40 1 37,80 € 60100
08104-01 Spacer 24/35/30 mm 1 24,46 € 60100
08104-02 Spacer 23/38/30 mm 1 25,57 € 60100
09070-01 Grommet 12/30/17 1 10,93 € 60100
10000-01 Cylinder head 0° PB 46/27 1 160,98 € 60100
10001-01 Spring SF-TF 1x5x25 1 6,23 € 60100
10011-01 Cylinder head TTX36IL 1 116,51 € 60100
10011-80 Cylinder head blank TTX36IL 1 66,06 € 60100
10012-01 Reservoir tube 58/55 1 93,30 € 60100
10012-02 Reservoir tube 58/62 1 93,30 € 60100
10013-01 End cap M60x1/20 1 78,94 € 60100
10014-01 Spacer, ball joint 14x38 1 15,46 € 60100
10014-02 Spacer, ball joint 14x48 1 10,34 € 60100
10014-03 Spacer, ball joint 14x58 1 10,50 € 60100
10014-04 Spacer, ball joint 14x51.5 1 11,71 € 60100
10017-01 Protective sleeve al 47.3/366.5 1 288,17 € 60100
10029-01 Cylinder tube 46/275 1 110,29 € 60100
10029-02 Cylinder tube 46/301 1 98,81 € 60100
10029-03 Cylinder tube 46/327 1 103,44 € 60100
10029-05 Cylinder tube 46/275 1 99,31 € 60100
10030-01 Cylinder tube 46/55/265 1 139,35 € 60100




10030-02 Cylinder tube 46/55/301 1 158,68 € 60100
10030-03 Cylinder tube 46/55/330 1 161,25 € 60100
10030-04 Cylinder tube 46/55/351 1 140,02 € 60100
10031-01 Reservoir tube 61/69.4 1 52,87 € 60100
10031-02 Reservoir tube 61/79.4 1 56,70 € 60100
10031-03 Reservoir tube 61/89.4 1 61,37 € 60100
10031-04 Reservoir tube 61/99.4 1 109,07 € 60100
10032-01 Reservoir end cap 52/65/14.4 1 50,59 € 60100
10033-01 Cylinder head 46/25.4 groove 1 173,44 € 60100
10034-02 Base valve 1 88,44 € 60100
10035-01 Base valve 1 18,13 € 60100
10036-01 Top eye 22.2/25 1 61,15 € 60100
10036-02 Top eye 22.2/40 1 60,04 € 60100
10036-03 Top eye 22.2/55 1 67,82 € 60100
10036-04 Top eye 22.2/70 1 84,49 € 60100
10036-05 Top eye 22.2/35 1 101,97 € 60100
10037-01 Top eye 26/50 1 93,39 € 60100
10037-02 Top eye 26/42 1 90,05 € 60100
10037-03 Top eye 26/40 1 90,05 € 60100
10037-04 Top eye 26/19 1 81,16 € 60100
10037-05 Top eye 26/75 1 98,95 € 60100
10037-06 Top eye 26/30 1 106,73 € 60100
10037-07 Top eye 26/83 1 150,09 € 60100
10038-01 Top eye 25.4/25 1 70,27 € 60100(NLA
10038-02 Top eye 25.4/40 1 78,94 € 60100
10038-03 Top eye 25.4/55 1 82,27 € 60100
10038-04 Top eye 25.4/70 1 86,72 € 60100
10040-08 Spacer 10/33/8 1 11,12 € 60100
10100-01 Piston holder 12/56 1 40,38 € 60199 (NLA
10217-02 Stabilizer bracket 1 97,84 € 60100
10253-03 End eye 14/66/22.2 1 84,49 € 60100
10253-20 End eye 14/46/22.2 1 75,60 € 60100
10299-02 Spacer, ball joint 10x52 1 28,65 € 60100
10299-03 Spacer, ball joint 10x32 1 28,65 € 60100
10300-00 Jet 0/M8x1 1 53,36 € 60100
10300-30 Jet 3.0/M8x1 1 83,38 € 60100
10301-01 Spacer ball joint, 14x40 1 18,35 € 60100
10305-01 Strut right 1 1.000,32 € 60100
10305-02 Strut left 1 1.000,32 € 60100
10320-01 End piece plug 1 52,25 € 60100
10400-01 Cylinder tube 50/290 1 110,69 € 60100




10400-02 Cylinder tube 50/320 1 136,48 € 60100
10400-03 Cylinder tube 50/380 1 150,09 € 60100
10400-04 Cylinder tube 50/450 1 170,41 € 60100
10400-50 Cylinder tube blank 50/500 1 152,09 € 60100
10400-80 Cylinder tube 50 blank Al 1 135,33 € 60100
10401-01 Cylinder head 0° pg 50/32 1 167,43 € 60100
10401-02 Cylinder head 90° pg 50/32 1 396,90 € 60100
10401-80 Cylinder head 50 pg blank 1 132,52 € 60100
10403-01 PDS Damping cup 50/34/44 1 45,80 € 60100
10403-02 PDS Damping cup 50/34/54 1 47,14 € 60100
10403-03 PDS Damping cup 50/34/64 1 53,81 € 60100
10404-01 Spring platform 57/69.5/90 1 44,47 € 60100
10404-30 Lock nut 57/90 1 45,14 € 60100
10405-01 Spring retainer dia. 69.5 1 56,70 € 60100
10406-01 Piston 12/50 1 73,27 € 60100
10407-01 Reservoir end Swivel 3/8 hose BOB-R2 1 90,91 € 60100
10407-02 Reservoir end M10x1 BOB-R 1 97,95 € 60100
10407-51 Reservoir end Swivel 3/8 hose BOB-R2 1 188,50 € 60100
10408-01 Cylinder head hose 50/32 Swivel 1 246,14 € 60100
10409-01 Seal ball joint 18/32 1 4,20 € 60200
10410-01 Spacer, ball joint 12x30 mm 1 18,90 € 60100
10410-12 Spacer, ball joint 14x35 mm 1 50,03 € 60100
10410-13 Spacer 1 68,82 € 60100
10411-01 End eye 18/61/32 1 155,65 € 60100
10412-02 Spacer 18/38/2 Black 1 4,98 € 60200
10412-03 Spacer 18/38/3 Red 1 4,98 € 60200
10412-10 Spacer 18/38/10 Blue 1 4,98 € 60200
10413-01 Rotation stop 1 24,87 € 60100
10416-11 Bushing rubber 20/50/20 1 16,23 € 60200
10416-12 Bushing rubber 18/38/32 1 20,01 € 60200
10416-13 Rubber washer 23/40/8 1 10,79 € 60200
10417-11 Sleeve 12/20/40 1 26,02 € 60100
10417-12 Sleeve 16/24/40 1 27,02 € 60100
10417-13 Sleeve 16/24/40 1 29,80 € 60100
10418-11 Washer 12/61/4 1 51,33 € 60100
10418-13 Washer 24/63/2 1 42,25 € 60100
10422-01 Spacer (BMZ MI35) 1 69,82 € 60100
10430-01 Spacer, ball joint 10x20 1 12,29 € 60200
10430-02 Spacer, ball joint 10x24 1 11,33 € 60200
10431-01 Valve seat, BO 1 21,68 € 60100
10432-01 Check valve BO MKIII 1 41,47 € 60100




10433-01 End cap 1 17,34 € 60100
10434-01 Poppet, @15 1 15,34 € 60100
10435-01 End cap, non-adjustable 1 40,29 € 60100
10500-04 PDS Piston holder L=63 1 43,94 € 60100
10500-05 PDS Piston holder L=88 1 206,30 € 60100
10523-01 PDS piston holder 1 127,19 € 60100
10524-01 PDS piston sleeve 1 18,35 € 60100
10525-01 PDS piston spacer 1 35,92 € 60100
10526-16 Bleed shim 1.6 1 3,23 € 60200
10526-18 Bleed shim 1.8 1 3,23 € 60200
10526-20 Bleed shim 2.0 1 3,23 € 60200
10526-24 Bleed shim 2.4 1 3,23 € 60200
11008-99 Pen Bigpen org.gold 1 2,10 € 60650
11009-01 Handlebar Clip Sign, black 1 3,34 € 61200
14702-01 Cylinder tube 125.3x40 HD6 1 79,94 € 60100|New
14704-01 Rubber bushing upper 30/10 1 13,51 € 60200
14713-03 Reservoir assembly 1 105,54 € 60100
14725-01 Spring platform HD6 £ 1 52,37 € 60100
14726-01 Lock nut HD6 £ 1 24,82 € 60100
14727-01 Bump rubber HD6 £ 1 7,97 € 60200
14736-02 Valve stop HD6 £ 1 10,37 € 60200
14737-01 Piston D40 HD6 £ 1 28,36 € 60100
14753-01 Seal head assy 1 23,90 € 60200
14756-01 Comp. valve assy 1 114,41 € 60100
15000-02 Mechanical preload adjuster with lock nut 1 216,79 € 60100
15000-03 Mechanical preload adjuster with spacers 1 216,79 € 60100
15001-01 End piece adjuster 1.5 COMP 1 46,69 € 60100
15002-01 Adjustment needle 1.5 adj. slot 1 6,23 € 60100
15002-03 Adjustment Needle 1.5 Adj. allen Stainless steel 1 15,12 € 60100
15003-01 End piece adjuster 2.5 COMP 1 102,28 € 60100
15003-02 End piece adjuster 2.5 REB 1 102,28 € 60100
15004-01 Adjustment needle 2.5 adj. slot 1 8,12 € 60100
15004-02 Adjustment needle 2.5 adj. allen 1 8,57 € 60200
15005-01 Reservoir adapter 49-58mm 1 56,21 € 60199|NLA
15006-01 End piece adjuster 1.5 COMP Gold 1 32,52 € 60100
15006-02 End piece adjuster 2.5 COMP Gold 1 38,69 € 60100
15006-03 End piece adjuster 1.5 COMP Gold 1 47,58 € 60100
15006-06 End piece dual adjuster 1 146,75 € 60100
15006-07 End piece high speed adjuster 1 61,71 € 60100
15006-08 End piece dual adjuster 1.5 COMP Gold 1 35,58 € 60100
15006-12 End piece adjuster 2.5 REB Black 1 32,52 € 60100




15006-13 End piece adjuster 1.5 REB Black 1 40,86 € 60100
15006-14 End piece adjuster 2.5 REB Black 1 47,58 € 60100
15006-21 End piece adjuster 1.5 COMP 1 74,49 € 60100
15007-01 Seal head holder 1 105,62 € 60100
15007-02 Seal head holder 1 129,85 € 60100
15007-04 Seal head holder 1 110,06 € 60100
15007-05 Seal head holder OWYV thick 1 91,61 € 60100
15007-10 Seal head holder TTX 30 1 83,38 € 60100
15008-01 Spacer 6/12/20 1 21,12 € 60100
15009-01 Stop cup 56/21/14 1 31,69 € 60100
15010-01 Lock Nut HO450 M10 1 16,13 € 60100
15011-31 Shaft 16/178 1 107,89 € 60100
15012-01 Bracket M25x1 1 128,08 € 60100
15013-03 Adjuster blue 1 44,36 € 60100
15014-02 Clamp seat 1 22,80 € 60100
15015-01 Clamp 7-8.5-9.5 1 68,93 € 60100
15016-02 Lock nut 1 28,36 € 60100
15017-01 Top out spring 30/15/60N/mm 1 26,02 € 60100
15020-01 Needle roller 1.5x9.8 1 0,67 € 60100
15023-02 Valve seat SE 1 179,44 € 60100
15023-03 Valve seat SE 4mm 1 63,71 € 60100
15024-01 Shims 45/54/0,1 1 1,67 € 60200
15024-02 Shims 46/54/0.1 1 1,67 € 60200
15025-01 Piston 12/44 1 21,35 € 60100
15025-11 Piston 12/44 assy 1 92,71 € 60100
15026-01 Piston band 44/11.3/1.25 1 53,36 € 60200
15026-03 Piston band 46/11.3/1.25 1 31,35 € 60200
15027-01 Stop washer 12/37/2-8 1 47,81 € 60100
15039-01 Piston 12/46 sintered 1 25,12 € 60100
15039-02 Piston 12/46 sintered 1 25,13 € 60100
15039-10 Piston 12/46 assy 1 95,76 € 60100
15044-17 Shaft 16/200 1 71,99 € 60100
15044-20 Shaft 16/215 1 53,82 € 60100
15044-24 Shaft 16/235 1 57,69 € 60100
15044-28 Shaft 16/255 1 21,53 € 60100
15044-31 Shaft 16/270 1 65,65 € 60100
15047-28 Shaft 16/255 1 91,86 € 60100
15060-01 PDS Piston holder 1 96,10 € 60100
15060-02 PDS Piston holder 1 103,46 € 60100
15061-01 PDS Piston sleeve 1 37,59 € 60100
15062-01 PDS Piston 1 39,25 € 60100




15062-02 PDS Piston 31mm 1 44,47 € 60100
15064-01 Shaft jet 1 11,01 € 60100
15065-01 Adjustment needle 1 26,58 € 60100
15066-06 Adjustment rod 1 51,04 € 60100
15066-18 Adjustment rod 1 49,92 € 60100
15067-01 Spring 3.20/4.80/19.50 £ 1 3,23 € 60200
15068-01 Spacer 1 5,45 € 60200
15080-01 Cylinder head TTX 46 1 393,56 € 60100
15080-02 Cylinder head TTX 46 1 411,58 € 60100
15080-03 Cylinder head TTX 46 1 393,56 € 60100
15080-06 Cylinder head 1 532,31 € 60100
15080-07 Cylinder head TTX 46 1 614,36 € 60100
15080-08 Cylinder head TTX 46 1 450,26 € 60100
15080-09 Cylinder head TTX 46 1 494,51 € 60100
15080-09 Cylinder head TTX 46 1 494,51 € 60100
15080-10 Cylinder head TTX 46 1 678,18 € 60100
15080-11 Cylinder head TTX 46 1 629,15 € 60100
15080-11 Cylinder head TTX 46 1 629,15 € 60100
15080-51 Cylinder head TTX46 1 185,11 € 60100
15080-60 Cylinder head TTX46 1 261,16 € 60100
15080-61 Cylinder head TTX46 1 272,28 € 60100
15081-01 Reservoir adapter 1 22,13 € 60100
15082-01 Outer tube Tr57x2/50/198 1 95,43 € 60100
15082-02 Outer tube Tr57x2/50/168 1 98,86 € 60100
15082-03 Outer tube TR57x2/50/145,6 with thread locker 1 99,21 € 60100
15082-04 Outer tube Tr57x2/50/198 with thread locker 1 106,17 € 60100
15083-01 Cylinder tube TTX46 188mm 1 52,48 € 60100
15083-02 Cylinder tube TTX46 169mm 1 52,53 € 60100
15083-03 Cylinder tube TTX46 135mm 1 50,70 € 60100
15084-03 End cap 50.6/54.5 1 3391 € 60100
15085-01 End piece clevis 77/30.2/M10 1 146,09 € 60100
15085-02 End piece eye 59.8/26 1 159,43 € 60100
15085-03 End piece clevis 78.2/20/10 1 155,65 € 60100
15085-04 End piece clevis 85/22.2/10 1 176,99 € 60100
15085-06 End piece clevis 88/25.6/M10 1 163,61 € 60100|NLA
15085-07 End piece clevis 88/20.6/M10 With thread locker 1 200,12 € 60100
15085-08 End piece clevis 47.7/32.2/M12 with thread locker 1 166,10 € 60100
15085-09 End piece clevis 56/20/10 With thread locker 1 140,75 € 60100
15085-10 End piece eye 109.8/26 With thread locker 1 232,80 € 60100
15085-11 End piece clevis 73/25.6/M10 With thread locker 1 144,08 € 60100
15085-13 End piece clevis 77/30.2/M10 With thread locker 1 138,86 € 60100




15085-13 End piece clevis 77/30.2/M10 With thread locker 1 138,86 € 60100
15086-01 Stop washer 1 51,14 € 60100
15087-01 Spring clip 1 76,71 € 60100
15087-02 Spring clip 1 102,28 € 60100
15087-04 Spring clip 1 76,71 € 60100
15087-06 Spring clip 1 250,81 € 60100
15087-08 Spring clip 1 91,16 € 60100
15087-09 Spring clip 1 69,54 € 60100
15087-20 Spring clip spacer ring 1 65,59 € 60100
15088-01 Rebound adjuster MX 1 66,22 € 60100
15088-02 Rebound adjuster MX 1 94,76 € 60100
15088-03 Rebound adjuster MX 1 40,58 € 60100
15088-04 Rebound adjuster MX 1 59,51 € 60100
15089-01 Lock Nut Tr57x2 Steel 1 36,58 € 60100
15090-01 Check valve housing 1 126,30 € 60100
15090-02 Check valve housing 1 107,62 € 60100
15091-01 Check valve spool STD 1 34,22 € 60100
15092-01 Check valve spring cup 1 11,56 € 60100
15094-01 Adjuster housing 1 97,55 € 60100
15095-01 Adjuster needle 1.5 1 52,25 € 60100
15096-01 Valve 19 mm full port 1 30,36 € 60100
15096-02 Valve 19 mm full port 1 30,36 € 60100
15097-01 Adjuster retainer 1 19,62 € 60100
15099-01 Reservoir end M50 1 94,50 € 60100
15100-01 Separating plate TTX30 1 17,79 € 60100
15101-01 TTX30 Piston Spacer 1 6,12 € 60100
15102-01 Spring Clip for springs 46 1 67,32 € 60100
15107-01 Hose 110 mm svivel-M12 1 58,52 € 60105|NLA
15180-60 Cylinder head TTX46 1 225,58 € 60100
15202-13 Fork bottom MX HA 2011 Left 1 515,64 € 60100
15202-14 Fork bottom MX HA 2011 Right 1 403,57 € 60100
15202-16 Fork bottom MX GG 2012 Right 1 390,23 € 60100
15202-23 Fork bottom MX YA Left 1 368,03 € 60100
15202-24 Fork bottom MX YA Right 1 328,09 € 60100
15202-25 Fork bottom MX Kawasaki Left 1 546,99 € 60100
15202-26 Fork bottom MX Kawasaki Right 1 453,60 € 60100
15202-29 Fork bottom MX KTM left 1 597,68 € 60100
15202-30 Fork bottom MX KTM Right 1 534,98 € 60100
15202-31 Fork bottom MX Suzuki Left 1 527,91 € 60100
15202-32 Fork bottom MX Suzuki Right 1 438,61 € 60100
15202-33 Fork bottom MX KT left 1 513,64 € 60100




15202-35 Fork bottom MX HO left 2015 1 571,10 € 60100
15202-37 Fork bottom MX Honda Left 1 408,58 € 60100
15202-38 Fork bottom MX Honda Right 1 569,22 € 60100
15202-40 Fork Bottom KTM Right 1 91,08 € 60100
15202-43 Fork Bottom Yamaha 2014 Left 1 487,62 € 60100
15202-44 Fork Bottom Yamaha 2014 Right 1 478,06 € 60100
15202-45 Fork botttom MX HO 2017 left 1 595,68 € 60100
15202-47 Fork bottom MX HO left 1 593,02 € 60100
15202-48 Fork bottom MX HO right 1 470,94 € 60100
15202-49 Fork Bottom MX SH Left 1 621,95 € 60100
15202-50 Fork Bottom MX SH Right 1 554,93 € 60100
15202-51 Fork Bottom BA Left 1 560,93 € 60100
15202-52 Fork Bottom BA Right 1 495,95 € 60100
15202-53 Fork bottom MX KA Left 1 657,86 € 60100
15202-53 Fork bottom MX KA Left 1 657,86 € 60100
15202-54 Fork bottom MX KA Right 1 591,40 € 60100
15202-55 Fork Bottom MX BA Left 1 576,90 € 60100
15202-55 Fork Bottom MX BA Left 1 576,90 € 60100
15202-56 Fork Bottom MX BA Right 1 548,99 € 60100
15202-59 Fork botttom MX HO 2020 left 1 485,36 € 60100
15202-60 Fork botttom MX HO 2020 right 1 415,73 € 60100
15203-01 Fork leg outer 48/566/59.3/53.9 1 246,81 € 60100
15203-03 Fork leg outer 48/566/59.2/55.9 1 259,98 € 60100
15203-04 Fork leg outer 48/576/59.2/53.9 1 343,43 € 60100
15203-05 Fork leg outer 48/576/60/54 1 322,41 € 60100
15205-01 Bushing 48/52/16 1 39,70 € 60200
15206-01 Seal MX 48 1 12,85 € 60200
15206-02 Seal MX 48 RXF Blue 1 13,34 € 60200
15207-01 Scraper Seal MX 48 1 11,08 € 60200
15207-02 Scraper Seal MX 48 RXF Blue 1 13,34 € 60200
15209-01 Screw M8x25 head 10 washer stainless 1 10,50 € 60100
15209-02 Screw M8x32 1 11,06 € 60100
15209-03 Screw M8x30 head 10 washer stainless 1 10,95 € 60100
15209-10 Screw M12x1.25x50 flange head 13 1 27,24 € 60100
15210-02 Sleeve 53.8/54.8/47 1 66,71 € 60100
15211-01 Sticker service schedule MX fork & shock 1 1,06 € 60399
15400-01 Top Out Spring 1 10,01 € 60100
15400-02 Top out spring 1 N/mm RXF 1 8,34 € 60100
15400-03 Top out spring 0.75 N/mm RXF 1 8,12 € 60200
15400-04 Top Out Spring 0.6 N/mm 1 8,34 € 60200
15401-01 Outer tube TTX FG 34/30/316%*****x* 1 56,01 € 60100




15402-01 Inner tube TTX FG 25.2/22/361.5%*** 1 49,40 € 60100
15402-02 Inner tube TTX FG 25.2/22/359.3 1 65,37 € 60100
15402-03 Inner tube TTX FG 25.2/22/359.3 chamfer 1 76,83 € 60100
15402-05 Inner tube 22/361 1 79,55 € 60100
15402-10 Cylinder tube 25/22/293.6 1 62,60 € 60100
15402-12 Cylinder Tube 22 1 89,06 € 60100
15403-01 Shaft 8/54.6% ¥ *¥*¥xkxkxkxakkkkkkxokx* 1 15,07 € 60100
15404-01 Shaft 8/508.5**** ¥ ¥k xkxkxkxkkkkkkx* 1 65,04 € 60100
15404-02 Shaft 8/510.5¥*¥*¥xkxkxkxkxkkkkrkx* 1 65,04 € 60100
15405-02 Valve holder TTX FGMX brass 1 32,62 € 60199|NLA
15405-03 Valve TTX FGMX brass 1 34,09 € 60100
15405-04 Valve TTX FGMX brass 1 98,95 € 60100
15405-15 Valve holder TTX FGMX Blasted 1 44,49 € 60100
15406-02 Piston 6/22 sleeve 1 34,18 € 60100
15406-04 Piston 6/22 sleeve o-ring 1 41,55 € 60100
15406-05 Piston 6/22 sleeve 1 33,35€ 60100
15406-10 Piston 6/22 assy with band 1 87,64 € 60100
15407-01 Piston 6/22 1 11,01 € 60100
15408-01 Hydraulic stop tulbg* ¥ kxkrkxkxk 1 5,76 € 60200
15408-02 Hydraulic stop tube one piece 1 73,94 € 60100
15408-03 Hydraulic stop tube 151.5 1 79,82 € 60100
15408-04 Hydraulic stop tube 161.5 1 73,94 € 60100
15408-05 Hydraulic stop tube 171.5 1 37,54 € 60100
15409-01 Piston ring 22/20/5 1 20,35 € 60100
15409-02 Piston ring 22/20/5 uncut 1 12,79 € 60100
15411-01 End Cap TTX FGIVIXH* k¥ kxkkakbokofookxokxok % 1 97,22 € 60100
15412-01 Adjustment rod 48.9/3.0***¥*x ¥k x*xx 1 2,67 € 60100
15412-02 Adjustment rod 503.5/3.0 1 12,79 € 60100
15412-03 Adjustment rod 505.5/3.0 1 12,79 € 60100
15412-04 Adjustment rod 520.5/3.0 1 17,12 € 60100
15412-05 Adjustment rod 500.5/3.0 1 12,79 € 60100
15412-06 Adjustment rod 514.7/3.0 1 7,73 € 60100
15412-07 Adjustment rod 46.8/3.0 1 17,30 € 60101 |NLA
15412-08 Adjustment rod 449.7/3.0 1 11,01 € 60100
15412-09 Adjustment rod 494.7/3.0 1 12,23 € 60100
15412-11 Adjustment rod 399.7/3.0 1 41,86 € 60100
15412-12 Adjustment rod 431.7/3.0 1 27,79 € 60100
15412-13 Adjustment rod 3/319 1 9,12 € 60100
15412-14 Adjustment rod 3/349 1 15,51 € 60100
15412-15 Adjustment rod 3/359 1 15,56 € 60100
15412-16 Adjustment rod 3/369 1 15,56 € 60100




15412-17 Adjustment rod 3/419 1 15,79 € 60100
15412-18 Adjustment rod 3/399 1 29,02 € 60100
15412-19 Adjustment rod 3/329 1 13,34 € 60100
15412-20 Adjustment rod 3/479 1 11,34 € 60100
15412-21 Adjustment rod 3/489 1 15,56 € 60100
15412-22 Adjustment rod 3/509 1 15,56 € 60100
15412-23 Adjustment rod 3/459 1 15,56 € 60100
15412-24 Adjustment rod 3/469 1 15,56 € 60100
15412-25 Adjustment rod 3/499 1 49,92 € 60100
15412-26 Adjustment rod 3/379 1 11,46 € 60100
15412-27 Adjustment rod 3/519 1 16,57 € 60100
15412-28 Adjustment rod 3/529 1 16,57 € 60100
15412-29 Adjustment rod 3/309 1 15,51 € 60100
15413-01 Thrust washer 34/38%**¥ %k xkkdoxkkxxk 1 7,68 € 60200
15413-10 Thrust washer 25/28.5 1 15,48 € 60100
15414-01 Valve washer TTX FG 1 3,64 € 60100
15415-01 Rebound needle 2.5/20 TTX FG 1 5,83 € 60200
15415-02 Adjustment needle 2.5/30 TTX FG 1 3,64 € 60100
15415-03 Rebound needle fixed 1 47,26 € 60100
15416-01 Adjustment needle 1 1 6,46 € 60100
15417-01 Top cap FG TTX Ohlins 48 1 110,59 € 60100
15417-02 Top cap FG TTX Showa**#*# %k ks k5 k% 1 89,41 € 60100
15417-03 Top cap FG TTX KYB2/WP 1 110,59 € 60100
15417-06 Top cap FG TTX KYB1 1 89,41 € 60100
15418-01 Check valve housing 38.6/37.4/5.2** 1 5,61€ 60100
15418-02 Check valve holder FGMX 1 56,70 € 60100
15418-03 Check valve holder FGMX 1 24,68 € 60100
15418-04 Check valve holder FGMX 1 32,02 € 60100
15419-01 Top out spring guide 1 36,69 € 60100
15420-01 Dividing piston 38 1 27,67 € 60100
15420-02 Dividing piston 38 1 36,14 € 60100
15420-03 Dividing piston 8/38/33 1 13,20 € 60100
15420-10 Reservoir piston 30 1 17,08 € 60100
15421-01 Lock nut M6 1 191¢€ 60200
15422-01 Adjustment screw 1 4,03 € 60100
15422-02 Adjustment screw 1 6,77 € 60100
15422-03 Adjustment Screw FGFX 1 4,03 € 60200
15423-01 Adjustment screw 1 3,86 € 60100
15424-01 Bushing 40.5/44/8 1 44,47 € 60200
15425-01 Piston holder M8x0.75/6****x** ¥k x 1 34,46 € 60100
15425-02 Piston holder M8x0.75/6 one-way valve 1 19,64 € 60100




15425-03 Piston holder M8x0.75/6 1 24,40 € 60100
15425-04 Piston holder M8x0.75/6 1 30,50 € 60100
15425-05 Piston holder 1.5 M8x0.75/6 ver 5 1 27,69 € 60100
15425-06 Piston holder 2.5 1 44,10 € 60100
15425-07 Piston holder 2.5 1 27,79 € 60100
15425-10 Piston holder assy 1 87,51 € 60100
15426-01 Bottom cap TTX fork 1 14,17 € 60100
15426-03 Bottom Cap TTX Ver 3 1 20,23 € 60100
15427-01 Rod end, comp 1 10,46 € 60100
15427-02 Rod end, comp 2.5 1 11,37 € 60100
15427-03 Rod end, comp 1.5 1 8,77 € 60100
15428-01 L-cup seal 8x12x3.6 £ 1 8,34 € 60200
15428-02 Zurcon L-Cup 10/16/5 1 8,34 € 60200
15429-01 Springseat TTX FG OHL 48/WP/KYB**** 1 61,15 € 60100
15429-02 Spring seat TTX FG Showa*****x#xkkx 1 61,15 € 60100
15429-03 Spring seat TTX FG 50 1 110,06 € 60100
15429-05 Spring seat TTX FG 1 53,36 € 60100
15429-10 Spring seat FG Showa 33.5 1 43,36 € 60100
15429-11 Spring seat FG WP 43 1 63,37 € 60100
15429-12 Spring seat FG KYB 36 1 61,15 € 60100
15429-13 Spring support 1 55,59 € 60100
15429-14 Spring seat TTX FG OHL 48 no hole 1 50,11 € 60100
15429-15 Spring seat RXF 48 small hole 1 65,77 € 60100
15430-01 Base plug TTX FG WP 1 25,57 € 60100
15430-03 Base plug TTX FG Kyh**# ks xskxckakskxk 1 31,13 € 60100
15430-04 Base plug WP EXC 1 26,68 € 60100
15430-05 Base plug TTX FG Ohlins 1 23,35 € 60100
15430-06 Base plug TTX FG Showa 24.5 1 25,57 € 60100
15430-07 Base plug TTX FG Sachs 25.5 1 31,13 € 60100
15430-08 Base plug TTX FG KYB WR 1 30,02 € 60100
15430-09 Base plug TTX FG Showa 20.5 full thread 1 82,83 € 60100
15430-10 Base plug FG Showa CRF150 1 25,57 € 60100
15430-11 Base plug TTX FG M22x1/24.1/20.5 1 25,57 € 60100
15430-14 Base plug TTX FG Showa 26.5 1 50,81 € 60100
15430-15 Base plug showa sff 49 1 96,06 € 60100
15430-17 Base plug showa sff 49 1 46,30 € 60100
15430-18 Base plug Showa 1 75,60 € 60100
15430-19 Base plug Showa 1 76,71 € 60100
15430-20 Base plug Showa 1 52,63 € 60100
15430-21 Base plug TTX FG Sachs 1 67,71 € 60100
15431-01 Piston rod end TTX FG M15x43 1 21,08 € 60100




15431-02 Piston rod end TTX FG M15x46 1 24,08 € 60100
15432-01 Check valve shim 29.4/37.2/0.30 1 1,67 € 60200
15432-01 Check valve shim 29.4/37.2/0.30 1 1,67 € 60200
15432-02 Shim 16.1/24/0.10 1 1,67 € 60200
15432-03 Shim 27.9/36/0.10 1 1,67 € 60200
15433-01 Spring 4.63/6.35/7.16 £****x*kkxkkx 1 2,74 € 60200
15434-01 Bearing sleeve TTX FG* ¥ ¥ ¥k xkxkkoxkx 1 8,28 € 60100
15434-02 Stop ring 34/38/5 1 7,45 € 60200
15434-10 Stop ring 25/28.5/5 1 10,62 € 60200
15435-01 Hydraulic stop holder**¥*¥*x%xixkx 1 18,35 € 60100
15436-01 Washer 8/25/2 TTX FG 1 6,92 € 60200
15437-01 Washer 8/25/2 TTX FG 1 1,23 € 60200
15438-01 Wave washer 32.2/36.5**** ¥k xkkioxkx 1 7,90 € 60100
15438-02 Wave washer 28.5/36.5/0.3 3-wave 1 13,66 € 60100
15439-01 Topout spring 12/36/26 1 6,30 € 60200
15439-02 Topout spring 20/28/80 1 5,29 € 60200
15440-01 Circlip 10/1 TTX FG 1 2,70 € 60200
15441-01 Hydraulic stop piston WP 1 2391€ 60100
15441-02 Hydraulic stop piston Showal 1 31,40 € 60100
15441-03 Hydraulic stop piston Kyb/Showa2 1 17,24 € 60100
15441-05 Hydraulic stop piston 27.2/16.4/4.6 1 21,68 € 60100
15441-06 Hydraulic stop piston 29.0/16.4/4.6 1 19,46 € 60100
15441-10 Hydraulic stop piston 21.2/16.4/4.6 1 22,80 € 60100
15443-02 Spacer 33/43/2 1 1,23 € 60200
15443-10 Spacer 33/43/10 1 4,37 € 60200
15446-08 Clamp washer MX TTX FG*** % ¥k xkxxx% 1 8,23 € 60100
15447-01 Top cap FG TTX M51x1/18 1 89,46 € 60100
15447-02 Top cap FG TTX M50x1.5/30 1 82,32 € 60100
15447-03 Top cap FG TTX M51x1.5/34.5 1 81,87 € 60100
15447-04 Top cap FG TTX M51x1.5/25 1 100,54 € 60100
15447-05 Top cap FG TTX M54x1/11.4 1 89,47 € 60100
15447-06 Top cap FG TTX M51x1.5/18 1 100,54 € 60100
15447-07 Top cap FG TTX M51x1.5/18 1 108,89 € 60100
15447-09 Top cap FG TTX M51x1.5/30 1 78,71 € 60100
15447-10 Top cap FG TTX M50x1.5/24 1 73,83 € 60100
15447-11 Top cap WP 1 82,75 € 60100
15448-01 Lock nut M34x1/30 1 19,46 € 60100
15448-02 Lock nut M25x1/35 1 25,57 € 60100
15448-03 Lock nut M34x1/30 1 16,68 € 60100
15449-11 Outer tube assembled TTX MX kit 2 1 110,65 € 60100
15450-01 Washer spring support 33.6/43.6/2 1 14,73 € 60100




15450-02 Washer spring support 34.6/44.6/2 1 13,90 € 60100
15452-01 Seal platform fork bottom MARZOCCHI 1 42,25 € 60100
15452-02 Seal platform fork bottom Showa SFF 1 47,81 € 60100
15452-03 Seal platform fork bottom Showa SFF48 1 39,58 € 60100
15452-04 Seal platform fork bottom KYB Air 1 51,92 € 60100
15452-05 Seal platform fork bottom KYB Air 2 1 98,95 € 60100
15452-07 Seal Platform SFF49 1 44,47 € 60100
15452-08 Seal platform Kayaba 48 1 13,51 € 60100
15454-01 Shaft 8/510.5 1 97,95 € 60100
15454-02 Shaft 8/525.5 1 108,33 € 60100
15454-03 Shaft 8/505.5 1 97,95 € 60100
15454-04 Shaft 8/520.5 1 97,95 € 60100
15454-05 Shaft 8/455.5 1 91,61 € 60100
15454-06 Shaft 8/500.5 1 101,70 € 60100
15454-07 Shaft 8/437.5 1 97,84 € 60100
15454-08 Shaft 8/405.5 1 89,94 € 60100
15454-80 Shaft 16/3000 holed, blank £ 1 103,26 € 60100
15455-01 Lock nut M24x1.5 1 6,81 € 60100
15456-01 Hydraulic stop cup WP EXC 1 18,90 € 60100
15456-02 Hydraulic stop cup Ohlins 1 22,24 € 60100
15456-03 Hydraulic stop cup SACHS 1 56,70 € 60100
15456-04 Hydraulic stop cup MARZOCCHI 1 46,69 € 60100
15456-05 Hydraulic stop cup KYB WR 1 43,36 € 60100
15456-06 Hydraulic stop cup WP 4CS 1 50,70 € 60100
15456-07 Hydraulic stop cup Showa SFF 1 55,59 € 60100
15456-08 Hydraulic stop cup narrow 1 35,58 € 60100
15456-09 Hydraulic stop cup Showa SFF 48 1 42,25 € 60100
15456-10 Hydraulic stop cup CRF150/RM85 1 31,13 € 60100
15456-11 Hydraulic stop cup WP 85 1 69,49 € 60100
15456-12 Hydraulic stop cup FGKA 1090 1 72,54 € 60100
15456-13 Hydraulic stop cup FGYA 1090 1 62,26 € 60100
15456-16 Hydraulic stop cup 1 98,72 € 60100
15456-17 Hydraulic stop cup 1 57,26 € 60100
15456-18 Hydraulic stop cup, shaft end, HEX 24 1 99,58 € 60100
15456-21 Hydraulic stop cup, hexagon 31.9 1 110,29 € 60100
15456-22 Hydraulic stop cup SACHS 1 98,84 € 60100
15456-23 Hydraulic stop cup, hexagon 24.5 1 75,49 € 60100
15457-01 Reservoir spacer TTX fork 1 8,45 € 60100
15458-01 Sleeve M22x1.25/28.1/17.5 1 17,96 € 60100
15472-01 Reservoir tube Honda CRF 150 1 73,40 € 60100
15472-02 Reservoir tube WP 1 70,58 € 60102 |NLA




15472-03 Reservoir tube KYB 1 93,99 € 60100
15472-04 Reservoir tube 1 152,76 € 60100
15472-05 Reservoir Tube Cone 1 61,15 € 60100
15472-13 Reservoir tube WP 1 123,63 € 60100
15472-14 Reservoir tube KYB 1 172,55 € 60100
15472-16 Reservoir tube 1 161,49 € 60100
15473-02 Check valve housing 0.25 1 23,27 € 60100
15474-01 Bottom cap FGMX 85 1 41,14 € 60100
15475-01 Hydraulic stop tube CRF150 1 159,20 € 60100
15475-02 Hydraulic stop tube WP85 1 123,63 € 60100
15475-03 Hydraulic stop tube 125 1 108,73 € 60100
15475-04 Hydraulic stop tube 158 1 115,13 € 60100
15476-01 End Cap FGMX 85 1 41,88 € 60100
15476-03 Top Cap Low 1 110,29 € 60100
15477-01 Sleeve 25.2/12/10.4 1 10,01 € 60100
15478-02 Spring 22.5/53/21 1 8,89 € 60100
15478-03 Spring 22.5/60/33 1 15,42 € 60199|NLA
15479-01 Stop rubber 10/17/5 1 7,23 € 60200
15480-01 Washer 8.4/15.5/1.5 1 6,12 € 60100
15481-01 Bushing 30/33/8 1 26,13 € 60200
15481-02 Bushing 36/38.8/8 WP43 1 17,79 € 60200
15481-03 Bushing 29/32/8 1 26,13 € 60200
15481-04 Bushing 44.5/9.5 1 12,50 € 60200
15481-05 Bushing 45.3/9.5 1 18,35 € 60200
15482-02 Spacer 25/32/2 1 9,39 € 60100
15482-03 Spacer 25/32/3 1 9,68 € 60100
15482-05 Spacer 25/32/5 1 9,90 € 60100
15483-02 Sleeve 6/8/9/6.2 1 5,69 € 60200
15483-06 Sleeve 6/8/9/5.7 1 6,15 € 60100
15485-01 Adjustment screw 1 6,56 € 60100
15486-01 Stop rubber 10/17/13 1 6,40 € 60200
15487-01 Wave washer 22/25/5.3 1 7,23 € 60100
15488-01 Spring guide 1 13,46 € 60100
15489-01 Check valve housing 1 24,90 € 60100
15489-03 Check valve housing 1 24,73 € 60100
15490-01 Top out washer 1 12,35 € 60100
15491-10 Cylinder tube assembled 1 2,33 € 60100
15491-11 Cylinder tube assembled 1 110,80 € 60100
15491-12 Cylinder tube assembled 1 108,51 € 60100
15491-13 Cylinder tube assembled 1 99,55 € 60100
15492-01 Sleeve 6/8/8.3/5.9 1 10,67 € 60200




15493-01 Sleeve 6/8/8.3/5.8 1 61,98 € 60199|NLA
15494-02 Spacer 30.5/38.2/2 1 8,45 € 60200
15495-02 Spacer 25/31.5/2 1 13,90 € 60200
15497-02 Spring 10/17/7.4/5.8 conical 1 1,01 € 60100
15498-01 Adjustment rod 46.4/3.0 cone 1 7,48 € 60100
15499-01 Top Out Spring Sleeve 1 12,12 € 60100
15499-10 Top Out Stop Sleeve 1 16,90 € 60100
15500-01 Housing 1 159,43 € 60100
15500-03 Housing v2.1 1 155,65 € 60100
15501-01 Lid 1 144,75 € 60100
15502-02 Vanev 2.1 1 97,84 € 60100
15503-01 Tower 1 5,99 € 60100
15503-03 Tower v2.1 1 13,17 € 60100
15504-11 Lever machined 1 117,40 € 60100
15504-12 Lever v2.1 1 133,41 € 60100
15505-02 Bracket steel 1 136,97 € 60100
15505-03 Bracket v2.1 1 76,71 € 60100
15505-04 Bracket type 2 v2.1 1 81,16 € 60100
15505-05 Bracket type 3 v2.1 1 116,51 € 60100
15505-13 Bracket v2.1 1 93,39 € 60100
15505-14 Bracket type 2 v2.1 1 93,39 € 60100
15505-15 Bracket type 3 v2.1 1 93,39 € 60100
15505-24 Bracket type 2.1A v2.1 1 159,20 € 60100
15505-25 Bracket type 3.1v2.1 1 168,10 € 60100
15506-01 Adjustment knob DL 1 27,30 € 60100
15506-02 Adjustment knob RTC 1 27,79 € 60100
15507-02 Plug 1 11,78 € 60100
15508-01 Plug 1 6,40 € 60100
15509-01 Cover 1 12,65 € 60100
15510-01 Check valve housing 1 18,57 € 60100
15511-01 Check valve 1 9,82 € 60200
15512-01 Valve seat 1 3,09 € 60100
15514-01 Valve high-speed 1 6,59 € 60200
15515-01 Valve DL 1 12,85 € 60100
15516-01 Adjuster 1 4,42 € 60200
15517-01 Valve RTC 1 17,72 € 60100
15518-01 Adjuster 1 4,84 € 60100
15519-01 Piston 1 6,95 € 60100
15521-01 Nut M34x1 1 17,74 € 60100
15522-01 Pin 1 510€ 60200
15522-02 Pinv2.1 1 6,29 € 60100




15522-03 Mounting Pin type 2 v2.1 1 13,28 € 60100
15523-01 Spring "Stockholmsfjader 2819" £ 1 1,23 € 60100
15524-02 Spring 1 0,67 € 60200
15525-01 Spring "Stockholmsfjader 5992" £ 1 2,99 € 60200
15526-01 Pin cpr 2.5x10 h8 A2 £ 1 0,67 € 60200
15527-01 Washer 26/33.5/0.20 1 5,95 € 60200
15527-02 Washer 29.7/36.3/0.20 1 22,40 € 60100
15527-03 Washer 29.7/36.3/0.30 1 12,62 € 60100
15528-01 Washer 10/14/2 fzb £ 1 0,67 € 60200
15530-01 Plug 8/3/6 1 0,67 € 60200
15532-01 Mounting block steering damper KTM 1 25,57 € 60100
15538-01 Seal face 41x2.4x2.75 1 52,42 € 60200
15549-01 Pin 1 9,29 € 60200
15549-02 Pin 1 71,82 € 60100
15550-01 Bracket 49/51 1 150,31 € 60100
15550-04 Bracket 47.5/52 1 150,31 € 60100
15550-11 Bracket 49/51 v2.1 1 164,90 € 60100
15550-16 Bracket 48/50 v2.1 1 164,90 € 60100
15550-51 Bracket 49/51 v2.1 1 135,72 € 60100
15550-52 Bracket 49/52 v2.1 1 135,72 € 60100
15550-54 Bracket 47.5/52 v2.1 1 135,72 € 60100
15550-55 Bracket 47.5/50.3 v2.1 1 126,30 € 60100
15550-56 Bracket 48/50 v2.1 1 135,72 € 60100
15550-57 Bracket 47.5/50.3 Bv2.1 1 135,72 € 60100
15551-01 Seal washer 48.8/30 1 10,62 € 60200
15551-02 Seal washer 48.8/28 1 17,24 € 60200
15551-03 Seal washer 48.8/28 1 24,96 € 60100
15551-04 Seal washer 47.3/30 1 14,45 € 60200
15551-05 Seal washer 47.3/28.8 1 19,34 € 60200
15551-06 Seal washer 47.3/30 1 36,07 € 60100
15551-08 Seal washer 47.3/28.8/2.8 1 37,58 € 60100
15552-01 Nut M26x1 1 17,34 € 60100
15552-02 Nut M24x1 1 17,34 € 60100
15552-05 Nut M20x1.5 1 25,79 € 60100
15552-11 Nut M26x1 v2.1 1 45,92 € 60100
15552-12 Nut M24x1 v2.1 1 45,70 € 60100
15552-13 Nut M24x1.5v2.1 1 45,70 € 60100
15552-15 Nut M20x1.5 v2.1 1 93,39 € 60100
15552-16 Nut M24x1.25v2.1 1 45,70 € 60100
15553-01 Nut M30x1 1 32,58 € 60100
15553-02 Nut M30x1 1 32,58 € 60100




15553-03 Nut M25x1 1 35,58 € 60100
15554-01 Washer 12/26/3.5 1 9,23 € 60100
15555-01 Spacer 21/35/3 1 12,23 € 60100
15555-02 Spacer 20/35/3 1 12,67 € 60100
15558-01 Cover 1 43,36 € 60100
15558-03 Cover SD 533 1 10,67 € 60100
15561-01 Seal Nut M28x1 1 3391€ 60100
15562-01 Sleeve 6.4/12/8 1 6,40 € 60100
15564-01 Spacer 1 21,52 € 60100
15564-02 Spacer 1 21,52 € 60100
15564-03 Spacer 1 35,35 € 60100
15564-04 Spacer 21/46.3/10 1 19,18 € 60100
15564-05 Spacer 32.2/46.2/4 1 17,68 € 60100
15629-02 Spring clip for springs 61/56/15 1 44,47 € 60100
15629-04 Spring clip for springs 61/56/-3 1 77,21 € 60100
15801-02 Movable holder clamp 1 194,25 € 60100
15806-01 Washer POM 15.1/21/1 1 6,23 € 60200
15806-02 Washer POM 14/19/0.95 1 6,23 € 60200
15806-03 Washer POM 14/24/0.95 1 6,23 € 60200
15808-11 Bushing 11 1 23,35 € 60200
15809-01 Collar Threaded 1 18,06 € 60100
15810-28 Handlebar clamp upper 28.6 1 54,29 € 60100
15811-28 Handlebar clamp lower 28.6 1 64,72 € 60100
15820-01 Service kit | SD S3 1 591,29 € 60200
15831-01 Piston reservoir 1 26,68 € 60100
15832-01 Cover 1 19,68 € 60100
15834-01 Plug 1 11,68 € 60100
15835-01 Ball stop 1 16,28 € 60100
15836-01 Seal PUR 1 4,47 € 60200
15837-01 Valve rod 1 16,23 € 60100
15838-01 Valve housing 1 218,33 € 60100
15839-01 Spring 0.3x3x5 1 1,23 € 60200
15839-02 Spring 2x12.5x22.5 1 6,85 € 60200
15839-03 Spring 2.57/7.5/8.9 1 3,27 € 60200
15840-01 Spring valve rod 52 N 1 7,71 € 60200
15840-02 Spring valve rod 70 N 1 8,12 € 60200
15840-03 Spring valve rod 44 N 1 8,12 € 60200
15860-01 Cylinder tube 25/22/47 1 48,86 € 60100
15861-01 Seal head 1 1 149,75 € 60100
15861-02 Seal head 2 1 36,69 € 60100
15862-03 Piston rod holder RH 1 67,82 € 60100




15862-04 Piston rod holder LH 1 67,82 € 60100
15863-01 Bushing seal head 1 8,89 € 60200
15864-06 Bushing seal head 1 36,69 € 60100
15865-01 Piston screw 1 9,34 € 60100
15866-01 Piston rod 1 26,98 € 60100
15867-01 Seal w scraper 8x16x5.1 1 29,80 € 60200
15870-01 Frame bracket KTM 1 137,41 € 60100
15872-01 Screw M20x1.5 KTM steering stem 1 60,04 € 60100
15873-01 Washer 26.6/38/7.5 KTM steering stem 1 44,47 € 60100
15874-01 Nut M30x1 1 51,70 € 60100
15874-02 Nut M25x1 1 51,70 € 60100
15875-01 Washer 6.4/17/3 1 0,67 € 60200
15890-22 Frame link 22 1 76,71 € 60100
15890-45 Frame link 45 1 76,71 € 60100
15891-01 Frame bracket 1 61,15 € 60100
15892-01 Link lever 1 110,52 € 60100
15893-01 Link 1 56,70 € 60100
15894-01 Screw link 1 8,89 € 60100
15999-19 Service kit Flow shock absorber -19 (Replaces 15999-10) £ 1 94,50 € 60206
15999-21 Service kit RXF48 (Replaces 15999-01) 1 108,95 € 60206
15999-22 Service kit spring preload (Replaces 15999-11) £ 1 44,47 € 60206
15999-23 Service kit STX 46 MX 85cc shock absorber 1 94,50 € 60206
15999-24 Service kit Flow shock absorber 20- (Replaces 15999-20) 1 94,50 € 60206
15999-25 Service kit STX 46 MX 85cc shock absorber 1 94,50 € 60206
18014-02 Adjustment pin 1 4,51 € 60100
18014-03 Adjustment pin 1 4,36 € 60100
18023-04 Membrane 31 1 3,79 € 60200
18054-01 Adjustment rod 100mm 1 8,45 € 60200
18054-02 Adjustment rod 87mm 1 8,45 € 60200
18054-03 Adjustment rod 81mm 1 8,45 € 60100
18054-04 Adjustment rod 145mm 1 8,45 € 60100
18054-05 Adjustment rod 165mm 1 9,73 € 60200
18054-06 Adjustment rod 185mm 1 9,73 € 60100
18054-07 Adjustment rod 200mm 1 9,73 € 60200
18054-08 Adjustment rod 84 1 9,27 € 50199
18054-09 Adjustment rod 74 1 7,55 € 60100
18054-10 Adjustment rod 68.5 1 5,74 € 60100
18054-14 Adjustment rod 113mm 1 9,73 € 60100
18054-15 Adjustment rod 92mm 1 5,78 € 60100
18054-16 Adjustment rod 130mm 1 9,73 € 60200
18054-17 Adjustment rod 76.5 1 7,18 € 60200




18054-18 Adjustment rod 133 1 9,73 € 60100
18095-02 Circlip SW 50, stainless 1 1,23 € 60200
19204-02 Wiper seal 38 Blue SKF £ 1 22,92 € 60200
19217-90 Screw MLC6S DIN7984 A2 M6x16 1 1,22 € 60200
20014-05 EC solenoid cable assy 03FA016FO0 1 92,04 € 60100
20028-01 Bracket hyd. p-l adj. 0 deg / dia 6 1 162,76 € 60100
20029-01 Bracket hyd. p-l adj. 90deg / dia 6 1 300,18 € 60100
20029-02 Bracket hyd. p-l adj. 90deg / dia 8 1 137,86 € 60100
20029-03 Bracket hyd. p-l adj. 90deg /dia 10 1 137,86 € 60100
20030-01 Bracket hyd. p-l adj. spec./ dia 6 1 100,06 € 60100
20031-03 Bracket hyd. p-l adj. 0 deg /dia 10 1 82,27 € 60100
20045-01 Spacer 23/34/25 1 16,57 € 60199|NLA
20045-02 Spacer 24/34/25 1 9,96 € 60199|NLA
20045-04 Spacer 27/39/25 1 17,62 € 60199|NLA
20045-05 Spacer 30/43/25 1 19,72 € 60199|NLA
20046-02 Spacer 23/34/25 1 27,27 € 60199|NLA
20046-04 Spacer 23/34/55 7mm hole 1 64,81 € 60199|NLA
20047-01 Spacer 6.5/18/16 Al 1 11,68 € 60100
20047-02 Spacer 6.2/11/8 Al 1 12,22 € 60100
20048-01 Hose 8/8/485 1 71,35 € 60100
20049-01 Cylinder head 46 Clevis 1 87,83 € 60100
20200-01 Plunger 12/10.5 1 9,01 € 60100
20570-001 Cylinder head 46/26-M10x1 1 94,51 € 60100
20570-01 Cylinder head 46/26-M10x1 1 91,13 € 60100
20570-02 Cylinder head 46 1 95,49 € 60100
20580-31 Spring 57/250/ 95 (Y) 1 96,72 € 60301
20580-36 Spring 57/250/105 (Y) 1 96,72 € 60301
21000-02 Shaft 14/121.5 1 30,22 € 60100
21000-04 Shaft 14/131.5 1 73,38 € 60100
21000-05 Shaft 14/136, 5%****kxkkxx 1 31,33 € 60100
21000-06 Shaft 14/141 5¥*x*kxxkdxkskx 1 73,38 € 60100
21000-07 Shaft 14/146.5*******xxxx! 1 37,06 € 60100
21000-08 Shaft 14/151.5 1 31,15 € 60100
21000-11 Shaft 14/166.5 1 32,06 € 60100
21000-12 Shaft 14/171.5 1 31,73 € 60100
21000-18 Shaft 14/201.5 1 31,88 € 60100
21000-22 Shaft 14/221.5 1 32,58 € 60100
21000-50 Shaft 14/96 1 43,54 € 60100
21000-65 Shaft 14/125.5 1 31,09 € 60100
21000-66 Shaft 14/157 1 32,02 € 60100
21001-04 Shaft 14/151 1 30,17 € 60100




21001-05 Shaft 14/156 1 29,71 € 60100
21001-06 Shaft 14/161 1 29,55 € 60100
21001-07 Shaft 14/166 1 30,66 € 60100
21001-09 Shaft 14/176 1 28,88 € 60100
21001-13 Shaft 14/196 1 31,57 € 60100
21001-50 Shaft 14/119 1 43,40 € 60100
21002-08 Shaft 14/151.5 1 100,06 € 60100
21002-12 Shaft 14/151.5 1 39,90 € 60100
21002-18 Shaft 14/201.5 1 43,36 € 60100
21002-22 Shaft 14/221.5 1 39,72 € 60100(NLA
21002-27 Shaft 14/246.5 1 45,58 € 60100
21003-51 Shaft 14/113.5 1 36,11 € 60100
21004-06 Shaft 14/161 Ti 1 175,19 € 60100
21005-04 Inner tube 36/76 AL 1 25,24 € 60100
21005-05 Inner tube 36/81 AL 1 25,07 € 60100
21005-06 Inner tube 36/86 AL 1 27,13 € 60100
21005-07 Inner tube 36/91 AL 1 28,02 € 60100
21005-08 Inner tube 36/96 AL 1 28,19 € 60100
21005-09 Inner tube 36/101 AL 1 32,36 € 60100
21005-10 Inner tube 36/106 AL 1 80,83 € 60100
21005-11 Inner tube 36/111 AL 1 32,14 € 60100
21005-13 Inner tube 36/121 AL 1 38,69 € 60100
21005-15 Inner tube 36/131 AL 1 40,52 € 60100
21005-18 Inner tube 36/146 AL 1 80,54 € 60100
21005-21 Inner tube 36/161 AL 1 46,25 € 60100
21005-25 Inner tube 36/181 AL 1 52,03 € 60100
21005-49 Inner tube 36/98.5 AL 1 29,57 € 60100
21005-50 Inner tube 36/46 AL 1 20,80 € 60100
21005-60 Inner tube 36/78.5 AL 1 27,52 € 60100
21005-61 Inner tube 36/108.5 AL 1 36,19 € 60100
21005-62 Inner tube 36/128.5 AL 1 40,25 € 60100
21005-63 Inner tube 36/158.5 AL 1 43,03 € 60100
21005-64 Inner tube 36/178.5 AL 1 51,76 € 60100
21005-65 Inner tube 36/82.5 AL 1 31,25 € 60100
21005-66 Inner tube 36/114 AL 1 37,52 € 60100
21005-68 Inner tube 36/203.5 AL 1 51,48 € 60100
21005-69 Inner tube 36/88.5 AL 1 51,48 € 60100
21006-04 Inner tube 36/76 Fe 1 16,13 € 60100
21006-05 Inner tube 36/81 Fe 1 14,28 € 60100
21006-06 Inner tube 36/86 Fe 1 14,57 € 60100
21006-07 Inner tube 36/91 Fe 1 15,56 € 60100




21006-09 Inner tube 36/101 Fe 1 21,40 € 60100
21009-11 Outer tube 49/126 AL 1 51,50 € 60102 |NLA
21009-21 Outer tube 49/176 AL 1 68,16 € 60100
21009-25 Outer tube 49/196 AL 1 80,83 € 60100
21009-30 Outer tube 49/221 AL**** 1 85,72 € 60100
21010-04 Outer tube 48/91 AL 1 41,14 € 60100
21010-05 Outer tube 48/96 AL 1 45,31 € 60100
21010-06 Outer tube 48/101 AL 1 50,15 € 60100
21010-07 Outer tube 48/106 AL 1 48,62 € 60100
21010-08 Outer tube 48/111 AL 1 48,08 € 60100
21010-09 Outer tube 48/116 AL 1 52,75 € 60100
21010-10 Outer tube 48/121 AL 1 56,92 € 60100
21010-11 Outer tube 48/126 AL 1 55,20 € 60100
21010-13 Outer tube 48/136 AL 1 60,60 € 60100
21010-15 Outer tube 48/146 AL 1 62,98 € 60100
21010-18 Outer tube 48/161 AL 1 89,21 € 60100
21010-21 Outer tube 48/176 AL 1 67,76 € 60100
21010-25 Outer tube 48/196 AL 1 77,60 € 60100
21010-50 Outer tube 48/61 AL 1 70,82 € 60100
21010-65 Outer tube 48/100 AL 1 96,33 € 60100
21010-66 Outer tube 48/131.5 AL 1 103,96 € 60100
21011-04 Outer tube 48/91 Fe 1 62,82 € 60100
21011-05 Outer tube 48/96 Fe 1 57,09 € 60100
21011-06 Outer tube 48/101 Fe 1 66,04 € 60100
21011-07 Outer tube 48/106 Fe 1 67,54 € 60100
21011-09 Outer tube 48/116 Fe 1 81,43 € 60100
21015-01 Piston solid 36***** 1 41,83 € 60100
21015-02 Piston solid 36 1 15,24 € 60100
21015-03 Piston solid 36 bleed 1 40,81 € 60100
21015-04 Piston solid 36, solid piston band 1 30,80 € 60100
21015-05 Piston solid 36 skirted piston band 1 39,49 € 60100
21015-08 Piston solid 36 1 8,85 € 60100
21015-09 Piston solid 36 skirted piston band 1 43,90 € 60100
21015-10 Piston solid 36, solid piston band 1 25,87 € 60100
21017-04 Piston 36, solid piston band assy 1 100,01 € 60100
21017-10 Piston solid 36, band assy 1 104,04 € 60100
21018-01 Piston band soft 6/36 1 5,90 € 60200
21018-02 Piston band soft 8/39 1 9,23 € 60200
21018-04 Piston band soft solid 6/36 1 26,68 € 60200
21018-05 Piston band soft solid 8/36 1 30,02 € 60200
21018-21 Piston band soft 6.2/30 1 10,45 € 60200




21020-10 Shaft extension 14/M17/10 1 67,82 € 60100
21020-20 Shaft extension 14/M17/20 1 71,15 € 60100
21020-30 Shaft extension 14/M17/30 1 74,49 € 60100
21020-40 Shaft extension 14/M17/40 1 91,16 € 60100
21021-03 Shaft extension 14/M17/3 1 56,70 € 60100
21021-30 Shaft extension M13x1/M17x1/30 1 84,94 € 60100
21022-03 Shaft extension 14/M17/3 1 104,51 € 60100
21023-05 Shaft extension M13x1/M17x1/5 1 53,36 € 60100
21023-06 Shaft extension M13x1/M17x1/6 1 85,38 € 60100
21023-07 Shaft extension 14/M17/7 1 56,73 € 60100
21023-15 Shaft extension 14/M17/15 1 110,06 € 60100
21023-17 Shaft extension M13x1/M17x1/17 1 95,51 € 60100
21025-01 Seal head assy 14/36 1 56,22 € 60200
21025-02 Seal head assy 14/36 1 75,82 € 60200
21025-03 Seal head assy 14/36 1 68,09 € 60200
21025-04 Seal head assy 14/36 1 60,34 € 60200
21025-05 Seal head assy 14/36 1 81,52 € 60200
21025-06 Seal head assy 14/36 1 70,78 € 60200
21026-01 Seal head 14/36 1 42,97 € 60200
21026-02 Seal head 14/36 1 48,92 € 60200
21026-03 Seal head 14/36 1 56,98 € 60200
21026-05 Seal head 14/36 1 76,21 € 60200
21026-06 Seal head 14/36 1 63,71 € 60200
21027-01 Stop rubber 20.3/33.3/8 1 6,50 € 60200
21028-03 Spacer 14/33/3 1 7,01 € 60100
21028-04 Spacer 14/33/4 1 12,57 € 60100
21028-05 Spacer 14/33/5 1 12,57 € 60100
21029-01 Bump rubber 14/40/19 PUR 650 1 11,34 € 60200
21029-02 Bump rubber 14/37/5 PUR 650 1 27,02 € 60200
21030-01 End cap 14/46 1 11,41 € 60100
21031-04 Top out spring 8/17/800N 1 16,13 € 60100
21031-05 Top out spring 8/17/1000N 1 16,13 € 60100
21031-06 Top out spring 8/17/1200N 1 16,13 € 60100
21031-09 Top out spring 12/17/600N 1 16,13 € 60100
21031-11 Top out spring 12/17/1000N 1 16,13 € 60100
21031-12 Top out spring 12/17/1200N 1 16,13 € 60100
21031-30 Top out spring 8/17/1500N 1 16,13 € 60100
21032-03 Top out spring guide 14 1 7,22 € 60100
21033-01 Lock nut 48/68 1 18,57 € 60100
21033-02 Lock nut 1 16,61 € 60100
21033-03 Lock nut TR 30x1,5/44 1 19,82 € 60100




21034-01 Spring platform 48/50.5/68 1 44,65 € 60100
21034-02 Adjustment nut 1 50,37 € 60100
21034-03 Adjustment nut TR 30x1,5 1 53,30 € 60100
21035-01 Washer 51/67/1 1 6,34 € 60100
21036-01 Spring clip 50.5/+1 1 35,03 € 60100
21036-03 Spring clip 50.5/+16 1 28,80 € 60100
21036-04 Spring clip 50.8/+9 1 34,24 € 60100
21036-11 Spring clip 50.8/+1 1 54,37 € 60100
21036-12 Spring clip 50.8/+6 1 70,93 € 60100
21036-14 Spring clip 50.8/+9 1 54,37 € 60100
21037-01 Spring clip 57 1 67,32 € 60100
21043-01 End piece adjuster 1.5 1 35,58 € 60100
21043-02 End piece adjuster 2.5 1 25,57 € 60100
21043-03 End piece adjuster 2.5 comp 1 70,04 € 60100
21043-04 End piece adjuster 2.5 reb 1 70,04 € 60100
21043-05 End piece adjuster GP Comp 1 55,91 € 60100
21043-06 End piece adjuster GP Reb 1 55,91 € 60100
21044-01 Valve adjuster sintered 1 70,13 € 60100
21044-05 Valve adjuster 4P brass 1 75,64 € 60100
21044-15 Valve adjuster MIM 1 64,94 € 60100
21044-20 Valve adjuster cup brass 1 12,83 € 60100
21044-21 Valve adjuster cup brass 1 14,01 € 60100
21044-22 Valve adjuster cup brass GB2 1 27,10 € 60100
21044-25 Valve adjuster cup 22 brass 1 60,24 € 60100
21044-30 Valve adjuster 4P brass 1 20,64 € 60100
21044-31 Valve adjuster 4P brass 1 21,38 € 60100
21044-33 Valve adjuster one-way 1 28,36 € 60100
21044-34 Valve adjuster 2P 20 brass 1 38,91 € 60100
21044-35 Valve adjuster 2P 20 brass 1 84,49 € 60100
21044-36 Valve adjuster 4P brass GB 1 36,62 € 60100
21044-37 Valve adjuster 4P brass GB2 1 35,42 € 60100
21044-41 Valve, cup 0.2 deep 1 24,98 € 60100
21044-60 Valve adjuster 4P Cup brass 1 20,40 € 60100
21045-01 Check valve shim 0.25 1 1,67 € 60200
21045-01 Check valve shim 0.25 1 1,67 € 60200
21045-02 Check valve shim 0.25 1 1,67 € 60200
21045-11 Check valve shim 0.30 1 7,78 € 60200
21046-15 Check valve spring 15N 1 3,64 € 60200
21046-30 Check valve spring 30N 1 3,11€ 60100
21046-50 Check valve spring 50N 1 3,47 € 60200
21047-01 Check valve housing 1 5,62 € 60200




21047-02 Check valve housing 1 7,23 € 60200
21047-11 Check valve housing 1 56,15 € 60100
21048-01 Wave washer 6/9/1.5 1 13,40 € 60100
21048-02 Shims 6/9/0.30 1 1,67 € 60200
21049-34 Adjuster assy 1.5 dual*** 1 267,27 € 60399
21049-85 Adjuster assy 2.5 w/o valve seat 1 39,70 € 60399
21050-04 Knob 1 37,19 € 60100
21050-05 Knob rebound adjuster hex locked 1 44,97 € 60100
21050-13 Knob compression adjuster hex 1 15,32 € 60100
21050-20 Knob compression adjuster 1 20,60 € 60100
21050-21 Knob rebound adjuster 1 20,05 € 60100
21050-30 Knob compression adjuster hex 1 22,04 € 60100
21050-31 Knob rebound adjuster hex 1 22,32 € 60100
21051-01 Adjuster needle 1 8,79 € 60200
21052-01 Adjuster knob gold 1 20,40 € 60100
21052-02 Adjuster knob Al 1 20,40 € 60100
21052-11 Adjuster 1 21,39 € 60100
21053-01 Adjuster Cap 1 12,79 € 60100
21054-15 Valve adjuster MIM Laser engraved 1 37,13 € 60199|NLA
21055-01 End eye 17/43/24 1 63,37 € 60100
21069-01 End eye 14/93/25.4 1 120,96 € 60100
21069-02 End eye 14/100/25.4 1 95,17 € 60100
21069-03 End eye 14/57/26 1 101,39 € 60100
21069-04 End eye 14/40/26 1 101,17 € 60100
21069-05 End eye 14/49/26 1 139,42 € 60100
21070-03 Cylinder head TTX36 1 647,05 € 60100
21070-07 Cylinder head TTX36 1 519,64 € 60100
21070-09 Cylinder head TTX36 1 453,60 € 60100
21070-10 Cylinder head TTX36 1 499,63 € 60100
21070-11 Cylinder head TTX36 1 513,64 € 60100
21070-13 Cylinder head TTX36 1 416,91 € 60100
21070-14 Cylinder head TTX36 1 421,58 € 60100
21070-15 Cylinder head TTX36 1 472,94 € 60100
21070-16 Cylinder head TTX36 1 378,22 € 60100
21070-17 Cylinder head TTX36 1 356,88 € 60100
21070-18 Cylinder head TTX36 1 460,27 € 60100
21070-19 Cylinder head TTX36 1 380,22 € 60100
21070-20 Cylinder head TTX36 1 441,33 € 60100
21070-21 Cylinder head TTX36 1 826,60 € 60100
21070-22 Cylinder head TTX36 1 394,90 € 60100
21070-23 Cylinder head TTX36 1 300,18 € 60100




21070-24 Cylinder head TTX36 1 416,24 € 60100
21070-25 Cylinder head TTX36 1 429,04 € 60100
21120-01 End eye 14/71.5/26 1 95,61 € 60100
21120-02 End eye 14/65/26 1 138,75 € 60100
21120-03 End eye 14/110/26 1 80,05 € 60100
21120-04 End eye 14/76/26 1 165,43 € 60100
21120-05 End eye 14/76/M10 1 61,15 € 60100
21120-06 End eye 14/66.5/26 1 93,39 € 60100
21120-07 End eye 14/88/26 1 66,60 € 60100
21120-08 End eye 14/79.5/26 1 166,10 € 60100
21120-09 End eye 14/103/24 1 84,24 € 60100
21120-10 End eye 14/107/26 1 124,52 € 60100
21120-11 End eye 14/95/26 1 137,86 € 60100
21120-15 End eye 14/117/26 1 165,55 € 60100
21121-01 Bracket Tiger 1050 1 46,69 € 60100
21130-01 End bracket 1 148,53 € 60100
21146-15 Check valve spring 15N 1 4,54 € 60200
21146-50 Check valve spring 50N 1 4,63 € 60200
21150-01 Knob compression adjuster 1 31,34 € 60100
21150-02 Knob compression adjuster 1 30,14 € 60100
21154-01 End eye 14/50/22 1 68,93 € 60100
21155-01 End eye 14/40/26 1 58,92 € 60100
21156-01 Bracket HD RH 1 54,48 € 60100
21157-01 Bracket HD LH 1 54,48 € 60100
21157-02 Bracket H-D FL 1 65,59 € 60100
21158-01 Nut LU6M 8 1/4" UNC 1 3,04 € 60200
21159-02 Cylinder head 46 1 133,41 € 60100
21159-11 Cylinder head 46 hose 1 159,43 € 60100
21159-12 Cylinder head 46 hose 1 164,54 € 60100
21159-20 Cylinder head 46 hose 1 111,18 € 60100
21160-01 Bracket 1 117,40 € 60100
21218-01 Spacer, ball joint 10x23 al 1 21,02 € 60100
21218-01 Spacer, ball joint 10x23 al 1 21,02 € 60100
21218-13 Spacer, bj @14, 10x22 al 1 9,95 € 60200
21218-19 Spacer, bj @14, 10x26 al 1 15,60 € 60100
21218-22 Spacer, bj @14, 10x24 al 1 9,95 € 60200
21218-33 Spacer, ball joint 10x23 al 1 9,01 € 60200
21219-01 Spacer 8/10/6 1 7,25 € 60200
21219-02 Spacer 6.5/12/5 1 13,29 € 60100
21300-01 Tie-rap holder W<3.6 1 2,28 € 60200
21301-01 Cable holder 1 4,83 € 60100




21310-01 Electrical Tap Connector 22-16 AWG 1 4,11 € 60200
21400-01 Steering damper bracket kit SD033/037/038 1 111,18 € 60200
21439-01 Screw 10x1.25x45 1 8,34 € 60200
21500-01 INner sleeye*****x**xi*x 1 43,70 € 60100
21501-01 Piston 69/48 1 41,14 € 60100
21501-02 Piston 69/45.8 1 66,16 € 60100
21502-01 Housing** ¥ ¥ % x¥*x 1 119,18 € 60100
21505-01 Conical nut 1 20,01 € 60100
21505-02 Conical nut M52x1.5 1 46,69 € 60100
21506-03 Kantseal 20.29x2.51 NBR70 £ 1 1,23 € 60200
21507-01 Hose banjo M8 L=150 1 75,94 € 60100
21507-04 Hose banjo M8 L=220 1 76,92 € 60100
21507-06 Hose banjo M8 L=540 1 70,69 € 60100
21507-07 Hose banjo M8 L=650 1 81,11 € 60100
21507-08 Hose banjo M8 L=600 1 82,02 € 60100
21507-09 Hose banjo M8 L=500 1 59,68 € 60100
21507-10 Hose banjo M8 L=430 1 61,53 € 60100
21507-11 Hose banjo M8 L=350 1 60,04 € 60100
21508-03 Hose M8x1 straight L=200 1 71,85 € 60100
21508-04 Hose M8x1 straight L=235 1 71,72 € 60100
21508-05 Hose M8x1 straight L=265 1 72,42 € 60100
21508-07 Hose M8x1 straight L=330 1 58,87 € 60100
21508-09 Hose M8x1 straight L=450 1 60,16 € 60100
21508-10 Hose M8x1 straight L=500 1 78,38 € 60100
21508-11 Hose M8x1 straight L=550 1 78,38 € 60100
21508-12 Hose M8x1 straight L=600 1 66,26 € 60100
21509-01 Housing LH 1 128,96 € 60100
21509-02 Housing RH 1 128,96 € 60100
21509-04 Housing LH 1 162,21 € 60100
21509-80 Housing blank 1 52,66 € 60100
21510-01 Housing LH 1 183,44 € 60100
21510-02 Housing RH 1 183,44 € 60100
21511-01 Inner sleeve 1 36,07 € 60100
21511-02 Inner sleeve 62/45.8 1 43,36 € 60100
21511-03 Inner sleeve 1 44,47 € 60100
21512-01 Housing 1 84,09 € 60100
21512-02 Housing 1 79,80 € 60100
21513-01 Hose banjo 60° M8 L=330 1 96,77 € 60100
21514-01 Hose banjo 9° M8 L=370 1 108,47 € 60100
21514-02 Hose banjo 9° M8 L=340 1 80,61 € 60100
21520-02 Hose banjo 60° M8 L=139 High temp 1 107,74 € 60100




21600-04 FGRT 803/815 Upgrade RH+LH 1 1.128,82 € 60200
21601-01 Adjustment housing M46x1 1 44,25 € 60100
21602-01 Bracket ZZR 1 152,76 € 60100
21603-01 Base plug M10x1.25 1 50,03 € 60100
21603-02 Base plug M10x1 1 57,79 € 60199|NLA
21604-01 Adjustment housing M46x1 (3321-01) 1 71,94 € 60100
21604-03 Adjustment housing M46x1 1 93,50 € 60100
21604-06 Adjustment housing M47x1.5 1 71,94 € 60100
21604-08 Adjustment housing M44x1 (3318-08) 1 71,94 € 60100
21604-09 Adjustment housing M44x1 1 73,38 € 60100
21604-10 Adjustment housing M47x1.5 1 62,26 € 60100
21604-11 Adjustment housing M47x1.5 1 57,79 € 60199 (NLA
21604-12 Adjustment housing M47x1.5 1 98,95 € 60100
21605-01 Bracket 1 76,71 € 60100
21607-01 Seal Head 1 48,77 € 60199|NLA
21608-01 End piece M22 1 54,48 € 60100
21608-02 End piece M14x1 1 35,69 € 60100
21608-04 End piece 1.5/M18x1 1 31,80 € 60100
21609-01 Base Valve 1 106,73 € 60100
21611-01 Guide ring 31/36,5 1 24,46 € 60100
21612-01 Base plug 1 56,70 € 60100
21613-01 Cup 1 16,28 € 60100
21614-11 Bleed Jet 1.1mm 1 7,78 € 60200
21615-10 Rebound needle 2.4/10deg. 1 7,84 € 60200
21616-01 Spring guide 14/246/25 1 52,81 € 60100
21617-01 Bracket 1 66,71 € 60100
21617-02 Bracket 1 97,84 € 60100
21617-03 Washer 10/16/3 1 9,23 € 60100
21617-04 Bracket 1 57,81 € 60100
21617-06 Bracket 1 90,72 € 60100
21617-07 Bracket 1 50,03 € 60100
21617-09 Bracket 1 62,26 € 60100
21617-10 Bracket 1 46,25 € 60100
21617-11 Bracket 1 80,05 € 60100
21617-12 Bracket 1 67,82 € 60100
21617-13 Washer 1 18,57 € 60100
21617-14 Spacer 1 35,58 € 60100
21617-15 Washer 8.2/20/4 1 6,48 € 60100
21618-01 Preload tube 31/136.5 1 22,24 € 60100
21619-01 Washer 6x17x2 rubber 1 2,58 € 60200
21620-02 Spacer 12.1/22/2 1 0,67 € 60200




21620-03 Spacer 12.1/22/3 1 0,67 € 60200
21620-10 Spacer 12.1/22/10 1 1,23 € 60200
21621-01 Preload socket M40x1 1 15,62 € 60100
21622-01 Guide sleeve holder M12 1 27,79 € 60100
21623-01 Spring support 1 4,67 € 60200
21624-01 Cylinder tube 25/279 1 110,82 € 60100
21624-03 Cylinder tube 25/319 1 74,76 € 60100
21625-01 Base valve, 3mm 1 25,35 € 60100
21626-01 Stroke limiter, 5mm 1 33,25 € 60100
21626-02 Stroke limiter, 10mm 1 47,58 € 60100
21626-03 Stroke limiter, 15mm 1 46,14 € 60100
21626-04 Stroke limiter, 33mm 1 62,26 € 60100
21627-09 Fork bottom FGRT 806 RH 1 858,72 € 60100
21627-25 Fork bottom FG 904 RH 1 491,17 € 60100|NLA
21627-26 Fork bottom FG 904 LH 1 515,65 € 60100|NLA
21627-29 Fork bottom FGRT 812/816 RH 1 614,32 € 60100
21627-30 Fork bottom FGRT 812/816 LH 1 583,07 € 60100
21627-31 Fork bottom FGRT 811 RH 1 104,27 € 60100
21627-32 Fork bottom FGRT 811 LH 1 104,27 € 60100
21627-33 Fork bottom FGRT 808/818 RH 1 104,27 € 60100
21627-34 Fork bottom FGRT 808/818 LH 1 104,27 € 60100
21627-35 Fork bottom FGRT 802/805/809 RH 1 416,91 € 60100
21627-37 Fork bottom FGRT 813 RH 1 104,27 € 60100
21627-38 Fork bottom FGRT 813 LH 1 104,27 € 60100
21627-39 Fork bottom FGRT 807 RH 1 632,02 € 60100
21627-40 Fork bottom FGRT 807 LH 1 632,02 € 60100
21627-41 Fork bottom FGRT 810 RH 1 632,02 € 60100
21627-42 Fork bottom FGRT 810 LH 1 104,27 € 60100
21627-43 Fork bottom FGRT 817 RH 1 104,27 € 60100
21627-44 Fork bottom FGRT 817 LH 1 104,27 € 60100
21627-45 Fork bottom FGRT 804 RH 1 632,02 € 60100
21627-46 Fork bottom FGRT 804 LH 1 632,02 € 60100
21628-01 Fender bracket FGRT 801 Rear 1 48,92 € 60100
21628-02 Fender bracket FGRT 801 Front 1 94,50 € 60100
21628-03 Fender bracket FGRT 802 Front 1 71,71 € 60100
21628-04 Fender bracket FGRT 802 Rear 1 44,47 € 60100
21628-05 Fender bracket FGRT 803 Front 1 95,17 € 60100
21628-06 Fender bracket FGRT 804 Front 1 107,84 € 60100
21628-07 Fender bracket FGRT 805 Front 1 97,84 € 60100
21628-08 Fender bracket FGRT 805 Rear 1 108,95 € 60100
21628-09 Fender bracket FGRT 806 Front 1 83,38 € 60100




21628-10 Fender bracket FGRT 806 Rear 1 77,82 € 60100
21628-11 Fender bracket FGRT 807 Front 1 64,92 € 60199|NLA
21628-12 Fender bracket FGRT 807 Rear 1 70,79 € 60199|NLA
21628-13 Fender bracket FGRT 810 Front 1 152,98 € 60100
21628-15 Fender bracket FGRT 808 Front 1 146,75 € 60100
21628-16 Fender bracket FGRT 808 Rear 1 180,11 € 60100
21628-19 Fender bracket FGRT 809 Front RH 1 109,40 € 60100
21628-20 Fender bracket FGRT 809 Front LH 1 109,40 € 60100
21628-21 Fender bracket FGRT 809 Rear 1 61,15 € 60100
21628-22 Fender bracket FGRT 812 Front 1 107,84 € 60100
21628-23 Fender bracket FGRT 813 Front RH 1 138,75 € 60100
21628-24 Fender bracket FGRT 813 Front LH 1 138,75 € 60100
21628-25 Fender bracket FGRT 811 Front 1 171,43 € 60100
21628-26 Fender bracket FG 904 RH 1 148,53 € 60100
21628-27 Fender bracket FG 904 LH 1 148,53 € 60100
21628-28 Fender bracket FGRT 817 1 192,11 € 60100
21630-01 Fork leg outer 43/50/54/508 1 190,78 € 60100
21630-02 Fork leg outer 43/50/56/513 1 338,26 € 60100
21630-03 Fork leg outer 43/53/53/493 1 376,89 € 60100
21630-04 Fork leg outer 43/50/54/543 1 199,74 € 60100
21630-05 Fork leg outer 43/50/55/508 1 203,45 € 60100
21630-06 Fork leg outer 43/50/54/493 1 362,74 € 60100
21630-07 Fork leg outer 43/50/54/533 1 185,44 € 60100
21630-08 Fork leg outer 43/51/54/513 1 370,72 € 60100
21630-09 Fork leg outer 43/53/56/493 1 199,45 € 60100
21630-10 Fork leg outer 43/55/56/518 1 193,45 € 60100
21630-11 Fork leg outer 43/56/58/511 1 165,76 € 60100
21630-12 Fork leg outer 43/53/53/481 1 262,76 € 60100
21630-13 Fork leg outer 43/53/56/481 1 278,16 € 60100
21630-14 Fork leg outer 43/50/55/518 1 185,44 € 60100
21630-15 Fork leg outer 43/55/56/518 Black 1 190,78 € 60100
21630-16 Fork leg outer 43/53/53/481 Black 1 245,48 € 60100
21630-17 Fork leg outer 43/57/58/518 1 183,04 € 60100
21630-18 Fork leg outer 43/50/54/488 1 195,45 € 60100
21630-19 Fork leg outer 43/50/55/503 1 180,77 € 60100
21630-20 Fork leg outer 43/50/55/503 1 191,45 € 60100
21630-21 Fork leg outer 43/53/58/518 Black 1 178,30 € 60100
21630-23 Fork leg outer 43/50/54/523 1 203,45 € 60100
21630-24 Fork leg outer 43/50/55/508 1 187,08 € 60100
21630-25 Fork leg outer 43/50/55/503 Black 1 202,76 € 60100
21630-26 Fork leg outer 43/50/55/518 1 225,15 € 60100




21630-27 Fork leg outer 43/50/54/533 (black) 1 248,55 € 60100
21630-28 Outer tube 43/53/58/518 Gold 1 234,80 € 60100
21630-29 Outer tube 43/55/57/533 1 243,37 € 60100
21631-01 Shaft 12/462 Alu 1 124,52 € 60100
21632-01 Preload tube, Polymer #26/®39/97 1 8,67 € 60200
21632-02 Preload tube, Polymer #26/@39/102 1 8,67 € 60200
21632-03 Preload tube, Polymer #26/@39/107 1 8,67 € 60200
21632-04 Preload tube, Polymer #26/@39/112 1 6,67 € 60200
21632-05 Preload tube, Polymer #26/®39/117 1 8,67 € 60200
21632-06 Preload tube, Polymer #26/@39/122 1 8,67 € 60100
21632-07 Preload tube, Polymer #26/®39/99 1 10,67 € 60200
21632-09 Preload tube, Polymer #26/®39/82 1 15,12 € 60100
21632-11 Preload tube, Polymer @#26/®39/92 1 13,12 € 60100
21633-01 Fork leg inner 43/39.2/519 1 769,94 € 60100
21634-02 Fork leg inner 43/39.5/551 1 242,81 € 60100
21634-03 Fork leg inner 43/39.5/571 1 220,13 € 60100
21634-13 Fork leg inner 43/39.5/571 TiN 1 317,41 € 60100
21637-01 Shaft 12/393 Alu 1 125,15 € 60100
21637-02 Shaft 12/423 Alu 1 96,72 € 60100
21637-03 Shaft 12/453 Alu 1 110,06 € 60100
21637-04 Shaft 12/483 Alu 1 100,50 € 60100
21637-05 Shaft 12/513 Alu 1 136,72 € 60100
21637-06 Shaft 12/543 Alu 1 123,31 € 60100
21637-07 Shaft 12/343 Alu 1 97,84 € 60100
21637-08 Shaft 12/528 Alu 1 124,41 € 60100
21637-09 Shaft 12/468 Alu 1 54,37 € 60100
21638-01 Seal head front fork 14/38.5/20 1 36,69 € 60100
21639-01 Adaptor M34x1 1 31,13 € 60100
21640-01 Adaptor 39.5/41.45 1 98,95 € 60100
21641-01 Coupling 1 26,68 € 60100
21642-01 Cylinder tube 25/270 1 69,77 € 60100
21643-03 Fork bottom FG860 RH 1 207,52 € 60100
21643-04 Fork bottom FG860 LH 1 209,00 € 60100
21644-01 Fender bracket FG860 1 74,49 € 60100
21644-02 Fender bracket FG860 1 73,97 € 60100
21645-02 Piston 8/30 1 56,70 € 60100
21645-03 Piston 8/30 1 42,14 € 60100
21645-10 Piston 8/30 1 39,36 € 60100
21646-01 Cylinder tube 30/34/260 1 65,37 € 60100
21646-02 Cylinder tube 30/34/275 1 77,82 € 60100
21646-03 Cylinder tube 30/34/290 1 73,60 € 60100




21646-04 Cylinder tube 30/34/305 1 99,22 € 60100
21646-05 Cylinder tube 30/34/320 1 79,38 € 60100
21646-06 Cylinder tube 30/34/335 1 81,55 € 60100
21646-07 Cylinder tube 30/34/350 1 102,34 € 60100
21646-80 Cylinder tube blank 30/34 1 64,75 € 60100
21647-01 Seal head front fork 38.5 1 42,25 € 60100
21647-02 Seal head front fork 36.5 1 45,58 € 60100
21647-03 Seal head front fork 41.5 1 54,48 € 60100
21647-04 Seal head front fork 43.5 1 64,48 € 60100
21647-05 Seal head front fork 42.5 1 64,48 € 60100
21648-01 Adaptor M34x1/22 1 44,47 € 60100
21648-02 Adaptor M24x1/25 1 40,02 € 60100
21648-03 Adaptor M30x1/3 1 34,46 € 60100
21648-04 Adaptor M29x1/25 1 71,15 € 60100
21648-05 Adaptor M24x1/19 1 57,90 € 60100
21648-06 Adaptor M24x1/3 1 30,91 € 60100
21648-07 Adaptor M14x1/10 1 102,28 € 60100
21648-08 Adaptor M34x1/5 1 45,58 € 60100
21649-01 Adaptor M10x1/20 1 80,05 € 60100
21649-02 Adaptor M10x1/40 1 75,60 € 60100
21649-03 Adaptor M10x1.25/25 1 53,36 € 60100
21649-05 Adaptor M10x1.25/30 1 54,48 € 60100
21649-06 Adaptor M10x1/25 1 61,15 € 60100
21649-07 Adaptor M10x1.25/50 1 83,38 € 60100
21649-08 Adaptor M10x1.5/11 1 34,42 € 60100
21649-08 Adaptor M10x1.5/11 1 34,42 € 60100
21649-09 Adaptor M8x1.25/25 1 30,28 € 60100
21650-01 Adaptor 39.5/41.45 1 33,35 € 60100
21650-02 Adaptor 36.9/39.45 1 32,24 € 60100
21650-03 Adaptor 39.45 1 35,58 € 60100
21650-04 Adaptor 41.45 1 17,02 € 60100
21650-05 Adaptor M24x1/39.45/10 1 35,58 € 60100
21650-06 Adaptor ring M24x1/41.8/16 1 28,48 € 60100
21650-07 Adaptor ring M24x1/41.45/30.5 1 34,42 € 60100
21650-08 Adaptor ring M24x1/38.9/11 1 35,58 € 60100
21650-09 Adaptor ring M30x1/41.75/17 1 3492 € 60100
21650-10 Adaptor ring M24x1/41/11 1 22,90 € 60100
21650-12 Adaptor ring M24x1/39.4/11 1 39,92 € 60100
21651-01 Hose 14/14/350 1 143,24 € 60100
21652-01 Plug M18x1 1 20,01 € 60100
21652-02 Plug M18x1/11 1 32,24 € 60100




21652-03 Plug M14x1/9 1 62,82 € 60100
21652-04 Plug M22x1/10 1 55,59 € 60100
21652-05 Plug M27x1/32/13 1 64,07 € 60100
21652-06 Plug M29x1/32/16 1 55,98 € 60100
21652-07 Plug M32x1/36/15 1 56,40 € 60100
21653-01 Adjustment housing M47x1.5/18 1 77,77 € 60100
21653-02 Adjustment housing M47x1.5/29 1 88,77 € 60100
21653-03 Adjustment housing M46x1/29 1 110,01 € 60100
21653-04 Adjustment housing M44x1/24 1 88,76 € 60100
21653-05 Adjustment housing M46x1/18 1 87,66 € 60100
21653-06 Adjustment housing M44.5x1/30 1 90,28 € 60100
21653-07 Adjustment housing M46.5x1/31 1 92,11 € 60100
21653-08 Adjustment housing M48x1.5/34 1 90,28 € 60100
21653-09 Adjustment housing M52x1.5/20 1 91,61 € 60100
21653-10 Adjustment housing M46x1/44 1 172,24 € 60100
21653-11 Adjustment housing M47x1.5/40 1 109,18 € 60100
21653-12 Adjustment housing M46x1.5/37 1 103,89 € 60100
21653-13 Adjustment housing M48x1.5/45 1 118,92 € 60100
21653-14 Adjustment housing M46x1.5/23 1 90,64 € 60100
21653-15 Adjustment housing M44.5x1/30 1 103,13 € 60100
21653-16 Adjustment housing M47x1.5/65.5 1 110,15 € 60100
21653-17 Adjustment housing M46x1/20 FGRT Clear 1 92,11 € 60100
21653-18 Adjustment housing M46x1/25 FGRT Clear 1 86,17 € 60100
21653-19 Adjustment housing M46x1/30 FGRT Clear 1 86,17 € 60100
21653-20 Adjustment housing M46x1/35 FGRT Clear 1 92,11 € 60100
21653-21 Adjustment housing M46.5x1/37 1 103,89 € 60100
21653-22 Adjustment housing M46x1.5/22 1 89,08 € 60100
21653-30 Adjustment housing M53x1.5/35 FGRT Black 1 94,76 € 60100
21653-31 Adjustment housing M46x1.5/23 1 99,22 € 60100
21653-32 Adjustment housing M53x1.25/32 1 91,30 € 60100
21653-33 Adjustment housing M47x1.5/40 1 89,16 € 60100
21653-34 Adjustment housing M44.5x1/30 1 107,45 € 60100
21653-35 Adjustment housing M49x1.25/23 1 125,45 € 60100
21653-36 Adjustment housing M50x1.5/20 1 114,69 € 60100
21653-37 Adjustment housing M53x1.25/22 1 118,03 € 60100
21653-38 Adjustment housing M46x1.5/32 1 112,51 € 60100
21653-39 Adjustment housing M51x1.5/42 1 128,03 € 60100
21653-40 Adjustment housing M47x1.5/65.5 1 108,51 € 60100
21653-41 Adjustment housing M46x1/33 1 91,00 € 60100
21653-44 Adjustment housing M46x1/55 1 85,07 € 60100
21653-45 Adjustment housing M51.5x1.25/13 1 155,54 € 60100|New




21654-03 Adaptor M10x1.25/12 1 53,93 € 60100
21654-04 Adaptor M12x1/30 1 103,51 € 60100
21654-05 Adaptor M10x1.25/20 1 56,03 € 60100
21655-01 Adaptor M34x1/17 1 70,04 € 60100
21655-02 Adaptor M24x1/22 1 82,99 € 60100
21655-03 Adaptor M30x1/3 1 53,36 € 60100
21655-04 Adaptor M30x1/3 1 117,40 € 60100
21655-06 Adaptor M24x1/3 1 98,40 € 60100
21655-07 Adaptor M14x1/12 1 102,28 € 60100
21656-01 Adjustment rod 3/412 1 27,13 € 60100
21656-02 Adjustment rod 3/427 1 22,13 € 60100
21656-03 Adjustment rod 3/442 1 29,13 € 60100
21656-04 Adjustment rod 3/457 1 27,78 € 60100
21657-01 Cylinder tube 25/211 1 84,22 € 60100
21657-80 Cylinder tube blank 32/36 1 91,98 € 60100
21658-01 Dividing wall M26x1/32/4 1 16,95 € 60100
21659-01 End cap 10.3/M20x1/6 1 7,01 € 60200
21660-01 Dividing piston 32/15 1 2891 € 60100
21661-01 Screw MFT M4x5.5 1 16,68 € 60100
21662-01 Fork bottom FG 904 RH 1 214,79 € 60100
21662-02 Fork bottom FG 904 LH 1 231,47 € 60100
21662-80 Fork bottom FG904 RH Blank 1 116,51 € 60100
21662-81 Fork bottom FG904 LH Blank 1 117,40 € 60100
21663-01 Guide sleeve 12/170/25 1 4,18 € 60200
21663-02 Guide sleeve 12/200/25 1 3,92 € 60200
21663-03 Guide sleeve 12/230/25 1 514 € 60200
21663-04 Guide sleeve 12/260/25 1 4,68 € 60100
21663-05 Guide sleeve 12/25/140 1 10,15 € 60200
21664-01 Fork bottom FGRT 201 RH 1 642,42 € 60100
21664-02 Fork bottom FGRT 201 LH 1 658,18 € 60100
21664-03 Fork bottom FGRT 202 RH 1 565,00 € 60100
21664-04 Fork bottom FGRT 202 LH 1 569,00 € 60100
21664-05 Fork bottom FGRT 203 RH 1 605,02 € 60100
21664-06 Fork bottom FGRT 203 LH 1 657,05 € 60100
21664-07 Fork bottom FGRT 204 RH 1 661,72 € 60100
21664-08 Fork bottom FGRT 204 LH 1 612,36 € 60100
21664-09 Fork bottom FGRT 205 RH 1 634,47 € 60100
21664-10 Fork bottom FGRT 205 LH 1 642,42 € 60100
21664-11 Fork bottom FGRT 206 RH 1 610,36 € 60100
21664-12 Fork bottom FGRT 206 LH 1 622,37 € 60100
21664-13 Fork bottom FGRT 207 RH 1 639,12 € 60100




21664-14 Fork bottom FGRT 207 LH 1 628,02 € 60100
21664-15 Fork bottom FGRT 208 RH 1 642,42 € 60100
21664-16 Fork bottom FGRT 208 LH 1 642,42 € 60100
21664-17 Fork bottom FGRT 210/211 RH 1 589,68 € 60100
21664-18 Fork bottom FGRT 210/211 LH 1 589,68 € 60100
21664-19 Fork bottom FL 916 RH 1 538,32 € 60100
21664-20 Fork bottom FL 916 LH 1 565,00 € 60100
21664-24 Fork bottom FGRT 216 LH 1 612,90 € 60100
21664-25 Fork bottom FGRT 219 RH 1 654,38 € 60100
21664-26 Fork bottom FGRT 219 LH 1 633,71 € 60100
21664-27 Fork bottom FGRT 221 RH 1 628,02 € 60100
21664-28 Fork bottom FGRT 221 LH 1 580,42 € 60100
21664-31 Fork bottom FL 936 LH 1 584,34 € 60100
21664-32 Fork bottom FL 936 RH 1 539,65 € 60100
21664-33 Fork bottom RH 1 989,72 € 60100
21664-34 Fork bottom LH 1 989,72 € 60100
21664-35 Fork bottom RH 1 730,28 € 60100
21664-36 Fork bottom LH 1 730,28 € 60100
21664-43 Fork bottom RH 1 631,59 € 60100
21664-44 Fork bottom LH 1 631,59 € 60100
21664-45 Fork bottom RH 1 702,53 € 60100
21664-46 Fork bottom LH 1 702,53 € 60100
21665-01 Fender bracket FGRT 201 1 97,84 € 60100
21665-02 Fender bracket FGRT 202 1 79,50 € 60100
21665-03 Fender bracket FGRT 203 1 57,81 € 60100
21665-04 Fender bracket front RH FGRT 204 1 54,32 € 60100
21665-05 Fender bracket front LH FGRT 204 1 38,30 € 60100
21665-06 Fender bracket rear FGRT 204 1 22,24 € 60100
21665-07 Fender bracket front FGRT 205 1 47,95 € 60100
21665-08 Fender bracket rear FGRT 205 1 23,18 € 60100
21665-09 Fender bracket front FGRT 206 1 81,62 € 60100
21665-10 Fender bracket rear FGRT 206 1 53,36 € 60100
21665-11 Fender bracket front FGRT 207 1 43,36 € 60100
21665-12 Fender bracket rear FGRT 207 1 65,59 € 60100
21665-13 Fender bracket front FGRT 208 1 35,92 € 60100
21665-14 Fender bracket rear FGRT 208 1 38,30 € 60100
21665-15 Fender bracket FGRT 301 Black 1 59,59 € 60100
21665-16 Fender bracket FGRT 301 Black 1 47,15 € 60100
21665-17 Fender bracket rear FGRT 219 1 45,07 € 60100
21665-18 Fender bracket RH FGRT 221 1 94,54 € 60100
21665-19 Fender bracket LH FGRT 221 1 94,54 € 60100




21666-01 Guide sleeve 8/296/25 1 13,12 € 60100
21667-03 Fork leg inner 48/571 1 223,02 € 60100
21668-01 Fork leg outer 48/57/58/543 1 212,79 € 60100
21669-01 Guide ring upper 31/41.5 1 20,69 € 60100
21669-02 Guide ring upper 31/43.5 1 20,69 € 60100
21669-03 Guide ring upper 31/42.5 1 55,59 € 60100
21669-04 Guide ring 31/40.5 1 18,34 € 60100
21670-02 Seal head 36.5 1 38,91 € 60100
21670-03 Seal head 41.5 1 46,97 € 60100
21670-04 Seal head 43.5 1 51,14 € 60100
21674-01 Fork bottom FGRT 301 RH 1 616,48 € 60100
21674-02 Fork bottom FGRT 301 LH 1 624,42 € 60100
21676-01 Preload tube 26/39/147 1 34,24 € 60100
21681-01 Hydr preload integrated LH assy 2:1 1 242,59 € 60399
21681-02 Hydr preload integrated RH assy 2:1 1 242,59 € 60399
21684-02 Hydr.preload assy 2:1 without hose 1 362,21 € 60399
21685-01 Hydr.peload assy 2:1 1 465,83 € 60100
21685-02 Hydr.peload housing assy 2:1 1 329,10 € 60100
21685-04 Hydr.p-I slave assy 21512-02 (21719-01) 1 264,11 € 60100
21686-01 Hydr preload integrated LH assy 2:1 1 266,82 € 60100
21686-02 Hydr preload integrated RH assy 2:1 1 266,82 € 60100
21690-01 Cylinder Head S46C1 1 162,76 € 60100
21690-02 Cylinder Head S46C1 1 138,61 € 60100
21701-01 Bracket 1 102,28 € 60100
21701-02 Bracket 1 54,48 € 60100
21702-01 Resistor 1 51,92 € 60100
21702-02 Resistor 1 51,92 € 60100
21704-82 EC adjuster assy SA spare part 1 275,88 € 60100
21704-94 EC adj @34 assy SA 250mm spare part 1 322,72 € 60100
21704-96 EC adjuster @34 assy SA reb grey 1 193,49 € 60100
21704-97 EC adjuster @34 assy SA comp black 1 193,18 € 60100
21704-98 EC adjuster @34 assy SA Spare part 1 342,32 € 60100
21704-99 EC adjuster @34 assy SA Spare part 1 342,32 € 60100
21705-14 EC motor unit @34 assy SA 250mm 1 134,60 € 60100
21710-11 End piece adjuster body @34 1 50,66 € 60100
21711-01 Needle 1 4,60 € 60200
21712-11 End piece adjuster insert @34 1 7,28 € 60200
21713-01 Washer 8/17/1 1 1,01 € 60200
21717-01 EC motor unit assy FF 1 149,99 € 60100
21717-02 EC motor unit assy FF 1 174,68 € 60100
21717-04 EC motor unit assy FF Compression Black 1 142,54 € 60100




21717-05 EC motor unit assy FF Rebound Grey 1 142,54 € 60100
21717-08 EC motor unit assy FF 1 176,66 € 60100
21718-01 Electric motor unit 44/135 1 236,58 € 60100
21718-01 Electric motor unit 44/135 1 236,58 € 60100
21719-01 Hydr.prel. adjuster assy 1 860,84 € 60399
21720-01 Adjustment housing NV17 1 16,63 € 60100
21720-02 Adjustment housing NV19 1 176,10 € 60100
21721-01 Adjustment nut NV17/Tr12x3 Left 1 13,28 € 60100
21721-02 Adjustment nut NV19/Tr14x3 Left 1 52,97 € 60100
21722-01 Hydraulic cylinder 21 1 110,29 € 60100
21722-02 Hydraulic cylinder 32 1 139,42 € 60100
21723-01 Piston 21/10 1 5,90 € 60100
21723-02 Piston 39.95/15 1 19,34 € 60100
21724-01 Adjustment screw NV6/Tr12x3 Left 1 22,80 € 60100
21724-02 Adjustment screw NV6/Tr14x3 Left 1 24,13 € 60100
21725-01 Tube 44/47.3/206 1 65,27 € 60100
21725-02 Tube 44/47.3/229 1 68,38 € 60100
21726-01 End cap 1 11,13 € 60100
21727-01 Outer tube 48/106 AL 1 53,31€ 60100
21727-02 Outer tube 48/138 AL 1 55,70 € 60100
21731-01 Cable marking "C" 1 0,67 € 60200
21731-02 Cable marking "R" 1 0,67 € 60200
21732-01 Cover plate 1 69,97 € 60100
21732-02 Cover plate 1 48,14 € 60199|NLA
21732-03 Cover plate 1 96,95 € 60100
21732-04 Cover plate 1 104,89 € 60100
21732-05 Cover plate 1 145,86 € 60100
21732-06 Cover plate 1 98,47 € 60100
21734-01 Shaft 8/525.5 1 131,94 € 60100
21737-02 Inner tube 36/123 AL 1 44,30 € 60100
21740-02 ECU SA EC-system ZX10R AM 1 201,79 € 60799
21750-16 Washer 8/16/2 1 7,39 € 60200
21750-25 Washer 8/25/2 1 17,46 € 60100
21751-01 Sleeve 12/22/10 1 13,19 € 60100
21752-01 Top out rubber 14/21/13 1 7,71 € 60200
21753-01 QOil lock piston 21.5 1 43,14 € 60100
21754-01 Seal head 38.5 1 84,49 € 60100
21754-02 Seal head 40.5 1 84,49 € 60100
21754-03 Seal head 43.5 1 84,49 € 60100
21754-04 Seal head 45.5 1 84,49 € 60100
21755-01 Valve 6/25/9 1 31,13 € 60100




21756-01 Shaft extension M12x0.75/55.5 1 36,61 € 60100
21757-01 Guide sleeve 22.3/29.5/160 1 105,62 € 60100
21757-02 Guide sleeve 22.3/26/95 1 76,71 € 60100
21757-03 Guide sleeve 22.3/26/100 1 83,38 € 60100
21757-04 Guide sleeve 22.3/26/70 1 72,26 € 60100
21757-05 Guide sleeve 22.3/27/130 1 76,71 € 60100
21757-06 Guide sleeve 22.3/26/140 1 94,50 € 60100
21757-07 Guide sleeve 22.2/31.8/125 1 70,04 € 60100
21757-08 Guide sleeve 22.2/26/120 1 89,16 € 60100
21757-09 Guide sleeve 22.2/28/135 1 70,04 € 60100
21757-10 Guide sleeve 22.2/26/125 1 97,84 € 60100
21758-01 Adaptor base valve M10x1.5/32 1 61,15 € 60100
21758-02 Adaptor base valve M8x1.25/32 1 65,59 € 60100
21758-03 Adaptor base valve M12x1.25/32 1 86,72 € 60100
21758-04 Adaptor base valve M10x1.5/32 1 86,72 € 60100
21758-05 Adaptor base valve M10x1/36 1 171,66 € 60100
21758-06 Adaptor base valve M24x1/11 1 110,46 € 60100
21758-07 Adaptor base valve M14x1/36 1 99,42 € 60100
21758-08 Adaptor base valve M8x1.25/34 1 115,96 € 60100
21759-01 Oil lock tube 12/22/185 1 33,40 € 60100
21759-02 Oil lock tube 12/22/210 1 34,60 € 60100
21759-03 Oil lock tube 12/22/235 1 35,78 € 60100
21759-04 Oil lock tube 12/22/260 1 33,40 € 60100
21759-05 Oil lock tube 12/22/225 1 35,80 € 60100
21759-06 Oil lock tube 12/22/250 1 38,36 € 60100
21759-08 Oil lock tube 12/22/180 1 35,80 € 60100
21759-10 Oil lock tube 12/22/145 1 35,80 € 60100
21762-01 Hydraulic prel. adj spare part 1 553,00 € 60100
21763-01 Top cap M35x1.5/29 1 75,75 € 60100
21764-01 Screw top cap M16x1.5 1 89,33 € 60100
21765-01 Shaft 8/335 1 22,68 € 60100
21765-02 Shaft 8/381 1 25,67 € 60100
21766-01 Seal head 10/29/19 1 29,13 € 60100
21767-16 Washer 8/16/2 1 12,67 € 60100
21768-01 Cylinder tube 25/29/175 1 67,20 € 60100
21769-01 Adaptor M8/176 1 76,75 € 60100
21769-02 Adaptor M14x1.25/191 1 112,25 € 60100
21770-01 Wire harness 1 504,41 € 60799
21770-02 Wire harness SA Kawasaki ZX-10R 1 494,74 € 60799
21770-03 Wire harness SA Kawasaki ZX-10R 1 110,06 € 60799
21770-04 Wire harness Du MTS 1200 EC 1 534,21 € 60799




21770-07 Wire harness SD R1M 1 111,07 € 60799
21770-51 Wire harness SD ZX10 Race ECU (Kawasaki) 1 465,95 € 60799
21780-01 End cap 25/69 1 10,90 € 60200
21800-01 Piston 8/25 bleed 2x1.4 1 61,32 € 60100
21801-01 Topout spring 31.5/24/63.0 1 10,57 € 60200
21801-02 Top out spring 43.8/25/60.0 1 15,34 € 60100
21802-01 Oil lock sleeve 8.5/26/31 1 35,03 € 60100
21803-01 Spacer 23/32.8/25 1 19,74 € 60100
21803-02 Spacer 32/44.2/25 1 32,74 € 60100
21804-01 Guide sleeve internal 8.1/32.8/130 1 91,61 € 60100
21804-02 Guide sleeve internal 8.1/44.2/175 1 114,73 € 60100
21805-01 Guide sleeve external 22/33/100 1 102,28 € 60100
21806-01 Guide ring 25.3/34.5/12 1 26,13 € 60100
21807-01 Top cap M46x1/21 1 62,76 € 60100
21808-01 Guide ring 27/44.2/17 1 65,59 € 60100
21809-01 Cylinder tube 30/34/220 1 78,07 € 60100
21810-01 Spacer 10/12 1 22,24 € 60100
21812-04 Shaft 8/314 1 100,06 € 60100
21812-05 Shaft 8/324 1 96,95 € 60100
21812-06 Shaft 8/334 1 96,95 € 60100
21812-08 Shaft 8/354 1 96,95 € 60100
21812-09 Shaft 8/364 1 96,95 € 60100
21812-10 Shaft 8/374 1 100,50 € 60100
21812-11 Shaft 8/384 1 96,95 € 60100
21812-13 Shaft 8/404 1 96,95 € 60100
21812-15 Shaft 8/424 1 96,95 € 60100
21812-16 Shaft 8/434 1 90,72 € 60100
21812-17 Shaft 8/444 1 107,74 € 60100
21812-18 Shaft 8/454 1 90,72 € 60100
21812-19 Shaft 8/464 1 94,28 € 60100
21812-20 Shaft 8/474 1 96,95 € 60100
21812-21 Shaft 8/484 1 108,40 € 60100
21812-22 Shaft 8/494 1 108,40 € 60100
21813-15 Needle 15deg/18.5 1 6,85 € 60200
21814-01 Spring collar 6/16/10 1 582€ 60200
21815-01 Piston 6/22 1 44,70 € 60100
21816-12 Washer 6/12/3 1 7,62 € 60200
21817-01 Seal head 10/29/25 1 12,83 € 60100
21818-01 Cylinder tube 22/25.2/186 1 59,93 € 60100
21819-01 Adjustment screw 5/20.5 1 6,12 € 60200
21820-01 EC adjuster assy SD 1 155,42 € 60100




21820-03 EC adjuster assy SD 180° 1 135,50 € 60100
21820-04 EC adjuster assy SD 1 177,88 € 60100
21820-06 EC adjuster assy SD 90° 1 133,41 € 60100
21825-01 Lock ring 1 5,26 € 60200
21830-01 Spring 1/10/15 1 2,95 € 60100
21840-01 Protector 1 32,68 € 60100
21840-02 Protector 1 31,49 € 60100
21841-02 Spacer 14/36/2 1 48,70 € 60100
21841-03 Spacer 14/36/3 1 14,45 € 60100
21841-04 Spacer 14/36/4 1 51,86 € 60100
21841-08 Spacer 14/36/8 1 56,03 € 60100
21842-01 Inner tube 39/114.5 1 43,03 € 60100
21842-03 Inner tube 39/104.5 1 36,80 € 60100
21843-01 End cap 1 34,46 € 60100
21845-01 Outer tube 52/126 1 77,33 € 60100
21845-03 Outer tube 75/116 1 57,98 € 60100
21846-01 Shaft 14/190.5 1 39,10 € 60100
21846-02 Shaft 14/175.5 1 42,25 € 60100
21847-01 Piston solid 39 1 16,05 € 60100
21847-02 Piston solid 39 1 14,89 € 60100
21848-01 Top out spring guide 1 21,79 € 60100
21848-02 Top out spring guide 1 5,97 € 60100
21848-12 Top out spring guide T36 1 9,12 € 60200
21849-01 End eye 1 159,20 € 60100
21849-02 End eye 1 152,76 € 60100
21849-03 End eye 1 248,81 € 60100
21850-02 Cylinder head TTX39 1 342,20 € 60100
21850-03 Cylinder head TTX39 1 490,96 € 60100
21852-01 Needle bearing. 1 23,35 € 60200
21852-02 Needle bearing 17x24x15 1 10,57 € 60200
21853-01 Seal 20x26x4 1 15,50 € 60200
21853-02 Seal 17x24x3 1 4,61 € 60200
21854-01 Spring clip 56.5/2.7 1 42,59 € 60100
21855-01 Flange lock nut M10 1 8,66 € 60200
21856-01 Stop spacer 1 14,23 € 60100
21857-01 Countersunk washer 1 9,56 € 60200
21858-01 Seal head assy 14/39 1 74,99 € 60200
21859-01 Seal head 14/39 1 39,70 € 60200
21861-01 Housing 77.5/55 1 202,12 € 60100
21862-01 Piston 77.4/55.1 1 92,28 € 60100
21863-01 Piston band soft 55/1.5/3.2 1 6,00 € 60200




21864-01 Bracket 1 99,11 € 60199|NLA
21864-02 Bracket 1 114,73 € 60100
21864-03 Bracket 1 126,30 € 60100
21864-04 Bracket 1 133,41 € 60100
21865-01 Rubber bushing 20x15 M6 1 5,80 € 60200
21866-01 Adapter 1 26,58 € 60100
21867-01 End bracket 1 98,95 € 60100
21868-01 Hydr. preload adjuster spare part 1 772,50 € 60100
21869-01 Bracket pre-load adjuster Duc MTS 1200 1 14,23 € 60100
21869-02 Screw pre-load adjuster bracket Duc MTS 1200 1 15,55 € 60100
21869-03 Rubber pre-load adjuster bracket Duc MTS 1200 1 1,01 € 60100
21869-04 SCU rubber bracket Duc MTS 1200 1 27,32 € 60100
21870-02 Cylinder head TTX36 1 146,66 € 60100
21871-80 Cylinder head blank TTX36 1 94,65 € 60100
21872-01 Cylinder head TTX36 1 352,21 € 60100
21873-01 Cylinder head TTX36 1 324,19 € 60100
21874-01 Cylinder head TTX36 1 135,84 € 60100
21875-02 Cylinder head TTX36 1 146,26 € 60100
21875-03 Cylinder head TTX36 1 156,54 € 60100
21876-01 Cylinder head TTX36 1 175,85 € 60100
21877-01 Cylinder head TTX36 1 164,76 € 60100
21878-01 Cylinder head TTX36 1 186,11 € 60100
21879-01 Cylinder head TTX36 1 174,10 € 60100
21880-01 Cylinder head HA 136 1 158,76 € 60100
21890-01 Cylinder head TTX36 1 164,99 € 60100
21891-01 Cylinder head TTX36 1 192,11 € 60100
21892-01 Cylinder head TTX36 1 178,10 € 60100
21893-01 Cylinder head TTX36 1 178,24 € 60100
21893-02 Cylinder head TTX36 1 170,10 € 60100
21895-01 Cylinder head TTX36 1 166,42 € 60100
21896-01 Cylinder head TTX36 1 143,79 € 60100
21897-02 Cylinder head TTX36 1 194,45 € 60100
21898-01 Cylinder head TTX36 1 158,88 € 60100
21900-01 Cylinder head S46C1 1 156,95 € 60100
21901-01 Cylinder head TTX39 1 167,11 € 60100
21902-01 Cylinder tube 36/186 Al 1 71,45 € 60100
21902-05 Cylinder tube 36/230 Al 1 104,40 € 60100
21903-01 Nut M14x1/6 1 12,01 € 60100
21904-01 Adaptor M8x1.25/27.5/198 1 96,84 € 60100
21904-02 Adaptor M8x1.25/27.5/188 1 93,22 € 60100
21904-03 Adaptor M10x1/33/191 1 96,77 € 60100




21904-04 Adaptor M14x1.25/40/199 1 115,36 € 60100
21904-05 Adaptor M8x1.25/27.5/165 1 80,75 € 60100
21904-06 Adaptor M10x1/33/181 1 88,98 € 60100
21904-07 Adaptor M10x1/33/186 1 168,99 € 60100
21904-08 Adaptor M8x1.25/33/189 1 97,21 € 60100
21904-09 Adaptor M8x1.25/35/182 1 108,40 € 60100
21904-10 Adaptor M10x1.25/40/161 1 113,52 € 60100
21904-11 Adaptor M14x1.25/40/162 1 101,39 € 60100
21904-16 Adaptor M14x1.25/40/186 1 113,29 € 60100
21904-16 Adaptor M14x1.25/40/186 1 113,29 € 60100
21905-01 Adjuster comp 1 53,26 € 60100
21905-02 Adjuster reb 1 53,26 € 60100
21906-01 Preload socket M25x1/26 1 22,29 € 60100
21906-02 Preload socket M29x1/26 1 28,36 € 60100
21907-01 Adjustment housing M33x1.5/17 1 26,49 € 60100
21907-02 Adjustment housing M29x1/17 1 24,88 € 60100
21907-03 Adjustment housing M38x1/17 1 24,61 € 60100
21907-04 Adjustment housing M46x1/18 1 29,06 € 60100
21907-05 Adjustment housing M34x1.5/19 1 25,99 € 60100
21907-06 Adjustment housing M37x1 1 33,62 € 60100
21907-07 Adjustment housing M39x1 1 34,63 € 60100
21908-01 Sleeve 27/32.1/16 1 12,10 € 60100
21915-01 Guide sleeve 18.3/30.8/180 1 95,10 € 60100
21915-02 Guide sleeve 18.3/30.8/230 1 121,69 € 60100
21916-01 Guide sleeve 23.3/36/155 1 70,97 € 60100
21916-02 Guide sleeve 23.3/36/190 1 80,61 € 60100
21916-03 Guide sleeve 23.3/36/170 1 71,05 € 60100
21916-04 Guide sleeve 23.3/38/210 1 87,95 € 60100
21916-06 Guide sleeve 23.3/35.6/210 1 80,83 € 60100
21917-01 Guide sleeve 25.3/44.2/250 1 135,86 € 60100
21917-02 Guide sleeve 25.3/44.2/210 1 132,83 € 60100
21917-04 Guide sleeve 25.3/44.2/145 1 118,51 € 60100
21918-01 Guide ring 19.3/30.8/15 1 17,03 € 60100
21919-01 Guide ring 24.3/36/15 1 17,71 € 60100
21919-02 Guide ring 24.3/38/15 1 65,59 € 60100
21919-03 Guide ring 24.3/35.6/15 1 50,03 € 60100
21920-01 Seal head 10/36.4/68 1 230,03 € 60200
21921-01 Piston dividing 8.3/24.7/26 1 27,24 € 60100
21922-01 Cap seal head 10/31/40 1 28,91 € 60100
21923-01 Piston 8/25 1 37,82 € 60100
21923-02 Piston 8/25 1 30,94 € 60100




21924-01 Adaptor M34x1/17 1 43,92 € 60100
21924-02 Adaptor M24x1/22 1 63,93 € 60100
21924-03 Adaptor M30x1/3 1 43,36 € 60100
21924-04 Adaptor M29x1/22 1 88,94 € 60100
21924-06 Adaptor M24x1/3 1 43,36 € 60100
21924-07 Adaptor M34x1/17 1 55,59 € 60100
21925-01 Guide sleeve 8/25/130 1 155,65 € 60100
21925-02 Guide sleeve 8/25/160 1 159,20 € 60100
21925-03 Guide sleeve 8/25/190 1 137,86 € 60100
21926-01 Washer 8/16/3 1 10,34 € 60200
21927-01 Spring 14.5/82/14 1 14,28 € 60100
21928-01 Adjuster comp 1 66,71 € 60100
21928-02 Adjuster reb 1 66,71 € 60100
21928-03 Adjuster comp 1 66,71 € 60100
21928-04 Adjuster reb 1 66,71 € 60100
21929-01 Cylinder tube 25/28/237 1 90,28 € 60100
21929-02 Cylinder tube 25/28/237 1 90,28 € 60100
21930-01 Cylinder tube 30/34/270 comp 1 97,44 € 60100
21930-02 Cylinder tube 30/34/270 reb 1 97,44 € 60100
21931-01 Adaptor M10x1/22 1 65,49 € 60100
21931-05 Adaptor M10x1.25/30 1 65,49 € 60100
21931-08 Adaptor M10x1.5/32 1 89,83 £ 60100
21931-09 Adaptor M8x1.25/4 1 65,49 € 60100
21932-01 Adjustment housing M46x1/49/18 1 90,39 € 60100
21932-02 Adjustment housing M52x1.5/54.5/20 1 79,27 € 60100
21932-03 Adjustment housing M44.5x1/47.5/30 1 76,04 € 60100
21932-04 Adjustment housing M47x1.5/52/65.5 1 104,06 € 60100
21932-05 Adjustment housing M47x1.5/49.5/40 1 69,37 € 60100
21932-06 Adjustment housing M47x1.5/49.5/65.5 1 101,39 € 60100
21932-07 Adjustment housing M46.5x1/49.5/19 1 76,04 € 60100
21932-08 Adjustment housing M46x1/49/33 1 76,04 € 60100
21932-09 Adjustment housing M47x1.5/49.5/29 1 76,04 € 60100
21932-10 Adjustment housing M46.5x1/49.5/31 1 67,65 € 60100
21932-11 Adjustment housing M48x1.5/50.5/45 1 106,95 € 60100
21932-12 Adjustment housing M45.5x1.5/49.5/28 1 100,40 € 60100
21932-14 Adjustment housing M48x1.5/50.8/30 1 63,04 € 60100
21933-01 Adjustment housing M46x1/49/18 1 76,04 € 60100
21933-02 Adjustment housing M51x1.5/56.5/30 1 79,94 € 60100
21933-04 Adjustment housing M50x1/53.5/24 1 80,39 € 60100
21933-05 Adjustment housing M52x1.5/54.5/20 1 99,95 € 60100
21933-07 Adjustment housing M47x1.5/50.5/45 1 97,00 € 60100




21933-07 Adjustment housing M47x1.5/50.5/45 1 97,00 € 60100
21933-08 Adjustment housing M46x1.5/53.5/37 1 59,80 € 60100
21933-09 Adjustment housing M46x1.5/53.5/45 1 62,68 € 60100
21933-11 Adjustment housing M51x1.5/53.5/15 1 118,85 € 60100
21933-11 Adjustment housing M51x1.5/53.5/15 1 118,85 € 60100
21933-12 Adjustment housing M44x1/47.5/24 1 116,51 € 60100
21933-13 Adjustment housing M46x1/49.5/65 1 105,62 € 60100
21933-14 Adjustment housing M50x1/53.5/31 1 96,62 £ 60100
21934-01 Adjuster comp 1 60,04 € 60100
21934-02 Adjuster reb 1 60,04 € 60100
21935-01 Fork bottom FFHO 101 LH 1 913,85 € 60100
21935-01 Fork bottom FFHO 101 LH 1 913,85 € 60100
21935-02 Fork bottom FFHO 101 RH 1 913,85 € 60100
21936-01 Outer tube 48/57/60.5/564 1 374,22 € 60100
21937-01 Sensor bracket 1 125,52 € 60100|New
21938-01 Cylinder head S46C1 1 120,42 € 60100
21938-01 Cylinder head S46C1 1 120,42 € 60100
21940-01 Fork bottom 1 310,18 € 60100
21941-01 Outer tube 50/54/573 gold 1 275,72 € 60100
21941-02 Outer tube 50/54/573 black 1 279,50 € 60100
21943-01 Cylinder head S46 1 191,12 € 60100|New
21944-01 Yamaha YZF-R3 (Kayaba) 1 777,12 € 10821
21945-01 Adjustment housing M40x1/46.5/18 1 58,82 € 60100
21945-01 Adjustment housing M40x1/46.5/18 1 58,82 € 60100
22046-55 Screw MC6S 5x20 Preloc 1 1,01€ 60100
22100-01 Race kit CBR1000RR SP '14-'16 (Ohlins OEM fork FL 910) 1 170,10 € 60399
22100-02 Race kit Yamaha YZF R1 M 1 275,69 € 60399
22100-23 Race kit YA YZF R1 M (Rev.1 shocks) (Replace 22100-03) 1 170,10 € 60100
22101-22 FGR 300 extension kit (770 mm) (Replaces 22101-02) £ 1 1.312,86 € 60100
23001-01 Compression housing 1.5 1 55,93 € 60100
23002-01 Needle 1.5 1 13,34 € 60100
23280-01 Cylinder head 36 1 164,30 € 60100
23280-02 Cylinder head 36, 30 degrees 1 164,81 € 60100
23280-03 Cylinder head 36 1 37,20 € 60100
23280-04 Cylinder head 36 1 132,84 € 60100
24001-01 Fork bottom LH £ 1 191,29 € 60100
24001-02 Fork bottom RH £ 1 191,29 € 60100
24002-01 Fork leg outer gold £ 1 189,74 € 60100
24002-02 Fork leg outer black £ 1 189,74 € 60100
24003-01 Fork leg inner gold £ 1 373,53 € 60100
24003-02 Fork leg inner black £ 1 462,64 € 60100




24008-01 Preload tube 1 33,25 € 60200
24008-01 Preload tube 1 33,25 € 60200
24011-02 Nut special £ 1 23,24 € 60100
24012-01 Preload socket £ 1 44,36 € 60100
24014-02 O-ring 21.89/2.62 £ 1 3,34 € 60200
24015-01 Adjuster (COMP) £ 1 54,37 € 60100
24016-01 Adjustment housing M40x1.25/38.5 £ 1 88,84 € 60100
24501-25 End piece adjuster kit TTX assy 2.5 1 110,18 € 60399
24503-01 TTX44 upgrade-kit MX 2009 to 2010 1 170,99 € 60399
24504-01 End piece adjuster kit TTX assy 2.5 1 155,65 € 60399
24617-01 Screw M6x1.0 1 4,04 € 60200
24618-01 Self locking nut (Lockring) M10x1.25/6,5/NV21 1 4,37 € 60200
24618-02 Self locking nut (Lockring) M10x1.25/8,3/NV17 1 3,94 € 60200
24618-03 Flange nut with locking M12x1,25/12,4/NV17 1 4,28 € 60200
24618-04 Self locking nut (Lockring) M12x1.25/7/NV17 1 8,06 € 60200
24618-05 Self locking nut (Lockring) M8x1.25/5/NV12 1 4,00 € 60200
24618-06 Self locking nut (Lockring) M10x1.25/8,5/NV14 1 4,04 € 60200
24618-07 Self locking nut (Lockring) M10x1.25/8,5/NV14 1 5,26 € 60200
24618-08 Self locking nut M12x1.25/13/NV21 1 72,64 € 60100
24619-01 Plain washer 36/10,5/2 1 4,28 € 60200
24619-02 Plain washer 46/10,5/3,2 1 4,17 € 60200
24619-03 Plain washer 24/12,5/2 1 4,10 € 60200
24619-04 Plain washer 26/14,5/3,2 1 5,04 € 60200
24619-05 Plain washer 27/14,8/3,2 1 3,13 € 60200
24619-06 Plain washer 42/16/3 1 5,80 € 60200
24619-07 Plain washer 35/18,6/4,5 1 3,94 € 60200
24619-08 Plain washer 26/12,5/2,3 1 3,13 € 60200
24619-09 Plain washer 18/10,5/2 1 2,88 € 60200
24619-10 Plain washer 42,5/12/3,2 1 437 € 60200
24619-11 Plain washer 33/10,5/4 £ 1 4,11 € 60200
24623-01 Spacer 6,2/10/12 1 4,39 € 60100
24623-02 Spacer 10/20/20 1 8,61 € 60100
24624-01 Clamp 1 4,71 € 60100
24625-01 Hex socket head bolt M6x1/35 1 3,38 € 60200
24626-01 Flange nut with lockring M10x1.25/10/NV10 1 4,37 € 60200
24626-02 Flange nut M12x1.25/7,5/NV17 1 3,63 € 60200
24626-03 Flange nut M6x1/6/NV10 1 2,75 € 60200
24626-04 Flange nut M12x1.25/11/NV17 1 3,94 € 60200
24627-01 Nylon nut (Nylon lock) M10x1.25/12/NV17 1 3,88 € 60200
24627-02 Nylon nut (Nylon lock) M12x1.25/14.4/NV20 1 4,60 € 60200
24627-03 Nylon nut (Nylon lock) M14x1.5/16/NV22 1 6,56 € 60200




24627-04 Nylon nut (Nylon lock) M14x1.5/16/NV19 1 3,94 € 60200
24628-01 Flange bolt M8x1.25/20 1 3,63 € 60200
24628-02 Flange bolt M8x1.25/20 1 3,01€ 60200
24628-03 Flange bolt M6x1/20 1 3,13 € 60200
24628-04 Screw, slotted countersunk M4x0.7/10 1 3,13 € 60200
24628-05 Hex socket head bolt M5x0.8/16 1 3,13 € 60200
24628-06 Flange screw M12x1.25x80 1 31,91 € 60100
24629-09 Spacer 12.05/18/15 £ 1 41,64 € 60100
24629-15 Spacer 12.05/18/15 £ 1 34,79 € 60100
24629-31 Spacer 12/15.5/24/15 1 3491 € 60100
24630-01 Bump Stop 14/37/31 1 11,53 € 60100
24630-02 Bump Stop 12/38/25 1 10,97 € 60100
24630-03 Bump Stop 12/45.6/53.5 1 21,66 € 60100
24631-01 Rebound Adjuster McP for wire 1 53,50 € 60100
24631-02 Rebound Adjuster M12x1.25 McP 1 56,70 € 60100
24631-03 Rebound Adjuster M10x1.25 for wire 2.5mm 1 72,93 € 60100
24631-04 Rebound Adjuster M10x1.25 for wire 3mm 1 62,26 € 60100
24631-05 Rebound Adjuster M12x1.25 1 76,46 € 60100|New
24632-01 Control wire 380mm 1 27,79 € 60100
24632-02 Control wire 280mm 1 27,79 € 60100
24632-03 Control wire 136mm 1 27,79 € 60100
24632-04 Control wire 65mm 1 27,79 € 60100
24633-01 Control knob 1 4,48 € 60200
24633-02 Screw control knob M4x0.7 1 3,20€ 60200
24635-01 Spring platform M56x2 1 42,25 € 60100
24635-02 Spring platform M52x2 1 38,91 € 60100
24635-03 Spring platform M52x1.5 1 46,69 € 60100
24635-04 Spring platform M60x2 1 46,69 € 60100
24635-05 Spring platform M52x1.5/69/89 1 32,46 € 60100
24636-01 Adjustment nut M56x2 1 63,24 € 60100
24636-02 Adjustment nut M52x2 1 64,07 € 60100
24636-03 Adjustment nut M52x1.5 1 20,01 € 60100
24636-04 Adjustment nut M60x2 1 64,07 € 60100
24637-01 Spring seat 15 1 88,59 € 60100
24637-02 Spring seat 14 1 89,43 € 60100
24651-02 Spring adjuster 34/M52x1.5/106 1 184,55 € 60100
24651-03 Spring adjuster 34/M52x1.5/90 1 173,75 € 60100
24651-04 Spring adjuster 34/M52x1.5/105 1 262,63 € 60100
24651-05 Spring adjuster 34/M52x1.5/106 1 262,63 € 60100
24651-06 Spring adjuster 41/M52x1.5/98 1 268,05 € 60100
24651-07 Spring adjuster 45/M52x1.5/83 1 265,64 € 60100




24651-08 Spring adjuster 43/M52x1.5/80 1 222,87 € 60100
24652-01 Stop screw 1 3,25 € 60200
24701-02 Fuchs Renolit S1410 M 100GR 1 15,21 € 50500|NLA
24701-03 Fuchs Renolit S1410 M 1KG 1 112,73 € 50500
25009-01 Shield 1 195,45 € 60100
25012-01 Threaded tube 1 93,12 € 60100
25030-01 End piece 1 94,28 € 60100
25030-05 End piece 1 82,85 € 60100
25030-06 End piece 1 103,36 € 60100
25031-01 Spacer 1 55,59 € 60100
25033-01 Seal washer******x*xx* 1 22,80 € 60200
25035-01 Bracket 1 158,76 € 60100
25035-02 Bracket 1 159,20 € 60100
25036-02 Adapter 1 82,94 € 60100
25037-01 Shaft 14/236,5 1 44,36 € 60100
25038-01 Spring seat 1 106,73 € 60100
25038-02 Spring seat 1 81,16 € 60100
25040-01 End eye 36mm 25.4 1 96,72 € 60100
25042-01 End cap heat shrinkable 14/4,5/45 1 8,96 € 60200
25046-01 Washer 57/74/3 1 43,36 € 60100
25048-01 Shaft end 1 105,51 € 60100
25056-01 Seal 30/38/5.7 1 25,35 € 60200
25057-30 Seal head, upper, titanium, complete 1 279,35 € 60200
25057-35 Seal head, upper, black, complete 1 240,86 € 60200
25069-08 Spacer 14/33/8 Black 1 2,22 € 60200
25104-01 Lock nut M52x1.5/NV80/8 1 48,60 € 60100
25218-01 Spacer, bj @14, 12.7x24 1 25,46 € 60200
25218-02 Spacer, bj @14, 12.7x30 1 25,46 € 60200
25218-09 Spacer ball joint, 9.5x38.5 alu 1 37,25 € 60100
25218-11 Spacer ball joint, 11x38.5 alu 1 37,36 € 60100
25218-12 Spacer ball joint, 12.6x38.5 alu 1 37,47 € 60100
25600-01 Spring seat 10/64.5/84 1 72,26 € 60100
25600-02 Spring seat 12/64.5/84 1 42,52 € 60100
25600-03 Spring seat 14/64.5/84 1 72,26 € 60100
25601-01 Elastic spacer 63,5/84/2 1 7,12 € 60200
25601-02 Elastic spacer 60/78/2 1 6,62 € 60200
25601-03 Elastic spacer 63,5/88/2 1 17,65 € 60100
25601-04 Elastic spacer 42/88/2 1 19,22 € 60100
25602-01 Spacer 64.6/84/2 1 25,57 € 60100
25602-03 Plastic top mount bearing £ 1 65,37 € 60100
25603-01 Washer 12/27/38 1 12,57 € 60100




25612-01 Reservoir cap vented ¢49 1 70,04 € 60100
25613-01 Reservoir end vented ¢49 1 81,16 € 60100
25615-01 Screw self drilling flange ST4.2x16 1 0,67 € 60200
25615-02 Screw self threading 5.0x16 1 1,01€ 60200
25617-01 Adjuster tube 34/M52x1.5/62 1 189,00 € 60420
25617-02 Adjuster tube 34/M52x1.5/90 1 114,51 € 60100
25618-01 Spring seat 63.7/94/34 1 109,26 € 60100
25618-02 Spring seat 63.7/108/39 1 176,42 € 60100
25618-03 Spring seat 50.2/80/3 1 108,48 € 60100
25618-04 Spring seat 63.7/88/3 1 27,94 € 60100
25618-05 Spring seat 63.7/88/3 1 94,99 € 60100
25618-06 Washer 16.1/60/7 1 30,38 € 60100
25618-07 Spring seat 63.7/94/16 1 93,92 € 60100
25618-08 Spring seat 63.7/84/35.5 1 84,92 € 60100
25618-10 Spring seat 63.7/110/28 1 137,45 € 60100
25618-11 Spring seat 63.7/110/13 1 168,44 € 60100
25618-12 Spring seat 63.7/88/11 1 156,54 € 60100
25618-13 Spring seat 63.7/95/16 1 95,48 € 60100
25618-21 Upper spring seat adapter 63.7/88/11 1 26,30 € 60100
25618-34 Spring seat 63.7/88/3 1 56,59 € 60100
25625-01 Spacer 10.2/18/44 1 14,74 € 60100
25631-01 Bearing housing (MBWTD14) 1 298,96 € 60100
25631-02 Bearing housing adjustable (MBWTD16) 1 416,47 € 60100
25631-03 Bearing housing (MBWTD16) 1 416,47 € 60100
25631-04 Bearing housing (Rubber) 1 359,32 € 60100
25632-01 Spacer 10/22/10 1 21,68 € 60100
25651-01 Spring seat 97/57/65 1 88,94 € 60100
25652-01 Spring seat rubber rear 1 30,58 € 60100
25653-01 Reservoir bracket 1 86,25 € 60100
25687-01 Fork bracket 1 85,38 € 60100
25688-01 End eye bracket 1 85,38 € 60100
25700-01 Spring seat 112/158/29 1 116,85 € 60100
25710-01 Shaft external, 14/300 1 16,91 € 60100
25710-02 Shaft external, 14/139.9 1 55,35 € 60101
25711-01 Lock nut M13x1 1 110,06 € 60100
25712-01 End eye 26.3 dia.22.2 bearing 1 166,10 € 60100
26012-01 Spring support 1 125,52 € 60100
26014-01 Spring support 1 144,08 € 60100
26195-10 Shuttle guide, 1.0 mm hole 1 254,27 € 60100
26195-15 Shuttle guide, 1.5 mm hole 1 254,27 € 60100
26201-01 Cylinder tube, inner 46/49/142, alu 1 154,09 € 60100




26201-02 Cylinder tube, inner 46/49/142, alu 1 242,14 € 60100
26201-03 Cylinder tube, inner 46/49/205, alu 1 242,14 € 60100
26201-04 Cylinder tube, inner 46/49/230, alu 1 242,14 € 60100
26201-05 Cylinder tube, inner 46/49/132.2, alu 1 242,14 € 60100
26201-06 Cylinder tube, inner 46/49/156, alu 1 242,14 € 60100
26201-07 Cylinder tube, inner 46/49/139.6, alu 1 242,14 € 60100
26201-08 Cylinder tube, inner 46/49/152.2, alu 1 242,14 € 60100
35000-01 ECU BMW R1200GS 1 232,58 € 60799
35000-02 SCU Duc MTS1200 EC AM 1 317,30 € 60799
35000-03 SCU Duc MTS1200S Upgrade 1 322,41 € 60799
35007-01 Dashboard BMW R1200GS/A 1 433,59 € 60799
35007-02 Dashboard Duc MTS 1200 1 754,56 € 60799
60006-10 Bracket, Reservoir 1 51,86 € 60100
60006-20 Bracket, Reservior 1 29,41 € 60100
60006-24 Bracket, Reservoir 1 55,11 € 60100
60006-25 Bracket, Reservoir 1 55,11 € 60100
60006-28 Bracket, Reservoir 1 55,11 € 60100
60006-29 Bracket, hose 1 55,11 € 60100
60020-51 Spacer 16/24/3 1 10,83 € 60100
60060-23 Preload tube 25.4/137 1 18,19 € 60100
60060-24 Preload tube 25.4/146 1 12,73 € 60200
60062-24 Pre-load tube 31.8x1.5x108 1 29,13 € 60100
60124-17 Rubber bushing 14/26-17 1 11,80 € 60200
60191-10 Sticker "OHLINS" black/transp31x75 1 1,33 € 60399
60191-13 Sticker "OHLINS" black/transp 18x46 1 1,23 € 60399
60191-14 Sticker "OHLINS" black/transp28x68 1 0,56 € 60399
60201-01 Shaft 12/290 1 12,73 € 60100
60202-01 Piston 26/8 1 26,46 € 60100
60203-01 Washer 25/8/2,5 1 7,02 € 60200
60206-02 Preload screw 1 20,01 € 60100
60208-01 Bracket 1 88,61 € 60100
60220-04 End eye 14/50/26 1 42,88 € 60100
60220-05 End eye 14/80/26 1 92,51 € 60100
60220-30 End eye 14/35/13 1 89,98 € 60100
60220-31 End eye 14/30/26 1 47,64 € 60100
60220-51 End eye 14/30/26 1 48,82 € 60100
60220-52 End eye 14/40/26 black 1 81,96 € 60100
60280-30 Spring 46/200/30N/mm 1 52,95 € 60301
60426-04 Washer 6.3/10/1.2 SUS304 £ 1 0,65 € 60200
61123-19 Sleeve 22/35.8-17 1 16,13 € 60100
61218-12 Spacer, ball joint 10x30 al 1 24,14 € 60200




61283-23 Bracket 16/80/22.2 1 86,69 € 60100
63065-03 End cap 36/14 black 1 14,01 € 60100
63118-07 Washer 16/20/2 1 10,83 € 60100
63152-01 End bracket 14 1 71,46 € 60100
63152-05 End bracket 14 1 62,63 € 60100
63152-34 End bracket 14/66/20 1 96,77 € 60100
63152-35 End bracket 14/79/22 1 135,24 € 60100
63280-01 Cylinder head 36 1 161,49 € 60100
64301-01 Cylinder tube 36/137 Al Black 1 58,31 € 60100
64301-02 Cylinder tube 36/147 Al Black 1 61,54 € 60100
64301-03 Cylinder tube 36/157 Al Black 1 62,68 € 60100
64301-04 Cylinder tube 36/159 Al Black 1 61,09 € 60100
64301-05 Cylinder tube 36/169 Al Black 1 67,43 € 60100
64301-06 Cylinder tube 36/169 Al Black 1 67,43 € 60100
64301-07 Cylinder tube 36/175 Al Black 1 69,82 € 60100
64301-08 Cylinder tube 36/179 Al Black 1 71,15 € 60100
64301-09 Cylinder tube 36/195 Al Black 1 71,16 € 60100
64301-10 Cylinder tube 36/140 Al Black 1 60,04 € 60100
64301-11 Cylinder tube 36/185 Al Black 1 72,54 € 60100
64301-12 Cylinder tube 36/133 Al Black 1 54,92 € 60100
64628-01 Screw M6SF M10X60 fzb 1 5,60 € 60200
65102-01 Spring clip for springs 46 1 25,73 € 60100
65500-06 Shaft 16/153 1 58,85 € 60100
65500-07 Shaft 16/163 1 57,53 € 60100
65514-12 Shaft 18/235 1 102,54 € 60100
67300-05 Cylinder tube 36/110 Al 1 71,35 € 60100
67300-06 Cylinder tube 36/115 Al 1 71,35 € 60100
67300-07 Cylinder tube 36/120 Al 1 82,18 € 60100
67300-09 Cylinder tube 36/130 Al 1 82,18 € 60100
67300-10 Cylinder tube 36/135 Al 1 82,18 € 60100
67300-11 Cylinder tube 36/140 Al 1 82,18 € 60100
67300-12 Cylinder tube 36/145 Al 1 82,18 € 60100
67300-13 Cylinder tube 36/150 Al 1 82,18 € 60100
67300-14 Cylinder tube 36/155 Al 1 82,18 € 60100
67300-16 Cylinder tube 36/165 Al 1 104,92 € 60100
67300-17 Cylinder tube 36/170 Al 1 104,92 € 60100
67300-18 Cylinder tube 36/175 Al 1 104,92 € 60100
67300-20 Cylinder tube 36/185 Al 1 104,92 € 60100
67300-22 Cylinder tube 36/195 Al 1 104,92 € 60100
67300-23 Cylinder tube 36/200 Al 1 104,92 € 60100
67300-24 Cylinder tube 36/205 Al 1 107,09 € 60100




67300-25 Cylinder tube 36/210 Al 1 107,09 € 60100
67300-26 Cylinder tube 36/215 Al 1 107,09 € 60100
67300-27 Cylinder tube 36/220 Al 1 114,66 € 60100
67300-28 Cylinder tube 36/225 Al 1 114,66 € 60100
67300-29 Cylinder tube 36/230 Al 1 114,66 € 60100
67300-30 Cylinder tube 36/235 Al 1 126,58 € 60100
67300-31 Cylinder tube 36/240 Al 1 126,58 € 60100
67300-33 Cylinder tube 36/250 Al 1 107,74 € 60100
67301-12 Cylinder tube 36/145 Al Black 1 98,00 € 60100
67300-27 Cylinder tube 36/220 Al 1 111,07 € 60100
67300-28 Cylinder tube 36/225 Al 1 111,07 € 60100
67300-29 Cylinder tube 36/230 Al 1 111,07 € 60100
67300-30 Cylinder tube 36/235 Al 1 122,60 € 60100
67300-31 Cylinder tube 36/240 Al 1 122,60 € 60100
67300-33 Cylinder tube 36/250 Al 1 101,63 € 60100
67301-12 Cylinder tube 36/145 Al Black 1 102,78 € 60100




